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myF - 1 

mlf;f tpiy fzf;fpaypd; ,ay;G kw;Wk; nray;ghl;L vy;iy 

1.) mlf;ftpiy : 

 xU nghUs; my;yJ Nritf;F Vw;gLk; midj;Jr; nryTfSk; 

Nrh;e;jNj mjd; mlf;ftpiyahFk;. 

2.) mlf;ftpiyf;fzpg;G:  

 mlf;ftpiyf; fzpg;G mlf;ftpiyf; fzf;fpypUe;J khWgLfpd;wJ. 

mlf;ftpiyf; fzpg;G vd;gJ mlf;ftpiyiaf; fz;L gpbg;gjw;fhd 

EZf;fq;fSk; topKiwfSk; MFk;. mlf;ftpiyf; fzf;fpayhdJ 

mlf;ftpiyf; fz;Lgpbg;gjw;fhd mbg;gilAk; nra;jpfisAk; jUfpd;wJ. 

mjid mlf;ftpiyf; fzpg;ghdJ Jy;ypakhd epiwNtw;Wfpd;wJ. 

3.) mlf;ftpiyf; fzf;fpay;  

tiutpyf;fzk;: tpQ;Qhdk;> fiy kw;Wk; eilKiwfisf; nfhz;l 

nfhs;iffs;> Kiwfs;> EZf;fq;fisAila mlf;ftpiyf; fzpg;G> 

mlf;ftpiyf; fzf;fpaYf;F nghUe;jf;$bajhFk;. mitfis nfhz;L 

mlf;ftpiyiaf; fl;Lg;gLj;Jjy; kw;Wk; ,yhgj;ijf; fzf;fpLjNy 

mlf;ftpiyf; fzf;fpayhFk; 

 eph;thfj;jpy; KbTfs; vLg;gjw;Fj; Njitahd EZf;fq;fSk; 

topKiwANk mlf;ftpiy fzf;fpayhFk; 

mlf;ftpiyf; fzf;fpay; %d;W gphpTfs; nfhz;lJ. mit 

m.) mlf;ftpiyiaf; fz;Lgpbj;jy;  

M.) mlf;ftpiyiaj; jahhpj;J rkh;g;gpj;jy; 

,.) mlf;ftpiyiaf; fl;Lg;gLj;Jjy;  

4.) mlf;ftpiyf; fzf;fpaypd; nray;ghl;L vy;iy 

 ,jd; vy;iy %d;W epiyfspy; fhzg;gLfpd;wJ. mit  

i.) mlf;ftpiyiaf; fz;Lgpbj;jy; 

ii.) mlf;ftpiyf; fzf;fpay; 

iii.) mlf;ftpiyf; fl;Lg;gLj;Jjy; 

 cw;gj;jp Vw;gLk; nryTfis xd;W jPul;b mjid gFg;gha;T 

nra;jy;: gy;NtW epiyfspy; cw;gj;jpahFk; nghUl;fis mse;J 

cw;gj;jpf;Fk; mjd; nryTfSf;Fk; njhlh;G Vw;gLj;jp mlf;ftpiyiaf; 

fz;Lgpbg;gjhFk;. 
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ii.) mlf;ftpiy fzf;fpay; 

 ,J mlf;ftpiy nryTfis gjpT nra;Ak; xU fzf;fapyhFk;. 

nryTfis gjpT nra;tjpy; Muk;gpj;J Gs;spapay; nra;jpfis mspg;gJ 

tiu ,jd; gzp njhlUfpwJ. 

iii.) mlf;ftpiyiaf; fl;Lg;gLj;Jjy;: 

 mlf;ftpiy nryitf; fl;Lg;gLj;jTk; mjid xOq;FgLj;jTk; 

mlf;ftpiyf; fzf;fUf;F topfhl;bahfTk; ,J cjTfpd;wJ. 

eph;zapf;fg;gl;l ,yf;if milaTk;>eph;zapf;fg;gl;l ,yf;fpypUe;J 

cz;ikahd nryT tpyfpapUe;jhy; mjid xOq;FgLj;jTk; 

cjTfpd;wJ. 

5. mlf;ftpiyf; fzf;fpaypd; Nehf;fq;fs; 

 mlf;ftpiyf; fzf;fpaypd; Nehf;fkhdJ nrytpidf; 

fz;Lgpbg;gJ> tpiyia eph;zak; nra;jy;> rhpahd gjpTfisAk;> 

nra;jpfisAk;> mwpf;ifahf eph;thfj;jpw;F rkh;g;gpj;J me;j mwpf;ifapd; 

%yk; eph;thfk; epWtdj;jpd; jpwikiaAk; tsh;r;rpiaAk;> 

mlf;ftpiyAk; fl;Lg;gLj;Jfpd;wJ. vdNt xU nghUspd; mlf;ftpiy 

nryitAk; Jy;ypakhf fz;Lgpbj;J tpiyia eph;zak; nra;fpd;wJ. 

Nehf;fq;fs;:1. epWtdj;jpy; cw;gj;jp nra;Ak; gy;NtW nghUl;fspd; 

nkhj;jr; nryitAk; xU myfpd; nrytpidAk; mlf;ftpiyf; 

fzf;fpapay; Jy;ypakhf fz;Lgpbf;fg;gLfpd;wJ. 

2.) gbKiw %yk; nryTfis gFg;gha;T nra;fpd;wJ. 

3.) tPzhd fopT> Nrjhuk;> Nghd;witfs; Vw;glf;$ba topKiwiaf; 

fhl;Lfpd;wJ. 

4.) Njitahd nra;jpfis toq;Ftjd; %yk; tpiy eph;zak; nra;a 

topfhl;bahf cjTfpd;wJ. 

5.) xt;nthU nghUSf;Fhpa ,yhg;gj;jpidf; fzf;fpl;L eph;thfj;jpw;F 

mjpfgl;r ,yhgk; miltjw;F Ntz;ba MNyhridfisAk; 

toq;Ffpd;wJ. 

6. fr;rhg;nghUs;> KOikailahj nghUs;> KOik mile;j nghUs; 

Nghd;witfspy; mjpfkhd fz;fhzpg;G ,Ug;gjhy; ruf;Ffspy; 

Njitapy;yhj KjyPL Fiwf;fg;gLfpd;wd. 
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7.) vjph;fhyj;jpy; epWtdj;jpd; tphpthf;ff; nfhs;iff;Fk; nrhj;Jfspy; 

KjyPL nra;tjw;Fk; Njitahd MNyhridfis eph;thfj;jpw;Fk; 

toq;Ffpd;wJ. 

8.) mlf;ftpiy nryT Gs;sp tpgur; nryTfis Nrfhpj;J mjidg; 

gFg;gha;T nra;J mjw;Fg; nghUs; tpsf;fk; mspj;J mjid 

eph;thfj;jpw;F rkh;g;gpg;gjhy; eph;thfk; vspjpy; jpl;lkpLjy;> KbntLj;jy;> 

fl;LgLj;Jjy; Nghd;w Nkyhz;ikg; gzpfis vspjpy; epiwNtw;Wfpd;wJ. 

9.) nghUl;fs;> ciog;G> Nkw;nryT> Nghd;witfspy; rpf;fdkhd 

nryitf; fl;Lg;gLj;Jk; Kiwia toq;Ffpd;wJ. 10.) tuT nryT 

jpl;lj;ij jahhpf;fTk;> mjid fl;Lg;gLj;jTk; eph;thfj;jpw;F 

cjTfpd;wJ. 11.) mf jzpf;if Kiwia filgpbf;f cjTfpd;wJ. 12.) 

Gjpa ,ae;jpuq;fis epWtdj;jpy; mwpKfg;gLj;jTk;> epjp rk;ge;jg;gl;l 

nfhs;if Kbtpid vLf;fTk; cjTfpd;wJ. 13.) Cf;fj;njhif Nghd]; 

jpl;lj;ij mKy;gLj;jTk; mit rpwg;ghf nray;gl Ntz;ba top 

Kiwfis eph;thfj;jpw;F toq;Ffpd;wJ. 14.) gy;NtW Jiw 

jiyth;fspd; Kaw;rpAld; mlf;ftpiy nrytpidf; Fiwf;Fk; 

jpl;lj;ij mikj;jy; 

6.) epjp fzf;fpaYf;Fk; mlf;ftpiyf; fzf;fpaYf;Fk; cs;s 

NtWghLfs;  

epjpf; fzf;fpay; mlf;ftpiyf; fzf;fpay; 

1. ,J xU njhopy; epWtdj;jpd; 

nghJthd nra;jpfis jUfpd;wJ. 

mjhtJ njhopypd; ,yhgk; my;yJ 

el;lj;ij gw;wpa epjp epiyikia 

chpikahUf;Fk; ntsp egUf;Fk; 

njhptpf;fpd;wJ. 

,J xU nghUis cw;gj;jp 

nra;Ak; nghOJ my;yJ Nritia 

toq;Fk;nghOJ Vw;glf;$ba 

mlf;ftpiy nryTfs; 

eph;thfj;jpw;F jUtjd; %yk; 

jpl;lkpLjy;> mikg;GKiw> KbT 

vLj;jy;> fl;Lg;gLj;Jjy; Nghd;w 

Nkyhz;ikapdUf;F mspf;fpd;wJ. 

2. ,jid ,e;jpa fk;ngdpr; rl;lk; 

tUkhd thpr;rl;lj;jpd;gb 

fzf;Ffis rhpahf guhkhpf;f 

Ntz;Lk;. vdNt rl;lj;jpd;gb 

fzf;Ffis fl;lhakhf gjpT 

nra;J guhkhpf;f Ntz;Lk; 

mlf;ftpiyf; fzf;fpaiyf; 

fl;lhakhf guhkupf;f 

Ntz;bajpy;iy Njitg;gl;lhy; 

fzf;Ffis itj;Jf; nfhs;syhk;. 
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3. nrytpdq;fSf;F jFe;jthW 

tzpf eltbf;iffis mtw;iw 

tifg;gLj;jp> gjpT nra;J 

gFj;jha;T nra;ag;gLfpd;wJ. 

ve;j Nehf;fpj;jpw;fhf nryT 

Vw;gl;lNjh mjw;F jFe;jgb 

nryTfs; gjpT nra;ag;gLfpd;wd. 

4. Mz;L ,Wjpapy; mwpf;if 

rkh;g;gpf;fg;gLfpwJ. 

Njitg;gLk; nghOJ mwpf;if 

mspf;fg;gLfpwJ. 

5. tzpfk; eltbf;iffis gjpT 

nra;ag;gLfpd;wJ 

cw;gj;jp rk;ge;jg;gl;l 

eltbf;iffs; kl;Lk; ,jpy; gjpT 

nra;ag;gLfpd;wJ. 

6. cz;ikahd njhifia gjpT 

nra;fpd;wJ. 

,J vjph;ghh;f;Fk; kjpg;gPL 

njhifapd;mbg;gilapy; 

gjpag;gLfpwJ. 

7. ,J ve;j tpjkhf fl;Lg;ghLk; 

jUtjpy;iy. 

fl;Lg;gLj;Jjypd; tpguq;fis 

tpsf;fkhf jUfpd;wJ. 

8. ,J vy;yh nrytpdq;fisAk; 

fhl;Lfpd;wJ. 

,J cw;gj;jpf;F Vw;glf;$ba 

nryTfis kl;Lk; fhz;gpf;fpd;wJ. 

9. gzk; rk;ge;jg;gl;l 

eltbf;iffis kl;Lk; 

Nkw;nfhs;fpd;wJ. 

gzk; kw;Wk; gzkpy;yhj 

eltbf;iffisAk; 

Nkw;nfhs;fpd;wJ. 

10. ruf;fpd; kjpg;ig mlf;ftpiy 

my;yJ re;ijtpiy ,it 

,uz;bYk; vJ Fiwthf cs;sNjh 

mJNt ruf;fpd; kjpg;ghff; 

fzf;fplg;gLfpd;wJ. 

mlf;ftpiy kjpg;gpNyNa ruf;fpid 

kjpg;gplg;gLfpd;wd. 

11. epjpf; fzf;fpy; ntsp 

eltbf;if rk;ge;jg;gl;litahf 

cs;sJ. 

,J cs; eltbf;if (epWtdk;) 

njhlh;Gilajhf cs;sJ. 

12.nryTfis nkhj;jkhf 

fhl;Lfpd;wJ. 

nryTfis myfpd; mbg;gilapy; 

gy;NtW $Wfshf 

gphpf;fg;gLfpd;wd. 

13. ,J epWtdj;jpd; midj;Jf; 

fzf;FfisAk; nfhz;ljhf 

tpsq;Ffpd;wJ. 

,J epjpf; fzf;fpaypd; xU 

gFjpahFk;. 

14. ,J tpQ;Qhd mbg;gilapy; 

,Ue;jhYk; rl;lj;jpw;F cl;gl;L 

fzf;Ffs; jahhpf;fg;gLfpd;wd. 

,J tpQ;Qhdk; kw;Wk; njhopy; 

El;gq;fis nfhz;L rpwg;ghd 

fl;Lg;ghl;il jUfpd;wJ. 
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15. epWtdj;jpd; ,yhgk; 

el;lj;ijAk; epjp epiyikiaAk; 

fhz;g;gpf;fpd;wJ. 

cw;gj;jp nra;ag;gLk; nghUspd; 

,yhg/ el;lj;ij kl;LNk 

fhz;gpf;fpd;wJ. 

16. ,jd; mwpf;ifia rkh;g;gpf;f 

rl;l G+h;tkhd gbtq;fis gad; 

gLj;j Ntz;Lk;. 

rl;lg;G+h;tkhd gbtk; 

Njitapy;iy. njhopypd; 

jd;ikf;Nfw;g gbtj;jpd; tbtq;fs; 

cUthf;fg;gLfpd;wd. 

17. fldPe;Njhh;> tq;fpah; Nghd;w 

ntspegh;fSf;F ,J 

gad;gLfpd;wJ. 

fk;ngdpapd; eph;thfj;jpdUf;F 

kl;LNk ,J gad;gLfpwJ. 

18. nghUSf;fhd tpiy eph;zak; 

nra;tjpy;iy. 

nghUSf;fhd tpiyia eph;zak; 

nra;fpd;wJ. 

19.eltbf;iffisg; gjpT kl;Lk; 

nra;fpd;wJ. 

eltbf;iffis gjpT nra;J 

fl;Lg;gLj;Jfpd;wJ. 

20. epiyahd nryT> khWk; nryT 

fl;Lg;gLj;j$ba nryT> fl;Lg; 

gLj;jKbahj nryT 

Nghd;witfis NtWgLj;jp 

fhl;Ltjpy;iy. 

,J vy;yh nryTfisAk; 

NtWgLj;jp fhl;Lfpd;wJ. 

21.njhopyhsh;> ,ae;jpuk;> 

nghwpfyd; nghd;wtw;wpd; jpwid 

fhl;Ltjpy;iy. 

vy;yhtw;wpd; jpwif fhl;Lfpd;wJ. 

 

7. mlf;f fzf;fpaypd; ed;ikfs;: 

1. ve;j cw;gj;jp Kiwapy; ,yhgk; cs;sJ my;yJ vjpy; e~;lk; 

cs;sj vd;w tpguj;ij ,J eph;thfj;jpw;F njhptpf;fpd;wJ. 

2. epWtdj;jpd; jpwikia mstpl;L mjd; jpwd; Fiwahky; ghh;j;Jf; 

nfhs;fpwJ. 

3. cw;gj;jp nra;fpd;w nghUSf;F tpiy eph;zak; nra;fpd;wJ. 

4. nghpa xg;ge;jq;fSf;F Njitahd nlz;lh; tpiyf;Fwpg;Gfs; Nghd;w 

jfty;fis mspf;fpd;wJ. 

5. epWtdj;jpd; vjph;fhy cw;gj;jp nfhs;iffSf;F topfhl;bahf 

tpsq;Ffpd;wJ.  

6. el;lq;fisAk;> Nrjhuq;fisAk; fhl;b mjid fl;Lg;gLj;jp ,yhgk;> 

mjpfhpf;f cjTfpd;wJ. 7. ruf;Ff; fzf;nfLg;G nra;ahkNy ,yhgk;> 

el;lj;ij Fwpg;gpl;l fhyj;jpw;F> eph;zak; nra;a Kbfpd;wJ. 8.) 
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nfhLf;fg;gl;l jfty;fis Gs;sp tpguq;fs; rk;gfkhfapUg;gjhy; gy;NtW 

fhyq;fNshL xg;gpl;L ghh;f;fKbfpwJ. 9.) rhpahd ,yhgk; mjpfhpg;G 

my;yJ FiwT gw;wpa tpguj;ijf; fz;L gpbf;fpd;wJ. 10.) gy;NtW 

njhopyhsh;fspd; jpwikia ,J ntspfhl;Lfpd;wJ.11.) fldPe;Njhh;> 

KjyPl;lhsh; Nghd;w  ntsp egh;fs; vspjpy; epWtdj;jpd; epjp 

epiyikia njhptpj;Jf; nfhs;s KbfpwJ. 12.) fhyhy; thp> tUkhd thp 

Nghd;witfis fzpj;J thptpjpf;f kj;jpa khepy muRf;F cjtp 

Ghpfpd;wJ. 13.) cw;gj;jpapd; mlf;ftpiyf; Fiwj;J mjpf ,yhgk; 

jUtNj ,jd; Nehf;fkhFk;. ,jdhy; cw;gj;jp $Lfpd;wJ. nghUspd; 

mlf;ftpiy Fiwtjhy; nghUis thq;Fgth; Fiwe;j tpiyapy; 

nghUis thq;f cjtpGhpfpd;wJ. ,jdhy; Efh;Nthh; 

gad;ngWfpd;wdh;.14.) ,J nghJj;Jiw epWtdq;fSf;F nghpJk; 

cjTfpd;wJ. ey;y jukhd nghUs; Nritia Fiwe;j tpiyapy; 

mspf;fpd;wJ. 15.) nryitf; fl;Lg;gLj;Jfpd;wJ. 16. tuT nryT 

jpl;lj;jpd; %yk; ele;j nryT eph;zapf;fg;gl;l nryTfis 

fhz;gpf;fpd;wJ. 

8. mlf;ftpiy fzf;fpaypd; Kf;fpaj;Jtk;: 

my;yJ mlf;ftpiy fzf;fpaypd; gzpfs;: 

 Nkyhz;ikapd; kpf Kf;fpag; gzpfshfpa jpl;lkpLjy;> KbT 

vLj;jy; kw;Wk; fl;Lg;gLj;Jjy; Mfpaitfis epiwNtw;w 

Nkyhz;ikapdUf;F mlf;ftpiy fzf;fpay; cjTfpd;wJ. 

m.) jpl;lkpLjy;: nray;gLtjw;F Kd; jPtukhf xU fhhpaj;ij 

Muha;tNj jpl;lkpLjy; vdg;gLk;. 

M.) KbT vLj;jy;: gy;NtW eltbf;iffspy; gFj;jwpTNthL rhpahd 

KbTfisj; Njh;e;njLg;gNj KbntLj;jy; vd;W ngah;> 

,.) fl;Lg;gLj;Jjy;:Kd;$l;bNa jPh;khdpj;j nrytpid cz;ikapy; ele;j 

nryNthL xg;gpl;Lg;ghh;j;J VNjDk; NtWghL fhzg;gl;lhy; mjid 

Muha;e;J mjidj; jPh;j;J itg;gjhFk;. NkNy fz;l %d;W Nkyhz;ik 

gzpfis jpwikAld; epiwNtw;w Nkyhz;ikapdUf;F mlf;ftpiy 

fzf;fpay; nghpJk; Kf;fpakhdjhf tpsq;Ffpd;wJ. 

Nkyhz;ikapdUf;F mlf;ftpiyf; fzf;fpayhdJ fPo;f;fz;l topfs; 

%yk; cjTfpd;wJ.  
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1.) mlf;ftpiyr; nryTfis Nrfhpj;J> mtw;iw tifg;gLj;jp 

Njitahd jfty;fis Nkyhz;ikf;F mDg;gp mlf;ftpiyiaf; 

fl;Lg;gLj;jp ,yhgk; fpilf;Fk; topKiwiaf; fz;Lgpbf;fpd;wJ. 

2.) nghUs;> ciog;G> Nkw;r;nryT> Nghd;witfis rpwg;ghf fl;Lg;gLj;j 

mlf;ftpiyf; fzf;fpayhdJ Nkyhz;ikf;F cjTfpd;wJ. 

3.) mlf;ftpiyr; nryTfis Jy;ypakhf toq;Ftjhy; njhopy; 

nfhs;ifia vspjpy; jahhpf;f Kbfpd;wJ. 

4.) tuT nryT jpl;lj;ij jahhpj;J eph;thfj;jpw;F mspg;gjhy;> mlf;f 

nrytpid vspjpy; fl;LgLj;j Kbfpd;wJ. jpwikapd;ik Nrjhuk;> 

tPzhd Neuk;> Nkw;r;nryTfs; Nghd;witfis eph;thfk; jLj;J epWj;j 

,e;j jpl;lk; cjTfpd;wJ. 

5.) mDkjpj;j Neuk;> mDkjpj;j cw;gj;jp Nghd;wtw;iw Kd;$l;bNa 

jPh;khdpg;gjhy; eph;thfk; vspjpy; jpwikia fzpf;f cjTfpd;wJ. 

6.) fpilf;ff; $ba tsq;fis rpwg;ghf gad;gLj;Jtjhy; Njitahd 

nryTfisf; fl;Lg;gLj;Jfpd;wJ. 

7.) jpl;lkpLjy;> tuT nryTj; jpl;lk;> mlf;f nryT fl;Lg;gLj;Jjy; 

,e;j %d;Wk; Nkyhz;ikf;F Kf;fpakhd fUtpahFk;.8.) mlf;ftpiyf; 

fzf;fpaypy; fhzg;gLk; Nkhrb> gpiofis mlf;ftpiy jzpf;ifapd; 

%yk; fz;Lgpbj;J mjidj; jLg;gjw;F cjTfpd;wJ. ,jd; %yk; 

fzf;fpapaypd; El;gk;> nray;Kiw Nghd;wiyfis fz;Lgpbj;J 

ek;gfkhd mwpf;ifia eph;thfj;jpw;F rkh;g;gpf;f KbfpwJ. 

jzpf;ifahsh; mwpf;ifapd; %yk; Nkyhz;ik vspjpy; mlf;ftpiy 

nryitf; fl;Lg;gLj;Jfpd;wJ. 

9.) mlf;f fzf;fpaypd; FiwghLfs;  

1.),J xNu rPuhdKiwNa gpd;gw;Wtjpy;iy. ,e;j fzf;fpaypd; 

KbthdJ kjpg;Ngl;by; miktjhy; xNu khjphpahd Kbtfs; 

fpilg;gjpy;iy.2.) ,jpy; mjpf msT vz;zpf;ifapy; kuGfSk; Vw;Wf; 

nfhs;sg;gl;l nfhs;iffSk;> kjpg;gPLfSk; mlf;ftpiyapd; gy;NtW 

$WfSk; fhzg;gLfpd;wd. 

3.) rpwpa kw;Wk; eLj;juf; fk;ngdpfSf;F mjpf nryT cz;lhFfpd;wJ. 

4.) ,J rhpahd mwptpay; vd $w KbahJ. fzf;fpaypd; eilKiwfs;> 

Nfhl;ghLfs;> nghJ mwpT Nghd;wtw;wpd; tsh;r;rpapy; mike;j xU 

fiyahFk;.  
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5.) ,J fhyj;jpw;F jFe;jgb khwf;$bajhFk;. 5. ,jpy; epiwa 

khwf;$ba fhuzpfs; cs;sd. 

6. ,jpy; rhpahd mlf;ftpiyiaf; fzf;fplKbahJ. ruf;fpd; kjpg;G 

KbTwh ruf;F Nghd;witfis kjpg;gPl;L mlf;ftpiyapy; 

fzf;fplg;gLtjhy; cz;ikahd nryTf;Fk; kjpg;gPL nryTf;Fk; 

NtWghLfs; fhzg;gLfpd;wd. 

 

10. mlf;ff; fzf;fpaYf;F vjph;g;G njhptpj;jy; 

 mlf;ff; fzf;fpaiy epWtdj;jpy; mwpKfg;gLj;Jk; nghOJ rpy 

vjph;g;Gfs; tUfpd;wd. gpd;tUk; fhuzq;fSf;fhf vjph;g;G tUfpd;wJ. 

1. Njitapy;yhj xd;W: 

 mlf;ftpiy fzf;fpayhdJ rkPgj;jpy; Njhd;wpajhFk;. njhopw; 

$lq;fs;>mlf;ftpiy fzf;fpay; ,y;yhkNyNa ey;y ,yhgj;NjhLk; 

nropg;NghLk; fle;j fhyq;fspy; ele;Js;sd. vdNt mlf;ftpiyf; 

fzf;fpay; cjtp ,y;yhkNyNa jw;nghOJk; njhopw;$lq;fis 

elj;jyhk;. ,jid epWtpdhy; mjpf nrythFk;. ,J Njitapy;yhj 

nryT vdf; fUjg;gLfpd;wJ. 

2. nghUe;jf;$baJ 

 ,J midj;J njhopw;rhiyf;Fk; nghUe;jf;$bajy;y. tzpf 

epWtdq;fs; rpwpa njhopy;fSf;F ,J Vw;wjy;y. Vnddpy; ,jid epWt 

Ntz;Lkhdhy; mjpf nrythFk;. 

3. Njhy;tpahd Kiw: 

 gy;NtW fhyq;fspy; ,jd; KbTfs; Njhy;tpia re;jpj;Js;sJ. 

,J vjph;ghh;j;j Kbit jUtjpy;iy. vdNt ,e;j Kiw Njhy;tp 

Mdjw;F gy;NtW fhuzq;fs; cs;sd. khWgl;l fUj;ijf; nfhz;l 

eph;thfk; njhopyhsh;fspd; xj;Jiog;G ,y;yhik. trjpapd;ik Nghd;w 

fhuzq;fspdhy; ehk; vjph;ghh;j;j Kbit ,J jUtjpy;iy. 

4. gbtq;fspYk; tpjpKiwapy; kl;LNk fhzg;gLfpd;wJ: 

 jfty;fs; ahTk; gbtq;fspYk;> tpjpKiwfisAk; nfhz;Nl ,J 

jahhpf;fgLfpd;wJ. Mdhy; fhyj;jpw;Nfw;wthW gbtq;fisAk;> tpjp 

KiwfisAk; mbf;fb khw;wp mikf;f Ntz;Lk;. xNu khjph; 

gbtq;fisAk; tpjpKiwAk; ,Ug;gjhy; ntWk; jftiy kl;Lk; 

mspf;fpd;wJ. 
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5. mjpfr; nryitf; nfhz;lJ: 

 mlf;ftpiyf; fzf;fpaiy epWtp mjid fk;ngdpapy; 

nray;gLj;Jk;nghOJ mjpf nryT cz;lhFk;. ,t;thW gy;NtW 

mbg;gil fhuzj;ij nfhz;L ,e;j Kiwia epWtdj;jpy; 

mwpKfg;gLj;Jtjw;F vjph;f;fpd;wdh;. 

11. ey;y mlf;ftpiyapd; rpwg;gpay;Gfs;: 

1. njhopypd; ed;ikf;F Vw;wthW nghUj;jkhapUf;f Ntz;Lk; 

 njhopypd; jd;ik> Njit kw;Wk; njhopypd; msT 

Nghd;witfSf;F jFe;jthW mlf;ftpiyia cUthf;f Ntz;Lk;. ve;j 

Nehf;fj;jpw;F ,jid cUthf;fpAs;NshNkh me;j Nehf;fk; epiwNtw 

cjt Ntz;Lk;. NghJkhd nra;jpfis epWtdj;jpw;F mspj;J ey;y 

Kiwapy; eilngWk; mstpy; mika Ntz;Lk;. 

2. vspik 

 ,k;Kiw vspikahf ,Uf;f Ntz;Lk;. rhjhuz kdpjh; $l 

,k;Kiwia vspjpy; Ghpfpd;wthW mika Ntz;Lk;. ,jd; jfty;fis 

rhpahd Neuj;jpy; rhpahd egUf;F rhpahd gbtj;jpy; rkh;g;gpf;f Ntz;Lk;. 

3.nefpo;r;rp jd;ik 

 #o;epiyf;F jFe;jthW ,k;Kiw khWk; jd;ikia nfhz;ljhf 

tpsq;f Ntz;Lk;. 

4. rpf;fdk; 

 ,k;Kiwapdhy; nryT mjpfhpf;fhky; ,Uf;f Ntz;Lk;. 

5. xg;gpl;Lg; ghh;j;jy;: 

 fle;j fhy nryit itj;Jf;nfhz;L epfo;fhyr; nryit eph;thfk; 

xg;gpl;Lg; ghh;f;ff; $ba trjpfis ,J mspf;f Ntz;Lk;. 

6. Njitahd Neuj;jpy; jfty;fis mspf;f Ntz;Lk;. 

 mlf;ftpiy gw;wpa jfty;fis Jy;ypakhfTk;> njhifapd; 

kjpg;gpy; chpa Neuj;jpy; mspj;jhy;> eph;thfk; rhpahd KbTfis 

vLg;gjw;F cjtpahf ,Uf;Fk;. 

7. eph;thf mikg;G Kiw khwf;$lgJ 

 ,k;Kiwia mwpKfg;gLj;Jtjhy; Vw;fdNt cs;s mikg;G Kiw 

khwhky; ,Uf;f Ntz;Lk;. 
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8. gbtq;fis xNu rPuhfapUf;f Ntz;Lk; 

 jfty;fis mspf;f gad;gLj;Jk; gbtq;fs; xNu khjphpahf ,Uf;f 

NtzLk;;. gbtq;fs; mr;rpl;litahfapUf;f Ntz;Lk;. 

9. Fiwe;j vz;zpf;if nfhz;l vOj;jh;fs; 

 gbtq;fis epug;g gad;gLj;jg;gLk; egh;fspd; vz;zpf;if 

FiwthfapUf;f Ntz;Lk;. 

10. nghUis fl;Lg;gLj;j jpwikahd KiwapUf;f Ntz;Lk; 

 nghUisf; fl;Lg;gLj;j jpwikahd fl;Lg;ghl;L Kiwia nfhz;L 

tu Ntz;Lk;. 

11. NghJkhd $yp nrYj;j nray;KiwapUf;f Ntz;Lk;. 

 $ypir; nrYj;j xU xOq;fhd eilKiwiaf; filgpbf;f 

Ntz;Lk;. 

12. nryTfisj; Jiwthhpahf xOq;FgLj;Jjy;: 

 ey;y jpl;lk; xd;iw jahhpj;J mjd; %yk; Nkw;nryTfisr; 

Nrfhpj;jy;> xJf;Fjy;> gfph;e;jspj;jy;><h;j;jy; Nghd;witfis nra;jhy; 

mlf;ftpiyiaj; Jy;ypakhf fzf;fplyhk;. 

13. mlf;ftpiy kw;Wk; epjprhh; fzf;fpapay; rhpfl;ly; 

 ,t;tpuz;L fzf;FfisAk; mNj fzf;fpay; gjpTf;F nfhz;L tu 

Ntz:Lk;. ,y;iynadpy; jdpj;jdpahf guhkhpj;jhy; rhpfl;lYf;F top 

tFf;f Ntz;Lk;. 

14. mlf;ftpiyf; fzf;fhshpd; flikfSk; nghWg;GfSk;  

 mlf;ftpiyf; fzf;fhpd; flikfisAk;> nghWg;GfisAk; 

njspthff; $wg;glNtz;Lk;. 

12. mlf;ftpiy Kiwia epWTjy; (mwpKfg;gLj;Jjy;) 

 fPo;fz;l mbg;gilf; fhuzpfis kdjpy; nfhz;L mlf;ftpiyf; 

fzf;fhsh; mlf;ftpiy Kiwia fk;ngdpapy; mwpKfg;gLj;jyhk;. 

1.) fk;ngdpapd; jw;Nghija mikg;G Kiwia ghjpf;fhj tz;zk; 

,jid epWt Ntz;Lk;.2.) gbg;gbahf mlf;ftpiy Kiwia> 

mwpKfg;gLj;j Ntz;Lk;.3.) mjpfkhd gjpTfis Nkw;nfhs;tij jtph;f;f 

Ntz;Lk;. 

mlf;ftpiy Kiwia epWTtjw;Fhpa topfs; 

1.) Nehf;fj;ij ,jd; %yk; epiwNtw;wg;gl Ntz;Lk;. mlf;ftpiy Kiw 

vspikahf;FtJk; mlf;ftpiyia eph;zapg;gNj ,jd; Nehf;fkhFk; 
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epWtdk; nghpajhfpapUe;jhy; nra;jpfis eph;thfj;jpw;F toq;fp 

mlf;ftpiyiaf; fl;Lg;gLj;jTk; KbT vLg;gjw;Fk; cjTfpd;wd. 2.) 

jw;Nghija fk;ngdpapd; mikg;G Kiwfs; mjd; tof;fkhd 

nray;Kiwfis njhpe;J nfhs;s Ntz;Lk;.3.) epWtdj;jpd; jd;ikf;F 

Vw;wthW mlf;ftpiyf; fzf;fpaiy mikf;f Ntz;Lk;.4.) Neh;Kfr; 

nryT kiwKfr; nryT Nrjhuk; tpiy mspg;G Kiw Nkw;r;nryT kPl;G 

Nghd;witfis ed;whf Muha;e;j gpd;dh; mlf;ftpiy 

eph;zapf;fg;gLfpwJ. 

eilKiwapy; Vw;gLk; gpur;ridfisAk; fbdq;fisAk; jtph;g;gjw;Fhpa 

topKiwfs;: 

1. Nky;epiy mjpfhhpfspd; xj;Jiog;G cWjp nra;j gpd;dNu 

mlf;ftpiy Kiwia fk;ngdpapy; mwpKfg;gLj;j Ntz;Lk;. 

2. Vw;fdNt fzf;fpay; Jiwiar; rhh;e;j mYtyh;fisAk; ,jpy; 

gad;gLj;Jk; nghOJ mth;fSf;F xU tha;g;G fpilf;fpd;wd. ,jdhy; 

mth;fSk; jkf;F Kf;fpaj;Jtk; je;jjhf fUjp gzpiar; rpwg;ghf 

nra;thh;fs;. 

3. ,k;Kiwia mwpKfg;gLj;Jtjhy; gzpahsh;fSf;F fpilf;ff;$ba 

ed;ikfis vLj;Jf; $wpdhy; mth;fs; kj;jpapy; xU ek;gpf;if Vw;gLk;. 

mjd;gpd; ,k;Kiwia gbg;gbahf mwpKfk; nra;Ak;nghOJ mth;fSk; 

jukhf Kd;te;J xj;Jiog;G jUthh;fs;. 

4. mlf;ff;fzf;fpay; Jiwapy; gzpGhpAk; mYtyh;fSf;F gapw;rp 

mspj;jhy; mth;fSk; ,jd; El;gq;fis njhpe;J nfhz;L ntw;wpfukhf 

nray;gLj;Jthh;fs;. 

5.ve;j epWtdj;jp;w;F ,J Njitg;gLfpd;wNjh me;j epWtdj;jpy; kl;Lk; 

,jid mwpKfg;gLj;j Ntz;Lk;. 

6. ,k;Kiwia mbf;fb njhlh;e;J Nkw;ghh;it nra;a Ntz;Lk;. 

,t;thWNkNy $wpaitfs; filgpbj;jhy; eilKiw gpur;ridia 

jtph;f;fyhk;. 

13. mlf;ftpiy Kiwfs; 

 mlf;ftpiy Kiwiag; gad;gLj;Jk;nghOJ nghUspd; 

mlf;ftpiyiaf; fz;lwpaTk; fl;Lg;gLj;jTk; Kbfpd;wJ. mbg;gilapy; 

,uz;L Kiwfs; cs;sd. 1.) Fwpg;gpl;l Miz mlf;ftpiy 2.) 

nray;ghl;L mlf;ftpiy 
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i.)  Fwpg;gpl;l Miz mlf;ftpiy: ,k;Kiwapy; thbf;ifahsh; toq;fpa 

gzp xg;ge;j gzp Nghd;witfs; mlq;Fk;. 

ii.) nray;ghl;L mlf;f tpiy: njhlh;e;J tUk; cw;gj;jp nghUspd; 

mlf;ftpiyapd; gbtopKiwapy; fz;Lgpbg;gjhFk;. 

rpy Kf;fpakhd mlf;ftpiy Kiwfs; fPNo nfhLf;fg;gl;Ls;sd 

1.) gzp mlf;ftpiy: thbf;ifahsh; toq;fpa Mizf;F jFe;jthW 

gzp epiwNtw;wg;gLfpd;wd. xt;nthU gzpf;Fk; jdp vz; 

toq;fg;gLfpwJ. gzp Muk;gpj;j ehs; Kjy; mJ KbAk; tiu Vw;gLk; 

nryTfis Nrfhpj;J mjpy; fhzg;gLk; nryTfSf;F mlf;ftpiy 

fzf;fplg;gLfpd;wJ. xt;nthU gzpAk; vspjpy; milahsk; fz;L 

nfhs;syhk;. xt;nthU gzpf;Fk; chpa mlf;ftpiyia gFg;gha;T 

nra;a Ntz;Lk; gzpapy; fhzg;gLk; nryTfSf;F gzp ml;ilia 

xt;nthU gzpf;Fk; toq;f Ntz;Lk;. v.fh.mr;rfk;> ijay; fil> 

,ae;jpu ghfq;fs; cw;gj;jp nra;Ak; epWtdk;> ,Q;rpdpahpq; xh;f;]; 

gOJePf;Fk; epWtdk; Nghd;witfs gzp mlf;ftpiy Kiwapy; 

tUfpd;wJ. 

2.) xg;ge;j mlf;ftpiy  

 xU Ntiy nghpaitahfapUe;J mJ epiwNtw;w mjpf fhyk; 

Njitg;gl;;lhy; xg;ge;j mlf;ftpiy Kiwia gad;gLj;jyhk;. xt;;nthU 

xg;ge;jj;jpw;Fk;> fl;bl xg;ge;jf;fhuh;fs; rptpy; nghwpahsh;fs;> fl;blf; 

fiyQh;fs; Nghd;wth;fs;. ,k;Kiwia gad;gLj;Jfpd;wdh;. 

mizf;fl;Ljy;> rhiy mikj;jy;> fl;blk; fl;Ljy; Nghd;w fl;Lkhdg; 

gzpfs; ,jw;F cjhuzkhFk;. 

3.) FO mlf;ftpiy 

 ,J gzp mlf;ftpiy Kiwapd; tp];jhpg;ghFk;. xU gzpia 

gy;NtW FOf;fshf gphpe;J gzpepiwNtw;wg;gLtNj FO mlf;ftpiy 

KiwahFk;. xU myfpd; mlf;ftpiyNa mjd; FOthFk;. mjid; 

jdpahf fzf;fplg;gLfpd;wJ. xU FOtpd; mlf;ftpiyia me;jf;FO 

cw;gj;jp nra;j nghUspd; vz;zpf;ifapy; tFj;jhy; xU myfpd; 

mlf;ftpiyia fz;Lgpbj;J tplyhk;. 

 gp];fl; jahhpf;Fk;> epWtdk;> nubNkl; Milfs; jahhpf;Fk; 

epWtdk; cjphp ghfq;fis jahhpf;Fk; epWtdk; Nghd;witfs; FO 

mlf;ftpiy Kiwapd; vLj;Jf;fhl;lhFk;. 
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4.) gb topKiw mlf;ftpiy: 

 xNu khjphpahd njhlh;e;J cw;gj;jpahFk; nghUSf;F ,k;Kiw 

nghpJk; gad;gLfpwJ. xU gb topKiwapd; KOikahd nghUs; 

kw;nwhU cw;gj;jp nghUSf;F %yg;nghUshf khwp jdJ 

jdpj;jd;ikia ,oe;J cw;gj;jpahdJ njhlh;r;rpahf tUk; xt;nthU gb 

top Kiwf;Fk; jdpj;jdpahf fzf;F itj;jpUf;f Ntz;Lk;. filrp top 

Kiwapy; jhd; KOikahd nghUs; fpilf;FK;. xt;nthU gb top 

KiwfspYk; nghUspd; nkhj;j mlf;ftpiyia fz;Lgpbf;fyhk;> fhfpj 

Miy> gUj;jp Miy> ,urhaz njhopw;rhiy> rh;f;fiu Miy ug;gh; 

njhopw;rhiy> th;zk; kw;Wk; czT gz;lk; jahhpf;Fk; epWtdk;> jq;f 

Ruq;fk;> Nghd;wiyfs; ,k;Kiwia gad;gLj;Jfpd;wdh;. 

5. nray;ghl;L mlf;ftpiy  

 xNu khjphpahd nghUis cw;gj;jp nra;Ak; epWtdj;jpw;F ,k;Kiw 

nghUe;Jfpd;wJ. fy;ntl;Lk; Ruq;fk;> jhJnghUs; ntl;b vLf;Fk; Ruq;fk;> 

vz;nza; Rj;jpfhpg;G epiyak;> rpnkz;l; Miy nrq;fy; jahhpf;Fk; 

epWtdk; Mfpait ,k;Kiwia gad;gLj;jyhk;. ,jid fPo;fz;lthW 

mstplg;gLfpd;wJ. 

 1 %il (50 fpNyh) rpnkz;l;> 1000 nrq;fy;> 1 ld; epyf;fhp 

xt;nthU myfpd; mlf;ftpiy fz;Lgpbg;gNj ,jd; Nehf;fkhFk;.  

6. Nrit mlf;ftpiy  

 Nrit Jiwapy; <LgLk; epWtdq;fshfpa Nghf;Ftuj;J Jiw> 

kpd;rhuk;> jz;zPh; rg;is epWtdk;> kUj;Jtkidfs;> czT tpLjp> 

vhprf;jp> thA Nghd;w fk;ngdpfs; nghJ kf;fSf;F mj;jpahtrpa 

nghUis mspf;fpd;wd. fp.kP.Nghf;Ftuj;J fpNyh thl;Neuk; kpd;rhuk;> 

Nehahspapd; xU ehs; thlif - kUj;Jtkid> Nghd;w myfpd; 

mbg;gilapy; mlf;ftpiy fzf;fplg;gLfpd;wd. 

7. nray;ghl;L nghUl;fs; mlf;ftpiy 

 ,k;Kiwapy; fr;rhg; nghUspd; mlf;ftpiyahdJ. KOik 

nghUspd; mlf;ftpiyf;F khwg;gLtij fz;Lgpbf;fyhk;. 

8. ngUf;fy; tpfpj mlf;ftpiy  

 xU nghUspd; mlf;ftpiy fzf;fpl xd;Wf;F Nkw;gl;l 

mlf;ftpiy fzpg;G Kiwia gad;gLj;JtNj ngUf;fy; tpfpj 

mlf;ftpiyahFk;. irf;fps cw;gj;jp>Ml;Nlh nkhigy;]; ,Q;rpd;>NubNah 
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jl;lr;R ,ae;jpuk;> Mfha tpkhdk;> Nghd;witfisj; jahhpf;Fk; 

epWtdj;jpw;F ,k;Kiwia gad;gLj;jg;gLj;jyhk;. 

14. mlf;ftpiyapd; $Wfs; (Element of cost) 

mlf;ftpiyapy; %d;W $Wfs; cs;sd. mit 

 1.) nghUl;fs; (Material) 

 2.) ciog;G (Labour) 

 3.) nryTfs; (Expenses) 

1.) nghUl;fis ,uz;L tifg;gLj;jyhk;. mit (Materials) 

 m.) Neub nghUl;fs; (Direct Materials) 

 M.) kiwKf nghUl;fs; (Indirect Material) 

2.) ciog;G ,uz;L tifg;gLk; ( Labour) 

 m.) Neub ciog;G (Direct Expenses) 

 M.) kiwKf nghUl;fs;( Indirect Labour) 

3.) nryTfs; ,uz;L tifg;gLk;(Expenses) 

 m.) Neub nryTfs; (Direct Expenses) 

 M.) kiwKf nryTfs;Indirect Expenses ( Overheads) 

kiwKfg; nghUl;fs;> kiwKf ciog;G> kiwKf nryTfs;> 

midj;ijAk; nfhz;lJ Nkw;r;nryTfs; vdg;gLk;. 

Nkw;nryTfis %d;W gphpTfshfg; gphpf;fyhk;. 

m.) cw;gj;jp my;yJ njhopw;rhiy Nkw;r;nryT(Factory Overheads) 

M.) mYtyfk; kw;Wk; eph;thf Nkw;nryTfs;.(Office & Administrative 

overheads) 

,.) tpw;gid kw;Wk; tpdpNahf Nkw;nryTfs;(Selling & Distribution 

Overheads) 

mlf;ftpiy $Wfis gy gphpTfshf gphpf;fyhk; 

I.Kjd;ik nryTfs;(Prime cost)= Neub nryTfs;  + Neub ciog;G + 

Neub nryT 

II. njhopw;rhiy nryT ( Factory Cost) = Kjd;ik nryT + njhopw;rhiy 

Nkw;r; nryTfs; 
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III. cw;gj;jpf;fhd nryT(Cost of Production) = njhopw;rhiy nryT + 

mYtyfk; kw;Wk; eph;thf Nkw;nryT 

IV. nkhj;j mlf;ftpiymy;yJ (Total cost)= cw;gj;jpf;fhd nryT + 

tpw;gid tpw;gidapd; mlf;ftpiy kw;Wk; tpepNahf Nkw;nryT. 

Total cost or cost of sales 

Total cost = Cost of production + Selling and distribution overheads. 

 

mlf;ftpiyf;$Wfs; 

 

nghUl;fs;       ciog;G    nryTfs; 

 

 

 

 

 

 

 

 

mlf;ftpiyf; $Wfspd; nghUs; tpsf;fk;: 

1.) Neubg; nghUl;fs;: (Direct Materials) 

 mlf;ftpiy ikaq;fs; my;yJ mlf;ftpiy myFfs; 

Mfpatw;Wld; vspjpy; milahsk; fz;L nfhs;sg;gl;L mjid 

Neubahf  cw;gj;jp nra;ag;gl;l nghUSf;F xjf;fPL nra;Ak; nghUspd; 

mlf;ftpiyNa NeubnghUs; vdg;gLk;. 

 KOikaile;j nghUspd; mq;fNk Nebg;nghUshFk;. ,J 

Kjd;ikr; nrytpd; xU gFjpahFk;. ,J cw;gj;jp nra;ag;gl;l 

nghUSf;F Neubahf xJf;fPL nra;ag;gLfpd;wJ. 

v.fh: rpnkz;l; - [pg;rk;> Rz;zhk;G (fr;rhg; nghUs;) 

 rh;f;fiu - fUk;G ( fr;rhg; nghUs;) 

 rhf;F - rzy; (fr;rhg; nghUs;) 

 Milfs; - gUj;jp (fr;rhg; nghUs;) vdNt vy;yhtpj 

fr;rhg;nghUSk; Neub nghUshf cs;sd. 

Neh;Kfk; kiwKfk; Neh;Kfk; kiwKfk; Neh;Kfk; kiwKfk; 

Nkw;nryTfs;  

njhopw;rhiy 

 Nkw;r;nryTfs;  

mYtyf nryTfs;  

Nkw;r;nryT 

    tpw;gid kw;Wk;  

 tpepNahf Nkw;r;nryT 
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cjphp ghfq;fSk; xU Neub nghUshFk;. 

v.fh.irf;fps; lah;> bA+g;> buhd;rp];lh; NubNahtpy; cs;s ghl;lhp 

nrUg;G jahhpf;fj; cjTk; Njhy; xU fr;rhg; nghUshFk;. 

 
2. Neub ciog;G (Direct Labour) 

 fr;rhg;nghUis KOikahd nghUshf khw;w <LgLk; Neub 

njhopyhsh;fSf;F toq;fg;gLk; Cjpak; Neub ciog;G my;yJ Neh;Kf 

$yp vdg;gLk;. Neub ciog;ig vspjpy; trjpahf milahsk; 

fz;Lgpbj;J mjid Neubahf me;j cw;gj;jp nra;ag;gl;l nghUSf;F 

xJf;fPL nra;ag;gLtNj Neub ciog;G vdg;gLk;.cw;gj;jpapy; Neubahf 

<LgLk; njhopyhsh;fs; cw;gj;jp nra;a cjTgth;fs; Ma;thsh;fs; 

MfpNahh; Neub ciog;gpy; mlq;Fthh;. 

3.) Neubr; nryT ( Direct Expenses) 

 xU Fwpg;gpl;l nghUSf;F Neub nghUs;> Neub ciog;G ,y;yhky; 

kw;w nryTfs; Vw;gl;lhy; mjid Neubr; nryT vdg;gLk;. ,e;j 

nryit Fwpg;gpl;l mlf;ftpiy ikaq;fSf;F Neubahf xJf;fPL 

nra;ag;gLfpd;wJ. ,J Kjd;ikr; nrytpd; xU gFjpahFk;. ,e;er; 

nryit vspjpy; milahsk; fz;L mjw;Fhpa mlf;ftpiy 

ikaq;fSf;F xJf;fPL nra;ag;gLk;. 

 chpikj;njhif> nghUs; Vw;wp tuf;$ba tz;b thlif 

nfhs;Kjy; nra;Ak; nghUSf;Fhpa fyhy; thp> fl;blf; fiyQhpd; 

fl;lzk;> gOjile;j Ntiyia epth;j;jp nra;a Vw;gLk; nryT> 

thliff;F vLj;j nghwpfyd;> ,ae;jpuq;fs; ahTk; Neub nryTf;Fhpa 

cjhuzq;fshFk;. 

4. kiwKf nghUs;fs ( Indirect Materials) 

 ,J cw;gj;jp nra;ag;gl;l nghUspy; xU gFjp my;y. ,jd; 

nryTfis vspjpy; milahsk; fz;Lnfhs;s KbahJ. ,jid 

Neubahf cw;gj;jp nra;ag;gl;l nghUSf;F xJf;fPL nra;a Kbahj 

,e;jr; nryTfis gfph;e;jspf;ff;$ba my;yJ <h;f;ff;$ba Kiwapy; 

xJf;fPL nra;ag;gLfpwJ. ,jid Neubahf mstpl KbahJ. 

,ae;jpuq;fs; ey;y Kiwapy; guhkhpf;f Vw;gLk; nryTfshfpa 

fphp];>Y}g;gphpf;fzl; Mapy;> Njitaw;w Jzp> rpwpa ^y;];> Jzp 

ijf;fj; Njitg;gLk; E}y;> kidnghUspy; fhzg;gLk; Mzp> (gyif 
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ehw;fhypapy; cs;s Mzp> thh;dp]; nrUg;gpy; fhzg;gLk; Mzp> gir 

mYtyf vOjg;nghUs;fs; Nghd;witfs; kiwKfg; nghUs;fs; MFk;.) 

5. kiwKf ciog;G( Indirect Labour ) 

 ,J cw;gj;jpapd; xU gFjp my;y. cw;gj;jp nra;tjw;F Jizahf 

,J cs;sJ. ,jd; nryTfis vspjpy; milahsk; fhzKbahJ. 

xJf;fPL nra;a ,ayhj ,e;jr; nryTfis mlf;ftpiy ikaq;fs; 

my;yJ mlf;ftpiy myFf;Fg; gfph;e;jspf;Fk; Kiw my;yJ <h;f;Fk; 

Kiwapy; xJf;fPL nra;ag;gLfpwJ. ,jd; nrytpid Neubahf cw;gj;jp 

nghUSf;F xJf;fPL nra;aKbahJ. fz;fhzpg;ghsUf;Fhpa rk;gsk;> 

Nkw;ghh;itahsh; rk;gsk;> nghJ Nkyhsh; rk;gsk;> mYtyf mjpfhhpapd; 

rk;gsk;> gz;lff; fhg;ghshpd; rk;gsk;> mYtyf mjpfhhpapd; rk;gsk;> 

gz;lff; fhg;ghshpd; rk;gsk;> cs;Jiw nryT Nghd;witfs; kiwKf 

ciog;Gf;Fhpa cjhuzkhFk;. 

6. kiwKf nryTfs( Indirect Expenses) 

 mlf;ftpiy ikaq;fs; my;yJ mlf;ftpiy myFf;F xJf;fPL 

nra;a Kbahj nryTfis gfph;e;J mspj;J my;yJ <h;g;G nra;tjd; 

%yk; mspg;gNj kiwKfr; nryTfs; vdg;gLk;. ,e;j nryTfis 

vspjpy; milahsk; fhzKbahJ. kiwKfg;nghUs;fs;> kiwKf 

ciog;G my;yhjitfs; ahTk;> kiwKf nryTfs; vdg;gLk;. 

njhopw;rhiyf;F nrYj;Jk; thlif> ,ae;jpuq;fspd; Nja;khdk;> 

fl;blq;fspd; Nja;khdk;> gOJ ghh;f;Fk; nryT> njhopyhsh;fspd; 

eyDf;F toq;Fk; nryTfs;>kUj;JtnryTfs;> Gjpa njhopyhsh;fSf;F 

Vw;gLk; gapw;rp nryT> mYtyf thlif> kpd;rhu nryT> nghUis 

tpw;gidf;Ff; nfhz;L nry;tjw;Fhpa tz;b thlif Nghd;witfs; 

kiwKfr; nryTfshFk;. 

 Nkw;nryT vd;gJ kiwKfg; nghUs;fs;> kiwKf ciog;G> 

kiwKfr; nryTfs; Mfpatw;wpd; nkhj;j tbtNk Nkw;nryT vdg;gLk;. 

,jid Rkj;jg;gl;l nryT vdTk; miof;fyhk;. 

Overhead = Indirect material + Indirect Labour + Indirect Expenses  

  mlf;ftpiy gl;bay;( Cost Sheet) 

15. mlf;ftpiyg;gl;bay; vd;why; vd;d? mjd; Nehf;fq;fisf; $W 
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 mlf;ftpiyg;gl;bay; vd;gJ xU mwpf;ifahFk;. ,jpy; xU 

Fwpg;gplg;gl;l tUlj;jpy; cw;gj;jp nra;j nghUspd; nkhj;j 

vz;zpf;ifAk;. mjw;F Vw;gl;l nkhj;j nryT kw;Wk; xU myfpd; 

mlf;ftpiyiaAk; fhl;Lfpd;wJ. mlf;ftpiyf; fzf;fpaypy; gjpT 

nra;j nryTfis Nrfhpj;J gy;NtW gphpTfshff; fhl;Lfpd;wJ. ,J xU 

MtzkhFk;. mlf;ftpiy ikaq;fs; my;yJ mlf;ftpiy myfpypUe;J 

Nrfhpj;j nryTfis tphpthf fhl;Lfpd;wJ. ,ul;il gjpT Kiwia 

gpd;gw;Wtjpy;iy. nryTfisf; $Wfs;> gzpfs;> nray;Kiw Nghd;w 

mbg;gilapy; fhl;Lfpd;wJ. (,jpy; tpw;gidAk; ,yhgKk; 

fhzg;gLtjpy;iy.) ,jpy; nkhj;j mlf;ftpiyAk; xU myfpd; 

mlf;ftpiyAk; fhl;Lfpd;wJ. 

Nehf;fq;fs; 

 1.) nkhj;j mlf;ftpiy nryTfis gy $Wfshf fPo; gphpj;J 

fhl;;Lfpd;wJ.2.) ,jpy; nkhj;j mlf;ftpiy nryTk;> xU myfpd; 

mlf;ftpiy nryTk; fhz;gpf;fpd;wJ. 3.) epfo;fhy nrytpid fle;j 

fhy nryNthL xg;gpl;L ghh;f;fTk;. 4.) tpw;gid tpiyia eph;zapf;fTk;. 

5.) mlf;ftpiyiaf; fl;Lg;gLj;jTk; jpwikapd;ik nfhz;l 

eltbf;iffis Rl;b fhl;LtJk; ,jd; Nehf;fkhFk;. 

ed;ikfs;:  

 1.) nfhLf;fg;gl;l Mz;by; cw;gj;jp nra;ag;gl;l nghUSf;F 

epfo;e;j nkhj;j mlf;ftpiyAk; kw;Wk; xU myfpd; mlf;ftpiyAk; 

fhz;gpf;fpd;wJ. 2.) cw;gj;jpahsh; ,jid neUq;fp ftdpg;gjhy; 

mlf;ftpiy Fiwf;fg;gLfpd;wJ.3.) fle;jfhy nryNthL xg;gpl;Lg; 

ghh;f;fTk;> tpj;jpahrk; fhzg;gl;lhy; mjd; fhuzj;ij Muha;e;J 

mjidj; jtph;f;f cjTfpd;wJ. 4.) cw;gj;jpahsUf;F cw;gj;jpf; 

nfhs;if gw;wpa KO tpguq;fis mspj;J mtUf;F topfhl;bahf 

tpsq;Ffpd;wJ. 5.) tpw;gid tpiyia Jy;ypakhf jPh;khdpf;fpd;wJ. 6.) 

mlf;ftpiy nrytpidf; Fiwf;f cjTfpd;wJ. 7.) nlz;lh; 

Nghd;witfSf;F kjpg;gPL mlf;ftpiy gl;bay; %yk; nlz;lh; tpiy 

jPh;khdpf;fpd;wJ. 
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mlf;ftpiy kw;Wk; epjprhh; fzf;Ff; rhpf;fl;ly; 

1. xU nghUspd; mlf;ftpiyia njhpe;J nfhss; ehk; mlf;ftpiyg; 

gl;baiy jahhpf;fpNwhk;. mJNghy epjpf;fzf;fpaypy; tpahghuj;jpd; 

Mz;L ,wjp ,uhgj;;ijj; njhpe;J nfhs;s ehk; tpahghu ,yhg 

el;lf;fzf;F jahhpf;fNtz;Lk;. 

In the book of cost Account -Cost sheet 

In the book of financial account -Profit and loss account 

2. rhpf;fl;lypd; mtrpak; 

xU epWtdj;jpy; mlf;ftpiy fzf;ifAk; epjpepiyf; 

fzf;ifAk; xNu fzf;fhf itj;J guhkhpj;jy; rhpf;fl;ly; 

Njitapy;iy. mt;thW ,y;yhky; ,uz;Lk; jdpj;jdpahf guhkhpj;J 

te;jhy; ,uz;L fzf;fpy; cs;s ,yhgk; NtWgl;L fhzg;gLk;. 

me;j #o;epiyfspy; rhpf;fl;ly; mtrpakhf cs;sJ. ,uz;L 

VLfspy; fhzg;gLk; NtWgl;l ,yhgj;jpw;fhd fhuzj;ijf; 

fz;Lgpbf;f mlf;ftpiyf; fzf;fpy; Cost -Sheet-k; epjpf;fzf;fpy; 

Profit and Loss account I jahhp;f;f Ntz;Lk;. 

3. mlf;ftpiy fzf;f kw;wk; epjpf;fzf;fpay; cs;s ,yhgk; 

NtWgLtjw;fhd fhuzq;fis $Wf 

fPNo nfhLf;fg;gl;Ls;s ehd;F fhuzq;fspdhy; mlf;ftpiy 

VLk; epjpepiy ,yhgKk; NtWgl;L fhzg;gLfpd;wJ. 

fhuzq;fs;: 

1. rpy eltbf;iffs; epjpepiy Vl;by; kl;Lk; gjpag;gLfpd;wJ. 

2. nrhj;Jf;fist pw;W Vw;gLk; el;lk; > fld; kPjhd tl;b> tUkhdthp 

nrYj;Jjy; gq;fhjhak; nrYj;jpaJ > ew;ngah; gjpg;Ghpik 

Mfpatw;wpd; kjpg;igf; Fiwj;jy; njhlf;f nryTfisf; 

Fiwj;jy; 

3. ngwNtz;ba thlif> nrhj;J tpw;gjd; %yk; fpilf;Fk; ,yhgk;> 

tq;fp itg;G kPjhd tl;b gq;fhjhak; ngw;wJ Mfpaitfs; 

epjpVl;by; kl;Lk; gjpag;gLtjhy; mlf;ftpiyVL NtWgLfpd;wJ. 
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2. rpy ,dq;fs; mlf;ftpiy fzf;Ffspy; kl;Lk; gjpag;gLfpd;wJ. 

v.fh. 

chpikahshpd; rk;gsk;> KjyPL kPjhd tl;b chpikahshpd; 

epWtdk; nrhe;j fl;blj;jpy; nray;gLk; nghOJ tpjpf;f$ba thlif 

Mfpaitfs; mlf;ftpiy fzf;fpy; gjpag;gLtjhy; epjprhh; fzf;F 

NtWgLfpd;wJ. 

3. mlf;ftpiy fzf;F Vl;by; Nkw;nrythdJ mjpfkhf my;yJ 

Fiwthffhzg;gLjy; 

mlf;ftpiy fzf;F fhzg;gLk; Nkw;r;nryTfs; epjp fzf;fpy; 

fhzg;gLk; cz;ikahd nryTfis tpl mjpfkhf fhzg;gl;lhy; mJ 

kpif Nkw;r;nryT vd;Wk; Fiwthf fhzg;gl;lhy; FiwNkw;r;nryT  

vd;W ngah; Nkw;r;nryTfs; %yk; ,uz;L fzf;F NtWgLfpd;wJ. 

4. ruf;fpUg;G kjpg;ig mstpLk; mbg;gilapy; NtWgLjy; 

epjpfzf;fpy; ruf;Ffs; mlf;ftpiy my;yJ re;ijtpiy ,tw;Ws; 

vJ Fiwthf cs;sNjh mJNt ruf;Ffspd; kjpg;ghf 

fzf;fplg;gLfpd;wJ. 

Mdhy; mlf;ftpiy Vl;by; fr;rhg;nghUs;fs; LIFO my;yJ FIFO 

my;yJ ruhrhp Kiwapy;  tpiy eph;zapf;fg;gLfpwJ. KOikahd 

nghUl;fs;  nkhj;j cw;gj;jpf;Fk; nrytpy; kjpg;gplg;gLtjhy; ,uz;L 

VLfSk; NtWgLfpd;wd;. 

5. Nja;khd fzf;fpLtjpy; gy;NtW Kiwfs; cs;sd: 

epjpf;fzf;fpy; nrhj;Jf;fs; kPjhd Nja;khdk; Neh;f;Nfhl;L Kiw 

my;yJ Fiwe;j nry; Nja;khd Kiwapy; fzf;fplg;gLfpwJ. Mdhy; 

mlf;ftpiy fzf;F Kiwapy; ,ae;jpu kzp Neu tPjk; mbg;gilapy; 

Nja;khdk; fzf;fplg;gLfpd;wd. 

6. mrhjhuz el;lk; kw;Wk; mrhjhuz ,yhgk;: 

vjph;ghuhjtpjkhf nghUl;fs; jpUL NghFk;NghJ tpgj;J 

tPzhdNeuk; Mfpa mrhjhuz #oypy; Vw;gLk; el;lj;ij epjpf;fzf;fpy; 

vOjg;gLfpd;wJ. mJNghy; mrhjhuz ,yhgKk; epjpf;fzf;fpy; 

gjpag;gLfpd;wd. Mdhy; mrhjhuz el;lk; kw;Wk; ,yhgk; mlf;ftpiy 
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Vl;by; gjpatpy;iy. Nkw;fz;l fhuzq;fspdhy; epjpf;fzf;F mlf;ftpiy 

fzf;Fk; NtWgLfpd;wd 
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rhpfl;ly; mwpf;if -khjphp 
 

    mlf;ftpiy fzf;fpy; cs;s ,yhgk;.   xxxx 

my;yJ 

epjpf;fzf;fpy; cs;s el;lk;      xxxx 

$l;;Lf: 

1. epjpf;fzf;fpy; kl;Lk; Nrh;e;Js;s ,yhgk;    xxxx 

2. mlf;ftpiy fzf;fpy; kl;Lk; Nrh;e;Js;s nryTfs;  xxxx 

3. mlf;ftpiyapy; fhzg;Lk; kpif Nkw;;r;nryTfs;  xxxx 

4. epjpf;fzf;if fhl;bYk; mlf;ftpiy fzf;fpy; fhl;lg;gLk; 

Nja;khdk; njhif mjpfkhf ,Ug;gJ    xxxx 

5. mlf;ftpiy fzf;fpy; ,Wjp ruf;fpUg;G mjpfkhf fhzg;gLjy; 

          xxxx 

6. epjpf;fzf;if fhl;bYk; mlf;ftpiy fzf;fpy; fhl;lg;gLk; 

7. nryTfs; mjpfkhf fhzg;gLjy;     xxxx 

          xxxx 

fop: 

1. mlf;ftpiy fzf;fpy; kl;Lk; Nrh;e;Js;s tUkhdk;  xxx 

2. epjpf;fz;ffpy; kl;Lk; Nrh;e;Js;s nryTfs;   xxx 

3. epjpf;fzf;if fhl;bYk; mlf;ftpiy fzf;fpy; cs;s 

tUkhdk; mjpfkhf fhzg;gLjy;     xxx 

4. FiwNkw;r;nryTfs; mlf;ftpiyapy; fhzg;gLjy;  xxx 

5. mlf;ftpiy fzf;fpy; ,Wjpruf;fpUg;G Fiwj;J fhl;Ljy; xxx 

6. epjpf;fzf;if tpl mlf;ftpiy fzf;fpy; Nja;khdk;  

Fiwthf fhl;Ljy;       xxx 

epjpf;fzf;fpd; ,yhgk; (my;yJ mlf;ftpiy fzf;fpd; el;lk; xxx 
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Cost Sheet 

Problem No :1 The following data relate to the manufacture of a standard 

product during the month o April 2007 

Rawmaterials consumed   Rs. 20,000 

Direct wages   Rs.12,000 

Machine hour worked  Rs 950 

Machine hour Rate   Rs 2 

Office overhead   15% on works cost 

Selling overhead   37 paise per unit 

Unit Produced    20000 

Units sold    18000 at Rs. 2.50 each  

You are  required to prepare a cost sheet in respect of the above showing  

a) The cost perr unit 

b) Profit for the period 

Solution 

Cost Sheet – April 2007 (units produced 20000  Amount Cost per unit 

Raw materials consumed Rs 
20000

20000
 =1    20,000  1.00 

Direct wages Rs
12000

20000
 =0.60P     12,000  0.60 

              Prime cost         32,000  1.60 

Add       Factory overhead 

              Machine hours(950hours*RS.2)     1,800  0.09 

 

 Factory  cost                                                                    33,800  1.69                                                                                                                                               

Add          office overhead 

                 15% on works cost 

                  33800*15/100      5,070   0.25 

                  Cost of production for 20000 units  38,870  1.94 

Less           closing stock 
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       2000 units of Rs.1.94       3,887  - 

      (2000*1.94) 

                   Cost of production for 18000 units  34,983  1.94 

Add        selling overheads 37 paise per unit 

        (18000units*0.37p)      6,660  0.37 

                    Total cost      41,643  2.31 

         Profit (b.f)       3,357  0.19 

        Sales(18000*2.50)    45,000  2.50 

 

mlf;f fzf;fpaypd; ,uz;L Nehf;fq;fisf; $Wf? 

i. epWtdj;jpy; cw;gj;jp nra;Ak; gy;NtW nghUl;fspd; nkhj;j 

mlf;ftpiyAk; kw;Wk; xU myfpd; mlf;ftpiyAk; 

Jy;ypakhf fz;Lgpbf;fg;gl;lJ. 

ii. gbKiw gFg;gha;T nra;tJ kw;Wk; mlf;ftpiy nryTfs; 

gy;NtW $Wfs; %yKk; nryTfis gFg;gha;T nra;tJ  

iii. tpw;gid tpiyia eph;zak; nra;jy; 

iv. xt;nthU nghUSf;Fhpa ,yhgj;jpid fzf;fpl;L 

eph;thfj;jpw;F mjpfgl;r ,yhgk; ngw Njitahd 

MNyhridfis toq;Fjy; Mfpait mlf;ftpiy 

fzf;fpaypd; Nehf;fq;fshFk;. 

mlf;ftpiy miktplk; vd;why; vd;d? 

mlf;ftpiy miktplk; vd;gJ xU ,Ug;gplk; xU egh; my;yJ 

fUtpfspd; ,dkhFk; mlf;ftpiyia fzf;fplTk;. mjid 

fl;Lg;gLj;jTk; ,J gad;gLfpwJ. ,e;j miktplk; Ms; 

rk;ge;jg;gl;ljhfNth my;yJ Ms; rk;ge;jglhjitahfNth ,Uf;fyhk;. 

,J xU Jiw my;yJ ,ae;jpuk; my;yJ nghwpfyd; my;yJ xU 

tpw;gid gpujpepjp my;yJ xU Fwpg;gpl;l gzp Nghd;wtw;iw Fwpf;fpd;wJ. 

Neub mlf;ftpiy> kiwKf mlf;ftpiy - ,yf;fzk; jUf 

Neub mlf;ftpiy  vd;gJ mlf;ftpiy ikaq;fs; my;yJ 

mlf;ftpiy myF Mfpatw;Wld; vspjpy; milahsk; fz;L 
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nfhs;sg;gl;L mjid Neubahf cw;gj;jp nra;ag;gl;l nghUSf;F 

xJf;fPL nra;tjhFk;. 

Neub nghUs; > Neub ciog;G> Neub nryT Mfpait Neub 

mlf;ftpiyahFk;. 

kiwKf mlf;ftpiy: 

,jpy; nghUSf;fhd nryTfis vspjpy; milahsk; fhzKbahJ. 

,jid Neubahf cw;gj;jp nra;ag;gl;l nghUSf;F xJf;fPL 

nra;aKbahJ. MfNt mlf;ftpiy ikaq;fs; ,y;yJ mlf;fptiy 

muff;F xJf;fPL nra;aKbahj nryTfis gfph;e;jspj;jy; my;yJ 

<h;;ff;$ba Kiwapy; gphpj;J nfhs;syhk;. 

 kiwKf nghUs;>  kiwKf ciog;G > kiwKf nryT Mfpait 

kiwKf mlf;ftpiyahFk;. 

mlf;ftpiy fzf;F kw;Wk; epjprhh; fzf;Ffs; rkg;gLj;Jk; mwpf;if 

( Reconciliation of cost and Financial Accounts) 

f.vz; 1 : epjprhh; epfu fzf;F ,yhgk; &. 257510 - mlf;ftpiy 

fzf;F epfu ,yhgk; &.344800. gpd;tUk; ,dq;fis itj;J rkg;gLj;Jk; 

mwpf;if jahh; nra;f> 

1. mlf;ftpiy fzf;fpy; njhopw;rhiy Nkw;nryT Fiwthf vOjpaJ 

- 6240 

2. mlf;ftpiy fzf;fpy; Nkw;nryT mjpfkhf fhl;Ljy; &. 3400 

3. epjprhh; fzf;F Nja;khdk; &. 22400 

4. mlf;ftpiy fzf;F Nja;khdk; &. 25000 

5. mlf;ftpiy fzf;fpy; KjyPL kPjhdtl;b Nrutpy;iy &. 16000 

6. epjpfzf;fpy; vOjg;gl;l el;lk; &. 11400 

7. epjpfzf;fpy; tUkhdthp fhl;lg;gl;lJ &. 80600 

8. epjpfzf;fpy; tq;fp tl;b> gq;fhjhak; tuT itj;J &. 2450 

9. ruf;fpy; Vw;gl;l el;lk; mlf;ftpiy fzf;fpy;&.13500 
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Solution 

rkg;gLj;Jk; mwpf;if  &. 

mlf;ftpiy fzf;F ,yhgk;  344800 

$l;Lf 

1. mlf;ftpiy mjpf 

Nkw;r;nryT 

3400  

2. mlf;ftpiy mjpfkhd 

Nja;khdk; 

2600  

3. KjyPL kPjhd tl;b 16000  

4. tq;fp tl;b 2450 24450 

  369250 

fop: 

1. FiwkPl;G mlf;ftpiy 

fzf;F 

 

6240 

 

2. epjpfzf;F el;lk; 11400  

3. tUkhd thp 80600  

4. ruf;F el;lk; 13500 111740 

epjp rhh; fzf;F ,yhgk;  257510 

 

f.vz;: 2 

epjprhh; epfu ,yhgk; &. 285500 

mlf;ftpiy fzf;F epfu ,yhgk; &. 388600 

epjpfzf;fpy; gpd;tUk; ,dq;fs; Nrh;e;Js;sd 

1. ,af;Feh; fl;lzk; (gw;W) &. 6500 

2. tq;fp tl;b (tuT) &. 300 

3. tUkhdthpp (gw;W)  &.83300 

4. Iaf;fld; xJf;fPL  &. 5700 

5. mlf;ftpiyapy; fhzg;gLk; Nkw;r;nryT &. 85000 Mdhy; 

cz;ikahd nryT &. 83200 
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6. ,ae;jpuk; tpw;w el;lk; &. 10000 epjpfzf;fpy; vOjg;gl;lJ 

rkg;gLj;Jk; mwpf;if jahh; nra;f. 

 

 

Solution 

rkg;gLj;Jk; mwpf;if  &. 

mlf;ftpiy fzf;F ,yhgk;  388600 

$l;Lf 

1. tq;fp tl;b 
300  

2. kpif Nkw;nryT mlf;ftpiy; 

(85000-83200) 
1800 2100 

  390700 

fop: 

1. ,af;Feh; fl;lzk; 
6500  

5. tUkhd thp; 83000  

6. Iaf;fld; 5700  

7. ,ae;jpuk; tpw;wel;lk; 10000 105200 

epjprhh; fzf;fpd; ,yhgk;  285500 
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myF - 2 

fr;rhg;nghUs; my;yJ ,LnghUs; (Materials) 

1. nfhs;Kjy; tpz;zg;gk; 

xU Jiwf;F Njitahd %yg;nghUl;fs; nfhs;Kjy; 

Nkyhsh; %yNk thq;f Ntz;Lk;. nfhs;Kjy; Njitg;gLk; 

KiwahdJ jkJ Njitia nfhs;Kjy; tpz;zg;gk; vd;w 

Mtzj;jpy; vOj Ntz;Lk; nghUspd; jd;ik> Njitahd msT 

toq;f Ntz;ba Njjp Nghd;witfs; mjpy; Fwpg;gpl Ntz;Lk;. 

nfhs;Kjy; Mizapd; khjphp gbtk; (Specimen) 

Aarthy Co Ltd 

Purchase Requisition 

No ....................Regular/ Urgent    Date 

................................ 

Date by  which Materials required  

.............................................................. 

S. No Description Code no 

Quantity 

Purchase order 

No Date Supplier 

      

 

 

Required by .................................................. Approved by 

......................................... for use in purchase Dept. 

 

2. nfhs;Kjy; Miz 

xU Fwpg;gpl;l Njjpapy; Njitahd %yg;nghUs;fis 

Fwpg;gpl;l ,lj;jpy; nghUis toq;Fk;gb nghUis toq;FgtUf;F 

vOj;J G+h;tkhf gpwg;gpf;fg;gLk; MizNa nfhs;Kjy; Miz 

vdg;gLk;. 

  



31 
 

 

 nfhs;Kjy; Mizapd; khjphp gbtk; (Specimen) 

Aarthy Co Ltd 

(nfhs;Kjy; Miz) 

toq;Fgthpd; Kfthp       Mizapd; 

Njjp ............ 

...............................................    nfhs;Kjy; 

tpz;zg;gNjjp........................ 

...............................................   nfhs;Kjy; toq;f Ntz;b Njjp 

...................... 

vq;fsJ tpiyg;gl;bay; vz; ....................... Njjp ........................ehq;fs; 

Vw;Wk; nfhz;Ls;Nshk;. 

vq;fsJ epge;jidfspd;gb fPNo Fwpg;gpl;l nghUs;fis toq;Fk;;gb 

Nfl;Lf;nfhs;fpNwhk;. 

 

thpir 

vz; 

nghUs; 

gw;wpa 

tpguk; 

Njitahd msT tpiy nkhj;j 

tpiy 

toq;f 

Ntz;ba 

Njjp 

 

 

 

 

     

 

toq;fNtz;ba ,lk; ...................................   

gzk; nrYj;Jk; Kiw .........................................   nfhs;Kjy; 

Nkyhsh;  

         ifnahg;gk; 

3. njhlh; ruf;fpUg;G Kiw ( Perpectual Inventory System ) 

thq;fpa nghUs;fspd; kPJ fl;Lg;ghL nra;aNjitahd Neuj;jpy; 

ruf;nfLg;G vLf;fg;gLfpwJ. njhlf; ruf;fpUg;G Kiw vd;gJ ruf;F 
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tUk;nghOJ mjid mspf;Fk; nghOJk; njhl;b ml;il kw;Wk; ruf;F 

NgNuLfspy; gjpT nra;ag;gLfpd;wJ. ,jdhy; ruf;fpid Nrhjid 

nra;tJ vspjhfpd;wJ. ruf;F NgNul;bd; vy;yhg;nghUspd; ,Ug;GfSk; 

njhl;b ml;il gjptpd; ,Ug;GfSld; xj;jpUf;f Ntz;Lk;. ruf;fpUg;G 

Nrhjid nra;Ak; Njjp tiu cs;s ruf;Ffs; rhpahd Kiwapy; 

fhzg;gLk; ruf;F NgnuLk; njhl;b ml;ilapy; cs;s ruf;F gjpTk; 

NtWghL fhzg;gl;lhYk; mjw;fhd fhuzj;ij Muhag;gLfpd;wJ. 

ruf;Ffspy; tuT kw;Wk; mspg;Gk; Fiwthf fhzg;gLtjhy; jtWfs;> 

Nkhrbfs; clNd fz;Lgpbj;J tplyhk;. ,e;j Kiwapy; nghUs;fs; 

thq;fpaTlDk; mspj;j clDk; ruf;F ,Ug;Gfis clNd gjpT 

nra;tjhy; tUl filrpapy; ruf;F Nrhjid nra;aNtz;ba 

mtrpakpy;;iy. ,e;j Kiwia ifahs fPo;fz;l %d;W topfs; %yk; 

epiwNtw;wyhk;. 

m. njhl;b ml;il (Bin Card) 

xt;nthU njhl;bapYk; Bin xU ml;il njhq;ftplg;gl;LapUf;Fk;. 

,jpy; nghUspd; tuT > mspg;G> ,Ug;G fhzg;gLk;. ,jpy; nghUspd; 

vz;zpf;if kl;LNk gjpT nra;ag;gLfpd;wJ. nghUspd; njhifia gjpT 

nra;tjpy;iy. 

 

M. ruf;F NgnuL ( Stores Ledger) 

,jpy; xt;nthU nghUSf;Fk; jdpj;jdpahf fzf;F Jtq;fp 

ruf;fpUg;ig gjpT nra;ag;gLfpd;wd. ,jpy; nghUspd; msT kw;Wk; 

njhif gjpT nra;ag;gLfpd;wd. nghUspd; njhlh;r;rpahf nra;jpfis 

jUfpd;wJ. 

,. njhlh;r;rpahd ruf;F ,Ug;G: 

,e;j Kiwapy; rpy nghUl;fis jpde;NjhWk; 

Nrhjidaplg;gLfpd;wd. ,j;jifa Nehpilahd Nrhjidia njhl;b 

ml;ilkw;Wk; ruf;fpUg;G NgNul;Lld; xg;gPl;L ghh;j;J Njh;e;njLg;gl;l 

nghUis xt;nthU ehSk; vz;zg;gLk; ,e;j Nrhjidia tUlk; 

KOtJk; eilngWk;. 
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njhlh;ruf;fpUg;g Kiwapd; ed;ikfs;. 

1. nghJthf tUl filrpapy; ruf;F Nrhjid nra;tjhy; mjpf ehs; 

Njitg;gLk; mjpf nryTk; Vw;gLk; . Mfdhy; ,e;j Kiwapy; 

jpde;NjhWk; ruf;F vLg;G nra;tjhy; fhyjhkjKk; 

jtph;f;fg;gLfpwJ. gzKk;> NeuKk;.  kpr;rg;gLfpd;wd;. 

2. njhl;b ml;ilia ruf;F Ngnul;Lld;> Nehpilahf Nrhjid 

nra;tJ xg;gpl;L ghh;j;J NtWghL fhzg;gl;lhy; clNd epth;j;jp 

nra;Jtplyhk;. 

3. njhlh;r;rpahf ruf;F vLg;G Nrhjid nra;tjhy; fpl;lq;fpapy; cs;s 

gzpahsh; ruf;F NgNuL guhkhpf;Fk; vOj;jh;fs;  njhl;b ml;il 

guhkhp;f;Fk; gzpahsh;fs; xUtpj gaj;Jld; Neh;ikahf 

nray;gLthhfs; . ,jdhy; nghUs; fsthLjy; Nkhrb> jtWfs;> 

Nghd;;witfs; Vw;gl tha;g;G ,y;iy. 

4. Njitahd nghUl;fis fpl;lq;fpapy; Nrkpj;J itg;gjhy; 

eilKiw Kjy; ghjpf;fhky; ,Ug;gjhy; KjyPL njhif 

gads;sjhf mikfpd;wJ.  

5. mjpfkhf ruf;fpUg;G kw;Wk; Fiwthd ruf;fpUg;G Nghd;wtw;iw 

jtph;f;fg;gLfpd;wd. 

6. mfr; Nrhjidia Nghy epWtdj;jpy; ,J nray;gLtjhy; 

Nkhrbf;Ff tha;g;G ,y;iy. ,jdhy; epWtdj;jpw;F njhlh;e;J 

ruf;F fl;Lg;;ghL nra;tjw;F cjTfpwJ. 

7. mrhjhuz el;lq;fs;> gzp tpuaq;fs; jtph;f;fg;gLfpd;wJ. 

8. ruf;fpUg;G gw;wpa KbTfis clDf;Fld; eph;thfj;jpw;F 

njhpag;gLj;jg;gLfpd;wJ. 

9. nghUl;fis kpftk; ftdj;jld; ifahsg;gLfpd;wd. 

10. ,jpy; jtWfs; ruf;fpUg;Gfs; FiwT Nghd;witfs; clNd 

fz;Lgpbj;Jtplyhk;. 

11. itj;jpUf;Fk; ruf;fpUg;G mbg;gilapy;  cw;gj;jp jpl;lkpLjiy 

vspjpy; epiwNtw;wyhk;. 

3. V.gp.rp. gFg;gha;T vd;why; vd;d? ( AlwaysBetter Control 
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ruf;fpUg;gpid fl;Lg;gLj;j ABC gFg;gha;T Kiw 

gad;gLj;jg;gLfpd;wd.  nghpa cw;gj;jp epWtdq;fs;  jk;kplk;  

cs;s nghUl;fis %d;W gphpthf  gphpg;ghh;fs; . ,jd; %yk; 

nghUl;fis vspjpy;  fl;Lg;gLj;j trjp cs;sJ. ABC vd;gJ 

vg;nghOJk; ey;yKiwapy;  ruf;fpUg;gpid fl;Lf;fLj;JtJ MFk;. 

ve;j tifahd nghUl;fSf;Fk; Njit mjpfkhf cs;sNjh  me;j 

nghUSf;F  mjpf ftdk; nrYj;jg;gLfpd;wJ. vdNt ruf;fpUg;gpd; 

Kf;fpaj;Jtj;ij mbg;gilahf nfhz;L ruf;Ffis %d;W 

gphpTfshf  gphpf;fg;gLfpd;wd Kf;fpaJtk; vd;gJ nghUspd; 

Njitia vt;tsT kjpg;Gf;F gad;gLj;jg;gLfpd;wd vd;w 

mbg;gilapy; ifahsg;gLfpd;wJ. 

vLj;Jf;fhl;L 

 

 

 

 

 

 

 

 

 

NkNy fz;l; %d;WgphpTfspy; A gphpT mjpf kjpg;G nfhz;lit 

mjw;F>mjpf Kf;fpaJtk; toq;fNtz;Lk; . Vnddpy; ,jpy;jhd; mjpf 

kjpg;Gila nghUs; gad;gLj;jg;gLfpd;wd. ,jd; vz;zpf;if 

rpwpajhf ,Ue;jhYk; ,jd; kjpg;G mjpfkhf cs;sd. B gphpT 

Fiwe;j Kf;fpaj;Jtk; cs;sJ. ,tw;wpd; ruf;Ffis vOj;jh;fs; 

%yk;  fl;Lg;gLj;jyhk;. C gphpT kpfTk; Fiwthd Kf;fpaJtk; 

tha;e;jit. 

cjhuzkhf: 

gphpT nghUs; 

gad;gLj;Jk; 

vz;zpf;if 

(rjtpfpjk;) 

nghUspd; 

kjpg;G 

A 8% 75% 

B 25% 20% 

C 67% 5% 
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xU epWtdj;jpy; cs;s fpl;lq;fpapy; 1000 nghUl;fs; cs;sd vd 

itj;J nfhs;Nthk;. mtw;wpd; kjpg;G &.5>00>000 ,tw;iw ABC 

gFg;gha;T %yk; vt;thW fl;Lg;gLj;JtJ? 

gjpy;: 

A gphptpy; 80 nghUl;fs; cs;sd. mjd; kjpg;G  

&. 3,75,000 (1000 x 8/100= 80 nghUl;fs;) (5,00,000 x 75/100 = 

375000)  

B gphptpy; 250 nghUSf;F 1.00000 kjpg;Gk; C gphptpy; 670 

nghUSf;F kjpg;G &. 25000 

,jd;gb A gphpTf;F mjpf ruf;F fl;Lf;fhL Njitg;gLfpd;wJ. 

Vnddpy; ,jid gad;gLj;Jk; kjpg;G mjpfkhf cs;sJ. B gphpTf;F 

Fiwthd fl;Lg;ghLk; C gphpTf;F mijtpl kpf Fiwe;j fl;Lg;ghL 

,Ue;jhy;; NghJk;> vdNt ABC ruf;fpUg;G gFg;gha;T %yk; 

ruf;Ffis vspjpy; fl;Lg;gLj;jp mjid gw;wpa mwpf;ifia 

epWtdj;jpw;F rkh;g;gpf;fpd;wJ. 

ed;ikfs; 

1. ,k;Kiwapy; mjpf kjpg;Gila ruf;FfSf;F kpFe;j Kf;fpaJtk; 

nfhLj;J mjd; kPJ neUq;fpa fl;Lg;ghL nrYj;Jtjhy; Nkhrb 

fsT jtWfs; Vw;gl tha;g;Gfs; Fiwfpd;wd. 

2. ruf;Ffspy; KjyPL nra;tij tiuaiw nra;tjhy; epjpfs; rhpahd 

Kiwapy; gad;gLj;jg;gLfpd;wd. 

3. Njitaw;w ruf;Ffis vLj;J nry;Yk; nryT kpr;rg;gLfpd;wJ. 

4. C gphpT ruf;fpw;F rpf;fdkhd Kiwapy;fl;Lg;ghL nra;tjhy; 

mjid ghJfhg;ghd ruf;F vd;w tifapy; guhkhpf;f cjTfpd;wJ. 

5. tpQ;Qhd Kiwg;gb Njh;e;njLf;fg;gl;l Kiwapy; ruf;Ffis 

ifahz;L fl;Lg;ghL nra;tjhy; ruf;F Row;rp mjpfhpf;fpd;wJ. 

Nrkpf;Fk; fl;lzk; Fiwfpd;wJ. Vnddpy; Njitahd msT A 

gphpT ruf;F fpl;lq;fpapy; Nrkpf;fg;gLfpd;wJ. 

6. A gphpT ruf;fpd; kPJ Nky; mjpfhhpfs; ftdk; nrYj;j Ntz;Lk;. B 

gphpT ruf;fpid ,ilepiy Nkyhz;ikapdh; Nkw;ghh;itapl 
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Ntz;Lk; C gphpT ruf;fpid vOj;jh;fis Nkw;ghh;it nra;tjhy; 

nghWg;Gfs; tiuaWf;fg;gLfpd;wd;. 

A gphpT - mjpf fl;Lg;ghL 

B gphpT - tof;fkhd fl;Lg;ghL 

C gphpT - vspa fl;Lg;ghL 

4. njhl;b ml;il(Bin Card) 

,J ruf;fpUg;gpid njhpe;J nfhs;s gad;gLj;Jk; xU tifahd 

ml;ilahFk; fpl;lq;fpy; cs;s nghUs;fspd; vz;zpf;ifia kl;Lk; gjpT 

nra;tjw;fhf fplq;F fhg;ghsuhy; gad;gLj;jg;gLfpd;wJ. fplq;fpy; 

nghUl;fis njhl;b Nghd;w mikg;Gila Bin ,lj;jpy; itf;fyhk;. 

my;yJ cs; miwngl;b my;yJ jl;L jl;lhf mikg;G nfhz;l miw 

Nghd;wtw;wpy ;nghUl;fs; Nrkpj;J itf;fg;gLk;. ,e;j miwapd; Kd;G 

,e;j ml;il njhq;ftplg;gl;LapUf;Fk;. ,jpy; nghUspd; tUif > mspg;G> 

,Ug;G Nghd;w %d;W gj;jpfs; fhzg;gLk;. ,e;j %d;W gj;jpfspYk; 

nghUspd; vz;zpf;if kl;Lk; vOjg;gLk; ,jdhy; nghUis vspjpy; 

fl;Lg;gLj;jyhk;. ,jpy; mjpf gl;r kw;Wk; Fiwe;j gl;r nghUs; msT 

fhzg;gLtjhy; GjpanghUs; thq;f fplq;F fhg;ghsh;fSf;F cjTfpd;wd. 

fplq;FNgNul;by; ruf;Ffis Nrhjid nra;aTk; ,J cjTfpd;wJ. 

njhl;b ml;ilapd; khjphp (Specimen of bin card) 

BIN CARD Aarthy co. Ltd 

Maximum Stock Level.................................................... Bill No : 

....................................... 

Minimum Stock Level..................................................... Code No 

:..................................... 

Re-Order Quantity .................................................................................... Unit 

Re -Order Level ..................................................................................... 

Date Receipt Quantity Issue Quantity Balance Quantity 
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gad;fs;: 

1. fpl;lq;fp fhg;ghsUf;F nghUl;fs; kPjhd fl;Lg;ghL nrYj;jTk; 

mjpfgl;r kw;Wk; Fiwe;jgl;r ruf;fpUg;G msT khwhky; 

ghh;j;Jf;nfhs;s cjTfpwJ. 

2. ,jd; %yk; kW Miz msT Nkw;nfhs;sg;gLfpd;wd. 

3. ,d;iwa Njjptiu cs;s thq;fpa nghUs;> mspg;G> ,Ug;G 

Nghd;witfis gw;wp nra;jpfis toq;Ffpd;wJ. 

5. fplq;F NgNuL (Stores Ledger) 

mlf;ftpiy JiwahdJ fplq;F NgNul;il guhkhpj;J tUfpd;wJ. 

,J njhl;b ml;il NghyNt mike;jpUe;jhYk; ,jpy; nghUspd; tuT> 

mspj;jy;> ,Ug;G Mfpa %d;W gj;jpapYk; nghUspd; msT kw;Wk; 

nghUspd; njhif ,uz;Lk; gjpag;gLk;> nghUis ve;j tpiyf;F mspf;f 

Ntz;Lk;. mjd; kjpg;G vt;tsT kjpg;Gila ruf;F iftrk; cs;sJ 

Nghd;w tpguq;fis ve;j Neuj;jpy; njitg;gl;lhYk; clNd mjid 

gw;wpa tpguq;fs; jUfpd;wJ. ,JTk; xU njhlh; gjpthFk;. ruf;fpid 

fl;Lg;gLj;j ,J kpftk; cjTfpd;wJ. fplq;F NgNul;bd; khjphp 

(Specimen) 

STORES LEDGER ACCOUNT 

AARTHY CO LTD 

Description...........................Unit....................Location......................... 

Code......................... 

Minimum Stock Level .................................................... Code no 

................................... 

Re -Order Quantity ................................................... unit 

Re -order Level .............................................. 

Date Receipt Issues Balance 

Qty Rate Amt Qty Rate Amt Qty Rate Amt 

          

 

njhl;b ml;ilf;Fk;> fplq;F NgNul;bf;Fk; cs;s NtWghLfs;. 
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njhl;b ml;il fplq;F NgNuL 

nghUspd; vz;zpf;ifia kl;Lk; 

,jpy; gjpT nra;fpwJ. 

nghUspd; msT kw;Wk; mjd; 

kjpg;G Mfpa ,uz;Lk; ,jpy; 

gjpTnra;ag;gLfpwJ. 

,J fplq;F fhg;ghsuhy; 

guhkhpf;fg;gLfpwJ 

mlf;ftpiyj; Jiwahy; 

guhkhpf;fg;gLfpwJ.  

eltbf;if Vw;gLtjw;F rw;W 

Kd;dNu ,jpy; gjpT 

nra;ag;gLfpd;wJ. 

eltbf;if Kbe;j gpd;dNu gjpT 

Nkw;f;nfhs;sg;gLfpwJ. 

xt;nthU eltbf;ifAk; 

jdpj;jdpahf gjpthfpd;wJ. 

vy;yh eltbf;;iffisAk; xd;whf 

Nrh;j;J Xl;Lnkhj;j NgNul;by; gjpT 

nra;ag;gLfpd;wJ. 

nghJthf fpl;lq;fpapd; cs;NsNa 

mJ itf;fg;gLfpd;wJ 

,J fpl;lq;fpf;F ntspNa 

itf;fg;gLfpd;wJ. 

 

 

 

6. nghUl;fs; gl;bay; (Bill of Material) 

,J xU MtzkhFk;. cw;gj;jp Jiwf;F Njitahd nghUl;fis 

mspg;gjw;fhf ,e;j Mtzk; gad;gLj;jg;gLfpd;wJ. xU Ntiyia 

epiwNtw;w rpyNeuq;fspy; vy;yhnghUl;fSk; cw;gj;jp Jiwf;F 

Njitg;gLk;. midj;J nghUl;fisAk; cw;gj;jp Jiw gl;bay; jahhpj;J 

mjid fpl;lq;fp Jiwf;F mDg;gpitf;Fk; MtzNk nghUl;fs; gl;bay; 

vd;W ngah;. ,J xl;Lnkhj;j nghUs; Njitf;fhd tpz;zg;gkhFk;. 

,jpy; xU gzpf;F Njitahd vy;yh nghUl;fis gw;wpa tpguk; 

Fwpg;gplg;gl;bUf;Fk;. 

Nehf;fq;fs;: 

1. cw;gj;jp JiwahdJ jkf;F Njitahd nghUis mspf;Fk;gb 

fpl;lq;fp Jiwf;F vOj;J %ykhf Ntz;bf; nfhs;Sk; xU 

MtzkhFk;. 
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2. jdpj;jdpahf nghUl;fs; Njit tpz;zg;gk; vOjhky; XNu 

gl;baypy; midj;Jk; vOJtjhy; cw;gj;jp Jiwf;Fk; > gzKk;> 

NeuKk; kpr;rg;gLfpd;wd. 

3. gad;gLj;jg;gLk; nghUl;fs; kPJ fl;Lg;ghL nrYj;j vspjhfpd;wJ. 

4. fzf;fpay; Jiwf;F mlf;ftpiy fz;Lgpbf;f cjTfpd;wJ.. 

7. nghUs; khw;wk; Fwpg;G (Material , Transfer Note) 

nghUs; xU JiwapypUe;J kw;nwhU Jiwf;F Neubahf khw;wk; 

nra;Ak; nghOJ xU Fwpg;gpy; gjpT nra;ag;gLk;. ,JNt nghUs; 

mspgG tpiyia njhpe;J nfhs;s trjp cs;sJ. 
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Aarthy Co Ltd (Material Transfer Note) 

No ..................................................    Date 

................................ 

From Job No ........................................................ Issuing 

Dept................................ 

To job No ............................................................. Receving Dept 

............................ 

Date by  which Materials required  

.............................................................. 

Code Qty Desccription Rate Amount For 

office 

Use 

Remarks 

      

 

 

 

Authorised  by .................................................. Receivedby 

...............................  

Issued By ............................................................. Priced By 

 

 

nghUl;fisfl;Lg;gL;j;jNtz;baKf;fpatk;. 

nghUl;fisfl;Lg;gLj;Jk; Kiwia %d;Wtopfspy; gphpf;fg;gLfpwJ. 

mit 

1. nfhs;Kjy; fl;Lg;ghL 

2. fpl;lq;fpfl;Lg;ghL 

3. mspg;Gfl;Lg;ghL 

fPo;fz;lnghUl;fisfl;L;g;gLj;jkpfTk; mtrpakhftpsq;Ffpd;wJ. 

1. thq;Fk; Kiw>nfhs;Ky;>Nrhjid>fpl;lq;fptpw;gidcw;gj;jpkw;Wk; 

fzf;fpay; JiwNghd;wJiwfs; xUq;fpizg;NghLk; xw;WikAlDk; 
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nray;gl;lhy; jhd; cw;gj;jpapy; jil ,y;yhky; ey;yKiwapy; 

tpw;gidnra;aKbAk;. 

2. nfhs;Kjy; nra;jnghUisikag;gL;j;jNtz;Lk; 

3. nghUisgw;wpagl;bay; ,Uf;fNtz;Lk;. 

4. nghUistifg;gL;j;jpmjw;FFwpaPLvz; toq;fNtz;Lk;. 

5. xt;nthUnghUSf;Fk; msT Fiwe;jgl;r msT mjpfgl;r czT 

kWMiz msT> Nghd;witfis eph;zap;f;fNtz;Lk;. 

6. rpf;fd MizmsT xt;nthUnghUSf;Fk; eph;zak; 

nra;aNtz;Lk;. 

7. njhlh; ruf;fpUg;GKiwiagpd;gw;wNtz;Lk;. 

8. mfr;Nrhjid Kiwia epWtdj;jpy ;mwpKfg;gL;j;jNtz;Lk;. 

9. ey;yKiwapy; fpl;lq;fp mike;jhy; nghUs;fs; tpuak; ,y;yhky; 

ftdkhfiahsg;glyhk;. ,jdhy; jpUl;L ftdf;FiwT Mgj;J 

tPzhfNghFjy; Nghd;wit jtph;f;fyhk;. 

10. nghUs; mspf;Fk; tpiyKiwapy; 

ey;yKiwiaNjh;e;njLf;fNtz;Lk;. 

11. fpilf;fpd;wnghUspd; tpguj;ij mbf;fb eph;thfj;jpw;F njhlh;e;J 

middgw;wpa nra;jpfis mspf;fNtz;Lk;. 

12. cw;gj;jp eilngWk; fhyj;jpy; NghJkhd fl;Lg;ghLnghUs; kPJ 

,Uf;fNtz;Lk;. 

9. ruf;fpUg;Gkl;lk; ( Level of Stock) 

ruf;fpUg;Gkl;lj;ijehd;Ftifahfgphpf;fyhk; mit> 

1. kWMizkl;lk; 2.Fiwe;jsT kl;lk; 3. mjpfmsTkl;lk; 4. 

ruhrhpruf;fpUg;Gkl;lk;. 

1.kW Mizkl;lk; (Re order Level) 

,e;jkl;lj;jpy; GjpajhfnghUl;fs; thq;fNtz;Lk; vd ekf;F 

czh;;j;Jfpd;w. Fiwe;jgl;rkl;lj;ijfhl;bYk; 

,e;jkl;lkhdJrw;Wmjpfkhfcs;sJ. ,J mjpf msT kw;Wk; Fiwe;j 

msTkl;lj;jpw;Fk; ,ilNa cs;s kl;lkhFk;. 

Re order level = Maximum consumption x Maximum reorder period 
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2.Fiwe;jsTkl;lk; (Minimum Stock Level) 

vjph;ghuhj Njitfis epiwNtw;w fpl;lq;fpapy; Fiwe;j 

gl;rruf;fpUg;ig vg;nghOJk; itj;jpUf;f Ntz;Lk;. ,jdhy; cw;gj;jp 

jilapy;yhky; eilngWk; %yg;nghUs;fs; fpilf;fhj fhyj;jpYk; 

cw;gj;jp njhlh;e;J eilngw;w ,e;j kl;lk; cjTfpd;wJ. 

Minimum Stock Level = Reorder Level - (Normal Consumption x 

Normal Reorder Period) 

3.mjpgl;rruf;fpUg;Gkl;lk; ( Maximum stock Level) 

mjpfgl;rruf;fpUg;Gkl;lj;jpw;FNky; nghUl;fis fpl;lq;fpapy; 

itj;jhy; KjyPLnjhif tPzhFk;. vdNt nghUspd; Njitf;F mjpkhf 

itg;gij jtph;g;gjw;F mjpfgl;r msT eph;zapf;fg;gLfpwJ. 

Maximum Stock Level = Reorder Level + Reorder Quantity - (Minimum 

     Consumption x Minimum Reorder Period) 

4. ruhrhpruf;fpUg;Gkl;lk; 

mjpfgl;rkw;Wk; Fiwe;jgl;rruf;fpUg;G ,uz;Lkl;lj;jpd; ruhrhpkl;LNk 

,jd; kl;lkhFk;. 

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑠𝑡𝑜𝑐𝑘 𝑙𝑒𝑣𝑒𝑙 =  
𝑀𝑖𝑛𝑖𝑚𝑢𝑚 𝑆𝑡𝑜𝑐𝑘 𝐿𝑒𝑣𝑒𝑙 + 𝑀𝑎𝑥𝑖𝑚𝑢𝑚 𝑆𝑡𝑜𝑐𝑘 𝐿𝑒𝑣𝑒𝑙

2
 

my;yJ 

= Minimum Stock Level + ½ of Recorder quantity 

Problem : 1 

Two Components X and Y are used follows 

Normal usage  - 600 units per week each 

Maximum usage - 900 units per week each 

Minimum usage - 300 units per week each 

Recorder Quantity - X 4800 units , Y 7200 units 

Recorder Period - X = 4 o 6 weeks 

    Y = 2 to 4 weeks 

Calculate for each component 

a) Recorder Level   b) Minimum Level  

c) Maximum Level   d) Average stock Level  
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Solution 

a) Recorder Level 

Maximum consumption x maximum Recorder period 

Component X: 

900 units x 6 weeks = 5400 units 

Component Y 

900 units x 4 weeks = 3600 units 

 

b) Minimum Stock Level 

Reorder Level - ( Normal Consumption x normal Reorder Period) 

X = 5400 units (600 units x 5 weeks) 

5400 - 3000 units = 2400 units 

Y = 3600 units - (600units x 3 weeks) 

= 3600 - 1800 = 1800 unit 

c) Maximum stock level 

Recorder level + Reorder Quantity - (Minimum consumption x Minimum 

reorder period) 

X =5400 units + 4800 unit - ( 300 unit x 4 weeks) 

10200 units - 600 units = 9000 units 

Y = 3600 units + 7200 units - (300 units x 2 weeks) 

= 10800 units - 600 units = 10200 units 

d) Average Stock Level 

Minimum Stock Level + ½ Reorder quantity 

X = 2400 unit = ½ x 4800 units = 2400+2400 = 4800 units 

(or) 

𝑀𝑖𝑛𝑖𝑚𝑢𝑚 𝐿𝑒𝑣𝑒𝑙 + 𝑀𝑎𝑥𝑖𝑚𝑢𝑚 𝐿𝑒𝑣𝑒𝑙

2
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2400 + 9000

2
=  

11400 𝑢𝑛𝑖𝑡𝑠

2
= 5700 𝑢𝑛𝑖𝑡𝑠 

 y= 1800 units + ½ of 7200 units 

1800 + 3600 = 5400 units  

(or) 

1800 + 10200

2
=  

12000

2
= 6000 𝑢𝑛𝑖𝑡𝑠 

Average Stock Level fz;Lgpbf;f ,uz;L Formulagad;gLj;jyhk; vy;yh 

Level fspYk; Answer I unit -y;  vOjTk; 

8. rpf;fdy; nfhs;Kjy; Miz ( Economic order Quantity EOQ) 

rpf;fd Miz msT nghJthf nghUl;fis Miz %yk; 

thq;Fk; nghOJ rpf;fdj;ij filgpbf;f Ntz;Lk;. Njitahd 

nghUl;fis xNu Mizapy; thq;FNj rpf;fd Miz msT 

vdg;gLk;. ,t;thW xNu Neuj;jpy; xNu Mizapy; nghUl;fis 

nfhs;Kj; nra;tjhy; thq;Ftjw;fhsd nryT> nghUs;  nfhz;L 

tUk; nryT> Nrkpg;gjw;fhd nryT Nghd;w nryTfs; 

kpr;rg;gLfpd;wd. 

9. Nrkpg;G nryT ( Carrying Cost) 

 nghUs; Nrkpg;G itf;Fk; ,lj;jpw;fhd nryT> %yjjdj;jpw;fhd 

tl;b> Nrkpg;gjw;fhd nryT> fpl;lq;fpapy; Vw;gLk; Nrjhuk; > fopT 

fhg;gPL Kidkk; nghd;w nryTfs; ahTk; Nrkpg;G nryT vdg;gLk;. 

10. Miz nryT ( Ordering Cost ) : nfhs;Kjy; thq;Fjy; Jiwapy; 

Vw;gLk; nryT vOJ nghUs;fs;> jghy; nryT Mfpait Miz 

nryT vdg;gLk;. 

 

rpf;fd Miz mstpd; Cfq;fs;.: 

1. Njitahd fhyj;jpy; Miz vOjpdhy; nghUl;fs; jl;Lg;ghbd;wp 

fpilf;f Ntz;Lk;.  

2. nghUspd; tpiy epiyahdjhfapUf;f Ntz;Lk; ,jdhy; nghUspd; 

Nrkpg;G nryT khwhky; ,Uf;Fk;.  
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3. xU tUlj;jpw;F Efuf;$ba nghUspd; nkhj;j msT njhpe;jpUj;jy; 

Ntz;Lk;. 

Formule of E,O.Q 

𝐸. 𝑂. 𝑄 =   
2𝐴𝐵

𝐶𝑆
 

A = Annual usage ( Mz;L nkhj;j Efh;T) 

B = Buying cost od placing per order  (nfhs;Kjy; nryT) 

C = cost of per unit of material (xU nghUspd; nryT) 

S = Rate of storage and carrying cost (Nrkpg;G kw;Wk; nfhz;L tUk; nryT) 

Problem : 2 

a) Consumption 600 units 

b) ordering cost Rs 12 per order 

c) Carrying cost 20% 

d) Price per unit Rs. 20 

Solution 

𝐸. 𝑂. 𝑄 =   
2𝐴𝐵

𝐶𝑆
 

A = 600 units B = Rs. 12 , C =20, S 20/100 

𝐸. 𝑂. 𝑄 =   
2×600×12

20 ×20

100

  E. 𝑂. 𝑄 =   
2×600×12×100

20 ×20
 

E. O.Q = 60 units 

11.  nghUl;fSf;F tpiyapLk; Kiwfs;: (Methods of Pricing the issue of 

Materials) 

nghUl;fis Njitg;gLk; JiwfSf;F mDg;Gtjw;F Kd;G  

mjw;F tpiyapLtJ kpfTk; mtrpak;. mlf;ftpiy ju mlf;ftpiy> 

re;ij tpiy Nghd;w tpiy Kiwfspy; nghUl;fis kjpg;gPL nra;J 

mDg;gyhk;. nghUl;fSf;F tpiyapl gy;NtW Kiwfs; cs;sd. 
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nghUl;fis mlf;ftpiyapy; kjpg;gpl fPo;fz;lKiwfs;yp; VNjDk; 

xd;iw gad;gLj;jyhk;. 
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I. mlf;ftpiy mbg;gilapy; 

1. Kjypy; te;jJk; Kjypy; ntspNaWk; Kiw 

2. ,Wjpapy; te;J Kjypy; ntspNaWk; Kiw 

3. mbg;gil ,Ug;G ruf;Ftpiy Kiw 

4. Fwpg;gpl;l tpiy 

5. mjpftpiyapy; te;jJ Kjypy; ntspNaWk; Kiw 

II. mlf;ftpiyapypUe;J te;jJ 

1. rhjhuz ruhrhp tpiy 

2. vilapl;l ruhrhp tpiy 

3. fhythpir rhjhuz tpiy 

4. fhythpir vilapl;l ruhrhp tpiy 

5. efUk; ruhrhp tpiy 

6. efUk; vilapl;l ruhrhp tpiy 

III. vjph;ghh;j;j tpiy 

1. rhjhuz ruhrhptpiy 

2. vilapl;l ruhrhp tpiy 

3. kW gad;ghl;L tpiy 

4. jpUk;g itj;j tpiy 

rpy Kf;fpakhd tpiyapLk; Kiwfs;;. 

1. Kjypy; te;jJ Kjypy; ntspNaWk; Kiw (First in first Out 

Method) (FIFO METHOD) ,k;Kiwapy; Kjypy; thq;fpa nghUis 

Kjypy; mDg;g Ntz;Lk;. ,jdhy nghUspd; mlf;ftpiyahdJ 

xNu rPuhf nry;fpd;wJ. Kjypy; thq;fpa nghUl;fs; midj;Jk; 

mDg;gpa gpwNf ,uz;lhk; Kiwia thq;fp nghUl;fSf;F 

tpiyaplg;glNtz;Lk;. ,k;Kiwapy; nghUl;fis gioa 

mlf;ftpiyapy; tpiyaplg;gLfpd;wd. ifapUg;G ruf;fpid 

jw;nghOJ cs;s tpiyapy; kjpg;gplg;gLfpd;wJ. 

Example : Jan 5 Received 500 k.g @ Rs. 5 per kg 

Jan 10 received 700 kg @ Rs. 6 per kg 

15 Jan Issued 800 kg 
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Solution 

Issue      Rs 

500kg @ Rs .5   2500 

300kg @ Rs 6    1800  

800 kg     4300  

Balance of stock 400 kg @ 6 = Rs. 2400 

ed;ikfs; :  

1. ,k;Kiw ek;gf jFe;jJ. Vnddpy; cw;gj;jpf;F Njitahf 

nghUl;fis thq;fpa Njjpapd; thpirg;gb toq;fg;gLfpd;wJ. 

2. ,Ug;G ruf;fhdJ re;ijtpiy kw;Wk; mlf;ftpiyapNy fhzg;gLk;. 

3. mlf;ftpiy kjpg;gpLtjhy; ngwg;glhj ,yhgkhdJ epjpapy; 

fhzg;gLtjpy;iy 

4. tpiyapy; ngUk; khw;wk; ,y;iynad;why; ,k;Kiwia vspjpy; 

ifahsyhk;. 

5. nghUlfs; thq;Fk; eltbf;ifahdJ FiwthfapUe;jhy; 

,k;Kiwapy; tpiyia vspjpy; kjpg;gplyhk;. 

6. tpiyapy; rhpT Fiwthf Vw;gl;lhy; ,J kpftk; gaDs;sjhf 

tpsq;Fk;. 

7. ,k;Kiwapy; vspjpy; Ghpe;J nfhz;L ,af;fKbAk;. 

jPikfs;: 

elg;G re;ij tpiyapy; nghUs; mspg;gjpy;iy. jutpiy mbf;fb 

khWk;nghOJ tpiyaply; fbdk;. 

2. ,Wjpapy; te;jJKjypy; ntspNaWk; Kiw (Last in First out Method 

(LIFO) 

,k;Kiwapy; filrpahf thq;fp nghUis Kjypy; mDg;gNtz;Lk;. 

,k;KiwahdJ FIFO Kiwf;F vjph;kiwahf nray;gLk;. ,jpy; 

filrpahf thq;fpa nghUis mDg;gpa gpd;dNu mjw;F Kw;ija 

nghUSf;F tpiyapl Ntz;Lk;. 

  



50 
 

Example: 

Jan 5 Recceivved 500 Kg@ Rs. 5 per Kg 

Jan 10 Jan Received 700 Kg @ 6 per Kg 

Jan 15 issued 800 kg 

Solution     

Issue      Rs. 

700 kg @ Rs.     4200 

100kg @ Rs.5     500 

800kgs     4700 

Balance of stock 400 kg @ Rs. 5 Rs. 2000  

ed;ikfs;: 

1. elg;G re;ijapy; nghUl;fSf;F tpiyaplg;gLfpd;wJ. 

2. ngwg;ghj ,yhgj;ij ,k;Kiwapy; fzf;fplyhk;. 

3. tpiy caUk; fhyj;jpy; mjpfkhd tpiyapy; nghUs; mspg;gjhy; 

,yhgk; Fiwfpd;wJ. ,jdhy; tUkhd thp Nrkpf;fg;gLfpd;wJ. 

4. ,k;Kiwapy; vspjpy; Ghpe;J nfhs;sTk;> nray;gLj;JtJ vspJ. 

5. Fiwthd eltbf;ifia Nkw;nfhz;lhy; ,k;Kiw kpfTk; 

gads;sjhf mikfpd;wJ. 

6. cw;gj;jpf;F mDg;Gk; nghUl;fs; ahTk; jw;nghOJ cs;s 

tpiyapy; mDg;gg;gLfpd;wJ. 

jPikfs;: 

1. vOj;J gpiofs; jtWfs; fhzg;gLk;. 

2. xU gzp mizia kw;nwhU  gzp MizAld; xg;gpl;L ghh;g;gJ 

kpfTk; fbdkhFkKiw. 

3. xU jilt Nfl;fg;gLk; nghUSf;F gy;NtW tpiyfs; fhzg;gLk;. 

4. ifapUg;G ruf;fhdJ elg;G re;ij tpiyia gpujpgypg;gjpy;iy. 

 

3. mbg;gil ,Ug;G ruf;fpUg;G Kiw(Base Stock Method) 

xt;nthU epWtdKk; Fiwe;jgl;r msT ruf;fpid ,Ug;ghf 

itf;fNtz;Lk;. Vnddpy; mtru fhyj;jpy; cw;gj;jp jilapy;yhky; 
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nry;y ,j;jifa  ifapUg;G ruf;F cjTfpd;wd. ,j;jifa 

ruf;fpUg;ig Muk;gj;jpy; thq;fpa  nghUspy; vLj;J 

itj;Jf;nfhs;syhk;. ,J xU epiyahd nrhj;jhFk;.  ,j;jifa 

Kiwia FIFO my;yJ LIFO Kiwapy; ifahsyhk;. 

4. Fwpg;gpl;l tpiy: 

nghUis vd;d tpiyf;F thq;fpdNkh mNj tpiyia nghUis 

cw;gj;jpf;F mspf;Fk; nghOJ tpiyaplg;gLfpd;wJ. 

5. mjpf tpiyapy; te;jJ Kjypy; ntspNaWk; Kiw: 

,k;Kiwapy; ifapUg;G ruf;fpid Fiwe;jgl;r tpiyapy; 

kjpg;gplg;gLfpd;wJ. ,Uf;ff;$ba nghUis mjpftpiyapy; 

kjpg;gplg;gl;L cw;gj;jpf;F mspg;gjhFk;. 

6. rhjhuz ruhrhptiy (simple Average Price Method) 

,k;Kiwapy; gy;NtW Njjpfspy; thq;fpanghUspd; tpiyia mjd; 

vz;zpf;ifahy; tFf;fg;gLfpd;wd;. 

 

𝐼𝑠𝑠𝑢𝑒 𝑝𝑟𝑖𝑐𝑒 =
 𝑇𝑜𝑡𝑎𝑙 𝑃𝑟𝑖𝑐𝑒

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑃𝑟𝑖𝑐𝑒
 

Example 

Jan 1 100 units purchased of Rs. 10 

Jan 5 300 units purchased of Rs. 11 

Jan 10 400 units purcheased of Rs. 15 

Jan 15 Issue 500 units 

𝐼𝑠𝑠𝑢𝑒 𝑝𝑟𝑖𝑐𝑒 = 𝑅𝑠.
10 + 11 + 15

3
=
𝑅𝑠. 36

3
= 𝑅𝑠. 12 

2. vilapl;l ruhrhp tpiy (Weighted Average Price Method) 

,k;KiwahdJ nghUl;fspd; nkhj;jtpiyia nghUl;fspd; nkhj;j 

vz;zpf;ifahy; tFg;gjd; %yk; vilapl;l ruhrhp tpiy 

fzf;fplg;gLfpd;wJ. 

 

𝐼𝑠𝑠𝑢𝑒 𝑝𝑟𝑖𝑐𝑒 =
 𝑇𝑜𝑡𝑎𝑙 𝐶𝑜𝑠𝑡

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑄𝑢𝑎𝑛𝑡𝑖𝑡𝑖𝑒𝑠
  ( 𝑇𝑜𝑡𝑎𝑙 𝑐𝑜𝑠𝑡 = 𝑞𝑢𝑎𝑛𝑡𝑖𝑡𝑦 × 𝑝𝑟𝑖𝑐𝑒) 
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Example: 

Jan 1 100 units purchased of Rs. 10 

Jan 5 300 units purchased of Rs. 11 

Jan 10 400 units purchased of Rs. 15 

Jan 15 Issuee 800 units 

Answer: 

𝐼𝑠𝑠𝑢𝑒 𝑝𝑟𝑖𝑐𝑒 = 𝑅𝑠.
𝑇𝑜𝑡𝑎𝑙 𝑐𝑜𝑠𝑡

𝑇𝑜𝑡𝑎𝑙 𝑄𝑢𝑎𝑛𝑡𝑖𝑡𝑦
 

 

=  
100 × 10 + 300 × 11 ÷ 400 × 15

100 + 300 + 400
 

=  
1000 + 3300 + 6000

800 𝑢𝑛𝑖𝑡𝑠
 

= 𝑅𝑠.
𝑅𝑠. 10300

800 𝑢𝑛𝑖𝑡𝑠
= 𝑅𝑠. 12.88 

Problem : 1 

From the following information prepare the stores ledger under weighted 

average price method 

DATE RECEIPTS ISSUES 

Jan 1  200 units @ Rs .2 per unit Jan 4 = 125 units 

Jan 12 130 units @ Rs. 3 per unit Jan 14 = 175 units 

Jan 16 250 units @ Rs. 3 per 2.50 per unit Jan 18 =  90 units 

Solution : stores ledger account (Weighted Average Method) 

Date 

1996 
Reference 

Receipts Issue Balance 

Qty Rate Amount Qty Rate Amount Qty Amount 

Jan 1 GRN No 200 2 400    200 400 

Jan 4 R.S.No    125 2 250 75 150 

Jan 

12 
GRN No 130 3 390    205 540 

Jan 

14 
R.S No    175 2.63 460 30 80 
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Jan 

16 
GRN No 250 2.50 625    280 705 

Jan 

18 
R.S No    90 2.52 227 190 478 

 

 

Workings: 

Closing stock o 190 units of Rs 478 

 (i) Issue price Jan 4 
𝑅𝑠.400

200 𝑢𝑛𝑖𝑡
= 𝑅𝑠. 2 

(ii)Issue Price Jan 14 
𝑅𝑠.540

205 𝑢𝑛𝑖𝑡
= 𝑅𝑠. 2.63 

(iii) Issue Price Jan 18 
𝑅𝑠.705

280 𝑢𝑛𝑖𝑡
= 𝑅𝑠. 2.52 

ruf;fpUg;G ml;il vd;why; vd;d? 

ruf;fpUg;G ml;il vd;gJ ruf;fpUg;gpid njhpe;Jnfhs;s gad;gLj;Jk; 

xU ml;ilahFk;. ,jpy; nghUspd; tuT nghUs>; mspg;G nghUs;> ,Ug;G 

nghUs; vd %d;W gj;jpfs; fhzg;gLk;. mjpy; nghUspd; vz;zpf;ifia 

kl;LNk gjpag;gLk;. Gjpa nghUs; thq;fTk;> fplq;F NgNul;by; 

ruf;Ffis Nrhjid nra;a ,J cjTfpd;wJ. 

NrjKw;w nghUs; vd;why; vd;d? 

cw;gj;jp eilngWk; nghOJ rpynghUl;fs; Nrjkile;JtpLk;. 

mtw;iw kPz;Lk; nryT nra;J cw;gj;jp nra;jhYk; mjid ey;y 

nghUshf khw;w KbahJ. NrjKw;w nghUSf;F gad;gLj;jpa 

%yg;nghUl;fis kw;w cw;gj;jp Kiwf;Nfh my;yJ NtW nghUSf;Nfh 

gad;gLj;jyhk;. 

NrjKw;w nghUspd; mlf;ftpiy: 

ve;j ,lj;jpy; nghUs; NrjKw;wNjh mJtiuf;Fk; Vw;gl;l nryTf;Fk; 

mjid jpUk;g tpw;wtpiyf;Fk; my;yJ mjid NtW nghUSf;F 

gad;gLj;jpa nryTf;Fk; cs;s tpj;jpahr njhifNa NrjKw;w 

nghUspd; mlf;ftpiyahFk;. 
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Gupta Industries need 12.250 kg of linseed oil for  their annual 

consumption . The expenses of placing an order are calculated to be Rs.2 

whereas the storing cost is 10 paise per kg. calculate economic ordering 

quantity 

Solution: 

  E.O.Q  =  
2𝐴𝐵

𝐶𝑆
 

        =  
2×12250 ×2×100

10
 

=  4,90,000 

= 700 units 

Normal usage : 50 units per week 

 Minimum usage : 25 units per week  

 Maximum usage : 75 units per week 

 Recorder quantity : 300 units , Recorder period = 4 to 6 weeks 

 Calculate :  Minimum level, Maximum level and Re order level 

Solution 

a) Reorder level: 

Maximum consumption x Maximum Reorder period 

75 units x 6 weeks = 450 units 

b) Minimum stock level: 

Recorder level (Normal consumption x Normal reorder period) 

450 units - ( 50 units x 5 weeks) 

450 units -  100 units = 200 units 

c) Maximum stock level: 

(Recorder level + Recorder Quantity) -Minimum consumption x 

Minimum Reorder period 

(450 units + 300 Units) - ( 25 units x 4weeks) 

750 units - 100 units = 650 units. 
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d) Average Stock Level: 

Minimum stock Level + ½ Recorder Quqntity 

200 units + 150 (300/2) = 350 units 

(OR) 

𝑀𝑖𝑛𝑖𝑚𝑢𝑚 𝐿𝑒𝑣𝑒𝑙 + 𝑀𝑎𝑥𝑖𝑚𝑢𝑚 𝐿𝑒𝑣𝑒𝑙

2
=  

200 + 650

2
= 425 𝑢𝑛𝑖𝑡𝑠 

 

 

Prepare ‘stores ledger’ and enter the following transaction adopting the 

FIFO methods of pricing out issues 

1992 

Jan 1 Opening Balance - 50 Units @ Rs. 30 per unit 

Jan 5 Issued - 5 Units 

Jan 7 Purchased - 48 Units @ Rs.40 per unit 

Jan 29  Issued - 30 units 

Solution :  

Stores ledger (FIFO Method) 

Date 

1992 

Receipt Issue Balance 

Qty Rate Amount Qty Rate Amount Qty Rate Amount 

Jan 1       50 30 1500 

Jan 5    5 30 150 45 30 1350 

Jan 7 48 40 1920    45 30 1350 

       48 40 1920 

Jan 29    30 30 900 15 30 450 

       48 40 1920 

 

Answer : Closing Stock 63 units Rs. 2370 
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fr;rhg;nghUs; 

ruf;fpUg;G msT kl;lk; (Level of Stock) 

f.vz;:1 

x kw;Wk; Y vd;w ,uz;L cjphpghfq;fs; gpd;tUkhW 

gad;gLj;jg;gLfpd;wJ. 

rhjhuz gad;ghL = thuj;jp;F 600 cw;gj;jp myFfs; xU 

cjphpghfj;jpw;F 

mjpfgl;r gad;ghL = thuj;jpw;F 900 cw;gj;jp myFfs; xU 

cjphpghfj;jpw;F 

Fiwe;jgl;r gad;ghL = thuj;jpw;F 300 cw;gj;jp myFfs; xU 

cjphpghfj;jpw;F. 

nghUs; vz;zpf;iff;fhd kWMiz: 

x = 4800 myFfs;   y = 7200 myFfs; 

kW Miz fhyk; = x = 4 Kjy; 6 thuq;fs; 

   y = 2 Kjy; 4 thuq;fs;. 

xt;nthU cjphpghfj;jpw;Fk; 

m) kWMiz msT kl;lk;  M) Fiwe;jgl;r msT kl;lk;. 

,) mjpfgl;r msT kl;lk;   <) ruhrhp ruf;F msT kl;lk;. 

Solution 

m) kW Miz msT kl;lk;.(Reorder Level) 

= mjpfgl;r %yg;nghUs; gad;gLj;Jjy; x mjpfgl;r kW 

Mizfhyk; 

cjphpghfk; x : 900 myFfs; x 6 thuq;fs; = 5400 myFfs; 

cjphpghfk; Y : 900 myFfs; x 4 thuq;fs; = 3600 myFfs; 

M) Fiwe;jgl;r msT kl;lk;:(Minimum Stock) 

kWMiz kl;lk; - (rhjhuz %yg;nghUs; gad;gLj;Jjy; x rhjhuz kW 

     Mizfhyk;) 

cjphpghfk; x : 
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5400 myFfs; - (600 myFfs; x 5 thuq;fs;) 

5400 - 3000 myFfs; = 2400 myFfs; 

cjphpghfk; Y :  

3600 myFfs; - (600 myFfs; x 3 thuq;fs; ) 

3600 -1800 myFFs; = 1800 myFfs; 

,) mjpfgl;r ruf;F msT kl;lk; (Maximum Stock Level) 

kWMiz msT kl;lk;+ kWMiz ruf;F vz;zpf;if - 

(Fiwe;jsT gad;gLj;Jjy; x Fiwe;jsT kWMizfhyk;) 

cjphpghfk; X  

= 5400 myFfs;+  4800 myFfs; - (300 muF x 4thuk;) 

= 10200 myFfs; - 1200 myFfs; = 900 myFfs; 

cjphpghfk; Y : 

3600 myFfs; + 7200 myFfs; - (300 myFfs; x 2 thuk;) 

= 10800 myFfs; - 600 myFfs;  = 10200 myFfs; 

<) ruhrhp ruf;fpUg;G msT kl;lk; (Average Stock Level) 

Fiwe;jgl;r ruf;F msT kl;lk; + kW Miz vz;zpf;ifapy; ghjp 

cjphpghfk; X: 

= 2400 myFfs; + 4800/2 

2400 myFfs; + 2400 = 4800 myFfs; 

(my;yJ) 

mjpfgl;r ruf;F msTkl;lk; + Fiwe;jgl;r ruf;F msT kl;lk; 

2 

2400+900

2
=  

11400  

2
= 5700 myFfs; 

cjphpghfk; Y : 

1800 + 
7200

2
= 1800 + 3600 = 5400  myFfs; 

(my;yJ) 

1800+10200

2
=  

12000

2
= 6000 myFfs; 
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rpf;fd Miz msT (Economic Ordering Quantity) 

EOQ =  
2𝐴𝐵

𝐶𝑆
 

A = Mz;L nkhj;j gad;gLj;jg;gLk; fr;rhg;nghUs; Annual usag 

B = Mizgpwgpf;Fk; nghOJ Vw;gLk;nryT Buying cost of placing 

order 

C = xU%yg;nghUspd; nryT cost perunit 

S = Nrkpg;Gkw;Wk; nfhz;L tUtjw;fhd nryT storage and carring 

cost 

 

f.vz; : 2 

gpd;tUk; tpguq;fspd; rpf;fd nfhs;Kjy; msit fzf;fpLf;. 

tUl KOtJk; gad;gLj;jg;gLk; vz;zpf;if = 600 

nfhs;Kjy; Mizgpwg;gpf;f xU Mizf;F cs;s nryT =&. 12 

nfhz;L nry;Yk; nryT 20% 

xU nghUspd; nryT  20% 

jPh;T 

EOQ =  
2𝐴𝐵

𝐶𝑆
 

A = 600  B = Rs. 12  C = Rs. 20  S = 20% 

(20/100) 

 
2 × 600 × 12

20 ×20

100

=   
2 × 600 × 12 × 100

20 × 20
 

rpf;fd nfhs;Kjy; msT EOQ  = 60 myFfs; 
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f.vz; : 3 

2017 tUlk; Mf];L khjk;  x vd;w  %yg;nghUs; Njitf;fhf epfo;e;j 

eltbf;iff;fhd tpguk; gpd;tUkhW: 

Njjp tpguk; vz;zpf;if 

(myFfs;) 

xU myF tpiy 

(&) 

Mf];L 1 thq;fpaJ 500 10 

Mf];L 10 thq;fpaJ 300 12 

Mf];L 15 mspj;jJ 700 - 

Mf];L 20 thq;fpaJ 400 14 

Mf];L 25 mspj;jJ 300 - 

Mf];L 27 thq;fpaJ 500 11 

Mf];L 30 mspj;jJ 200 - 

 

NkNy fz;l eltbf;iffs; ruf;fpUg;G Vl;by; gpd;tUk; Kiwapy; gjpT 

nra;f 

1 ) FIFO kiw    2) LIFO Kiw 

3) rhjhuz ruhrhp tpiy Kiw  4) vilapl;l ruhrhp tpiy 

Kiw 
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ruf;fpUg;G NgNuL fzf;F 

Kjypy; te;jJ Kjypy; mspf;Fk;Kiw ( First in First out Method) FIFO Kiw 

Njjp 2017 tpguq;fs; 

thq;Fjy; Receipts mspj;jy; Issued ,Ug;G Balance 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

Mf];L 1 ruf;F thq;fpa Nehl;L 500 10 5000 - - - 500 10 5000 

Mf];L 

10 
ruf;F thq;fpa Nehl;L 300 12 3600 - - - 

500 

300 

10 

12 

5000 

3600 

Mf];L 

15 
ruf;F Njit rPl;L - - - 

500 

200 

10 

12 

5000 

2400 

- 

100 

- 

12 

- 

1200 

Mf];L 

20 
ruf;F thq;fpa rPl;L 400 14 5600 - - - 

100 

400 

12 

14 

1200 

5600 

Mf];L 

25 
ruf;F Njit rPl;L - - - 

100 

200 

12 

14 

1200 

2800 
200 14 2800 

Mf];L 

27 
ruf;F thq;fpa rPl;:L 500 11 5500 - - - 

200 

500 

14 

11 

2800 

5500 

Mf];L 

30 
ruf;F Njit rPl;L - - - 200 14 2800 500 11 5500 
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,Wjp ruf;fpUg;G 500 myFfs; &gha; 5500 

ruf;fpUg;G NgNuL fzf;F 
,Wjpapy; te;j ruf;Ffs; Kjypy; mspf;Fk;Kiw ( Last in First out Method) LIFO Kiw 

Njjp 2017 tpguq;fs; 

thq;Fjy; Receipts mspj;jy; Issued ,Ug;G Balance 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

Mf];L 1 ruf;F thq;fpa Nehl;L 500 10 5000 - - - 500 10 5000 

Mf];L 
10 

ruf;F thq;fpa Nehl;L 300 12 3600 - - - 
500 

300 

10 

12 

5000 

3600 

Mf];L 
15 

ruf;F Njit rPl;L - - - 
300 

400 

12 

10 

3600 

4000 

- 

100 

- 

10 

- 

1000 

Mf];L 
20 

ruf;F thq;fpa rPl;L 400 14 5600 - - - 
100 

400 

10 

14 

1000 

5600 

Mf];L 

25 
ruf;F Njit rPl;L - - - 300 14 4200 

100 

100 

10 

14 

1000 

1400 

Mf];L 
27 

ruf;F thq;fpa rPl;:L 500 11 5500 - - - 
100 

100 

10 

14 

1000 

1400 
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500 11 5500 

Mf];L 
30 

ruf;F Njit rPl;L - - - 200 11 2200 

100 

100 

300 

10 

14 

11 

1000 

1400 

3300 

,Wjp ruf;fpUg;G 500 myFfspy; &gha; 5700 

ruf;fpUg;G NgNuL fzf;F 

rhjhuz ruhrhp tpiy Kiw( Simple Average Price Method) 

Njjp 2017 tpguq;fs; 

thq;Fjy; Receipts mspj;jy; Issued ,Ug;G Balance 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

Mf];L 1 ruf;F thq;fpa Nehl;L 500 10 5000 - - - 500 - 5000 

Mf];: 10 ruf;F thq;fpa Nehl;L 300 12 3600 - - - 800 - 8600 

Mf];L 

15 
ruf;FNjit rPl;L - - - 700 11 7700 100 - 900 

Mf];L 

20 
ruf;F thq;fpa Nehl;L 400 14 5600 - - - 500 - 6500 

Mf];L ruf;FNjit rPl;L - - - 300 13 3900 200 - 2600 
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25 

Mf];L 

27 
ruf;F thqfpa Nehl;L 500 11 5500 - - - 700 - 8100 

Mf];L 

30 
ruf;F Njit rPl;L  - - - 200 12.50 2500 500 - 5600 

 

,Wjp ruf;fpUg;G 500 myFfs; &gha; 5600 

fr;rhg;nghUs; mspg;Gtpiy: 

Mf];L 15  = 10 + 12 + 22/2 = &. 11 

Mf];: 25 = 12+14 = 26/2 = &. 13 

Mf];L 30 = 14+11 = 25/2= &. 12.50 

ruf;fpUg;G NgNuL fzf;F 
vilapl;l ruhrhp tpiy Kiw(Weighted Average Cost Method) 

Njjp 2017 tpguq;fs; 

thq;Fjy; Receipts mspj;jy; Issued ,Ug;G Balance 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 

tpi

y 

(&) 

njhi

f (&) 

vz;zpf;i

f 
nkhj;jk; 

Mf];L 1 ruf;F thq;fpa Nehl;L 500 10 5000 - - - 500 5000 
Mf];: 10 ruf;F thq;fpa Nehl;L 300 12 3600 - - - 800 8600 
Mf];L ruf;FNjit rPl;L - - - 700 10.75 7525 100 1075 
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15 
Mf];L 

20 ruf;F thq;fpa Nehl;L 400 14 5600 - - - 500 6675 

Mf];L 
25 ruf;FNjit rPl;L - - - 300 13.35 4005 200 2670 

Mf];L 
27 ruf;F thqfpa Nehl;L 500 11 5500 - - - 700 8170 

Mf];L 
30 ruf;F Njit rPl;L  - - - 200 11.67 2334 500 5836 

 

,Wjp ruf;fpUg;G 500 myFfs; &gha; 5836 

mspg;Gtpiy fzf;fpLjy; = nkhj;jnryT / nkhj;j vz;zpf;if 

Mf];L 15  mspg;Gtpiy = &. 8600/800 =&. 10.75 

Mf];: 25 = & 6675 /500 myFfs; =&. 13.35 

Mf];L 30 = &. 8170 /700 myFfs; =&. 11.67 
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myF - 3 

ciog;G ( Labour) 

ciog;G mlf;ftpiy nryit njhopyhsh; Jiw 

fl;Lg;gLj;Jfpd;wJ. ,jid Neub ciog;G> kiwKf ciog;G vd 

,uz;L tifahfg;gphpf;fyhk;. 

1. ciog;G mlf;ftpiy (Labour Cost) 

xU epWtdj;jpy; gzpghpAk; njhopyhsh;fSf;F toq;Fk; gy;NtW 

rYiffs; > Cjpak; Nghd;w nryTfNs ciog;gpd; mlf;ftpiy 

mftpiyg;gb. tpLKiw rk;gsk;> Cf;fnjhif> Nrkeyepjp gzpahsh; 

muR fhg;gPL epjpj; njhif gzpf;nfhil kUj;Jt trjp> fy;tp > trjp 

xa;T+jpak; Nghd;w nryTfs; ahTk; ciog;gpd; mlf;ftpiyapy; 

mlq;Fk;.. 

xU ehspy; xU gzpahsh; 8 kzp Neuk; epWtdj;jpy; gzpGhpa 

Ntz;Lk;. mt;thW mth; gzpGhpAk;NghJ mtUf;F toq;Fk; Cjpa 

nrytpid xU ehspy; 8 kzp Neu gzpGhpe;J xU gzpahshpd; ciog;Gr; 

nryit fzf;fpl Ntz;Lk;. 

Neug;gjpT 

xt;nthU epWtdKk; Kiwahf njhopyhsh; gzpGhpAk; Neuj;ijg; 

gjpT nra;J mjd; mbg;gilapNyNa $yp toq;f Ntz;Lk;. 

Neuj;ijf; Fwpj;jy; (Time Keeping) 

njhopw;rhiyf;Fs; njhopyhsh;fs; tUtijAk; gzpKbe;J 

njhopw;rhiyia tpl;L ntspr;nry;Yk; Neuj;ij Fwpg;gNj Neuk; Fwpj;jy; 

vdg;gLk;. 

Nehf;fq;fs;: 

tUifg;gjpNtL gjpT nra;aTk;> $yp gl;Lthlh nra;aTk;> 

tUifia xOq;FgLj;jp Neuk; jtwhikia czh;j;jTk;> kpifNeuj;ij 

fzf;fplTk; Nkw;r;nryTfis gfph;e;jspf;fTk; Neuk; Fwpj;jy; kpfTk; 

mtrpakhf tpsq;FfpwJ. 

Neuj;ij Fwpg;gjw;fhd Kiwfs; 

1. ifNaL Kiw:  
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,k;Kiwapy; njhopw;rhiyapy; EioT thapypd; Neuk; Fwpg;gth; 

mkh;eJ nfhz;L njhopyhsh; njhopw;rhiyf;F tUk; 

Neuj;ijAk;>njhopw;rhiyia tpl;L mth;fs; ntspnry;Yk; Neuj;ijAk; 

tUifg; gjpNtl;by; gjpT nra;thh;. ,J kpfTk; vspikahd KiwahFk;. 

Neuk; Fwpg;gtUf;Fk; njhopyhsh;fSf;FfpilNa gu];gu cwT epfo;ejhy; 

Nkhrb jtWfs; eilKiwapy; Vw;g;gl tha;g;Gfs; cs;sd. 

M) milahs tpy;iy Kiw: 

,e;j Kiwapy; xt;nthU njhopyhspf;Fk; milahs vz; 

Fwpf;fgl;l xU ml;il toq;fg;gLk;. EioT thapd; xU Gwj;jpy; 

midj;J milahs tpy;iyfSk; khl;l xU gyif 

njhq;ftplg;gl;bUf;fk;. xt;nthU njhopyhspAk; EioT thapy; te;jTld; 

jq;fSila milahs tpy;iyia vLj;Jf;nfhz;L mjw;f;nfd;d 

itf;fgl;l ngl;bf;Fs; NghlNtz;Lk;. Fwpg;gpl;l Ntiy Neuk; 

Muk;gpf;Fk;NghJ ,e;j ngl;b vLj;Jr; nry;yg;gLk;> jhkjkhf tUif 

jUk; njhopyhspfs; Neuk; Fwpf;Fk; mYtyfj;jpy; nrd;W 

tUifiag;gjpT nra;aNtz;Lk;. EioT thapd; 

Kd;Gnjhq;fpf;nfhz;bUf;Fk; gyifapy; milahs tpy;iy 

fhztpy;iynad;why; me; njhopyhsp md;W tUif jutpy;iy vd;W 

fUjg;gLk;. milahs tpy;iyapd; mbg;gilapy; tUifg; gjpNtl;by; 

gjpT nra;ag;gLk;. ,e;j KiwapYk; NkhrbfSk; jtWfSk; 

epfotha;g;Gfs; cs;sd. 

2.,ae;jpu Kiw: 

,e;j Kiwapy; tUifg;gjpNtl;il ,ae;jpuk; %yk; gjpag;gLfpwJ. 

,jpy; %d;W tiffs; cs;sd. ,it 

(i) fbfhu Kiw: 

,k;Kiwapy;njhopyhsh;fspd; tUifahdJ fbfhu Kiwapy; gjpT 

nra;agLk;. EioT thapypy; milahs ml;iliacs;Ns nrhUFtjw;F 

Vw;wthW Jthuq;fSld; $ba fbfhuk; xd;W fhzg;gLk;. xt;nthU 

njhopyhspf;Fk; milahs vz; nfhz;l xU ml;il toq;fg;gLk;. 

njhopyhsp EioTthapy; te;jTld; cs; gyifapy; fhzg;Lk; jdJ 
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milahs ml;ilia vLj;J fbfhu Jthuj;jpy; nrhUfNtz;Lk;. clNd 

fbfhuk; jhdhfNt njhopyhspapd; tUifia me;j ml;iliapy; gjpT 

nra;JtpLk;. gpd;dh; me;j ml;ilia vLj;J cs; gyifapy; kWgbAk; 

itj;Jtpl Ntz;Lk;. mNjNghy njhopyhsp ntsp nry;Yk; nghOJ ,Nj 

Kiwia gpd;gw;w Ntz;Lk;. 

ed;ikfs;: 

1. rhpahd Neuj;ij ,ae;jpuk; %yk; gjptjhy; Nkhrb kw;Wk; jtWfs; 

tu tha;g;G ,y;iy. 

2. tof;fkhd Neuk;> jhkjkhd Neuk; kpif Neuk; Nghd;w Neuq;fisg; 

gjpag;gLfpwJ. 

3. $ypg;gl;bay; vspjhf jahhpf;fyhk;. 

4. $ypg;gl;baypy; Nghypahd njhopyhsh;fspd; ngaiur;Nrh;f;f 

KbahJ. 

(ii) vz; nfhz;l Neug;gjpT ve;jpuk; 

,k;Kiwapy; mjpfkhd Jthuq;fs; nfhz;l  ,ae;jpuk; 

gad;gLj;jg;gLfpd;wd. xt;nthU Jthuj;jpYk; xt;nthU vz; ,Uf;Fk;. 

milahs vz; toq;fpa xt;nthU njhopyhspAk; fbfhuj;jpy; cs;s 

ifg;gpbia mtUf;nfd xJf;fg;gl;l Jthuj;jpw;Fs; mOj;Jk;nghOJ 

fbfhuj;jpy; cs;s tUif gjpthfptpLk;. 

(iii) rhtpg;gjpT ve;jpu Kiw: 

xt;nthU njhopyhsp;f;Fk; xt;nthU vz; nfhz;l rhtp 

toq;fg;gLk;. me;jrhtpia ,ae;jpuj;jpy; cs;s rhtp Jthuj;jpy; 

nrhUfpdhy; mtuJ tUif Neuk; vz; Mfpait gjpT nra;JtpLk;. 

nrytopj;j Neuj;ij gjpT nra;jy; (Time Booking)  

xt;nthU njhopyhspAk; jkf;F xJf;fgl;l gzpapy; jkJ tUif 

ehspy; nrytopj;j NeuNk nrytopj;jy; vd;W ngah;. 

Nehf;fq;fs;: 

1. Neuk; tPzhfhky; jLf;fTk; 

2. Nkw;r;nryTfis gfph;T mbg;gilapy; toq;fTk; 

3. ciog;gpd; nrytpid rhpahf fzf;fplg;gLfpd;wJ. 
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nrytopj;j Neuj;ij gjpT nra;ak; Kiwfs;. 

1. ifNaL Kiwapy; %d;W tiffs; cs;sd. mit 

m. jpdNeug; gl;bay; 

M. thuhe;jpu Neug;gl;ba; 

,. gzpr;rPl;L 

2. ,ae;jpu Kiwapy; 

m. gzp ml;il %yk; Neuk; nrytplg;gLtij gjpT nra;fpd;wJ. 

Neuk; gjpTf;Fk; Neuk; nrytplg;gl;ljw;Fk; cs;s NtWghLfs;: 

1. Neug; gjpT vd;gJ njhopyhsp njhopw;rhiyf;Fk; tUif je;j Neuk;> 

gzpKbe;J ntspNa nrd;w Neuk;> kpif Nghd;wtw;iw tUif 

gjpNtl;bw;fhf Fwpf;fg;gLfpd;wJ. Neuk; nrytplg;gl;lJ vd;gJ 

xt;nthU njhopyhspak; jkf;F xJf;fpa gzpapy; njhopw;rhiyapy; 

vt;tsT Neuk; nrytpl;L gzpia Kbj;jhh; vd;w tptuq;fis 

Fwpf;fpd;wJ. 

2. Neug;gjpT vd;gJ njhopyhspapd; tUifiag; gjpT nra;fpd;wJ. 

nrytopj;j Neuk; vd;gJ njhopyhsh; jkf;F xJf;fpa gzpapy; 

nrytopj;j Neuj;ij Fwpf;fpd;wJ. 

tPzhd fhyk; vd;why; vd;d? mjw;Fhpa nryT vt;thW fz;fpy; 

Fwpf;fg;gLfpwJ? (Idela Time) 

cw;gj;jp eilngwhky; njhopyhsh;fSf;F $yp toq;fg;gLtNj 

tPzhd fhyk; vdg;gLk;. rpy Neuq;fspy; ,ae;jpuk; gOJ miljy; 

fr;rhg;nghUs; jl;Lg;ghL > kpd;jil cw;gj;jp eilngWtjw;F Kd;G 

,ae;jpuq;fs; ,jd; ghfq;fs; rhpahf mikj;jy; Nghd;w gy;NtW 

fhuzq;fspdhy; gjpT Neuj;jpw;Fk; nryT nra;j Neuj;jpw;Fk; tpj;jpahrk; 

Vw;gLfpd;wJ. mJNt tPzhd fhyk; vdg;gLk;. gjpT nra;ag;gl;l 

Neuj;ij fhl;bYk; nryT nra;j Neuk; FiwthfapUf;Fk;. mJNt 

tPzhd fhyk; vdg;gLk;. tPzhd fhyk; ,uz;L tifg;gLk;. mit 

1. rhjhuz tPzhd fhyk; 

2. mrhjhuz tPzhd fhyk; 

1. rhjhuz tPzhd fyk; 
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,e;j Neuj;ij Kjyhspahy; jtph;f;f KbahJ. ,jw;F Vw;gLk; 

nryit Kjyhsp Vw;Wf;nfhs;sNtz;Lk;. Mdhy; ,j;jida ,og;G 

Vw;gl;lhy; jLf;f Ntz;ba Kaw;rpia Nkw;f;nfhs;syhk;. 

cjhuzk;;:1 fhgp> NjdPh; gUf mDkjpf;Fk; ,ilNtis 2. EioT 

thapypUe;J cw;gj;jp eilngWk; ,lj;jpw;F nry;Yk; NeuKk; gpd;dh; 

gzpKbe;J kPz;Lk; EioTthapy; milAk; tiu Vw;gLk; Neuk; 3. xU 

gzpKbe;J kw;nwhU gzpf;Fr; nry;Yk; fhyk;. 

2. mrhjhuz tPzhd fhyk; 

,j;jifa Neuj;ij jLf;fKbAk;. v.fh. ,ae;jpuk; gOjiljy; 

kpd;rhu jil> ,ae;jpu ghfq;fs; ciljy;> fr;rhg;nghUs; jl;Lg;ghL 

Nkw;ghh;itahshpd; fl;lisf;fhf fhj;jpUj;jy; Nghd;w fhuzq;fspdhy; 

mrhjhuz tPzhd fhyk; Vw;gLfpd;wJ. 

tPzhd fhyk; Vw;glf; fhuzq;fs; 

m) cw;gj;jp fhuzq;fs; 

1. ,ae;jpuq;fs; gOJ miltjhy; cw;gj;jp jilgLfpwJ.  

2. kpd;rhu rg;isapd;ik 

3. fz;fhzpg;ghshpd; fl;lisAk; cj;juitAk; nray;Kiw 

tpsf;fj;ij vjph;ghh;j;J njhopyhsh;fs; fhj;JapUj;jy; 

4. fr;rhg;nghUs;> cjphpghfq;fs; Nghd;witfSf;fhf fhj;jpUj;jy;. 

M. eph;thff; fhuzq;fs; 

,) nghUshjhu fhuzq;fs; Nghd;witfspdhy; Vw;gLfpd;wJ. 

tPzhd fhyj;jpd; nryitf; fzf;fpaypy; gjpT nra;jy; 

mlf;ftpiy fzf;fpapay; Kiwg;gb tPzhd fhyj;ij 

fPo;f;fz;lthW gjpT nra;ag;gLfpd;wd. mit 

1. rhjhuz tPzhd fhyk;: 

,e;j Neuj;ij jtph;f;fKbahjjhy; mjd; nryit cw;gj;jpf;fhd 

mlf;ftpiyapy; Nrh;j;Jf;nfhs;s Ntz;Lk;. ,jd; nryit njhopw;rhiy 

nrytpy; Nrh;j;Jf;nfhs;syhk;. 

v.fh. xU njhopyhspf;F Neu mbg;gilapy; 1 kzp Neuj;jpw;F &. 2 

tPjk; 8 kzp Neuk; Ntiy nra;aNtz;Lk;. mth; 7 kzp Neuk; Ntiy 
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nra;fpwhh;. xU kzp Neuk; ,ae;jpuq;fisr; rhp nra;a nrytpLfpwhh;. 

me;j 1 kzp tPzhd Neuk; MFk;. mjw;Fpa tPzhd nryT &.2I 

njhopw;rhiy nrytpy; Nrh;f;f Ntz;Lk;. &. 14 I Neub ciog;gpy; fhl;l 

Ntz;Lk;. 

2. mrhjhuz tPzhd fhyk; 

Fiwghlhd jpl;lk;> jpwikapd;ik> ,ae;jpuq;fs; gOJ miljy; > 

kpd;rhu jil Nghd;w fhuzq;fspdhy; vjph;ghuhj ,og;G Vw;gLfpd;wJ. 

mJNt mrhjhuz tPzhd fhyk; vdg;gLk;. ,e;j nryit mlf;ftpiy 

,yhg el;lf; fzf;Ffs; vLj;Jr; nry;y Ntz;Lk;. ,jd; nryit 

cw;gj;jp mlf;ftpiyapy; fhl;lf;$lhJ. 

  



 

72 
 

tPzhd fhyj;ij jtph;f;fk; Kiwfs;: 

 fz;fhzpg;ghsh; Nghjpa fl;lisfis Kd;$l;bNa mwptpg;gJ 

kpd;jil> ,ae;jpuk; gOJ Vw;gLjy; Nghd;witfis jtph;jJ Ntz;ba 

eltbf;if vLg;gJ mjw;Fhpa nghWg;ghd mjpfhhpia epakpg;gJ Nghd;w 

eltbf;iffs; %yk; tPzhd fhyj;ijf; jtph;f;fyhk;. 

 
njhopyhsh;; khWk; tpfpjk; vd;why; vd;d? (Labour Turnover) (LTO) 

xt;nthU njhopy; epWtdj;jpYk; njhopyhsh;fs; NtW Ntiy 

Njbr;nry;tJk;> gjpa njhopysh;fs; me;j Ntiyf;F tUfpd;wdh;. 

njhopyhsh;fspd; ,lkhw;wNk njhopyhsh;; khWk; tpfpjk; vdg;gLk;. xU 

njhopw;rhiyapypUe;J NtW xU njhopw;rhiyf;F njhopyhsh;fs; gy;NtW 

fhuzj;jpwfhf khWfpd;wdh;. ,j;jifa khw;wNk ciog;ghsh; khWk; 

tpfpjk; vdg;gLk; my;yJ njhopyhsh; Row;rp vd;W ngah;. 

 
tiutpyf;fzk;: 

njhopyhshpd; vz;zpf;if tpfpj mbg;gilapy; khWtNj 

njhopyhshpd;; khWk; vdg;gLk;. 

njhopyhsh; khWk; tpfpjk; Vw;glf;fhuzq;fs; (Causes) 

I. jtph;f;ff;$ba fhuzq;fs;: 

njhopyhsh;fs; fPo;fz;l fhuzj;jpw;fhf NtW njhopw;rhiyf;Fr; 

nry;fpd;wdh;. ,jid me;j eph;thfk; vspjpy; jtph;f;fyhk;.  

1) gzpapy; mjpUg;jp 

2) toq;fg;gLfpd;w $ypapy; jpUg;jpapd;ik 

3) gzpGhpAk; ,lk; ey;yepiyapy; fhzg;glhjJ 

4) gzp nra;Ak; Ntiy Neuk; njhopyhshpd; trjpf;F jFe;jthW 

mikahik 

5) fz;fhzpg;ghshpd; xj;Jiog;G fpilg;gjpy;iy 

6) gjtp Nkk;ghL toq;f kWj;jy; 

7) eph;thfj;jpd; fLikahd Nghf;F 

8) gzpghJfhg;G kw;Wk; caph; ghJfhg;G toq;fg;glhik 

9) Kjyhsp njhopyhsh;fspd; cwT R%fkhf ,y;yhik. 
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10) gapw;rp trjp nra;a kWj;jy; 

11) xa;T fhy rYiffs;> kUj;Jtk;> fy;tp > tPL > Nghf;Ftuj;J 

trjpfs; Nghd;w rYiffs; toq;f kWj;jy; Nghd;w 

fhuzq;fspdhy; njhopyhsh;fs; jhk; gzpGhpe;j - 

njhopw;rhiyapypUe;J NtW xU njhopw;$lj;jpw;F nry;fpd;wdh;. 

NkNy fz;l fhuzq;fis eph;thfk; myrp Muha;e;J mth;fspd; 

Fiwfis mwpe;J epthj;jp nra;tjhy; ciog;ghsh; khWk; 

tpfpfjk; Fiwg;gjw;F tha;g;G cs;sJ. 

II. jtph;f;f Kbahj fhuzq;fs; 

fPNo fz;l fhuzj;jpdhy; njhopyhsh; khWk; tpfpjk; Vw;gl;lhy; 

mjid eph;thfk; jtph;f;f KbahJ. mit 

1. njhopyhshpd; xa;T 

2. njhopyhshpd; ,wg;G 

3. jpUkzk; 

4. jpwikapd;ik fhuzkhf gzp ePf;fk; 

5. tpgj;J my;yJ cly;eyf;FiwT 

6. jdpg;gl;l tpUg;gk; 

7. ngz; njhopyhsh;fspd; jpUkzk;> kfg;NgW milAk;nghOJ 

njhopyhshpd;; khWk; tpfpjj;ij mstpLk; Kiwfs; 

1. ntspr;nry;Yk; tpfpjKiw: 

xU Fwpg;gp;l fhyj;jpy; ntspNawpa njhopyhsh;fis mNj 

fhyj;jpy; cs;s nkhj;j ruhrhp njhopyhsh;fspd; vz;zpf;ifahy; 

tFj;J 100y; ngUf;fpdhy; ciog;ghsh; khWk; tpfpjk; fpilf;Fk; . 

,JNt ntspNa nry;Yk; tpfpjKiw vdg;gLk;. 

𝐿. 𝑇. 𝑂 =  
𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝐸𝑚𝑝𝑙𝑜𝑦𝑚𝑒𝑛𝑡 𝐿𝑒𝑓𝑡 𝑑𝑢𝑟𝑖𝑛𝑔 𝑝𝑒𝑟𝑖𝑜𝑑

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑁𝑜 𝑜𝑓 𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠 𝑑𝑢𝑟𝑖𝑛𝑔 𝑝𝑒𝑟𝑖𝑜𝑑
 × 100 

2.jpUk;g itf;Fk; Kiw: 

,k;Kiwapy; ntspNa nrd;w njhopyhsh;fSf;Fg; gjpyhf 

vj;jidNgh; njhopw;rhiyf;F Gjpajhf te;Js;shh;fs; vd;gij mNj 

fhyj;jpy; cs;s ruhrhp njhopyhsh;fspd; vz;zpf;ifahy; tFj;J 100 
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My; ngUf;fpdhy; njhopyhsh;; khWk; tpfpjk; fzf;fplg;gLfpd;wJ. ,JNt 

jpUk;gitf;Fk; Kiw vdg;gLk;. 

𝐿. 𝑇. 𝑂 =  
𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑅𝑒𝑝𝑙𝑎𝑐𝑒𝑚𝑒𝑛𝑡 𝑖𝑛 𝑎 𝑝𝑒𝑟𝑖𝑜𝑑

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑁𝑜 𝑜𝑓 𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠 𝑖𝑛 𝑎 𝑝𝑒𝑟𝑖𝑜𝑑
 × 100 

3. ,izg;G Kiw: 

Kjy; ,uz;L Kiwfis ,izj;J ,jidf; fzf;fplg;gLfpd;wJ. 

nfhLf;fg;gl;l fhyj;jpy; ntspr;nrd;w egUld; mNj tUlj;jpy; 

Gjpajhfr; Nrh;e;j egh;fs; Mfpa ,uz;ilAk; $l;b ruhrhp 

njhopyhsh;fspd; vz;zpf;ifahy; tFj;J 100 My; ngUf;f Ntz;Lk;. 

𝐿. 𝑇. 𝑂 =  
𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑆𝑒𝑝𝑒𝑟𝑎𝑡𝑖𝑜𝑛 & 𝑁𝑜. 𝑜𝑓  𝑎𝑑𝑑𝑖𝑡𝑖𝑜𝑛

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑁𝑜 𝑜𝑓 𝑤𝑜𝑟𝑘𝑒𝑟𝑠 𝑖𝑛 𝑎 𝑝𝑒𝑟𝑖𝑜𝑑
 × 100 

Problem : 1 

No. of. employee 1.1999  = 2000 

No. of .employees 31. 12. 1999 = 3000 

During the month 50 persons resigned and 150 person terminated of these 

100 workers are recruited. Calculate Labour Turnover Rate 

1. Separation Method? 

𝐿. 𝑇. 𝑂 =  
𝑁𝑜. 𝑜𝑓 . 𝐸𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠 𝑙𝑒𝑓𝑡

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠
 × 100 

=
200

2500
× 100 = 8% 

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠𝑠𝑠 = 2000 + 3000 =
5000

2
= 2500 

2. Replacement Method: 

=  
𝑁𝑜. 𝑜𝑓 𝑎𝑑𝑑𝑖𝑡𝑖𝑜𝑛

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠
 × 100 =

100

2500
× 100 = 4% 

3. Flux Method 

=  
𝑁𝑜. 𝑜𝑓 𝑙𝑒𝑓𝑡 & 𝑁𝑜. 𝑜𝑓 𝐴𝑑𝑑𝑖𝑡𝑖𝑜𝑛

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑁𝑜. 𝑜𝑓 𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑒𝑠
 × 100 =

200 + 100

2500
× 100

= 300 ×
100

2500
= 12% 



 

75 
 

tpisTfs; (Effects) 

mjpfkhd ciog;ghsh; khWk; tpfpjk; fhzg;gl;lhy; cw;gj;jpapd; 

mlf;ftpiy $Lfpd;wJ. njhopyhsh;; khWk; tpfj nryT ,Utifg;gLk;. 

mit 
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1. jLf;Fk; nryT: 

jdpg;gl;l eph;thfk; > kUj;Jt trjp> njhopyhsh; eyd;> rYiffs;> 

xa;T Cjpak;> Nrkey itg;G epjp> gzpf;nfhil> Nghd]; Nghd;w 

trjpfs; njhopyhsh;fSf;F mspg;gjd; %yk; ciog;ghs; khWk; tpfpjk; 

Fiwfpd;wJ. ,j;jifa nryTfis Kjyhsp Vw;Wf;nfhs;tjhy; 

,jidj; jLf;Fk; nryT vd;W ngah;. 

2. jpUk;g tUk; nryT: 

Gjpajhfj; njhopyhsh;fis Nrh;g;gjhy; Vw;gLk; gapw;rp nryT 

cw;gj;jpf;FiwT> Gjpa njhopyhshpd; jpwikapd;ik> juk; FiwT 

,ae;jpuk;> jsthlq;fspd; ghfq;fisj; jtwhff; ifahStjhy; Vw;gLk; 

,og;G> tpgj;jpw;;fhd nryT Fiwghlhd Ntiy Nghd;w nryTfis 

Gjpanjhopyhsh;fs; tUifhy; Vw;gLtNj jpUk;g tUk; nryT vdg;gLk;. 

njhopyhsh;fs; khWk; tpfpjj;ijf; fl;Lg;gLj;Jjy;: 

1. njhopyhsh;fs; jhk; gzpGhpAk; ,lj;jpypUe;J NtW xU 

njhopw;rhiyf;Fr; nry;yhky; jLf;f mth;fSf;F epahakhd $yp 

toq;fNtz;Lk;. 

2. gzpghJfhg;G> gjtp Nkk;ghL> kUj;Jt trjp mth;fspd; 

Foe;ijfspd; fy;tp nryT> tPl;L trjp> cztfk; Nghd;w 

trjpfis toq;Fjy;. 

3. ,lk; khw;wk; 

4. gzpahsh;fspd; FiwfisAk; Gfhh;fisAk; clDf;Fld; eph;thfk; 

epthj;jp nra;a Ntz;L;k;. 

5. eph;thfj;jpy; njhopyhshpd; gq;F ,yhgj;jpy; njhopyhshpd; gq;F 

Nghd;witfis mky;gLj;j Ntz;Lk;. ,t;thW xt;nthU 

eph;thfKk; NkNy fzlitfis filgpbj;jhy; njhopyhsh;; khWk; 

tpfpjk; njhopw;rhiyapy; Vw;gLtjpy;iy. 

nray;ghl;L Neuk; fz;f;fpLjy; (Motion Study) 

njhopyhsNuh my;yJ ,ae;jpuNkh xU Ntiyia ve;j Kiwapy; 

rpwg;ghf Kbf;fpd;wNjh me;;j Kiwia fz;Lgpbg;gNj nray;ghl;L Neuk; 

vdg;gLk;. xt;nthU; Ntiy nra;Ak; nghOJ njhopyhsh;fspd; elkhl;lk;> 
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,ae;jpuq;fspd; mirT Nghd;witfis fzf;fpl;L> Njitapy;yhj 

gzpahl;fisAk;> nghUl;fisAk; jtph;f;fpd;wJ. ,jd; %yk; jpwik 

kw;Wk; cw;gj;jp ngUFfpd;wJ. gzpahsh;fspd; Nrhh;T> cw;gj;jpapd; 

mlf;ftpiy Fiwfpd;wd. ,jid Kiwahd fzpg;G vd miof;fyhk;.. 

tpQ;Qhd Nkyhz;ikapd; fPo; Neu Ma;T kw;Wk; mirT Ma;T 

mbg;gilapy; Kd;$l;bNa eph;zak; nra;j Ntiyia xt;nthU 

njhopyhsUf;Fk; xJf;fg;gLfpd;wJ. mirTMa;tpy; xt;nthU 

epkplj;jpYk; gzpahsh;fspd; nray;jpwikia Ma;T nra;fpd;wJ. 

ed;ikfs;: 

1. gzpahsh;fspd; epiy tsh;fpd;wJ 

2. gzpKbf;Fk; nray;jpwid kpfTk; vspikahf tpsf;Ffpd;wJ. 

Neu Ma;T my;yJ gzp msT: 

xU Ntiyapy; cs;s xt;nthU epiyAk; me;j Ntiyia 

gzpahsh;fs; nra;J Kbf;f Njitg;gLk;. Neuk; Nghd;w epyikfs; gjpT 

nra;tNj Neu Ma;T vdg;gLk;. ,jd; Nehf;fkhdJ xt;nthU gzpiaAk; 

gy;NtW $Wfshfg; gphpj;J xt;nthU $Wfspd; nray;jpwid Muha;e;J 

mitfis epiwNtw;w Njitg;gLk; msNt Neu Ma;T vdg;gLk;. 

ed;ikfs;: 

1. jpl;lkpl;l Neuj;ij jPh;khdpf;f cjTjy; 

2. gzpahsh;fspd; nray;jpwd; tsh;j;jy; 

3. Njitahd gzpahsh;fspd; vz;zpf;ifia rhpahf kjpg;gpLjy; 

4. ciog;ghsh;fspd; nrytpid tuT nryTjpl;lj;jpy; fzf;fpl 

cjTjy;.  

5. mlf;ftpiy nryit fl;Lg;gLj;Jjy; 

6. tPzhd fhyj;ij eph;thfj;jpw;F njhptpj;jy; 

7. rhpahd mlf;ftpiy nryit eph;zap;g;gJ Nghd;witfshFk;.  

,jid gzp Ma;T vd miof;fyhk;. 

gzpg;gFg;gha;T: Job Evaluation 

xU gzpiag; gw;wpa Ma;it KOtJkhf Muha;tNj 

gzpg;gFg;gha;T vdg;gLk;. xt;nthU gzpiaAk; gFg;gha;T nra;J mjpy; 
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cs;s xt;nthU nray;jpwDf;Fk; Njitahd jFjpAila egh;fis 

Njh;e;njLg;gJ gzpiaj; jpUg;jpfukhf Kbg;gNj gzp gFg;gha;T 

vdg;gLk;. gzpapd; xt;nthU nray;ghl;Lf; $WfisAk; Muha;e;J 

mth;fspd; jpwik> mwpT> flik Nghd;witfis eph;zapf;fpwJ. 
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ed;ikfs;: 

1. nghUj;jkhd tpiyia gy;NtW gzpfSf;F eph;zapf;f 

cjTfpd;eJ. 

2. gzpahsh;fSf;F gapw;rp mspf;fTk;> gzpiag;gw;wp mwpt gzp 

nra;ak; ,lk;. Nghd;witfis toq;Ffpd;wJ. 

3. gzpahsh;fisj; Nrh;j;jy;> Njh;e;njLj;jy; gzp nra;Akplk; 

Nghd;witfis toq;Ffpd;wJ. 

gzp kjpg;gPL 
gzpia kjpg;gPL nra;tnj gzp kjpg;gPlhFk;. gzpapd; kjpg;ig 

mwpe;J Kiwahd  njhopy;El;gq;fis gad;gLj;JtNj gzp kjpg;gPlhFk;. 

gzpapd; kjpg;ig gzj;jpd; mbg;gilapy; kjpg;gPL nra;tNj gzp 

kjpg;gPlhFk;. gzpapd; gz;Gfshfpa jpwik> fy;tp mwpT> mDgtk; 

,lh;ghL nghWg;G Nghd;witfs; ahTk; gzpf;F Njitg;gLfpd;wJ. ,e;jg; 

gz;Gfis mjd; Kf;fpaj;Jtj;jpw;F Vw;wthW gzj;jpd; kjpg;ig kjpg;gPL 

nra;tNj gzkjpg;gPlhFk;. xt;nthU gz;Gfisak; Muha;e;J mjd; 

kjpg;ig ghapz;l;1 Mf nfhLj;J ve;jg;gzp mjpfkhd ghapz;l vLj;J 

cs;sNjh mjd; kjpg;G kw;w gzpfis tpl mjpfkhf cs;sjhf 

fUjg;gLk;. 

ed;ikfs;: 
1. epahakhd rk;gsk; eph;zapg;gJ 

2. Kjyhsp njhopyhsh;fSf;fpilNa R%fkhd ey;cwit 

Vw;gLj;Jjy; 

3. xU gzpf;F Njitahd gz;Gfisf; nfhz;l nghUj;jkhd 

gzpahsiu Njh;e;njLj;jy; 

4. gzpia tifg;gLj;Jjy; > vspikahf;Fjy; 

5. xNu rPuhd $ypia toq;Fjy; 

gzpahsh; kjpg;gpLjy; (Merit Rating) 
xU Ntiyia kjpg;gPL nra;tjw;Fg; gjpyhf mjidr; nra;Ak; 

gzpahsh;fis kjpg;gPL nra;tNj gzpahsh; kjpg;gpLjy; vd;W ngah;. 

fz;fhzpg;ghsh; Nkw;ghh;itapy; xU njhopyhspapd; jpwikia kjpg;gPL 

nra;tNj juk; gphpj;jy; my;yJ gzpahsh;fis kjpg;gpLjy; vdg;gLk;. 
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gzpiar; nra;JKbf;Fk; jpwik> gzpia gw;wpa mwpT> jdpg;gl;l Fzk; 

Ntiyapy; fhZk; <LghL nghWg;G Nkw;ghh;it nra;Ak; jpwik Nghd;w 

gz;Gfis itj;J gzpahsh;fis kjpg;gPL nra;ag;gLfpd;wd. 

gzpahsh;fis kjpg;gPL nra;Ak; Kiwfs;: 
1. msTNfhy; kjpg;gPL 

2. kjpg;Gthpir gl;bay; 

3. kw;wth;fspd; gz;GfSld; xg;gpl;Lg;ghh;j;jy; 

4. gfph;T Kiw 

5. rhpghh;f;Fk; gl;bay;Kiw 

6. Ma;TKiw fskW 

7. tpsf;fk; my;yJ fl;Liu Kiw 

8. ey;cwT Kiw 

ed;ikfs;: 

1. $yptPjk; Nkk;ghL Nghd;witfSf;F ,J cjTfpd;wJ 

2. gzpahsh; khWk;tPjk; Fiwfpd;wJ. 

3. MNuhf;fpakhd Nghl;b gzpahsh;fspd; kj;jpapy; epyTfpd;wJ. 

4. epahakhd Kiwapy; gjtp Nkk;ghL> gjtp ,wf;fk; 

filgpbf;fg;gLfpd;wJ. 

5. $ypgl;bay; jahhpf;Fk; Kiw vspikahf;fg;gLfpd;wJ. 

6. njhopyhsh;fspd;; jpwik jFjp Nghd;witfspd; mbg;gilapy; $yp 

toq;fg;gLfpd;wJ. 

$yp kw;Wk; Cf;Ftpg;Gj; jpl;lk;. 

ey;y $ypj;jpl;lj;jpd; rpwg;G mk;rq;fs; ahit 

1. $yp toq;fy; jpl;lkhdJ Kjyhspf;Fk; njhopyhspf;Fk; ghjfk; 

,y;yhky; epahakhdjhfapUf;f Ntz;Lk;. 

2. ,j;jpl;lkhdJ Neu Ma;T mirT mbg;gilapy; jahhpf;fNtz;Lk;.  

3. Fiwe;jgl;r $yp njhopyhsh;fSf;F toq;f Ntz;Lk;. 

4. gzpahsh;fspd; jpwik kw;Wk; jpwikaw;w gzpahsh;fis 

NtWgLj;jp fhzyhk;. 

5. rhpahd Ntiyf;F rhpahd rk;gsk; nfhLf;f Ntz;Lk;. 
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6. jpwikAs;s njhopyhsh;;fSf;F jpwikapy;yhj njhopyhsh;fisf; 

fhl;bYk; mjpf rk;gsk; toq;fNtz;Lk;. 

7. ,e;jjpl;lk; nefpo;r;rpAilajhfapUf;f Ntz;Lk;. 

8. njhopw;rq;fq;fSf;F vjpuhf ,e;j Cjpaj; jpl;lk; mikaf;$lhJ.  

9. mUfpy; cs;s kw;w njhopw;rhiy kw;Wk; cs;Shpy; epyTk; 

$ypia fUj;jpy; nfhz;L ,jid jahhpf;fNtz;Lk;. 

10. ,e;jj; jpl;lj;ij njhopyhsh;fis vspjpy; Ghpe;J nfhs;Sk; 

tifapy; mikaNtz;Lk;. 

11. $yp tpfpj nray;Kiwfis njhopyhsh;fs; kw;Wk; mth;fs; 

rhh;e;J ,Uf;Fk; njhopw;rq;fj;Jf;F Kiwahfj; njhptpf;f Ntz;Lk;. 

$yp nrYj;Jjypd; Kiwfs;:(Wage System) 

1. $ypia ,uz;L Kiwfspy; njhopyhsh;fSf;Fk; 

toq;fg;gLfpwJ. 

1. Neu mbg;gil 2. nghUs; cw;gj;jp vz;zpf;if mbg;gil  

I. Neu mbg;gilapy; (Time Wage System) 

ehs; xd;Wf;F njhopyhsh;fs; gzp nra;Ak; Neuj;jpd; mbg;gilapy; 

$yp toq;fg;gLfpd;wJ. vt;tsT vz;zpf;ifapy; nghUis myy;J 

gzpia Kbj;J cs;shh;fs; vd;w mbg;gilapy; vLj;Jf;nfhs;syhk; 

vt;tsT Neuk; njhopw;rhiyapy; nryT nra;fpd;whh;fNsh mjd; 

mbg;gilapNyNa $yp nrYj;jg;gLfpd;wJ. ,JNt Neu mbg;gil 

KiwahFk;. 

Wages = Time spent x Rate per hour ( T x R) 

v.fh. Mr. X is paid at the rate of Rs. 10 per hour. During the month spent 

200 hours. calculate Mr X earning. 

Earnings  = 200 hours x Rs. 10 per hour =Rs. 2000 per months 

Neu mb;ggilahdJ %d;W epiyfspy; fhzg;gLfpd;wJ. 

(i) rhjhuz epiy 

(ii) cah;e;j epiy 

(iii) gbg;gbahd Neuk; tpfpjk;. 
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(i) rhjhuz epiy: ,e;j Kiwapy; $ypahdJ cw;gj;jp nra;j 

nghUspd; vz;zpf;ifapy; toq;fhky; njhopw;rhiyapy; nryT 

nra;j Neuj;jpd; mbg;gilapy; $yp toq;fg;gLfpwJ. Neukhfpa 

kzpapd; msT > khjk; > thuk; mbg;gilapy; toq;fg;gLfpd;wJ. 

Eaning = hours worked x Rate per hour 

fPo;fz;litfSf;F ,J nghUj;jkhf tpsq;FfpwJ. 

1. nghUspd; juj;jpw;F Kf;fpaJtk; nfhLf;Fk; njhopw;rhiyapy; 

,jid gad;gLj;jyhk;. (fbfhuk;> jahhpg;G fk;ngdp) tpiy 

cah;e;j Mguzq;fs; jahhp;f;Fk; epWtdk;. 

2. Ntiyiaj; Jy;ypakhff; fz;Lgpbf;f Kbahky; NghFk;nghOJ 

3. Ntiyapd; nray;ghL jpUk;g tuhky; ,Uf;Fk;nghOJ 

4. Gjpjhfg; gzpapy; Nrh;e;jth;fSf;F 

5. Nkw;ghh;it kpf mUfhikapy; ,Uf;fk;nghOJ 

ed;ikfs;: 

1. ,jid gzpahsh;fs; vspjpy; Ghpe;Jnfhs;fpd;wdh; 

2. Fiwe;j gl;r $ypia toq;Fjy; 

3. nghUspd; juj;ijf; Fiwahky; guhkhpg;gJ 

4. jpwik kw;Wk; jpwikapy;yhj njhopyhsh;fis NtWgLj;jp 

fhl;Ltjpy;iy. ,jdhy; njhopw;rq;fk; ,e;j Kiwia 

tuNtw;fpd;wJ. 

5. tPzhd fhyj;jpYk; $yp fpilf;fpd;wJ. 

FiwghLfs; 

1. jpwik cs;stUf;Fk;> jpwikapy;yhj njhopyhsh;fSf;Fk; rkkhd 

Cjpak; toq;fg;gLtjhy; jpwikahdth;fSf;F ntFkjp 

fpilg;gjpy;iy. 

2. ciog;ghsh; nryit Kd;$l;bNa mwpaKbfpwJ. 

3. kpifNeuk; Vw;gl tha;g;G cs;sJ. 

(ii) cah;e;j Cjpa Neuk; tpfpjk;: 
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,jpy; jpwikahdth; mjpfkhd Cjpak; toq;Ftjd; %yk; 

cw;gj;jp ngUfpd;wJ. ,jdhy; ciog;ghshpd; nryT Fiwe;J 

kpif Nwuk; Fiwf;fg;gLfpd;wJ. 

(iii) gbg;gbahd Neuk; tpfpjk;: 

,e;j Kiwapy; tho;f;ifr; nryT FwpaPl;L vz; 

mbg;gilapy; $yp eph;zf;fg;gLfpd;wJ. tho;f;iff; FwpaPl;L vz; 

khw;wj;jpw;F jFe;jthW $yp tpfpjk; khw;wk; nra;ag;gLfpd;wJ. 

II. nghUs; cw;gj;jp vz;zpf;ifapy; Cjpa tpfpjk; (Piece rate wage 

System) 

,e;j KiwahdJ Neu mbg;gilf;F vjpuhdJ. ,jpy; 

njhopyhsh;fshy; cw;gj;jp nra;j myFfspd; vz;zpf;if mb;ggilapy; 

$yp toq;fg;gLfpd;wJ. 

Earning = No. of Units produced x Rate per unit ( Nx R) 

Example: 

Mr  X is paid at the Rate of Rs. 4 per unit . He produced 500 units during the 

month. Calculate his total earnings? 

Earning = 500 units x Rs4 = Rs. 2000 

,e;j Kiwapy; jpwik kw;Wk; jpwikaw;w njhopyhsh;fis 

NtWgLj;jp fhl;Lfpd;wJ. ,e;j Kiwia njhopw;rq;fk; Mjhpg;gjpy;iy. 

,jpy; mjpf msT vz;zpf;ifapy; nghUis cw;gj;jp nra;tjw;F 

mjpfkhd $yp fpilf;fpd;wJ. Neuk; Cjpa tpfpjj;jpy; juj;jpw;F 

Kf;fpaj;Jtk; mspj;J vz;zpf;ifia fzf;fpy; vLg;gjpy;iy. Mdhy; 

cw;gj;jp vz;zpf;if Cjpa tpfpjj;jpy; nghUspd; vz;zpf;iff;F 

Kf;fpaJtk; mspj;J juj;jpw;F Kf;fpaj;Jtk; mspg;gjpy;iy. ,jpy; 

%d;W tpjkhd Cjpak; cs;sd. mit  

1. Neuhd myF vz;zpf;if Cjpa tpfpjk; 

2. cj;jputhjj;Jld; $ba $yp vz;zpf;ifapy; 

3. NtWgLj;jg;gl;l vz;zpf;if Cjpa tpfpjk;. 

1. Neuhd myF vz;zpf;if Cjpa tpfpjk;. 
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,k;Kiwapy; vt;tsT vz;zpf;ifapy; nghUs; cw;gj;jp nra;j 

nghUspd; vz;zpf;ifapy; $yp toq;fg;gLfpd;wJ. 

Wagess = units produced x Rate per unit( N x R) 

,jpy; Neuj;ij fzf;fpy; vLf;fhky; cw;gj;jp nra;j nghUspd; 

vz;zpf;ifapy; $yp toq;fg;gLfpd;wJ. 

ed;ikfs;: 

1. jFjp kw;Wk; jpwikapd; mbg;gilapy; $yp toq;fg;gLfpd;wJ. 

2. cw;gj;jp mjpfhpg;gjd; %yk; epiyahd nryT kw;Wk; mlf;ftpiy 

nryT Fiwfpd;wJ. 

3. tPzhd Neuk; jtph;f;fg;gLfpd;wJ. 

4. xU myfpd; ciog;ghsh; nryit Kjyhsp vspjpy; 

fz;Lgpbf;fyhk; 

5. Nkw;ghh;it nryT Fiwfpd;wJ. 
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FiwghLfs;: 

1. ,jpy; $yp eph;zapg;gJ kpfTk; fbdk;. 

2. jukhd nghUs; fpilg;gjpy;iy 

3. jpwikapy;yhj gzpahsh;fSf;F gzp ghJfhg;G ,y;iy 

4. cw;gj;jp mjpfhpj;jhYk; Njit Fiwthf fhzg;gLjy; 

5. cw;gj;jpapd; vz;zpf;ifia mjpfhpf;f ,ae;jpuq;fis tpiuthf 

nrYj;Jk;nghOJ tpgj;J kw;Wk; njhopyhsh; eyd; 

ghjpf;fg;gLfpd;wJ.  

6. mjpf Neuk; Ntiy nra;tjd; %yk; njhopyhsh;fspd; cly; eyk; 

ghjpf;fg;gLfpd;wJ. 

7. cw;gj;jp $Ltjhy; ciog;ghshpd; nryT Fiwtjpy;iy. 

 
2. cj;jputhjj;Jld; $ba$yp vz;zpf;ifapy; 

,jpy; Fiwe;jgl;r $yp eph;zak; nra;tjhy; nkJthf Ntiyapy; 

<LgLk; njhopyhsh;fSf;F gad; fpilf;fpd;wJ. 

 
3. NtWgLj;jg;gl;l vz;zpf;if Cjpa tpfpjk; 

,k;Kiwapy; cw;gj;jpapd; mstpw;Nfw;g Cjpa tpfpjk; cs;sJ. 

cw;gj;jp mjpfhpg;Gf;F Vw;g Cjpa tpfpjKk; $Lfpd;wJ. 

m ) nla;yh; M) nkhpf; ,) fhz;l; lhf;]; Nghd]; jpl;lk; <) 

vkh;rd; jpwik jpl;lk; Nghd;wth;fs; ,e;j Kiwia gad;gLj;jpAs;sdh;. 

 
Cf;fCjpak; (Incentives) 

njhopyhsh; jq;fsJ flikia jpwikahf nra;tjw;ffhf 

Cf;Ftpf;fg;gLk; midj;Jf; fhuzpfSk; Cf;fCjpak; vdg;gLk;. Cf;f 

Cjpaj;ij gzkhfNth my;yJ nghUshfNth toq;fyhk;. ,J 

tof;fkhf toq;Fk; Cjpaj;Jld; Nrh;j;J mspf;fg;gLk;. 

 
Cf;f Cjpaj;jpd; tiffs;: 

1. gz rk;ge;jg;gl;l Cf;f Cjpak; 

2. gz rk;ke;jg;glhj Cf;f Cjpak; 

1. gzrk;ke;jg;gl;l Cf;f Cjpak; 
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njhopyhsh;fis Cf;Ftpg;G nra;Ak; eyj;jpl;lq;fis mwptpj;J 

nray;gLtjf;%yk; mth;fSf;F ed;ikfs; toq;FtNj gz 

rk;ke;jg;glhj Cf;f Cjpak; vdg;gLk;. v.fh. kUj;Jt trjp> 

Foe;ijfspd; fy;tp trjp> cztfk;> Nghf;Ftuj;J trjp> xa;T Cjpak;>  

gzpf;nfhil> Nrkey;epjp Nghd;witfshFk;. 

2. Cf;f Cjpa jpl;lk;. 

rpyKf;fpakhf Cf;fCjpa jpl;lj;ij fzf;fpLk; Kiwfs; fPNo 

nfhLf;fg;gl;Ls;sd. mit> 

1. N`y;rp gphpkpak; jpl;lk;.(Halsey Plan) 

,e;j jpl;lj;ij N`y;rp vd;w mnkhpf;f nghwpahsh; 

mwpKfg;gLj;jpAs;shh;. ,jpy’ Neuf; $ypAk; nghUspd; vz;zpf;if 

$ypAk; ,uz;Lk; ,ize;j jpl;lkhFk;. ,e;j Kiwapy; Kd; $l;bNa 

eph;zapf;fg;gl;l Ntiyia tpQ;qhd mbg;gil kw;Wk; fle;jfhy 

mDgtj;jpd; Nghpy; jpl;lkplg;gLfpd;wJ. xt;nthU njhopyhspf;Fk;. 

mDkjpf;fgLk; Neuj;ij xJf;fp mth; xJf;fPL nra;j Ntiyia 

Kbg;gjw;F vLj;Jf;nfhz;l  Neuj;jpw;Fk; cs;s tpj;jpahrNk 

kpr;rg;gLj;jpa NeukhFk;. vLj;Jf;nfhz;l Neuj;ij tpl mDkjpf;fg;gl;l 

Neuk; mjpfkhapUe;jhy; mJNt kpr;rg;gLj;jpa NeukhFk;. 

Time saved = Standard Time - Actual time 

jpwikAs;s njhopyhsh;fNs Neuj;ij kpr;rg;gLj;jp kpif Cjpak; 

ngwKbAk;. Nfy;rp kpr;rg;gLj;jpa Neuj;jpy; 50 % ep;h;thfj;jpw;F 50% 

njhopyhsUf;Fk; toq;fg;gl;Lfpd;wJ. 

Bonus = 50 % Time saved x Rate per hour 

Total Earnings = Actual wages + Bonus 

rpwg;gpay;Gfs;:  

1) xt;nthU gzpf;Fk; mDkjpf;fg;gl;l Neuk; eph;zapf;fg;gLfpwJ. 

2) Neuf;$yp tpfpjk; cWjpaspf;fg;gLfpd;wJ 

3) kPjg;gLj;jpa Neuj;jpy; 50 % kw;Wk; tof;fkhd $ypAk;  

toq;fg;gLfpd;wJ. 
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4) ,k;Kiwapy; njhopyhsh; kpr;rg;gLj;jpa Neuj;jpy; ghjpia 

Nghd]hf toq;Ffpd;wJ. 

ed;ikfs;: 

1. ,k;Kiwapy; njhopyhsh;fs; vspjpy; Ghpe;J nfhs;tjhy; 

mwpKfg;gLj;JtJ kpfTk; vspJ. 

2. ,e;j jpl;lj;jpy; Fiwe;j msT $ypahf Neuf; $yp toq;Ftij 

cWjpaspg;gjhy; jpwikaw;w njhopyhsh;fSk; gad;ngWfpd;wdh;. 

3. njhopyhsh;fspd; jpwikia Cf;Ftpf;fpd;WJ. 

4. kpr;rg;gLj;jpa Neuj;ij rk gq;fhf KjyhspAk; njhopyhsUk; 

gfph;e;J nfhs;fpd;wdh;. 

5. cw;gj;jp mjpfhpg;gjhy; xU epiyahd nryT Fiwfpd;wJ. 

jPikfs;: 

1. ,k;Kiwapy; jukhd Ntiyia vjph;ghhf;f KbahJ. Vnddpy; 

Nghd]; ngw Ntz;Lk; vd;w Nehf;fj;jpw;fhf gzpia Jhpjkhf 

Kbf;fpd;wdh;. 

2. njhopyhsh; jkJ jpwikapdhy; kpr;rg;gLj;jpa Neuj;ij Kjyhsp 

rk msT gq;F nfhs;tJ epahakpy;iy. 

Halsey Plan 

Problem: 1  

Rate per hour   = Rs. 4 

Time allowed for job  = 40 hours 

Time taken   = 32 hours 

Calculate earning under Halsey Plan 

Solution: 

Time saved    = 40 hours -32 hours = 8 hours 

Bonus    = 50% of time saved 

    = 
8 𝑕𝑜𝑢𝑟𝑠

2
= 4 𝑕𝑜𝑢𝑟𝑠 

Bonus    =  50% Time saved x Rate per hour 

    = 4 hours x Rs. 4 = Rs. 16 
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Time wages   = Actual time taken x Rate per hour 

    = 32 hours x Rs, 4 =Rs. 128 

Total Earnings   = Rs. 128 + Rs. 16 = Rs, 144 
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Problem No :2 

Calculate earning of a worker, under Halsey Premium plan 

Time allowed   = 70 hours 

Time taken  = 60 hours 

Rate per hour  = Rs. 3 

Solution: 

Time saved  = Standard Time - Actual time. 

   = 70 hours - 60 hours = 10 hours 

Bonus   =  50% time sdaved x Rate per hour 

10 𝑕𝑜𝑢𝑟𝑠

2
× 𝑅𝑠. 3 = 𝑅𝑠. 15 

Wages    = Actual time x Rate per hour 

    = 60 hours x Rs.3 =Rs. 180 

Total Earnings  = Actual wages + bonus 

    = 180 + 15 =Rs. 195 

b) N`y;rp xah;jpl;lk; (Halsey Weir Scheme) 

,jpy; kPjg;gLj;jpa Neuj;jpy; 50% gjpyhf 30% Nghd]hf 

toq;fg;gLfpd;wJ. 

Standard Time   = 40 hours 

Actual Time   = 34 hours 

Rate per hour   = Rs. 10 

Calculate Halsey Weir plan? 

Bonus    = 30% of time saved x Rate per hour 

40-34 hours   = 6 hours x 30/100x Rs. 10 = Rs. 18 

Wages    = 34 hours x Rs. 10 = Rs. 340 

Total Earning   = Rs. 340 +18 =Rs. 358 

C ) Nuhthd; jpl;lk; (Rowan Paln) 
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,e;j Kiwapy; Nltpl; Nuhthd; vd;gth; 1901y; 

mwp?Kfg;glj;jpAs;sgg;. ,e;j jpl;lj;ij N`hy;rp jpl;lj;Jld; 

xj;jpUe;jhYk; Nghd]; fzf;fpLtjpy; NtWgLfpd;wJ. 

Bonus: Time saved / Standard Time x rate per hour x Actual time 

Problem :3 

Calculate Earnings under Rowan Plan: 

Standard Time = 100 hours 

timw Taken = 80 hours 

Rate per hour = Rs. 10 

𝐵𝑜𝑛𝑢𝑠 =  
20 𝑕𝑜𝑢𝑟𝑠

100 𝑕𝑜𝑢𝑟𝑠
 × 80 𝑕𝑜𝑢𝑟𝑠 × 10 = 𝑅𝑠. 160 

Time wages  = Actual Time x Rate per hour 

   = 80 hours x Rs. 10 = Rs. 800 

Total Earning  = Rs. 800+160 =Rs. 960 

Problem No : 4  

Calculate Halsey and Rowan Premium plan fron the following data: 

time allowed   = 96 hours 

Time taken  = 80 hours 

Rate per hour  = Ra. 2 

Solution: 

Halsey Plan 

 Bonus = 50 % Time saved  =  96 -80 = 16/2 = 8 hours 

     = 8 hours x Re.2 = Rs. 16 

Total Earnings   = Rs. 160 (80 x 2) Rs.16 = 176 

Rowan plan: 

Bonus :   
16

96
× 80 × 2 = 𝑅𝑠. 26.66 

Time wages  80 x 2 =160 

total Earnings  = 160+26.66 =Rs. 186.66 

Problem No: 5  



 

91 
 

A worker takes 12 hours to complete a job on daily wages and 9 hours on 

a scheme of payment by results. His dayrate is Rs. 4 per hour. The material cost 

of the product is Rs.6 and the overheads are recovered at 150% of total direct 

wages. Calculate factory cost of the product under 

a) Piece work plan  b) Rowan plan  c) Halsey plan 

Solution:  

a) wages under piece work plan 

9 hours @ Rs. 4 per hours = Rs. 36 

b) Wages unde Rowan plan: 

Bonus = 3/12 x Rs.9 x 4 =Rs. 9.00 

Time wages = 9 hours x 4 =Rs. 36.00 

Total Earnings = Rs. 45 (Rs. 36+9) 

c) Wages under Halsey plan: 

Bonus =50% 3 hours x Rate per hour 

= 1 ½ hours x 4 = Rs. 6 

Time wages = 9 hours x 4 = Rs. 36.00 

Total Earning = 36+6 =Rs. 42 

Statement of Factory cost 

 

 Piece 

work 

plan 

Rowan 

Plan 

Halsey 

Plan 

Material 6.00 6.00 6.00 

Wages 36.00 45.00 42.00 

Prime cost 42.00 51.00 48.00 

Factory overhead 150% wages Factory cost 54 67.50 63.00 

 Factory cost 96.00 118.50 111.00 

 
Nuhthd; jpl;lj;jpd; ed;ikfs;: 
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1. Fiwe;jgl;r Neuf;$yp cWjp nra;ag;gLfpd;wJ. 

2. mDkjpf;fg;gl;l Neuk; eph;zapg;gjhy; mbg;gil $yp tpfpjk; 

cs;sJ. 

3. Gjpajhf tUk; njhopyhsh;fSf;Fk;> gapw;rp ngWgth;fSf;Fk; ,J 

kpfTk; nghUj;jkhf tpsq;Ffpd;wJ. 

4. N`y;rp jpl;lj;ij tpl Nuhthd; jpl;lj;jpy; Nghd]; mjpfkhf 

njhopyhsh;fSf;F fpilf;fpd;wJ. 

jPikfs;: 

1. N`y;rp jpl;lj;ij tpl ,J fzf;fpLifapy; fbdkhdjhf 

cs;sJ. 

2. ,e;j Kiwia njhopyhsh;fs; vspjpy; Ghpe;Jnfhs;s KbahJ 

3. xU Fwpg;gpl;l msTf;F gpd;G NghJkhd Cf;f Cjpak; 

fpilf;fhJ. 

N`y;rp jpl;lj;jpw;Fk;> Nuhthd; jpl;lj;jpw;Fk; cs;s NtWghL 

N`y;rp jpl;lk; Nuhthd; jpl;lk; 

1. Fiwe;j msT Neuf;$yp cWjp 

nra;ag;gLfpd;wJ. 

Fiwe;j Neuf;$yp toq;f 

xg;Gjy; mspj;jy; 

2. jpwikf;F Vw;wthW Nghd]; 

$Lfpd;wJ. 

Nghd]; xU Fwpg;gpl;l msT 

te;jTld; jilgLfpd;wJ. 

3. kpr;rg;gLj;jpa Neuj;jpy; 50 % 

Nghd]; toq;fg;gLfpwJ. 

Nghd]; tpfpjhrhu mb;gilapy; 

toq;fg;gLfpd;J. 

4. kpr;rg;gLj;jpa Neuj;ij 

KjyhspAk; njhopyhspAk; 

rkkhf gq;fpl;Lf; nfhs;fpd;wdh;. 

rkkhf gfph;e;J nfhs;tjpy;iy 

5. mDkjpf;fg;gl;l Nwuj;jpy; 50 % 

kpr;rg;gLj;jpdhy; ,e;j jpl;lk; 

kpfTk; gads;sjhf tpsq;Fk;. 

mDkjpf;fgl;l Neuj;jpy; 50% 

Fiwthf kpr;rg;gLj;jpdhy; ,e;j 

jpl;lk; kpfTk; gaDs;sjhf 

tpsq;Fk;. 

4.nla;yhpd; NtWgLj;jpf; fhZk; $tp tpfpjq;fs; ( Taylor’s Differential 

Piece Rate System) 
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,e;j Kiwia gpulhp tpd;];N]h nla;yh; vd;gth; 

mwpKfg;gLj;jpAs;sdh;. ,tiu RUf;fkhf F.W nla;yyh; vd;Wk; 

tpQ;qhd Nkyhz;ikapd; je;ij vd miof;fg;gLfpwhh;. ,th; ,uz;L 

tpjkhd $yp tpjj;ij Vw;gLj;jpAs;shh;. 

1. Fiwthd $yp tpfpjk; (Low piece rate) 

2. cah;e;j $yp tpfpjk; ( High piece rate) 

,th; xU gzpia Neuk; kw;Wk; mirT Ma;itf;nfhz;L 

ftdkhfr; Nrhjid nra;jgpd;dNu mjw;F mDkjpf;fg;gl;l Neuj;ij 

eph;zapf;fpwhh;. 

xU njhopyhsp xU Ntiyia mDkjpj;j Neuk; my;yJ mjw;F 

Fiwthd Neuj;ij vLj;Jf; nfhz;L me;j gzpia Kbj;jhy; mth; 

jpwikAs;sth; vdf; fUjp mtUf;F cah;e;j $yp tpfpjj;ij toq;f 

Ntz;Lk; vdf; $Wfpwhh;. 

xU njhopyhsp xU gzpia mDkjpf;fg;gl;l Neuj;;ij tpl 

mjpfNeuk; vLj;J me;j gzpia Kbe;jhy; mtUf;F Fiwe;j $yp 

toq;f Ntz;Lk; vdf; $Wfpwhh;. 

rpwg;gpay;Gfs;: 

1. Neuk; my;yJ ehs; $ypf;F cWjpaspf;fg;gLtjpy;iy. 

2. xt;nthU gzpf;Fk; mDkjpf;fg;gl;l Neuk; eph;zapf;fg;gLfpwJ. 

3. ,uz;L tpjkhd $yp tpfpjk; fhzg;gLfpd;wJ. 

m. mDkjpf;fg;gl;l Neuj;ij tpl Fiwthd fhyj;jpy; 

Kbe;jhy; cah;e;j $yp tpfpjKk;. 

M. mDkjpf;fg;gl;l Neuj;ij tpl mjpfkhf Neuk; vLj;J 

gzpia Kbj;;jhy; Fiwe;j $yp tpfpjKk; 

toq;fg;gLfpd;wJ. 

4. jpwikahdth;> jpwikaw;wth; vdj; njhopyhsh;fis gphpj;J 

fhl;Lfpd;wJ. 

ed;ikfs;: 

1. ,J kpfTk; vspikahfTk;> vspjpy; Ghpe;J nfhs;Sk; tifapy; 

mike;Js;sJ. ,jid eilKiwg;gLj;JtJ vspJ. 
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2. jpwikahd njhopyhsh;fis ,e;jjpl;lk; ftUfpd;wJ. 

3. jpwikkpf;f njhopyhsh;fSf;F mth;fspd; jpwikf;Nfw;g mjpf 

msT $yp fpilf;f top nra;fpd;wJ. 
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jPikfs;: 

1. jpwikaw;w njhopyhsh;fSf;F Fiwe;j $yp fpilg;gjhy; 

mth;fSf;F jz;lid toq;FtJ Nghy ,e;j Kiw mikfpd;wJ. 

2. jpwikahdth;> jpwikaw;wth; vdj; njhopyhsh;fSf;fpilNa 

NtWgLj;jpf; fhl;Ltjhy; njhopyhsh;fSf;fpilNa jfuhW 

Vw;glyhk;. 

3. Fiwe;jgl;r ehs; $ypf;F cWjpaspf;fhjjhy; njhopyhsh;fSf;F 

$yp toq;Ftjpy; cj;juthjk; ,y;iy. 

4. ciog;ghshh; nryT NtWgl;L fhzg;gLfpd;wJ. Vndd;why; ,uz;L 

tpjkhd $yp tpfpjq;fs; ,jpy; cs;sd. 

Problem No : 6 

Standsard production -200 units per das 

Low price rate - 8 paise per unit 

High Piece rate - 10 paise per unit 

Mr. X who produced 240 units Y produced 190 units. Calculate their 

Earnings under Taylor’s Differential piece rate system 

Solution: 

Standard output = 200 units per day 

X Produced - 240 units he will get high piece rate 

X standard output I tpl mjpfkhf cw;gj;jp nra;tjhy; mtUf;F 

cah;e;j $yp tpfpjk; fpilf;fpd;wJ. 

X earning  = 240 units x 10 paise = Rs 24 

Y produceedd = 190 units he will get low piece rate ( Y standard output 

tplf; Fiwthd cw;gj;jp nra;jjhy; mtUf;F Fiwe;j $yp 

tpfpjk; fpilf;fpd;wJ. 

Y earnings = 190 units x 6 paise = Rs. 15.20 P 

Problem No: 7  
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calculate earnings of worker Mithilesh and sailesh under straight piece 

rate system and Taylor’s Diffferential piece rate system from the 

following particulars. 

Normal rate per hour  =  Rs. 18.00 

Standard time per unit  = Rs. 10 seconds 

Diffentials to be applied: 

 80 % of piece rate below standard 

120% of piece  rate at or above standard 

Worker Mithilesh Produceed 2700 units per day and worker sailesh 

produced 3200 units per day 

Per day = 8 hours 

Solution: 

Standard production 10 seconds = 1 unit 

Standard prodection one minute 
60 𝑠𝑒𝑐𝑜𝑛𝑑𝑠

10 𝑠𝑒𝑐𝑜𝑛𝑑𝑠
= 6 𝑢𝑛𝑖𝑡𝑠 

Standard production per hour (60 minutes) = 6 units x 60 minutes = 360 units 

Standard production per day of 8 hours = 360 units x 8 hours = 2880 units 

Normal rate per hour  = Rs. Rs. 18.00 

 

Normal piece rate  = Rs. 18.00  =  0.05 piece 

     360 units 

Low piece rate   = 
5 𝑝𝑎𝑖𝑠𝑒  × 80

100
 × 0.04 𝑝𝑎𝑖𝑠𝑒 

High piece rate  = 
5 𝑝𝑎𝑖𝑠𝑒  × 120

100
 × 0.06 𝑝𝑎𝑖𝑠𝑒 

Earnings of workers Mithilesh: 

a) Under straight piece rate system 

Number of units produced x Rate per unit 

= 2700 units x 0.05 paise = Rs. 135 

b) Under Taylor’s Differntial piece rate system 

2700 units x 0.04 paise = Rs. 108 
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Fwpg;G: kpjpNy\; Standard output tplf; Fiwthd nghUis cw;gj;jp 

nra;jjhy; mtUf;F. Low piece rate apply nra;aNtz;Lk;. 

 Earnings of worker saliesh: 

a) under Straight piece rate system b) Taylor’s Different piece ate 

system 

3200 unit x 0.05 paise = Rs. 160 3200 units x 0.06 paise = Rs. 192 

Fwpg;G: irNy\; Standard output tplf; mjpfkhd nghUs; cw;gj;jp 

nra;jjhy; mtUf;F. high Piece rate 0.06 paise apply  nra;aNtz;Lk;. 

5. nkh;hpf; gy;NtWgLj;jp fhZk; $yp tpfpjq;fs;(Merrick’s Multiple 

piece rate system) 

,J nla;yh; $yp tpfpjj;jpy; cs;s Fiwghl;il ePf;fpAs;sJ. 

Normal Piece rate nla;yh; Kiwapy; fpilahJ. ,jpy; Normal piece rate 

cs;sJ. ,k;Kiwapy; nkh;hpf; vd;gth; %d;W tpjkhd $yp tpfpjj;ij 

$Wfpwhh;. 

Efficiency = 
𝐴𝑐𝑡𝑢𝑎𝑙𝑜𝑢𝑡𝑝𝑢𝑡

𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑𝑂𝑢𝑡𝑝𝑢𝑡
× 100 

%d;W tpjkhd $yp tpfpjq;fs; (Three piece Rate) 

1. 83% standard output f;Ff;Fiwthf cw;gj;jp nra;jhy; rhjhuz $yp 

tpfpjKk;.  

2. 83 % Kjy; 100 %standard output tiu cw;gj;jp nra;tjhy; 110 

%Normal piece rate ( rhjhuz $ypapy; 110 % rjtPjk;) 

3. 100 % Standard Output f;F Nky; cw;gj;jp nra;jhy; 120% Normal 

piece rate( 100% + 20% rhjhuz $yp) 

FiwghLfs;: 

1. ,J Neuf;$ypf;F cWjpaspg;gjpy;iy 

2. jpwikahd njhopyhsh;fSf;F rhjhuz $ypia tpl 20% extra 

fpilf;fpd;wJ. 

3. ,jdhy; nkJthf gzpGhpAk; njhopyhsh;fSf;F rhjhuz $yp 

kl;LNk        fpilf;fpd;wJ.  Mdhy; nla;yh; Kiwia tpl 
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,J rpwe;jJ. Vnddpy; nla;yh; Kiw rhjhuz $yp tpfpjk; 

jpwikapy;yhj njhopyhsh;fSf;F mspg;gjpy;iy.  
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Problem : 8  

Calculate the earnings of  worker.  Ravi,  Sankar, Mani under straight 

piece rate system and Merick multiple piece rate system from the 

following particulars: 

Normal rate per hour  = Rs. 18 

Outputper day of hours is as follows 

Worker Ravi   = 380 units 

Worker sankar  = 460 units 

Worker Mani  = 540 units 

Solution: 

Standard output per minute = 1 unit 

Standard output per hour 1 x 60 minutes = 60 units 

Standard output per day of 8 hours = 60 units x 8 hours = 480 units 

Normal rate per hour = Rs. 18.00 

Normal output per hour = 60 units 

Normal piece rate = 
18.00

60 𝑢𝑛𝑖𝑡𝑠
= 0.30 𝑝𝑎𝑖𝑠𝑒 

Calculation of Efficiency of workers 

% of efficiency  
𝐴𝑐𝑡𝑢𝑎𝑙  𝑜𝑢𝑡𝑝𝑢𝑡

𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑  𝑜𝑢𝑡𝑝𝑢𝑡
× 100 

Worker Ravi output per day 380 units 

Ravi’s Efficiency = 
380 𝑢𝑛𝑖𝑡𝑠

480 𝑢𝑛𝑖𝑡𝑠
× 100 = 79% 

Worker Sankar output per day 460 units 

Sankar’s Efficiency = 
460 𝑢𝑛𝑖𝑡𝑠

480 𝑢𝑛𝑖𝑡𝑠
× 100 = 96% 

Worker Mani output per day 540 units 

Mani’s Efficiency = 
540 𝑢𝑛𝑖𝑡𝑠

1480 𝑢𝑛𝑖𝑡𝑠
× 100 = 112.5% 

Earning of workers Ravi 

a) Under Straight piece rate system: 

380 units x 0.30 paise = Rs 114 
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b) Under Merrick Multiple system 

380 units x 0.30 = Rs. 114 

Fwpg;G: utpapd; Efficiency 83% standard output I tpl 

FiwthfapUg;gjhy; mtUf;F normal place rate 0.30 paise 

toq;fNtz;Lk;. 

Sankar Earnings 

a) Under Straight piece rate : 

460 units x 0.30 paise = Rs 138 

b) Under Merrick system 

460 units x 0.33 = Rs. 151.80 

Fwpg;G: rq;fhpd;; Efficiency 96% Mf ,Ug;gjhy; mtUf;F normal 

place rate plus 10% Normal rate (30 paise + 10% of 30 paise) =33 paise. 

 

Mani Earnings 

a) Under Straight piece rate : 

540 units x 0.30 paise = Rs 162 

b) Under Merrick system 

540 units x 0.36 = Rs.194.40 

Fwpg;G: kzpapd;; Efficiency 112.5% Mf ,Ug;gjhy; mtUf;F 120% 

Normal price rate ( 120/100 x 0.30 = 0.36) toq;f Ntz;Lk;. 

5. fhz;l;lh];f; kw;Wk; Nghd]; jpl;lk; (Gant’s Task and Bonus System) 

,k;KiwahdJ Neuk; kw;Wk; mirT Ma;it nfhz;L 

jahhpf;fg;gl;Ls;sJ. ,jpy; %d;W tpjkhd epiyapy; $yp tpfpjk; 

mike;Js;sJ. 

1. xU njhopyhspf;F Standard output I tplf; Fiwthf cw;gj;jp 

nra;jhy; mtUf;F Neu mbg;gilapy; $yp toq;fg;gLfpd;wJ. 

2. xU njhopyhsp Standard output I cw;gj;jp nra;jhy; mtUf;F 

Piece rate $ypAld; 20% Nghd]; 
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3. xU njhopyhsp Standard output I tpl mjpfkhf cw;gj;jp 

nra;jhy; mtUf;F Piece rate $ypAd; 20% Nghd]; fpilf;fpwJ. 

6. vkh;rd; jpwik jpl;lk; (Emerson’s Efficiency Plan) 

,e;j jpl;lj;ij vkh;rd; vd;gth; mwpKfgg;Lj;jpAs;shh;. ,e;j 

jpl;lj;jpy; xU njhopyhsh; eph;zapf;fg;gl;l Neuj;jpy; 66 2/3 % jpwikia 

fhz;gpj;jhy; mtUf;F Nghd]; fpilf;Fk;. mDkjpf;fg;gl;l Neuj;ij tpl 

mjpf Neuk; vLj;Jf;nfhz;lhy; mtUf;F Neuf;$yp toq;fg;gLk;. 

100 % jpwikia fhz;gpj;jhy; mtUf;F 20% Nghd]; 

toq;fg;gLk;. 100 % jpwikf;F Nky; $Lk; xt;nthU 1% jpwikf;Fk; 

$Ljyhf 1% Nghd]; fpilf;Fk;. 100% Efficiency = 20% bonus, 110% 

efficiency=30% Bonus (20% upto 100% and 10% for 10% efficiency) 

100 % efficiency  = 20% Bonus 

110 % efficiency  = 30% Bonus 

120% efficiency  = 40 % Bonus 

 

,e;j jpl;lj;jpd; rpwg;gpay;Gfs; 

1. 66 2/3 % jpwikiaf; fhl;lhj njhopyhsh;fSf;F 

cWjpaspf;fg;gl;l Neuk; $yp toq;fg;gLfpd;wJ. 

2. 66 2/3% jpwikiaf; fhl;ba njhopyhsh;fSf;F Nghd]; 

fpilf;fpd;wJ. 

Problem :9  

Standard Output per day of 8 hours is 32 units. Actual Output  of a 

workers for 8 hourss is 40 units Rate Per hour is Rs.8 Calculate Wages payable 

for worker according to the Emersons’s Efficiency plan. 

Level of Efficiency = Actual Output x 100 

    Standard Output  

   = 40 units / 32 units x 100 = 125 % efficiency 

Bonus is payable 45%efficiency  

(i.e) upto 100% Efficiency  = 20% Bonus 
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Above 100% Efficiency   = 25% Bonus 

25% (125 -100%) 

Time wages for 8 hours of  

Rs.8 per hour (8 x 8)   = Rs.64.00 

Add Bonus 45% of time wages 

45 /100 x 64.00   = Rs.28.80 

Total Earnings payable to worker =       92.80 

7) gPlhf;/]; ghapz;l; Kidkj;jpl;lk; ( Bedeaux Point Premium Plan) 

,e;j jpl;lj;jpy; Neu Ma;T kw;Wk; mirT Ma;tpd;gb gzpia 

epiwNtw;w xt;nthU Neu kzpj;Jspia nfhz;L fzf;fplg;gLfpd;wJ. 

,jid gPl;hf;]; ghapz;l; my;yJ gP vd miof;fg;gLfpd;wJ. xU gP = 

xU kzpj;Jsp  

rpwg;gpay;Gfs;: 

1.) 100% Efficiency = Only time wages (No Bonus) 

2.mDkjpf;fg;gl;l Neuj;ij tpl vLj;j Neuk; 

FiwthfapUf;Fk;NghJ Neuk; kpr;rg;gLj;jg;gLfpd;wJ. kpr;rg;gLj;jpa 

Neuj;jpy; 3 gq;F njhopyhsUf;Fk; xU gq;F fz;fhzpg;ghsUf;Fk; 

toq;fg;gLfpwJ. 

Bonus = ¾ time saved to worker 

 = ¼ times saved to foreman 

3) ,k;Kiwapy; xU B vd;gJ xU epkplj;ijf; Fwpf;Fk;  

Problem 10: Standard time required for a job is 30 hours 

Actual time taken for a job = 24 hours Rate per hour = Rs. 10 per hour 

Calculate worker earnings under Bedeaux point Premium Plan 

Solution : Standard time = 30 hours ; one B = 1 minute 

30 hours = 30 x 60 minutes = 1800 minutes 

1800 ‘B’ s            = 1800 minutes  

Actual time 24 hours 

 24 hours  = 24 x 60 minutes = 1440 minutes 

 1440 ‘B’ s  = 1440 minutes 
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Time Saved   = Standard minutes - Actual minutes 

    = 1800 -1440 = 360 minutes 

360 minutes    = 6 hours 

Bonus payable to worker ¾ of time saved  

    = 6 hours x ¾ = 4 ½ hours 

Calculation of Total Earnings:  Rs 

 Time wages 24 hours x Rs.10  240 

 Add bonus 4 ½ hours x Rs.10   45 

 Total Earnings    285 

8) FO Nghd]; jpl;lk; (Group Bonus Scheme) 

,J tiu $wg;gl;l Nghd]; jpl;lq;fs; ahTk; jdp egUf;F toq;Fk; 

jpl;lkhf mike;Js;sJ. Mdhy; ,e;j jpl;lj;jpd; gy njhopyhsh;fs; 

xNu mzpapy; Nrh;e;J  gzpGhptij FO vd miof;fg;gl;L Nghdi] 

FOTf;F toq;fg;gLfpd;wJ. fPNo fz;l #o;epiyfspy; FO 

mikf;fg;gLfpd;wJ. 

1.) xd;whf Nrh;e;J xUkpj;j fUj;Jld; xj;Jiog;Gld; xNu  

mzpapy; gzpGhpAk; nghOJ  

2) ,jpy; fpilf;Fk; Nghd]; Neubahf njhopyhsh;fSf;F 

toq;Ftjpy;iy. mth;fSila FOtpw;F toq;fg;gLfpwJ. 

3.) ,e;j Kiwapy; jdpeghpd; jpwikia mstpl KbahJ . 

Vnddpy; gy egh;fspd; Kaw;rpAld; gzpKbf;fg;gLtjhy; jdp egh; 

cw;gj;jp nra;j nghUisf; fzf;fpLtJ kpfTk; fbdk;. 

ed;ikfs;:  

1.) FOthf njhopyhsh;fs; gzpGhptjhy; xUq;fpizg;G 

fpilf;fpd;wJ. ,jdhy; mjpfstpy; cw;gj;jp ngUfpd;wd.  

2.) tPzhFk; Neuk; mjpfkhtij jthpf;fg;gLfpd;wJ 

3.) FOTf;F cWjpaspf;fg;gl;l Neuf;$yp toq;fg;gLfpd;wJ.  

4.) nghUs;fs; jilapy;yhky; njhlh;r;rpahf cw;gj;jp 

eilngWfpd;wJ. 

5) xj;Jiog;G> rfpg;Gjd;ik xUq;fpizg;G Nghd;witfs; 

njhopyhsh;fspilNa fhzg;gLfpd;wJ. 
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jPikfs;:  

1.)jpwikAs;s njhopyhsh;fSf;F ntFkjp fpilg;gjpy;iy. 

Vnddpy; Nghd]py; jpwikaw;w njhopyhsh;fSf;F ntFkjp 

fpilg;gjpy;iy. Vnddpy; Nghd]py; jpwikaw;w njhopyhsh;fSf;F 

rkkhfg; gq;fpl;Lf; nfhs;fpd;wdh;. ,e;j jpl;lj;jpy; %d;W Kiwfs; 

cs;sd. 

1.) Priestman Production Bonus 

2.) Sacnlon Plan 

3.) Towne Plan 

9.) ,yhgj;ijg; gad;gLjy; Kiw (Profit Sharing Scheme) 

 etPd cyfpy; tpQ;Qhd mbg;gilapy; njhopyhsh;fSf;F 

eph;thfj;jpy; gq;Fnfhs;s mDkjpf;fg;gLfpwhh;fs;. mth;fspd; 

fUj;J czh;r;rpfis eph;thfk; kjpf;f Ntz;Lk;. nfhs;is KbT 

vLf;Fk; nghOJ mth;fisAk; tutioj;J mth;fSila 

fUj;ijAk; eph;thfk; ngw Ntz;Lk;. ,jdhy; njhopyhsh;fs; 

re;Njhrkhf gzpGhpthh;fs;.,JNt eph;thfj;jpy; njhopyhsh;fs; gq;F 

nfhs;tJ vd miof;fg;gLfpwJ. mJNghy; Mz;L ,Wjpapy; 

epWtdj;jpw;F fpilf;Fk; ,yhgj;jpy; xU gFjpia 

njhopyhsh;fSf;Fk; toq;f Ntz;Lk;. Vndd;why; njhopyhsh;fspd; 

cly; ciog;gpy; jhd; ,yhgk; fpilj;Js;sJ. vdNt epahakhf 

,yhg gq;fpid njhopyhsh;fSf;F toq;FtNj ,yhgj;jpid 

gfph;jy; jpl;lk; vd miof;fg;gLfpwJ. ,jd; eph;thfj;jpy;; gfph;jy; 

jpl;lk; vd miof;fg;gLfpwJ. eph;thfj;jpy; ,th;fSk; xU 

$l;lhspahf fUjg;gLfpd;wdh;. 

 

rpwg;gpay;Gfs;:  

1.) tof;fkhd $ypAld; $Ljyhf gzk; toq;f> 

jPh;khdpf;fg;gLtjhy; ,yhgk; cWjp nra;ag;gLfpwJ. 

3.) ,J epfu ,yhgj;jpNyNa toq;fg;gLfpwJ. 

4.) Nky;epiy gzpahsh;fisj; jtpu ,ju gzpahsh;fSf;F ,e;j 

jpl;lk; nghUe;Jfpd;wJ. 
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$l;L gq;F njhopy; (Co- partnership)  

nghJthf fk;ngdpia elj;Jk; gq;Fjhuh;fs; kl;LNk fk;ngdpapd; 

chpikahsh; Mthh;. Mdhy; me;j epWtdj;jpy; gzpGhpAk; 

njhopyhsh;fisAk; $l;lhspahf fUjp ,yhgj;jpy; kl;Lk; gq;F 

nfhs;shky; eph;thfj;jpYk; gq;Fnfhs;s mDkjpg;gNj $l;L gq;F 

njhopy; vdg;gLk;. njhopyhsh;fs; eph;thfj;jpy; gq;F nfhs;tjhy; 

mth;fspd; czh;T> fUj;J> MNyhridfs; %yk; ey;y nfhs;if KbT 

vLf;fyhk;. ,jdhy; njhopyhsh;fSfF Ntiyapy; xU ehl;lk; 

Vw;gLfpd;wJ. 

rpwg;gpay;Gfs;: 

1.) Cf;Ftpg;G jpl;lk; vspikahfTk; vspjpy; GhpAk; tifapy; 

mike;jpUf;f Ntz;Lk;. 

2.) Kjyhspf;Fk; njhopyhsh;fSf;Fk; ve;j tpjj;jpYk; 

ghjfkpy;yhky; epahakhdjhf ,Uf;f Ntz;Lk;. 

3.) mDkjpj;j cw;gj;jp kw;Wk; Neu Ma;T> mirT Ma;T 

mbg;gilapy; eph;zapf;f Ntz;Lk;. 

4.) mDkjpj;j cw;gj;jp kw;Wk;; Neuj;ij kWgbAk; khw;wpaikf;ff; 

$lhJ. 

5.) nray;gLj;jf;$ba nrtitf; Fiwf;f Ntz;Lk;. 

6. njhopyhsh;fs; kj;jpapy; ,e;j jpl;lk; ey;y tyNtw;ig 

nfhz;ljhf ,Uf;f Ntz;Lk;. 

7. kiwKf njhopyhsh;fSf;Fk; ,e;j jpl;lk; gaDs;sjhapUf;f 

Ntz;Lk;. 

8.) njhopyhsh; khw;wk; tpfpjj;ij Fiwf;f Ntz;Lk;. 

9.) Kjyhsp njhopyhsh;fSf;fpilNa ey;cwT Vw;gLj;j Ntz;Lk;. 

Neh;Kfr; nryTfs; (Direct Expenses) 

 Neh;Kfr; nryTfs; vd;why; milahsk; fz;Lnfhs;sg;gl;L 

mitfSf;F xJf;fPL nra;ag;gLk; nryTfNs Neh;Kfr; nryTfs; 

vdg;gLk;. ,it Neh;Kfg; nghUshfNth my;yJ Neh;Kf ciog;Ngh 

,y;iy. ,J xU Fwpg;gl;l mlf;ftpiy myfpy; Neubahf Vw;gl;ljhFk;. 
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I.C.M.A Definition: 

 Neub nghUNsh> Neub ciog;Ngh ,y;yhj nryNt Neub 

nrythFk;. ,J xU Fwpg;gpl;l nghUs; cw;gj;jpf;F my;yJ tpepNahfk; 

nra;af;$ba Nritf;F Vw;gl;l nryyhFk;. 

v.fh. 

1.) chpik njhif 

2.) Fwpg;gpl;l Ntiyf;F rpwe;j nghwpfyd; ,ae;jpuq;fis 

gad;gLj;j thliff;F vLj;jy; 

3.) fl;bl fiyQh; kjpg;gPl;lhsh;> nghwpahsUf;F nrYj;jpa 

fl;lzk;  

4.) Nghf;Ftuj;J nryT  

5.) tz;b  thlif  

6) Fwpg;gpl;l gzpf;F Njitahd cjphp ghfq;fspd; mlf;ftpiy 

7.) rpwg;G tbtikg;G   tiuglq;fspd; mlf;ftpiy. 

8.) fyhy;thp  

9.) thliff;F vLj;j nghwpfyDf;F Vw;gLk; gOJfis guhkhpj;jy; 

10.)xg;ge;jj;jpw;F thliff;F vLf;fg;gl;l jsthlq;fs;. 

Problem : Calculate the earnings of worker from the following information 

under (a) Halsey and (b) Rowan Plans 

Standard time : 10 hours 

Time Taken : 8 hours 

Wage rate per hour = Rs .6  

Solution: 

Time saved = standard time – Actual time 

=10 hours – 8 hours = 6 hours = Rs. 48 

a) Earnings under Halsey Plan: 

Wages = 8 hours × hours = 2 hours 

Bonus = 50% of time saved x Rate per hours. 

 = 2 hours \2 = 1 hours x Rs. 6 = Rs.6 

Earning = Rs. 48 + Rs. 6 = Rs =54 

b) Earning under Rowan Plan 
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c) Wages = 8 hours x Rs . 6 =Rs =48 

𝐵𝑜𝑛𝑢𝑠 =
𝑇𝑖𝑚𝑒 𝑠𝑎𝑣𝑒𝑑

𝑠𝑡𝑎𝑛𝑑𝑎𝑟𝑑 𝑡𝑖𝑚𝑒 
 × 𝐴𝑐𝑡𝑢𝑎𝑙 𝑡𝑖𝑚𝑒 × 𝑅𝑎𝑡𝑒 𝑝𝑒𝑟 𝑕𝑜𝑢𝑟𝑠 

 =
2 𝑕𝑜𝑢𝑟𝑠

10 𝑕𝑜𝑢𝑟𝑠 
 × 8 𝑕𝑜𝑢𝑟𝑠 × 𝑅𝑠. 6 = 𝑅𝑠. 9.60 

Earning = Rs.48+Rs.9.60 = Rs. 57.60 

Problem : 

 Computethe earnings of worker under: 

a) Time rate method                            b)piece rate method  

       C)    Halsey method                               d) Rowan plan 

         Wages rate RS 2  per hour  

          Dearness allowance Rs.1 per hour  

         Standard hours=10 

         Actual hours =8 

Solution: 

a) Time rate method 

Wages =8hours *Rs 2      16.00 

Add  dearness allowance  (D.A)      

8 hours *Re. 1          8.00 

Earnings        24.00 

b) Piece rate  mhoded                                                                                                                                                                                      

Wages = 10 hours *Rs .2      20.00      

Add D.A           8.00      

 Earnings        28.00 

c) Halsey method: 

Wages = 8 hours x Rs 2      16.00 

Add  D.A           8.00  

 Bonus 50% time saved 

2 hours /2 = 1 hour x Rs. 2        2.00      
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Earnings       26.00 

d) Rowan Plan         

Wages = 8 hours x Rs 2      16.00 

Add  D.A          8.00  

Bonus = 2/10 x8x2         3.20 

Earnings       27.20 

Problem 

A worker takes 18 hours to complete a job on daily wages and 12 hours 

on a scheme of payment by results. His rate of pay is Rs . 1.50 per hour. the 

material cost of product is 6 and overheads are recovered at 150 % of total 

direct wages. calculate factory cost of  the product under a) Piece work plan b) 

Halsey Plan c) Rowan plan 

Solution 

a) Wages under piece work plan 

12 hours @ 1.50          Rs. 18 

b) b) Wages under Halsey plan   

12 hours @ 1.50          Rs. 18 

Add  Bonus  

Wages50% time saved 

18 hours - 12 hours = 6 hours /2  

3 hours x Rs. 1.50        Rs. 4.50 

Wages       Rs. 22.50 

c) Wages under Rowan Plan : 

12 hours @ 1.50           Rs. 18 

Add Bonus   

= 6 hours / 18 hours x 12 hours x Rs. 1.50          Rs. 6 

Wages             Rs. 24 

Statement of  factory cost 
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Piece 

Work 
Halsey Rowan 

Materials 6.00 6.00 6.00 

wages 18.00 22.50 24.00 

Prime cost 24.00 28.50 30.00 

Add factory over head 150% 

of wages 
27.00 33.75 36.00 

Factory Cost 51.00 62.25 66.00 

 

njhopyhsh; Row;rp vd;why; vd;d? 

njhopy; epWtdq;fspy; njhopyhsh;fs; gy;NtW fhuzq;fis 

fhl;b NtW epWtdq;fSf;F nry;tJk; Gjpa njhopyhsh;fs; me;j 

Ntiyf;F tUtJk; njhopyhsh; Row;rp vd;W ngah;. 

njhopy; vz;zpf;if tpfpj mbg;gilapy; khWtNj njhopyhsh; 

Row;rp vd;W $wyhk;. 

vkh;rdpd; jpwik Kiwjpl;lj;jpd; rhuhk;rk; ahJ? 

,e;j jpl;lj;jpd; vkh;rd; mwpKfg;gLj;jpAs;shh;. ,e;j 

jpl;lj;jpd; gb xU gzpahsh; mDkjpf;fgl;l Neuj;jpy; 3y; 2 (2/3) 

my;yJ (66 2/3%) gq;F jpwikia fhz;gpj;jhy; mtUf;F Nghd]; 

toq;fg;gLfpwJ. mDkjpf;fg;gl;l Neuj;ij tpl mjpf Neuk; 

vLj;Jf; nfhz;lhy; mtUf;F Neuf; $yp kl;LNk toq;fg;gLk;. 

100% jpwikia fhz;gpj;jhy; mtUf;F 20 % Nghd]; toq;fg;glk;. 

100% jpwikf;F Nky; $Lk; xt;nthU % jpwikf;Fk; ,izahf 1 

% Nghd]; toq;fg;gLk;. 

 

 

jpwd;  rk;gsk;. 

66 2/3% (2/3) Fiwthf  Neuf;$yp 
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jpwikia fhz;gpj;jy; 

66 2/3% (2/3) jpwikia 

fhz;gpj;jhy; 

 Nghd]; 

100 % jpwik  20 % Nghd]; 

101 % jpwik  21 % Nghd]; 

110 % jpwik  30 % Nghd]; 

120 % jpwik  40 % Nghd]; 

vdNt 66 2/3 % jpwikia fhl;lhj njhopyhsh;fSf;F 

cWjpaspf;fg;gl;l Neuf;$yp toq;fg;gLk;. 

66 2/3 % jpwikia fhl;ba njhopyhsh;fSf;F Nghd]; 

fpilf;fpd;wJ. 

Calculate labour cost per hour under Halsey Plan. Time allowed = 48 

hoors: Time Taken = 40 hours. Rate per hour - Rs 1 

Solution 

Time saved  =  standard time - Actual time 

8 hours   = 48 hours - 40 hours 

Bonus   = 50 % time saved x rate per hour 

  = 
8 𝑕𝑜𝑢𝑟𝑠

2
 × 𝑅𝑠. 1 = 𝑅𝑠. 4 

Actual wages = time taken x Rate per hours 

    40 hours  x Rs. 1 = Rs.40 

Total Earnings = Actual wages + Bonus 

Rs. 44   = Rs. 40   + Rs. 4 

Labour cost per hour = 
𝑅𝑠.44

40 𝑕𝑟𝑠
= 𝑅𝑠. 1.10 

Problem:From the following particulars calcualate the wages under 

Rowan plan 

Standard Time : 10 hours 

Time Rate : Rs. 1 per hour 

Time Taken : 8 hours 
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Bonus    =  
𝑇𝑖𝑚𝑒  𝑆𝑎𝑣𝑒𝑑

𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑  𝑇𝑖𝑚𝑒
× 𝑡𝑖𝑚𝑒 𝑇𝑎𝑘𝑒𝑛 × 𝑅𝑎𝑡𝑒 𝑝𝑒𝑟 𝑕𝑜𝑢𝑟 

=  
2 𝑕𝑜𝑢𝑟𝑠

10 𝑕𝑜𝑢𝑟𝑠
× 8 𝐻𝑜𝑢𝑟𝑠 × 𝑅𝑒 .1 

𝑅𝑠. 16

10 𝑕𝑟𝑠
=  𝑅𝑠 .1.60 

Actual Wages = 8 hours x Re 1 = Rs. 8 

Total Earning = Rs. 8+1.60 = Rs. 9.60 

Problem : From the particulars given below prepare labour cost perman 

day of 8 hours 

i) Basic salary Rs. 4 per day 

ii) Dearness allowance - 25 paise per every point over 100 cost of living 

index for working class. Current cost of living index is 700 units 

iii) Leave salary - 10% of (i) and (ii) 

iv) Employers contribution to provident funds 8 % of (i) (ii) and (iii) 

v) Employers contribution to state insurance - 2.5% of (i) (ii) and (iii) 

vi) Expenditure on amenities to labour - Rs. 20 per head per mensem 

vii) Number of working days in a month - 25 days of 8 hours each  

Solution 

Labour Cost per man per day of 8 hours 

 per 

month 

(25 days) 

(i) Basic Salary (4x25 days) 100 

(ii) Ddearness allowance 600 

points (700 -

100points)x0.25 paise 

150 

(iii) Leave salary 10% of (i) & 

(ii) 

100+150=250x10/100=25 

25 
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(iv) Employers contribution to 

provident fund 8% of 

(i)(ii)and (iii) 

100+150+25=275x8/100 

22 

(v) Employerr contribution to 

state insurance 2.5% of 

(i)(ii) and (iii) 275 x2.5/100 

6.88 

(vi) Amenities 20.00 

25  days Labour cost 323.88 

 

      323.88 

Per day =    = Rs. 12.95 

     25 days 

ciog;G 

Problem: 1 

xU kzpNeuj;jpw;G MFk; nryT   - &. 4 

Ntiyf;F mDkjpf;fg;gl;l Neuk;  - 40 kzpNeuk; 

vLj;J nfhs;sg;gl;l Neuk;   - 32 kzpNeuk; 

N`y;rp jpl;lk; fzf;fpLf 

Solution 

kPjKs;s Neuk;  =  mDkjpf;fg;gl;l Neuk; - vLj;J nfhs;sg;gl;l 

Neuk; 

   = 40 - 32 = 8 kzpNeuk; 

Nghs]; rYif  = kPjKs;s Neuj;jpy; 50% 

= 8/2 kzpNeuk; = 4Neuk; 

Nghd]; rYif  =  kPjKs;s 50%x xU kzp Neuj;jpw;F MFk; 

nryT 

= 4 x &.4 =&.16 
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Neuf;$yp = vLj;J nfhs;sg;gl;l Neuk; x xU kzp Neu $yp 32 x 

4  &. 128 

nkhj;j $yp  =&.128 +&16 =&144 

Problem :2 

`y;rp gphpak; jpl;lj;jpd; fPo; gzpahshpd; Cjpaj;ij fzf;fpLf. 

mDkjpf;fgl;l Neuk; - 70 kzpNeuk; vLj;J nfhs;sg;gl;l Neuk; - 

60 kzpNeuk; xU kzpNeuj;jpw;F MFk; nryT - &.3. 

Solution 

kPjKs;s Neuk; = jukhd Neuk; - rhjhuz Neuk;. 

 = 70 -60 = 10 kzpNeuk;. 

Nghd]; rYif = kPjKs;s Neuj;jpy; 50%  x  xU kzp Neuj;jpw;F 

MFk; nryT 

= 
10

2
 ×&.3 =&. 15 

= 60 x 5=&. 180 

nkhj;j Cjpak; = rhjhuz $yp + rYif 

= 180+15 = &.195 

f.vz; : 3 

b)  N`y;rp xah; jpl;lk;: 

,jpy; kPjg;gLj;jpa Neuj;jpy; 50 % gjpyhf 30% Nghd]hf 

toq;fg;gLfpd;wJ? 

jukhd Neuk;  - 40 kzpNeuk; 

rhjhuz Neuk; - 34 kzpNeuk; 

xU kzp Neuj;jpw;F MFk; nryT  =&.10 

Solution: 

rYif = kPjKs;s Neuj;jpy; 30 % x xU kzp Neuj;jpw;F MFk; nryT 

40 - 34 = 6 x 30/100 x 10 =&. 18 

$yp  = 34 x 10 =&. 340 

nkhj;j Cjpak; = 340 + 18 =&. 358 

4) Nuhthd; jpl;lk;: 
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   kPjKs;s Neuk; 

Nghd]; rYif     x xUkzp Neuj;jpw;F MFk; nryT x 

rhjhuz    Neuk; 

   jukhd Neuk; 

3. Nuhthd; jpl;lj;jpd; fPo; Cjpaj;ij fzf;fpLf; 

jukhd Neuk; - 100 kzp Neuk; 

vLj;Jnfhz;l Neuk; - 80 kzp Neuk; 

xU kzpNeuj;jpw;F MFk; nryT =&. 10 

Solution 

      kPjKs;s Neuk; 

rYif =    x xUkzp Neuj;jpw;F MFk; nryT x rhjhuz 

Neuk; 

      jukhd Neuk; 

 = 20/100 x 80 x 10 = &. 160 

Neuf;$yp = rhjhuz Neuk; x xUkzpNeuj;jpw;F MFk; nryT 

= 8 0 x 10 = &. 800 

nkhj;j Cjpak; =800 + 160 = &. 960 

5. fPo;fz;l jfty;fspypUe;J N`y;rp kw;Wk; Nuhthd; gphPkpak; jpl;lj;ij 

fzf;fpLf. 

mDkjpf;fg;gl;l Neuk; - 96 kzpNeuk; 

vLj;J nfhz;l Neuk; - 80 kzp Neuk; 

xU kzpNeuj;jpw;F MFk; nryT - &. 2 

Solution 

N`y;rp jpl;lk; 

rYif = kPjKs;s Neuj;jpy; 50% (96-80 = 16) 

(16/2 = 8 kzpNeuk;) 

= 8 x 2 =&. 16 

nkhj;j Cjpak; = 160 (80 x2 )+16 =&.176 

(ii) Nuhthd; jpl;lk; 

rYif = 16/96 x 80 x 2 =&. 26.66 
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Neuf;$yp = 80 x 2 = 160 

nkhj;j Cjpak; = 160 +26.66 =&.186.66 

 

f.vz;. 1.  gpd;tUk; jfty;fspypUe;J xU gzpahshpd; tof;fkhd 

kw;Wk; kpifNeu $ypia fzf;fpLf. 

ehl;fs; Ntiy nra;j 

kzpNeuk; 

jpq;fl;fpoik 8 

nrt;tha; fpoik 11 

Gjd; fpoik 9 

tpahod; fpoik 10 

nts;spf;fpoik 10 

rdpf;fpoik 4 

 tof;fkhd gzpNeuk; - xU ehSf;F 8 kzpNeuk; toq;fkhd tpiy &. 

5 xU kzp Neuj;jpw;F xU ehSf;F 9 kzpNeuk;tiu cs;s tpiyapd; 

,U klq;F tpiy 9 kzpNeuj;jpw;F Nky; gzpnra;jjhy; toq;fg;gLfpwJ. 

Sol 

ehl;fs; gzpNeuk; tof;fkhd 

kzpNeuk; 

kpifNeuk; 

xw;iwtpiy 

,Uklq;F 

tpiy 

jpq;fl;fpoik 8 8 - - 

nrt;tha;fpoik 11 8 1 2 

Gjd;fpoik 9 8 1 - 

tpahod; fpoik 10 8 1 1 

nts;spfpoik 10 8 1 1 

rdpf;fpoik 4 4 - - 

 52 44 4 4 

 

Kiw 1: 

a) tof;fkhd $yp 44 kzpNeuk; &.5 xU kzp Neuj;jpw;F =&.  

220.00 

kpifNeuk; xw;iw 4 kzpNeuk; &.5 kzpNeuk;     =&.  20.00 

,Uklq;F 4 kzpNeuk; &. 10 kzpNeuk;    =&.   40.00 
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          =&.  280.00 

(my;yJ) 

Kiw 2 

b) tof;fkhd $yp: 

@&5 xU kzpNeuj;jpw;F 48 kzpNeuk;    =

 240.00 

kpifNeu $yp @ &.10 xU kzpNeuj;jpw;F 4 kzpNeuk; =  
40.00 
     nkhj;jk;    =

 280.00 
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myF 4 

Nkw;r;nryT (Overheads) 

kiwKf mlf;ftpiy nryTfs; midj;Jk; Nkw;r;nryTfs; 

vdg;gLk;. kiwKf mlf;ftpiy nryTfs; vd;gJ kiwKf nghUl;fspd; 

mlf;ftpiy kiwKf $yp kw;Wk; kiwKf nryTfs; MFk;. ,jid on 

cost vdTk; miof;fyhk;. 

kiwKf mlf;ftpiy nryTfis vspjpy; fz;Lgpbf;fNth 

mstplNth KbahJ. mlf;ftpiy ikaq;fs; my;yJ mlf;ftpiy 

myFfs; Nghd;witfSf;F vspjpy; ,jid Neubahf XJf;fPL nra; 

KbahJ. Mdhy; kiwKf mlf;ftpiy nryTfis gfph;T %yk; 

my;yJ kPl;G %yk; mjd; ikaq;fs; my;yJ myFfSf;F gphpj;J 

mspf;fyhk;. 

Kjd;ik nryTf;F gpwF Vw;gLk; nryTfs; midj;Jk; 

Nkwr;;nryT vdg;gLk;. 

Nkw;nryTfs; tifg;gLj;Jjy; (Classification of Overhead) 

Nkw;nryTfs; ehd;F topfspy; tifg;gLj;jg;gLfpd;wd. mit 1. 

gzpapd; mbg;gil 2. nray;Kiw mbg;gil 3. mbg;gil $Wfs; 4. 

,ay;G mbg;gil 

1. Nkw;nryTfis gzpapd; mbg;gilapy; tifg;gLj;Jjy; 

Nkw;nryTfis cw;gj;jp Nkw;epiynryT> mYtyfk; kw;Wk; 

eph;thf Nkw;nryT tpw;gid kw;Wk; tpepNahf Nkw;r;;nryT vd 

tifg;gLj;Jg;gLfpd;wd. 

m. cw;gj;jp Nkw;r;nryT (Production Overhead) 

,J cw;gj;jp Nkwr; nryT vd;gJ nghUis cw;gj;jp 

nra;tjw;fhf Vw;gLk; nrythFk;. nghwpfyd;> ,ae;jpuk;> Nghd;wtw;wpy; 

fhzg;gLk; Nja;khzk;> fhg;gPL nryT> kpd;rhuk; jz;zPh; fl;lzk; 

epyf;fhp thlif> njhopyhsh; eyDf;fhf mikf;fg;gLk; Nfz;Bd; 

kUj;Jtkid E}y; epiyak; Nghs;witfs; ,jw;F cjhuzkhFk;. 

M. mYtyfk; Nkw;nryT (Office Overhead) 
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cw;gj;jpf;fhd nfhs;if KbTfis vLf;fTk;> mjd; nray;jpwid 

fl;Lg;gLj;jTk; mYtyfk; Njitg;gLfpwJ. 

v.fh. mYtyf thlif> kpd;rhuk;> mr;Rg;nghUs;> rk;gsk;> 

nghJthd nryTfs; ahTk; mYtyf nrythFk;. 

 

,. tpw;gidf;fhd Nkw;nryT (Selling Overheads) 

nghUspd; Njitia cUthf;fTk;> thbf;ifahshplkpUe;J 

nghUSf;fhd Mizfis ngwTk;> re;ijapy; nghUis tpw;f 

Ntz;ba Kaw;;rpfs; vLg;gjhy; cz;lhFk; nryT tpw;gidf;fhd 

Nkwr;;nrythFk;. 

v.fh. tpw;gid Nkyhshpd; rk;gsk;> tpw;gid gpujpepjpapd; rk;gsk;> 

tpsk;gur;nryT> fth;r;rpfukhd fl;Lkhdk;> fhl;rpaf nryT > ,ytr 

nghUs;fs; Mfpait tpw;gid Nkw;nrythFk;. 

<. toq;fypd; Nkw;nryT (distribution Overhead) 

tpwg;gidf;F jahuhd nghUis fl;Lkk; nra;J mjid Nrkpg;G 

fplq;fpypUe;J ntspNaw;wp thq;Fgthpd; iff;F fpilf;Fk; tiu 

Vw;gLk; nryTfs; midj;Jk; toq;fy; Nkw;r;nrythFk;. 

v.fh. fhl;rpaf nryT> mDg;Ggth; rk;gsk;> nghUs; toq;fg;gLk; 

Nkhl;lhh; thfdj;jpd; Nja;khdk; > Nrkpg;G fplq;fpd; thlif fhg;gPL 

fl;lzk;. 

II. Nkw;nryTfis nray;Kiw mbg;gilapy; tifg;gLj;Jjy;  

nray;epiw mbg;gilapy; Nkwr;;nryTfs %d;W tifahf 

gphpf;fyhk;.mit m) epiyahd Nkw;nryT M) khWgLk; Nkw;nryT 

,) xU gFjp khWgLk; Nkw;nryT 

m) epiyahd Nkw;nryT (Fixed Overheads) 

cw;gj;jpapd; msT $bdhYk; my;yJ Fiwe;jhYk; nkhj;j nryT 

khwhky; ,Ue;jhy; me;j nryit epiyahd Nkw;nryT vdg;gLk;. 

Mdhy; xU myfpy;; epiyahd Nkw;nryT khWgLk;. mjhtJ cw;gj;jp 

$Lk;nghOJ Fixed cost per unit FiwAk;. cw;gj;jp FiwAk;nghOJ 

Fixed cost per unit mjpfhpf;Fk;. 
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Example 

For 10000output 

Total Fixed  overhead  Rs 1,00,000 

Fixed cost per unit   1,00,000 

        10,000 units = Rs.10 per unit 

Suppose output is increased to =    20,000 units 

Total Fixed overhead  = 1,00,000 

,jpy; cw;gj;jp $bdhYk; Total Fixed cost khwtpy;iy 

Fixed cost perunit  = 1,00,000 = Rs.5 per unit 

        20,000 units 

cw;gj;jp $bajhy; Fixed cost per unit Fiwfpd;wJ. 

v.fh. mYtyf nryTfs;> thlif > rk;gsk;. 

M. khWgLk; nryTfs; (Variable Overheads) 

cw;gj;jpapd; mstpw;Nfw;g xU nryT khwpdhYk; mJ khWgLk; 

nryT vdg;gLk;. cw;gj;jp mjpfhpf;Fk; nghOJ mjw;F jFe;jthW 

nryTk; mjpfhpf;Fk;. cw;gj;jp Fiwe;jhy; mjw;F jFe;jthW nryTk; 

mjpfhpf;Fk;. Mjyhy; per unit variable cost khwhJ. 

Example: output 10000 units 

Variable overhead  =  Rs. 1,00,000 

per unit  =  Rs. 1,00,000  = Rs. 10 

        10,000  units 

If the output increases to 20,000 unit 

Variable overhead  =  1,00,000  x 20,000 = Rs. 2,00,000 

  10,000 unit 

cw;gj;jp $bajhy; Variable overhead $Lfpd;wJ. 

Variable overhead per unit = 2,00,000 = Rs.10 

 20,000 units 

variable cost per unit ve;j mstpy; cw;gj;jp nra;jhhYk; khwhJ. 
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v.fh. Neub nghUs; > Neub ciog;G> Neub nryT Kjd;ik nryT 

njhopw;rhiyNkw;r;nryT mYtyfk; kw;Wk; tpw;gid toq;fypy; cs;s 

midj;Jk; khWgLk; Nkw;nryTfSk; khWgLk; nrythFk;. 

Variable cost  = Prime cost + All variable overheads 

,. gFjp khwpa Nkw;r;nryTfs; (Semi Variable Overhead) 

xU nraypy; xU gFjp khWgLk; nryTk; kw;nwhU gFjp epiyahd 

nryTk; fhzg;gl;lhy; mjid gFjp khwpa Nkw;r;nryTfs; vd 

miof;fg;gLfpwJ.  

v.fh. njhiyNgrp fl;lzk;> kpd;rhu fl;lzk;> fl;bl guhkhpg;G nryT > 

mYtyf rk;gsk;> $yp> jghy; nryT etc. 

III. Nkw;r;nryTfis $Wfspd; mbg;ilapy; tifg;Lj;Jjy; 

nkhj;j Nkw;r;nryTfis %d;W tifahf gphpf;fg;gLfpwJ mit.                    

m. kiwKfnghUs;fs;> M. kiwKf ciog;G > ,.kiwKf nryT 

v.fh. Lubricant oil, Cotton waste 

m. kiwKf nghUs;fs; (Indirect Materials) 

xJf;fPL nra;aKbahj Mdhy; mlf;ftpiy ikaq;fs; my;yJ 

mlf;ftpiy myFfSf;F gfph;e;jspf;f ,aYk; my;yJ mitfshy; 

<h;f;fg;gLk;  nghUl;fspd; mlf;ftpiyahFk;. 

M. kiwKf ciog;G (Indirect Labour) 

xJf;fPL nra;aKbahj Mdhy; mlf;ftpiy ikaq;fs; my;yJ 

mlf;ftpiy myFfSf;F gfph;e;jspf;f ,aYk; my;yJ mitfshy;; 

<h;f;fg;gLk; $yp mlf;ftpiyahFk;. 

v.fh. Nkw;ghh;itahsh; rk;gsk; mYtyh; rk;gsk;> Gjpajhf Ntiy 

gapy;gth; > tpLKiwAld; $ba rk;gsk;. 

,. kiwKf nryTfs; (Indirect Expenses) 

xJf;fPL nra;aKbahj Mdhy; mlf;ftpiy ikaq;fs; my;yJ 

myFfSf;F gfph;e;jspf;f maYk; my;yJ mitfshy; <h;f;fg;gLk; 

nryTfshFk;. 

v.fh. thlif fhg;gPL> nghJ Nkyhsh;r; rk;gsk;> czT tpLjp> 

njhopyhsh; ey nryTfs;> rf;jp> Gjpa njhopyhsh;fSf;F mspf;fg;gLk; 
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gapw;rp nryT> njhiyNgrp fl;lzk;>Lighting and Heating Nghd;witfs; 

kiwKf nrythFk;. 

IV. Nkw;r;nryTfis ,ay;G mbg;gilapy; tifg;gLj;Jjy; (Nature) 

cw;gj;jp mYtyfk;> tpw;gid kw;Wk; toq;fypd; Nkw;nryTfis 

gy;NtW rpW gphpTfshf gphpj;J mitfspd; ,ay;GfSf;F Vw;;wthW 

F&g;ghf gphpj;J xNu jiyg;gpd; fPo; nfhz;L tUtjhFk;. ,jw;nfd 

ek;gh; xJf;fg;gLk;. xt;nthU jiyg;Gk; mjd; fPo; cs;s Jiz 

jiyg;gpw;F ek;gh; xJf;fg;gLk;. 

xJf;fPL nra;jYk; gfph;e;jspj;jy; ( Allocation , Apportionment)  

Nkw;r;nryTfis tifg;gLj;jpAk;> Nrfhpj;J gpwF mjid xJf;fPL 

nra;Jk; gfph;e;jspf;fNtz;Lk;. xJf;fPL nra;jy; vd;gJ Fwpg;gpl;l 

Jiwia (cw;gj;jp Jiwfs; kw;Wk; Nrit Jiwfs;) fz;Lgpbj;J 

mjw;Fhpa nkhj;j nryTfisAk; xJf;fPL nra;tjhFk;. gpd;dh; mjid 

vy;yh JiwfSf;Fk; gfph;e;jspj;jhy; mjid Kjy;epiy toq;fy; 

Nkw;r;nryT vd;W ngah;. 

Jiwfs; %d;W tifg;gLk;. mit 

1. cw;gj;jp Jiw 

2. Nrit Jiwfs; 

3. gFjp cw;gj;jp Jiw. 

Nkw;r;nryTfis xJf;fPL nra;jy; (Allocation of overheads) 

nkhj;j nryTfis mlf;ftpiy ikaq;fSf;F my;yJ 

mlf;ftpiy myFfSf;F XJf;fPL nra;tNj Nkw;r;nryT XJf;fPL 

vdg;gLk;. nryTfs; KOtijAk; fz;Lgpbj;J Fwpg;gp;l;l Jiwf;F 

XJf;fPL nra;tjhFk;. 

v.fh. kpif Neu Cjpak; ngwf;$ba njhopyhsh; mth; ve;j Jiwia 

rhh;e;jtNuh me;j Jiwf;F me;j nryT xJf;fPL nra;ag;gLk;. 

Nkw;r;nryTfis gfph;e;jspj;jy; (Apportionment) 

XJf;fPL nra;a ,ayhj my;yJ nkhj;j nryTfis fz;Lgpbf;f 

Kbahjitfis mlf;ftpiy ikaq;fs; my;yJ mlf;ftpiy 

myFfSf;F gfph;e;jspf;fg;gLk;. 
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nkhj;j Nkw;r;nryTfis Fwpg;gpl;l Jiwf;F XJf;fPL nra;a 

KbahjNghJ mjid gfph;e;jspf;fg;gLfpwJ. 

XJf;fPL nra;jYf;Fk; > gfph;e;jspj;jYf;Fk; cs;s NtWghLfs;  

1. XJf;fPL nra;jy; vd;gJ nkhj;j nryTld; njhlh;GilaJ. 

2. gfph;e;jspj;jy; vd;gJ nryTfspd; tpfpjhrhuj;Jld; njhlh;GilaJ. 

3. rpy Nkw;r;nryTfis Neubahf XJf;fPL nra;aKbAk;. Mdhy; 

gfph;e;jspj;jy; rpy mbg;gil jd;ikfis nfhz;Nl mlf;ftpiy 

ikaq;fs; my;yJ mlf;ftpiy myFfSf;F gfph;e;jspf;fpd;wJ. 

Nkw;r;nryTfs; Nkw;r;nryTfis gfph;e;jspf;Fk; 
mbg;gilfs;. 

1. Canteen Expenses recreation 

expences Time keeping, 

Medical expenses , Welfare 

expenses 

Number of workers 

2. Creche Expenses Number of female workers 

3. Stores service expenses Value of material consumed 

4. Employee state insurance (E.S.I) Direct Wages 

5. Factory rent Floor area (space occupied) 

6. Insurance on building and 

Machinery 

Insurable value 

7. Depreciation on plant & 

Machinery 

Insurable value 

8. Fire Insurance on assets Capital value of assets 

9. Lighting No. of. light points or floor area 

10. Electric , Power Horse power / Kilowatt hour 

11. Rent, taxes on building Floor area 

12. Contribution to provident fund, 

workers compensation 

Direct wages 

13. Supervision No. of. employees 
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14. Fire Insurance on stock Stock value 

15. Employer liability for insurance Direct wages 

16. Stores overhead Direct material 

17. Motive power Kilowatt hours 

18. Sundries Direct wages 

19. Delivery Expenses Weight, volume 

20. Audit Fee Sales or Total cost 

21. Watch and ward Floor area / Value of material 

22. Maintenance Dept Direct Lobour hours 

23. Personnel Dept No.of Workers. 

Nkw;nryTfis gfph;e;jspj;jy;: (distribution of overhead) 

Nkw;r;nryTfis ,uzL Kiwfspy; toq;fg;gLfpwJ. mit 

1. Kjy;epiy Nkw;r;nryT gfph;e;jspg;G 

2. ,uz;lhk; epiy gfph;e;jspg;G 

 

 

1.Kjy;epiy Nkw;rnryT gfph;ejspg;G (Primary Distribution) 

,k;kiwapy; XJf;fPL nra;a Kbahj nryTfs; my;yJ 

fz;Lgpbf;f ,ayhj nryTfis rpy mbg;igl cjtpAld; mjw;Fhpa 

Jiwf;F gfph;e;jspf;fg;gLfpwJ. ,k;Kiwapy; Nkw;;r;nryTfis cw;gj;jp 

JiwfSf;Fk; kw;Wk; Nritj;JiwfSf;fk; gfph;e;jspf;fg;gLfpwJ.  

Nrit Jiw vd;gJ cw;gj;jpf;F Njitahd cjtpfis nra;Ak; 

Jiwfs; ahTk; Nrit JiwfshFk;. 

v.fh nfhs;Kjy; Jiw> guhkhpf;Fk; Jiw> gzpahsh; Jiw> Mfpait 

Nrit JiwfshFk;. XJf;fPL nra;aKbahj vy;yh Nkw;r;nryTfisAk; 

cw;gj;jp Jiwf;Fk; Nritj;Jiwf;Fk; Kjypy; gfph;e;jspf;Fk; KiwNa 

Kjy;epiy Nkw;r;nryT gfph;e;jspg;G vd;W ngah;. 
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Problem 1: Primary Distribution overhead - Model: Ram Ltd has four 

Dept. ABC are productions Dept and Dservice Dept. The actual cost as 

follows. 

 Rs  Rs 

Rent 5000 Sepervision 3000 

Repair to plant 1400 Fire Insurance for Stock 800 

Deperciation on plant 2800 Power 2000 

Employer’s Liability for 

Insurance 

2200 Light 300 

Stores overhead 5000 Welfare Expenses 4500 

 The following information available of four department. 

Overhead Dep A 

Rs 

Dept 

B Rs 

Dept C 

Rs 

Dept 

D Rs 

Area (Sq meters) 2000 1500 1000 500 

No. of. employees 500 400 350 250 

Direct Wages 4000 2500 3000 1500 

Value of Stock 2000 3000 2000 1000 

H.P. Plant 15 10 10 5 

Direct Material 1200 800 300 200 

Value of Plant 6000 4800 3600 2400 

Apportion the cost to the departments on the equitable basis. 

2) ,uz;lhk; epiy Nkw;r;nryT gfph;;e;jspj;jy; (Secondary Distribution 

Overhead) 

cw;gj;jp eilngw;wpUf;fk; nghOJ Nritj;Jiwapy; cs;s 

Nkw;r;nryTfis kPz;Lk; cw;gj;jp Jiwf;Nf gfph;e;jspf;Fk; KiwNa 

,uz;lhk; epiy Nkw;r;nryT gfph;e;jspf;Fk; vd;W ngah;. 

Kjd;ik epiy kw;Wk; ,uz;lhk; epiy Nkw;r;nryTfis 

gfph;e;jspj;jw;Fhpa NtWghLfs;. 
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Kjd;ik epiyapy; nkhj;j Nkw;r;nryTfis cw;gj;jp 

JiwfSf;Fk;> nghUj;jkhd mbg;gilapy; gfph;e;jspf;fg;gLfpwJ. 

,uz;lhk; epiyapy; Kjd;ik Nrit Jiwf;Fk gfph;e;jspj;j nrytpid 

kPz;Lk; cw;gj;jp JiwfSf;F gfph;e;jspf;fg;gLfpwJ. 

Solution for Problem No 1 

Primary distribution 

Primary distribution overhead apportioned both production  and service 

departments 

S. 

No 

Overhead Basis of 

Apportio

nment 

Total 

Amount 

Production 

Department 

Departm

ent 

Service 

Dept 

A B C D 

1 Rent Floor 

Area 

4:3:2:1 

5000 2000 1500 1000 500 

2 Repair to plant Plant 

Value 

5:4:3:2 

1400 500 400 300 200 

3 Depreciation Plant 

Value 

5:4:3:2 

2800 1000 800 600 400 

4 Employer’s 

Liability for 

insurance 

Direct 

wages 

8:5:6:3 

2200 800 500 600 300 

5 Stores overhead direct 

material 

12:8:3:2 

5000 2400 1600 600 400 

6 Supervision No.of. 

employee

s 10:8:7:5 

3000 1000 800 700 500 
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7 Fire Insurance 

stock 

Direct 

Materials 

2:3:2:1 

800 200 300 200 100 

8 Power H.P Plant 

3:2:2:1 

2000 750 500 500 250 

9 Light Floor 

area 

4:3:2:1 

300 120 90 60 30 

 Welfare Expenses No.of. 

Employe

es 

10:8:7:5 

4500 1500 1200 1050 750 

 Total Overhead  27000 1027

0 

7690 5610 3430 

 

,uz;lhk; epiy Nkw;r;nryit gfph;e;jspf;Fk; Kiw 

1. Neub gfph;e;jspj;jy; > 2. gbepiy gfph;e;jspj;jy; 3. gu];gu 

gfph;e;jspj;jy;. 

1.. Neub gfph;e;jspj;jy; 

,k;Kiwapy; Nrit Jiwapy; cs;s Nkw;r;nryTfs; midj;Jk; 

Neubahf cw;gj;jp JiwfSf;F gfph;e;;jspf;fg;gLfpwJ. ,k;Kiwapy; xU 

Nrit Jiwapy; cs;s nryTfs; kw;w Jiwf;F gfph;e;jspg;gjpy;iy. 

 

2. gbKiw  

,k;Kiwapy; kpf Kf;fpakhd Nrit Jiwapd; nryit kw;w 

Nrit JiwfSf;Fk; cw;gj;jp JiwfSf;Fk; Kjypy; gfph;e;jspf;f 

Ntz;Lk;. gpd;dh; mjw;F mLj;j Kf;fpa Nrit Jiwia kw;w Nrit 

Jiwf;Fk; cw;gj;jp Jiwf;Fk; gfph;e;jspf;f Ntz;L;k;. 
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3.. gu];gu gfph;e;jspj;jy;:  

 mk;Kiwapy; xU NritJiwaps; Nkw;r;nrytpid kw;w Nrit 

JiwfSf;Fk; gfph;e;jspf;fg;gLfpwJ. thq;fpa Nrit JiwahdJ gpd;dh; 

toq;fpa Nrit Jiwf;F kPz;Lk; gfph;e;jspf;Fk; KiwNa gu];gu Nrit 

Jiw gfph;e;jspj;jy; vd;W ngah;. 

 

(i) jpUkg;  jpUk;g toq;fy; Kiw (Repeated Distribution Method) 

,k;Kiwapy; xU Nrit Jiw jdJ nryTfis kw;w Nrit 

Jiwf;F mspf;fpd;wJ. gpd;dh; thq;fpa Nrit JiwahdJ 

kPz;Lk; jkf;F mspj;j Nrit Jiwf;F jpUk;g mspf;fpd;wJ. 

,t;thW nryTfis KOtJk; gfph;e;jspf;Fk; tiu ,e;j Kiw 

njhlh;e;;Jeilngw;W nfhz;LapUf;Fk;. 

 

Problem2:  A company has three production department and two service 

departments and for a period the departmental distribution summary has the 

following totals 

Production Department:     Rs.  

X Rs 1000: Y-Rs 900 and Z - Rs.600   2500 

Service departments: 

A-Rs.200: B.150        350 

     Total   2850 

The expenses of service department are charged out on a percentage basis as 

follows. 

      X   Y   Z  A   B 

Service Dept A  20% 40% 30%  --- 10% 

Service Dept B  30% 20% 30% 20%   ---  

Prepare a statement showing the apportionment of two service department 

expenses to production department under repeated distributed method 

Solution: 

 Repeated Distribution Method 
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 X Y Z A B 

As per overhead summary 1000 900 600 200 150 

service Dept A Rs. 200 

X:Y:Z:B 

402:4:3:1 

40 80 60 -

200 

20 

Service Dept B Rs. 170 

X:Y:Z:A 

3:2:3:2 

51 34 51 34 -170 

Service Dept A Rs.34 

X:Y:Z:B 

2:4:3:1 

7 14 10 -34 3 

Service Dept B Rs. 3 

X:Y:Z 

3:2:3 

1 1 1 - -3 

 1099 1029 722 - - 

 

II  xUq;fpizg;G rkd;ghl;L Kiw (Simultaneous Equation Method) 

rkd;ghl;L Kiwapy; Nkw;nryit gfhpe;jspf;fg;gLfpwJ. Kjy; 

Nrit Jiwia X vd;Wk; ,uz;lhtJ Nritj;Jiwia Y vd;Wk; itj;J 

rkd;ghL nra;ag;gLfpwJ. 

Repeated Distribution methods cs;s Problem itj;J ,k;Kiwapy; 

Solve nra;ag;gLfpwJ. 

Simulltaneous Equation Method. 

Let X Total overhead of department A 

Let Y = Total overhead of department B 

x = 200 + 20y/100 (or) 200+0.2y 

Y = 150+ 10x/100 (or) 150+0.1x 

to eliminate decimals multiplying both equation by 10  

10x - 2y = 2000 ------------------(1) 



 

130 
 

x + 10y = 1500 ------------------(2) 

Multiplying equation (1) by 5  

50x -10y = 10000 

  x +10y =    1500 

49x   =  11500 

X = 11500/49 = 234.69 (or) 235 

Substitute this value in equation (1) 

235X -2y = 2000 : 2Y = 2347 -2000 

2Y =347: Y = 347/2 = 173.5 Rs. 174 

 

 

 Total X Y Z 

As per distribution summary 2500 1000 900 600 

Service Dept A 90% 235 (235x90/100) 

2:4:3 

211 47 94 70 

Service Dept B 80% 174(174x 80/100) A :B 

:C 

3:2:3 

139 52 35 52 

Total 2850 1099 1029 722 

 

,ae;jpu kzp tPjk;: 

,ae;jpkzp tPjk; vd;why; vd;d?Whai is machine hour rate? 

xU kzp Neuj;jpw;F xU ,ae;jpuk; ,af;Ftjw;F MFk; nryNt mjd; 

,ae;jpu kzp tPjk; vd;W ngah;. njhopw;rhiy Nkw;r;nryTfis 

,e;jKiw %yk; kPl;fg;gLfpd;wJ. ve;j njhopw;rhiyapy; ,ae;jpu 

Mjpf;fk; nrYj;Jfpd;wNjh my;yJ kdpj ciog;G ,y;yhj ,llq;fspy; 

,e;jKiw gad;gLj;jg;gLfpd;wJ. ,ae;jpuk; ,aq;Fk;nghOJ Vw;gl$ba 

Nkw;r;nryTfis xU kzp Neuj;jpw;F fzf;fpl;L cw;gj;jpf;F xJf;fPL 

nra;ag;gLfpd;;wJ. 
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,ae;jpukzp tPjk; = xU tUlj;jpw;F ,aq;fpa nryTx 100 

     xU tUlj;jpw;F ,aq;fpa Neuk; 

,ae;jpu kzp Neu tPjj;ij fzf;fpLjy; : ( Calculate of Machine hour 

rate) 

1. xt;nthU ,ae;jpuKk; my;yJ ,ae;jpu FO xU mlf;ftpiyia 

ikakhf fUjg;gLfpd;wJ. 

2.Nkw;nryTfs; ,uz;L tifahf gphpf;f Ntz;Lk; . mit  

m. epiyahd nryT M. khWgLk; nryT 

m. epiyahd nryT: 

,ae;jpuk; ,aq;fpdhYk; > ,aq;fhtpl;lhYk; ,e;j nryT 

,awe;jpuj;jpw;F Vw;gLfpd;wJ. ,ae;jpuk; ,Uf;Fk; ,lj;jpw;Fhpa thlif > 

kpd;rhuk; ,ae;jpuj;ij ,af;Fk; cjtpahsh; rk;gsk; Nkw;ghh;itahsh; 

rk;gsk; Mfpait epiyahd nrythFk;. 

M. khWgLk; my;yJ ,ae;jpu nryT: 

,ae;jpuk; ,af;fj;jpw;F jFe;jthW Vw;gLk; nryNt khWgLk; 

nrythFk;. 1. Nja;khdk; 2. gOJ kw;Wk; guhkhpg;G 3. rf;jp Mfpa %d;W 

nryTfSk; khWk; nryT vdg;gLk;. 

epiyahd nryTfis xU tUlj;jpw;F kjpg;gPL nra;J mjid xU 

tUl ,af;fpa Neuj;jhy; tFf;f Ntz;Lk;. 

Nkw;r;nryT kPl;G 

ve;j Jiw cw;gj;jp nra;jNjh me;j Jiwf;Fhpa Nkw;r;nryTfis 

mjw;Nf xJf;fPL nra;Ak; KiwNa Nkw;r;nryT kPl;G vdg;gLk;.  

Nkw;r;nyrTfis mlf;ftpiy ikaq;fs; my;yJ mlf;ftpiy 

myFf;F gfph;e;jspf;Fk; KiwNa Nkw;r;nryT kPl;G vdg;gLk;. 

mlf;ftpiy nrytpypUe;J Nkw;r;nryTfis kPl;Fk; KiwNa 

Nkw;r;nryT kPl;G Kiw vdg;gLk;. 

Nkw;nryT kPl;G Kiwfs;: 

njhopw;rhiy Nkw;r;nryTfis kPl;G nra;tjw;F Ie;J Kiwfs; 

cs;sd. mit gpd;tUkhW 
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1. Neub nghUs; mlf;ftpiy Kiw 

,k;Kiwapy; njhopw;rhiy Nkw;r;nryTfs; Neub nghUs; 

gad;gLj;jpa nryTf;F jFe;jthW fzf;fplg;gLfpd;wJ. 

𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑 =  
 𝐵𝑢𝑑𝑔𝑒𝑡𝑒𝑑 𝑜𝑣𝑒𝑟𝑕𝑒𝑎𝑑 𝐸𝑐𝑝𝑒𝑛𝑠𝑒𝑠

𝐴𝑛𝑡𝑖𝑐𝑖𝑝𝑎𝑡𝑒𝑑 𝐷𝑖𝑟𝑒𝑐𝑡 𝑀𝑎𝑡𝑒𝑟𝑖𝑎𝑙 𝑐𝑜𝑠𝑡
 

𝐸𝑥𝑎𝑚𝑝𝑙𝑒 ∶ 𝐴𝑛𝑡𝑖𝑐𝑖𝑝𝑎𝑡𝑒𝑑 𝐷𝑖𝑟𝑒𝑐𝑡 𝑚𝑎𝑡𝑒𝑟𝑖𝑎𝑙 𝑐𝑜𝑛𝑠𝑢𝑚𝑒𝑑 = 5,00,000 

  𝐵𝑢𝑑𝑔𝑒𝑡 𝑚𝑎𝑛𝑢𝑓𝑎𝑐𝑡𝑢𝑟𝑖𝑛𝑔 𝑜𝑣𝑒𝑟𝑕𝑒𝑎𝑑 𝑅𝑠. 1,00,00 

𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑 =  
 100000

500000
× 100 = 20% 

 ed;ikfs; 

1. ,jid vspjpy;; fzf;fpl Kbf;fpd;wJ. 

2. tpiyapy;yh khw;wk; Vw;glhj nghUSf;F ,k;Kiw kpfTk; 

nghUj;jkhf tpsq;FfpwJ. 

 

jPikfs;: 

1. ,J xU epiyahd Kiway;y (tpiyapy; khw;wk;  Vw;gLk; 

nghOJ) ,JTk; khWfpd;wJ. 

2. Fiwe;j tpiy cs;s nghUSf;F mjpf msT Nkw;r;nryT 

Vw;gLfpd;wJ. 

3. ,J epiy kw;Wk; khWgLk; nrytpid NtWgLj;jp fhz;gpg;gjpy;iy 

4. jpwik kw;Wk; jpwikapy;yhj gzpahsh;fs; NtWgLj;Jtjpy;iy. 

2.Neub ciog;G ($yp) mlf;ftpiy Kiw: 

,k;KiwahdJ njhopw;rhiy Nkw;r;nryTfs; Neubf;$yp 

mlf;ftpiyapd; tpfpjj;jpy; mike;Js;sJ. 

Nkw;nryT kPl;G tPjk; =  njhop;w;rhiy Nkw;r;nryTfs; 

       Neub ciog;G 

𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑 𝑟𝑎𝑡𝑒 =  
 𝐹𝑎𝑐𝑡𝑜𝑟𝑦 𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑

𝐷𝑖𝑟𝑒𝑐𝑡 𝐿𝑎𝑏𝑜𝑢𝑟
 

 

,k;Kiwia epWtdq;fsa; nghpJk; gad;gLj;Jfpd;wd. 
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Example :   Direct wages 2,00,000  : Factory Overhead 

40000 

     40,000 

Overheat Rate = 200000 x 100 = 20% 

ed;ikfs;: 

1. ,jpy; $yp tPjk; epiyahdJ. 

2. Neu mbg;ilapy; $yp toq;fg;gLfpd;wJ. 

jPikfs;: 

1. jpwik kw;Wk; jpwikaw;w njhopyhsh;fis NtWgLj;Jtjpy;iy. 

2. cw;gj;jp tPjj;jpy; $yp toq;Fjy; (Neu mbg;gilia vLg;gjpy;iy) 

3. epiy kw;Wk; khWgLk; nryit NtWgLj;Jtjpy;iy. 

3.Kjd;ik mlf;f nryTKiw 

,k;Kiwapy; njhopw;rhiy Nkw;r;nryTfis Kjd;ik nrayhy; 

tFj;jhy; Nkw;rnryT kPl;G tpfpjk; fpilf;fpd;wJ. 

𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑 =  
 𝐹𝑎𝑐𝑡𝑜𝑟𝑦 𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑

𝑃𝑟𝑖𝑚𝑒 𝑐𝑜𝑠𝑡
× 100 

Example 

Direct material 60,000 Direct Labour 40000 Factory Overhead 80000 

𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑 𝑟𝑒𝑐𝑜𝑣𝑒𝑟𝑦 𝑟𝑎𝑡𝑒 =  
 80000

60000 + 40000
× 100 = 80% 

ed;ikfs;: 

1. vspjpy; ,af;fKbAk;. 

2. Njitahd tptuq;fs; gjpT nra;ag;gl;ljd; %yk; ngwKbfpwJ. 

jPikfs; 

1. epiy kw;Wk; khWgLk; nrytpid NtWgLj;jp fhz;gpg;gjpy;iy. 

2. NeubnghUs;> Neub ciog;Gf;F rkkhd Kf;fpaJtk; 

toq;fFfpd;wJ. 

4.Neub ciog;G Neu Kiw 

,k;Kiwapy; njhopw;rhiy Nkw;r;nryTfis Neub ciog;ghsh;fs; 

vLj;Jf; nfhz;l Neuj;jhy; tFj;jhy; Nkw;r;nryT kPl;G fpilf;fpd;wJ. 
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𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑 𝑅𝑎𝑡𝑒 =  
 𝐹𝑎𝑐𝑡𝑜𝑟𝑦 𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑

𝐷𝑖𝑟𝑒𝑐𝑡 𝐿𝑎𝑏𝑜𝑢𝑟 𝑕𝑜𝑢𝑟𝑠
 

Example 

Factory overhead 100,000 : Direct Labour hours 200000 

𝑂𝑣𝑒𝑟𝑕𝑒𝑎𝑑  𝑟𝑎𝑡𝑒 =  
 𝑅𝑠. 100000

200000 𝑕𝑜𝑢𝑟𝑠 
= 𝑅𝑠. 0.50 

 

5.,ae;jpu kzp Neu Kiw (Machine Hour Rate Method) 

njhopw;rhiyapy; xU kzp Neuj;jpw;F ,ae;jpuk; ,af;Fk; nghOJ 

Vw;gLk; nryNt mjd; ,ae;jpukzp NeuKiw vdg;gLk;. ,jpy; epiyahd 

kw;Wk; khWgLk; nryT fhzg;gLk;. 

 
m) FiwNkw;r;nryT ( Under absorbtion of overhead) 

cz;ikapy; epfo;e;j Nkw;r;nrythdJ kPl;fg;gl;l Nkw;r;nryit tpl 

mjpfkhapUe;jhy; mjid Fiw Nkw;r;nryT kPl;G vdg;gLk;. gzpapy; 

Vw;gl;l Nkw;r;nrythdJ mjpfkhapUf;Fk;. Mdhy; mjid Fiwthf 

kPl;G nra;jhy; mjid Fiw Nkw;r;nryT kPl;G vdg;gLk;. ,jpy; 

Nkw;r;nrytpid Fiwthf kjpg;gPL nra;ag;gl;bUf;Fk;. 

 

M ) kpif Nkw;r;rnryT kPl;G(Over absorbtion Overhead) 

 cz;ikapy; epfoe;j Nkw;r;nryitf;fhl;bYk; mjpfkhf kPl;G 

nra;jhy; mjid kpif Nkw;r;nryT kPl;G vdg;gLk;. ,jpy; Nkw;r;nryit 

mjpfkhf fhz;gpf;fg;gl;Ls;sJ. mjhtJ cz;ikapNyNa Vw;gl;l 

Nkw;r;nryit tpl mjpf kPl;G nra;jhy; mjid kpif Nkw;r;nryT 

vdg;gLk;. 

 

Fiw kw;Wk; kpif Nkw;r;nryT kPl;G Njhd;wf; fhuzq;fs;. 

1. kjpg;gPL nra;j Nkw;r;nrytpy; jtWfs;> gpiofs;  fhzg;gLk; 

nghOJ   

2. cw;gj;jp kjpg;gPl;L mstpy; fhzg;gLk; jtWfs; 

3. vjph;ghuhj khw;wk; 
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mlf;ftpiyapd; tiffs;(Types of costing) 

mlf;ftpiyapd; tiffs; %yk; mlf;ftpiyia fz;Lgpbf;f 

Kbfpd;wJ. rpy mlf;ftpiyapd; tiffs; fPNo nfhLf;fg;gl;Ls;sJ. 

 

1. xNu khjphpahd mlf;ftpiy (Uniform costing) 

mlf;ftpiyapy; fhzg;gLk; Nfhl;ghLfs; > eilKiwfs; 

midj;Jk; gy epWtdq;fs; filgpbj;J nghJthd Nehf;fkhfpa 

mlf;ftpiyia fl;Lg;gLj;jTk; mjid Xg;gpl;L ghh;f;fTk; XNu 

rPuhd mlf;ftpiy fzf;if gad;gLj;Jfpd;wd;. 

 

2. jpl;l mlf;ftpiy ( Standard Costing) 

cz;ikapNyNa epfo;e;j nryit Kd;$l;bNa jpl;lkplg;gl;l 

nryNthL Xg;gPl;L ghh;f;fNtz;Lk;. VNjDk; NtWghL fhzg;gl;lhy; 

mjid Muha;e;J me;j NtWghl;;il jtph;f;f Ntz;;Lk;. rhpahd 

eltbf;if %yk; NtWgLfpd;w nryit rhp nra;jhy; 

mlf;ftpiyia fl;Lg;gLj;j Kbfpd;wJ. ,k;Kiwf;F jpl;l 

mlf;ftpiy vd;W ngah;. 

3. tuyhw;W mlf;ftpiy (Historical Costing) 

xU nghUSf;F nryT Vw;gl;l gpd;dNu mjd; mlf;ftpiyia 

fz;Lgpbf;f ,k;lKiw gad;gLfpd;wJ. 

4. Neub mlf;ftpiy ( Direct Costing) 

nray;ghL kw;Wk; gbKiw %yk; cw;gj;jp nra;j nghUsp;d; Neub 

nryT khWgLk; nryT kw;Wk; rpy epiyahd nryTfs; kl;Lk; 

Neubahf khw;wg;gLk;. XJf;fPL nra;J kPjKs;s nryTfis ,yhg 

el;lf; fzf;fpw;F khw;wg;gLk; Kiwf;F Neub mlf;ftpiy vd;W 

ngah;. 

5. ,Wjpepiy mlf;ftpiy (Marginal Costing) 

epiyahd nryitAk; khWgLk; nryitAk; NtWgLj;jp ,Wjpepiy 

mlf;ftpiyia fz;Lgpf;fg;gLfpd;wJ. Kjd;ik nryTld; 
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khWgLfpd;w Nkw;r;nryitAk; $l;bdhy; ,Wjpepiy mlf;ftpiy 

fpilf;fpd;wJ. xU myfpd; cw;gj;jp $LtJ my;yJ Fiwtpdhy; 

Vw;gLk; nryit ,Wjpepiy mlf;ftpiyahFk;. 

6. ,yhg ikak; ( Profit Centre) 

Xt;nthU gzpahshpd; nghWg;ig tiuaiw nra;J mth;fspd; 

nray;jpwikia mstp;lNt ,e;j ikak; Vw;gLj;jg;gl;Ls;sJ. ,J 

nrytpw;Fk; tUkhdj;jpw;Fk; nghWg;G Vw;gLtjw;fhf epWtdj;jpd; 

eltbf;ifia gy gphpTfshf gphpf;fg;gLfpd;wJ. 

mlf;ftpiy ikaj;jpw;Fk;. ,yhg ikaj;jpw;Fk; cs;s mlf;ftpiy 

NtWghLfs; 

 

mlf;ftpiy ikak; ,yhg ikak; 

,jd; nray;ghL rpwpaJ. 

mlf;ftpiyia Nrfhpg;gJ ,jd; 

nghWg;ghFk; 

,J nghpa gphpthFk; nryT 

tUtha; Mfpa ,uz;ilAk; 

Nrfhpg;gJ ,jd; nghWg;ghFk;. 

mlf;ftpiyia fl;Lg;g;gLj;jTk; 

>fzf;fpay; gjpT nra;Ak; 

trjpfis cUthf;fg;gl;L cs;sJ. 

mjpfhuq;fis kw;wth;fSf;F 

Xg;gilg;G nra;J nghWg;Gfis 

Vw;gLj;Jfpd;wJ 

,J Rje;jpukhf nray;gl KbahJ ,J xU jd;dhl;rp chpik ngw;wJ. 
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nraypd; ,yf;if 

milaj;Njitapy;iy mlf;f 

nryit Fiwg;gNj ,jd; 

Nehf;fkhFk; 

,yhg ,yf;if miltNj ,jd; 

Nehf;fkhFk; 

,yhg ikaj;jpy; mjpf msT 

mlf;ftpiy ikaq;fs; cs;sd 

,J fk;ngzpapd; Jiz 

fk;ngdpahf nray;gLfpd;wJ. 

 

Problem -7 

Calculate normal and overtime wages payable to a workman from the following 

date: 

Days   Hours Worked 

Monday   8  

Tuesday   11 

Wednesday   9 

Thursday   10 

Friday    10 

Saturday   4 

normal working hour : 8 hours per day: Normal rate Rs. 5 perhour overtime rate 

upto 9 hours in a day at double rate ( or  upto 48 hours in a week at single rate 

and over 48 hours at double rate whichever is more benefits to the worker. 
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Solution: 

Calculation of Normal and overtime wages 

Days Hours 

worked 

Normal 

Hours 

Overtime 

single rate 

Double rate 

Monday 8 8 - - 

Tuesday 11 8 1 2 

Wednesday 9 8 1 - 

Thursday 10 8 1 1 

Friday 10 8 1 1 

Saturday 4 8 - - 

 52 44 4 4 

 

Method : 1 

A) Normal wages : 44 hours @ Rs.5 per hour  - 220.00 

Overtime : Single @ Rs.5 perhour   -   20.00 

Double 4 hours @ Rs. 10 per hours   -   40.00 

Total Rs.  - 280.00 

(or) 

Method III 

B) Normal wages @ Rs.5 per hour for 48 hours  - 240.00 

C) Ovetime wages @ Rs.10 per hours for 4 hour -   40.00 

Total Rs.  - 280.00 

The wages payable under both methods will be the same 

Problem 1 

Repeated Distribution 

In a  factory there are three production departments A,B and C two service 

department P and Q. April 1996 the departmental expenses were: 

  A-Rs.130000    B-Rs .120000        C-100000 
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             P-Rs.24000              Q-Rs.20000 

The service department expenses are apportioned on percentage basis as given 

below. 

                                         Departments 

                                 A   B     C                 P                Q  

P   30%           40%          15%              -                15% 

Q                            40%            30%           25%            5%               - 

Prepare  a  statement showing the distribution of service departments overhead 

to production departments under repeated distribution method. 

Solution 

Secondary distribution under repeated distribution method 

 Production depts. Service Depts 

A B C P Q 

As per primary 

Distribution summary 

130000 120000 100000 24000 20000 

Service Dept : P Rs. 

24000 

A:B:C:Q 

3:4:15:1.5 

7200 9600 3600 (-

)24000 

3600 

Service Dept : Q Rs. 

23600 

A:B:C:P 

4:3:2.5:0.5 

9440 7080 5900 1180 (-

)23600 

Service Dept : P Rs 

1180 

A : B: C :Q 

3 : 4 : 1.5 : 1.5 

354 472 177 (-)1180 177 

Service Dept Q Rs 177 71 53 44 9 (-) 177 
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A :B : C : P  

4 : 3 : 2.5 : 0.5 

Serrvice Dept  P Rs. 9 

A : B : C  

3 :4:1.5 

3 4 2 (-)9 - 

Total 147068 137209 109723 - - 

 

Problem :2 calculate machine Hour rate from the following: 

a) Cost Machine : Rs 2,00,000 

b) Estimated scrap –Rs.2,000 

c) Average Repairs Rs .150 per month 

d) Standing charges allocated – Rs.50 per month 

e) Effective working life -166 hours per month 

f) Power = 5 hours per hour @19 paise per unit 

 

 

 

Solution 

Machine Hour rate        Month 

 Per hour 

I. Standing charges (fixed cost) 

Rs. 50/ 166 hours = 0.30 P          50       0.30 

II. Variable charges 

a) 𝐷𝑒𝑝𝑟𝑒𝑐𝑖𝑎𝑡𝑖𝑜𝑛 =  
𝑐𝑜𝑠𝑡  𝑜𝑓  𝑀𝑎𝑐𝑕𝑖𝑛𝑒−𝑠𝑐𝑟𝑎𝑝  

𝐸𝑓𝑓𝑒𝑐𝑡𝑖𝑣𝑒  𝑊𝑜𝑟𝑘𝑖𝑛𝑔  𝑙𝑖𝑓𝑒
 

20000−2000

10000
=

18000

10000
= 1.80      -       1.80 

b) 𝑅𝑒𝑝𝑎𝑖𝑟𝑠 = 𝑅𝑠 
150

166 𝑕𝑜𝑢𝑟𝑠
            150       0.90 

c) 𝑃𝑜𝑤𝑒𝑟 = 5 𝑢𝑛𝑖𝑡𝑠 × 0.19 𝑝𝑎𝑖𝑠𝑒    -       0.95 
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 Machine hours Rate        3.95 

 

mYtyf kw;Wk; eph;thf Nkw;nryTfs; - ,yf;fzk; jUf 

,it ,uz;Lk; kiwKf nrythFk;. ,jidFactory costcld; $l;l 

Ntz;Lk;. Printing stationarymiwfydpy; Nja;khdk; 

mYtyfgzpahsh;fspd; rk;gsk; Mfpait ,jpy; mlq;Fk;. 

 

,ae;jpu kzp tPjk; vd;why; vd;d? 

xU kzp Neuj;jpw;F xU ,ae;jpuk; ,aq;Ftjw;F Vw;gLk; nryNt 

mjd; ,ae;jpukzp tPjk; vd;W ngah;. njhopw;rhiy Nkw;nryTfis 

cw;gj;jpf;F ,e;j Kiw %yk; kPl;fg;gLfpd;wJ. ,ae;jpuk; ,aq;Fk; 

nghOJ Vw;gl $ba Nkw;nryTfis xU kzp Neuj;jpw;F fzf;fpg;gl;L 

cw;gj;jpf;F xJf;fPL nra;ag;gLfpwJ.  

 

,ae;jpukzp tPjk; = xU tUlj;jpw;F ,aq;fpa nryT   x 100 

   xU tUlj;jpw;F ,aq;fpa Neuk; 

 

nryTfis gq;fpL nra;tjw;fhd mbg;gilfs; ahit? 

gzpahsh;fspd; vz;zpf;fif> Neub %yg; nghUl;fs;> Neub ciog;G> 

,lk;> ruf;Ffspd; kjpg;G> nrhj;jpd; kjpg;G Mfpa mbg;gilapy; 

Nkw;nrTfis gfph;e;jspf;fyhk;. 

 

epiyahd kw;Wk; khWfpd;w Nkw;nryTfis NtWgLj;jp fhl;L 

epiyahd Nkw;nryT khWfpd;w Nkw;nryT 

1.cw;gj;jp mjpfhpj;jhNyh my;yJ 

Fiwe;jhNyh ,e;j nryT 

khWtjpy;iy. Mdhy; xU myfpy; 

khWgLk; 

cw;gj;jp mjpfhpj;jhNyh my;yJ 

Fiwe;jhNyh ,J tpfpjhrhug;gb 

,jd; nryT khWgLk; . Mdhy; 

xU myfpy; khWtjpy;iy 
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2.,jid fhy mlf;ftpiy vd 

miof;fyhk; . Vnddpy; ,J 

cw;gj;jpapd; msit rhh;e;jpuhky; 

fhyj;ij rhh;e;Js;sJ 

,jid cw;gj;jp mlf;ftpiy 
vd miof;fyhk;. Vnddpy; ,J 
cw;gj;jpapd; msit 
rhh;e;Js;sJ. 

3. thlif> rk;gsk;> mYtyfk; 

kw;Wk; eph;thf nryTfs; ,jw;F 

vLj;Jf;fhl;lhFk;. 

Neubg;nghUs;> Neub ciog;G> 

Neub nryT> hpg;Ngh; rf;jp 

Mfpait ,jw;F 

vLj;Jf;fhl;lhFk;. 

4. Volume of output $bdhNyh 

my;yJ Fiwe;jhNyh nkhj;j 

epiyahd nryT khWtjpy;iy 

Mdhy; per unit khWk; 

Volume output $bdhNyh my;yJ 

Fiwe;jhNyh nkhj;jkhWgLk; 

nryT khWk; Mdhy; per unit 

khWtjpy;iy 

 

From the following data calculated the overhead to be chaged the basis of the 

direct labour hour of Job No : 501 and determine the total cost. 

Materials used (for job No : 501) - Rs. 210 

Direct wages (for J.N.501 ) - Rs. 280 

Direct labour hours (for J.N. 501) - Rs. 70 

Estimated factory overhead for the year - Rs. 1,05,000 

Estimated labour hour for the year - Rs.2,10,00 

 

Solution 

Estimated factory overhead = Rs. 1,05,000 

Estimated labour hours = 2,10,000 

Factory overhead rate = 
𝑅𝑠.1,05,00

2,10,000 𝑕𝑜𝑢𝑟𝑠
= 𝑅𝑒. 0.50 

Calculation of total cost 

Materials   = 210 

Direct wages = 280 

Prime cost = 490 
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Add Factory overhead 

70 hours x 0.50   35 

Total cost / Factory cost 525  

Problem No. There are two production departmentA and B and two service 

department  C and D. The cost of department A, B, C and D are 

respectively Rs. 4,000 Rs 9,000, Rs.2,000 and Rs. 3,500. The cost of service 

department C to be allocated as to A 40 % B 30% and D 30 % . The cost of 

department D to be allocated as to A 50 % B 30 % and C 20 % . Ascertain 

the production cost department A and B including the cost of service 

department. 

Solution 

Overhead   Distribution summary 

Particulars Total Production 

Dept 

Service Dept 

A B C D 

As per primary distribution 18,500 4000 9000 -2000 3500 

Service Dept C Rs 2000  40: 30: 

30 

 800 600 -2000 600 

Service Dept D Rs. 4100 50: 30 : 

20 

 2050 1230 820 -4100 

Service Dept C Rs. 820  328 246 -820 246 

Service Dept  D Rs. 246  123 74 49 -246 

Service Dept C Rs. 49  20 15 -49 14 

Service Dept D Rs. 14  7 4 3 -14 

Service Dept C Rs. 3  2 1 -3 - 

Total  7330 11170 - - 

 

Problem :1 Kjy;epiy Nkw;nryT gfph;e;jspj;jy;: 
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kpjpNy~; Fkhh; fk;ngdp ypkpnll; ,jpy; ehd;F %d;W Jiwfs; (A,B,C) 

cw;gj;jp JiwfshFk;. ehd;fhtJ Jiw (D) Nrit JiwahFk;. 

gpd;tUkhW rhjhuz nryTfs; 

 

nryTfs; &gha; 

thlif 5000 

,ae;jpu rhjd njhFjp rhpnra;jJ 1400 

,ae;jpurhjd njhFjp nja;khdk; 2800 

gzpahsh; nghWg;G kPjhd fhg;gPL 2200 

rpy;yiw Nkw;r;nryTfs; 5000 

Nkw;ghh;it 3000 

ruf;fpUg;G kPjhd jP fhg;gPL 800 

rf;jp (gth;) kpd;rf;jp 2000 

kpd;rhuk; 800 

njhopyhsh; eyr; nryT 4500 

 

ehd;F Jiwfspd; jfty;fs; 

1. Nkw;r;nryTfs; A B C D 

2. Vhpah (];Fth; 

kPl;lh;) 

2000 1500 1000 500 

3. gzpahsh;fs; 

vz;zpf;if 

500 400 350 250 

4. Neub $yp 4000 2500 3000 1500 

5. ,ae;jpuq;rhjd 

njhFjp kjpg;G 

6000 4800 3600 2400 

6. n`r;.gp. gpshz;l; 15 10 10 5 

7. Neub 

%yg;nghUs; 

1200 800 300 200 

8. ruf;F kjpg;G 2000 3000 2060 1000 

 

 gytpj JiwfSf;Fk; nryTfs; rkkhf gfph;e;J nfhs;sg;gLfpwJ. 
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Solution 

Kjy;epiy Nkw;r;nryT cw;gj;jp kw;Wk;  Jiwf;Fk; gfph;e;jspj;jy; 

t. 

vz; 

Nkw;r;nryTfs; gphpT 

mbg;gilapy; 

nkhj;j

k; (&) 

cw;gj;jp Jiw Nrit

Jiw A B C 

1 thlif g;Nshh; Vhpah 

4:3:2:1 

5000 2000 1500 1000 500 

2 ,ae;jpu 

njhFjp 

rhpnra;jy; 

g;shz;l; 

kjpg;G 5:4:3:2 

1400 500 400 300 200 

3 ,ae;jpu 

njhfjp 

Nja;khdk; 

g;shz;l; 

kjpg;G 5:4:3:2 

2800 1000 800 600 400 

4 gzpahsh; 

nghWg;G kPjhd 

fhg;gPL 

Neub $yp 

8:5:6:3 

2200 800 500 600 300 

5 rpy;yiw 

Nkwr;nryT 

Neub 

nkl;bhPay; 

12:8:3:2 

5000 2400 1600 600 400 

6 Nkw;ghh;it gzpahsh; 

vz;zpf;if 

10:8:7:5 

3000 1000 800 700 500 

7 ruf;F kPjhd 

jP fhg;gPL 

Neub 

nkl;bhPay; 

2:3:2:1 

800 200 300 200 100 

8 kpd; rf;jp `r;gp 

gpshz;l; 

3:2:2:1 

2000 750 500 500 250 

9 kpd;rhuk; g;Nshh; Vhpah 

4:3:2:1 

300 120 90 60 30 

10 njhopyhsh; 

eyr; nryT 

gzpahsh; 

vz;zpf;if 

10:8:7:5 

4500 1500 1200 1050 750 

nkhj;j Nkw;r;nryTfs; 27000 10270 7690 5610 3430 
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2. Neub gfph;e;jspj;jy;(gu];gu gfph;e;jspg;G ,y;yhik) 

 cw;gj;jp Jiw   NritJiw 

 A B C D E 

Kjy;epiy gfph;;e;jspg;G 8000 6000 5000 1000 800 

 

Nritj;Jiw nryTfs; gphpj;jy; 

D - 2:2:1 kw;Wk; E - 2:1:1 

Sol: 

 A B C D E 

nkhj;jNkw;nryT  8000 6000 5000 1000 800 

Jiw D (2:2:1)&.100 gphpj;jy; 400 400 200 - - 

Jiw E (2:1:1) &.800 ghpj;jy; 400 200 200 - - 

nkhj;jk; 8,800 6,600 5,400 ,y;iy ,y;iy 

 

3) gbKiw ( Step Method) 

xU jahhpg;G fk;ngdp . mjpy; Kjy; ,uz;L Jiwfs; cw;gj;jp Jiwfs; 

A kw;Wk; B %d;whtJ Jiw C NritJiwahFk;. Neug;gjpT rpy;yiw 

kw;Wk; guhkhpg;G 

 cw;gj;jp 

Jiw 

Nritj;Jiw 

A B Neug;gjpT 

S1 

rpy;yiw 

S2 

guhkhpg;G 

S3 

Kjy;epiy Nkw;r;nryT 20000 30000 4000 3000 2000 

,ju jfty;fs; S1 S2 S3 A B 

gzpahsh; vz;zpf;if - 10 5 40 25 

ruf;F  Njit - - 4 16 15 

,ae;jpu kzpNeuk; - - - 3000 2300 
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Solution: 

 A B S1 S2 S3 

Nkw;rnryT RUf;fk; 20000 30000 4000 3000 2000 

S1 (Neug;gjpT) 

(A:B:S2:S3)(40:25:10:15) 

2000 1250 (-)4000 500 250 

S2ruf;F (A:B:S3) (16:15:4) 1600 1500 - (-)3500 400 

S3 (guhkhpg;G) (A:B) (30:23) 1500 1150 - - (-)2650 

 25100 33900 ,y;iy ,y;iy ,y;iy 

 

4. jpUk;g toq;fy; Kiw: ( Repeated Distribution Method) 

xU fk;ngdp %d;W cw;gj;jp Jiwfs; kw;Wk; ,uz;L Nrit Jiwfs; 

nfhz;Ls;sJ kw;Wk; fPo;tUk; jfty;fs; cw;gj;jp Jiw 

x -&.100: Y -&.900 &Z- &.600   = 2500 

Nrit Jiw: 

A - &. 200: B - &. 150    =  350 

nkhj;jk;      = 2850 

Nrit Jiwapd; nryTfs; rjtPj Kiwfs; gfhpe;jspf;fg;gLfpwJ. 

 X Y Z A B 

NritJiw A 20% 40% 30% - 10% 

NritJiw B 30% 20% 30% 20% - 

jpUk;g jpUk;g toq;fy; Kiwapd; gb ,uz;L Nrit Jiwapy; cs;s 

nryTfis gphpj;J cw;gj;jp Jiwapy; fhz;gp 

Solution 

 X Y Z A B 

Nkw;nryT RUf;fk; 1000 900 600 200 150 

Nritj;Jiw A -&. 200  

X:Y:Z:B (2:4:3:1) 

40 80 60 (-)200 20 

Ntirj;Jiw B&. 170 

X:Y:Z:A (3:2:3:2) 

51 34 51 34 (-

)170 
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Nritj;Jiw A:&. 34 

X:Y:Z:B (2:4:3:1) 

7 14 10 (-)34 3 

Nritj;Jiw B : &. 3 

X:Y:Z (3:2:3 

1 1 1 - (-)3 

 1099 1029 722 - - 
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myF – 5 

gzp mlf;f tpiy> gbKiw mlf;ftpiy> ju mlf;ftpiy> ,Wjpepiy 

mlf;ftpiy 

1. gzpalf;ftpiy -nghUs; tpsf;fk; (Job Costing) 

thbf;ifahsh;fpd; cj;juT kw;wk; Fwpg;GfSf;F jFe;jthW  

jdp cj;juTfis epiwNtw;Wk; njhopw;rhiyfspd; ,k;Kiw 

gad;gLj;jg;gLfpwJ. xt;nthU gzpf;Fk; xU gzp cj;juT vz; 

xJf;fg;gLfpwJ. gzpapy; Ntiy njhlq;FtjpypUe;J mJ KbAk; 

tiu MFk; nryTfs; fhzg;gl;L mit Nrfhpf;fg;gLfpd;wJ. 

xg;ge;j  mlf;ftpiy Kiw> FO mlf;ftpiy Kiw> Mfpait 

gzp mlf;ftpiy Kiwapd; tiffshFk;. vLj;Jf;fhl;L : mr;rf 

$lk; Ml;nlhnkhigy; Xh;f;]; \hg; epWtdq;fs; Mfpait gzp 

mlf;ftpiy Kiwia gad;gLj;jg;gLfpd;wdh;. 

thbf;ifahsh; gpwg;gpj;j Mizf;Fj; jFe;jthW jdp 

Mizfis epiwNtw;Wk; KiwNa gzp mlf;ftpiy KiwahFk;. 

xt;nthU gzpf;Fk; xU gzp Miz vz; toq;fg;gLk;. gzp 

njhlq;fpa Njjp Kjy; me;j gzp KbAk; tiu Vw;gLk; 

nryTfis Nrfhpj;J mjd; mlf;ftpiy fzf;fplg;gLfpwJ. ,J 

Fwpg;gpl;l Mizapd;  Nghpy; gzp epiwNtw;wg;gLfpd;wJ. xt;nthU 

gzpAk; mjd; jdpj;jd;ikia ,og;gjpy;iy. 

 

2. gzp mlf;ftpiy rpwg;gpay;Gfs; 

 xt;nthU gzpf;Fhpa nryTfis Nrfhpj;J mjid 

jdpj;jdpahf itj;jpUf;fpd;wJ. 

 xt;nthU gzpak; vspjpy; milahsk; fz;L nfhs;sKbak;. 

Vnddpy mJ jdJ  jdpj;jd;ikia ,og;gjpy;iy. 

 thbf;ifahsh; toq;fpa Mizfs; kw;Wk; Fwpg;GfSf;F 

jFe;jthW gzp nra;ag;gLfpd;wJ. 

 cw;gj;jp nra;Ak; nghUs; XNu rPuhf tUtjpy;iy. 

 KOikailahj nghUs; Neuj;jpw;F Neuk; khWgLk;. 
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vdNt xt;nthU gzpf;Fk; epfo;e;j mlf;f tpiyia jdpj;jdpahf  

fzf;plg;gLfpwJ. mr;rf njhopy; > ,ae;jpu ghfq;fis  jahhpf;Fk;  

epWtdk;> ijay; fil> Xh;f;]; \hg; (gzpkid) Nghd;witfs 

,k;Kiwia gad;gLj;Jfpd;wd;. 

3. gzp mlf;ftpiyf;Fk; > gbKiw mlf;ftpiyf;Fk; cs;s 

NtWghLfs;. 

gzp mlf;ftpiy gbKiw mlf;ftpiy 

1. Fwpg;gpl;l cj;juTfspd; 

Nghpy; cw;gj;jp 

nra;ag;LfpwJ 

njhlh;e;J xNu khjphpahd 

nghUl;fs; cw;gj;jp nra;fpd;wJ. 

2. xt;nthU gzpf;Fhpa 

mlf;f tpiyia 

jdpj;jdpahf 

fzf;fplg;gLfpd;wJ. 

xt;nthU gbKiwapYk; mjd; 

mlf;ftpiy 

fzf;fplg;gLfpd;wJ. 

3. xt;nthU gzpAk; 

jdpahfTk; kw;w 

gzpapypUe;J NtWgl;L 

fhzg;gLk; 

nghUl;fs; mjd; 

jdpj;jd;ikia ,oe;J 

fhzg;gLk; . cw;gj;jp 

njhlh;r;rpahf ,Uf;Fk; 

4. gzpapd; nkhj;j 

mlf;ftpiyiagzpapd; 

nkhj;jvz;zpf;ifahy; 

tFj;jhy; xU myfpd; 

gzpapd; mlf;ftpiy 

fzf;fplg;gLfpwJ. 

xt;nthU gbKiwapy; cw;gj;jp 

nra;j nghUspd; 

vz;zpf;ifapy; tFj;jhy; xU 

myfpd; mlf;ftpiy 

fzffplg;gLfpd;wJ. 

5. gzpKbe;j gpwFjhd; mjd; 

mlf;ftpiy 

fzf;fplg;gLfpd;wJ. 

xt;nthU gbKiwapd; 

mlf;ftpiy fhyk; Kbe;jTld; 

mjd; mlf;ftpiy 

fzf;fplg;gLfpwJ. 

6. mjpy; gzpkhw;wk; xU gbKiwapypUe;J kw;nwhU 
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eilngWtjpy;iy gbKiwf;F khw;wk; 

Vw;gLfpd;wJ. 

7. KOikailahj nghUs; 

,Uf;fyhk; my;yJ 

,y;yhkYk; ,Uf;fyhk; 

KOikailahj nghUs; 

fz;bg;ghf ,Uf;Fk;. 

8. ,jid fl;Lg;gLj;JtJ 

kpfTk; fbdk; 

vspjpy; fl;Lg;gLj;jyhk; 

9. mjpf gbtq;fSk; epiwa 

tpsf;fq;fs; Njit 

Fiwthd gbtq;fSk; 

tpsf;fq;fs; NghJkhdJ. 

 

4. gzp mlf;ftpiy ed;ikfs; 

 xU gzpf;F nrythFk; fr;rhnghUs; > ciog;G> Nkw;r;nryT 

Mfpaitfis tpsf;fkhf jUfpd;wJ. ,jd; %yk; nryit 

fl;Lg;gLj;Jk; trjp cs;sJ. 

 gzp mlf;ftpiy Kiw %yk; ve;j gzpapy; mjpf ,yhgk; 

fpilf;fpwJ. vjpy; Fiwe;j ,yhgk; cs;sJ vd eph;thfk; 

vspjpy; njhpe;J nfhs;s cjTfpwJ. 

 vjph;fhyj;jpy; cw;gj;jp jp;l;lkplTk; xU gzpf;F MFk; 

nryit Kd; $l;bNa fzf;fpl cjTfpwJ. 

 Nkw;nryT jpl;lj;ij gad;gLj;Jtjd; %yk; 

Nkw;r;;nryTfspd; tPjj;ij Kd;$l;bNa fzf;fpl cjTfpwJ. 

 ve;j Kiwapy; Nrjhuk;> kw;Wk; Fiwghlhd Ntiy 

ele;Js;sJ vd ,jd; %yk; vspjpy; milahsk; 

fhzKbAk;. mj;jifa nraYf;F rk;ke;jg;gl;l JiwNa 

nghWg;Ngw;f Ntz;Lk; vd typAWj;Jfpd;wJ. ,jdhy; 

eph;thfk; rpwg;ghd eltbf;if %yk; Nrjhuj;ij fl;Lg;gLj;j 

KbfpwJ. 

 xU gzpf;F MFk; nryit Kd;$l;bNa fzf;fpl;L mjid 

cz;ikahd nryTld; Xg;gpl;L ghh;j;J nryit fl;Lg;gLj;j 

cjTfpd;wJ.  
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 murhq;f xg;ge;jq;fspd; mlf;ftpiyAld; $ba  

,yhgKiwapy;  xg;ge;j mlf;ftpiyf;F MFk; nryTfis 

toq;Ffpd;wJ. 

5. gzp mlf;ftpiy Kiwapd; FiwghLfs; 

 gad;gLj;Jk; fr;rhg;nghUs;> ciog;G> Nkw;nryTfs;. 

Mfpatiw;iw jpde;NjhWk; gjpT nra;a Ntz;baJ. ,jdhy; 

vOj;J gzp mjpfkhfptpLfpwJ. mjpf vOj;J gzpahy; 

nryT mjpfkhf fhzg;gLfpwJ.  

 mjpfkhd vOj;J gzpahy; jtWfs;> Nkhrbfs; 

eilngWfpd;wd. 

 gzp mlf;ftpiy KiwahdJ cz;ikahd nryit 

mbg;gilahf itj;J fzf;fpLtjhy; mlf;ftpiyia 

fl;Lg;gLj;j KbahJ. ju mlf;ftpiy Kiw my;yJ 

Kd;fzpg;G Kiwia gad;gLj;jpdhy; kl;LNk 

mlf;ftpiyia fl;Lg;gLj;jyhk;. 

 Nkw;nryT tPjj;ij fzf;fpl Kd;$l;bNa Nkw;nryit 

jpl;lkplg;gLfpwJ. jpl;lkpl;l nkw;nryT KOik 

milatpy;iynad;why; fzf;fpLtJ fbdk;. 

 

gbKiw mlf;ftpiy ( Process Costing) 

1. gbKiw mlf;ftpiyapd; nghUs;tpsf;fk; ahJ? ( Process Costing) 

gbKiw mlf;ftpiyahdJ ,af;f mlf;ftpiyapd; xU 

gFjpahFk;. ,jd; Nehf;fkhdJ nghUis cw;gj;jp nra;ka; xt;nthU 

gbKiwapy; Vw;gLk; cw;gj;jpapd; mlf;ftpiyia fzf;fpLtjhFk;. 

fr;rhg;gnghUis KOikahs nghUshf khw;Wtjpy; xd;W my;yJ 

mjw;F Nkw;gl;l gy;NtW gbKiwfspd; cw;gj;jp mlf;ftpiyiaf; 

fz;Lgpbf;Fk; KiwNa gbKiw mlf;ftpiy vd miof;fg;gLfpwJ. 

 
2. gbKiw mlf;ftpaypd; rpwg;gpay;Gfs; $Wf? (Features) 

 gbKiwapy; cw;gj;jp njhlh;e;J eilngWfpwJ. 
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 XNu khjphpahd nghUis cw;gj;jp nra;ag;gLfpwJ. 

 xU gbKiwapy; Kbtile;j KOikahd nghUshdJ mLj;j 

gbKiwf;F fr;rhnghUshf khWfpd;wJ. 

 xU nghUis cw;gj;jp nra;Ak; Kd;G me;jg;nghUs; ve;j ve;j 

gbKiwfspy; cw;gj;jp nra;aNtz;Lk; vd Kd;$l;bNa 

jPh;khdpf;fpwJ. 

 xU gbKiwapypUe;J mLj;j gbKiwf;F nghUs; khWk; nghOJ 

nghUSld; mjd; mlf;ftpiyAk; Nrh;e;j khWfpwJ. rhjhuz 

kw;wk; mrhjhuz el;lq;fisAk; mrhjhuz ,yhgq;fisAk; 

xt;nthU gbKiwfspy; fzf;fplyhk;. 

 rpy Neuq;fspy; xU gbKiwapypUe;J kw;nwhU gbKiwf;F nghUs; 

khWk;nghOJ mlf;ftpiyf;F khwhky; tpw;gid tpiyf;F 

khw;wg;gLk;.  

 ruhrhp mlf;ftpiyia fzf;fpl xt;nthU gb KiwapYk; 

cw;gj;jpapd; mlf;ftpiyiaf; fzf;fpLtJ kpfTk; mtrpak;. 

NkYk; ,LnghUs; rpy Neuq;fspy; nghUshdJ KOikahd 

nghUshf khwhky; mNj gbKiwfspy; Kbtilahky; ,Uf;fyhk;. 

 xt;nthU gbKiwapYk; nghUs; kw;Wk; mjd; mlf;ftpiyiaj; 

Jy;ypakhfg; gjpT nra;ag;gLfpwJ. 

 cw;gj;jp nra;ag;gl;l nghUs; jdJ jdpg;gl;l jd;ikia ,oe;J 

cw;gj;jpahdJ njhlh;e;J eilngWk; 

 fhyk; KOikf;Fk; Md nkhj;j cw;gj;jpahy; tFf;fg;gl;L 

xt;nthU myfpd; mlf;ftpiyak; fhzg;gLfpwJ. 

 gbKiw cw;gj;jpahdJ jukhdjhff; fhzg;gLk;.  

 gy;NtW nghUs;fs; jiz nghUs;fSlNdh my;yJ ,y;yhkNyh 

XNu Neuj;jpy; xd;W my;yJ gy;NtW gbKiwapy; cw;gj;jpahtJ. 

 ntsptUk; xt;nthU nghUSk;  XNu khjphpahfTk; XNu rPuhfTk; 

ntsptUk;. 

 
3. gbKiw mlf;ftpiyia gad;gLj;Jk; epWtdq;fs;  ahit? 
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gbKiw mlf;ftpiy Kiwiaf; fPo;fz;l njhopw;rhiyfs; nghJthfg; 

gad;gLj;Jfpd;wdh;. 

v.fh. 1) ,urhad njhopw;rhiy 2)Nrhg;G jahhpf;Fk; epWtdk; 3) fhfpj 

Miy 4. gp];fl; njhopw;rhiy 5) vz;nza; Rj;jpfhpg;G > E}w;ghiy> 

czTg;nghUs;> ngapz;l;> ik> thh;dp\; jahhpf;Fk; epWtdk;> ghy; 

gz;iz Njhy; gjdpLjy;> epyf;fhp Ruq;fk; Nghd;w njhopw;rhiyfspy; 

gbKiw mlf;ftpiy  Kiwia gad;gLj;Jfpd;wdh;. 

 
4. gbKiwfspy; fhzg;gLk; el;lq;fis $Wf. 

nghUis cw;gj;jp nra;;Ak; xt;nthU gbKiwapYk; el;lq;fs; Vw;gLk;. 

mJNt gbKiw el;lk; vdg;gLk;. mit ,uz;Lk; tifg;gLk; 

rhjhuz gbKiw 

mrhjhuz gbKiw el;lk;. 

1. rhjhuz gbKiw el;lk; (Normal Loss) 

2. nghUs; cw;gj;jp nra;ak; nghOJ gbKiwfspy; mj;jifa 

el;lq;fs; Vw;gLk;. ,j;jifa el;lq;fis jtph;f;fKbahJ. 

nghUis cw;gj;jp nra;Ak; Kd;ghfNt ,j;jifa el;lj;ij fle;j 

fhy mDgtj;jpd; mbg;gilapy; Kd; $l;bNa ehk; jPh;khdpj;J 

tplyhk;. v.fh. MtpahFjy; mopj;jy; RUq;Fjy; vilia ,of;Fk; 

jd;ik> Nghd;w fhuzq;fspdhy; rhjhuz el;lq;fs; Vw;gLfpd;wd. 

,J  xU vjph;ghh;j;j el;lkhFk;. rhjhuz el;lkhdJ nghUspd; 

vz;zpf;ifia kl;LNk Fiwf;fpd;wJ. 

3. ,J gbKiwf; fzf;fpd; tuT gFjpapy; A+dpl; gj;jpapy; vOj 

Ntz;Lk;. 

4. rhjhuz el;lj;ij tpw;gid nra;jhy; vQ;rpa kjpg;G fpilf;Fk;. 

me;j tpw;gid njhifia Amount gj;jpapy; vOjNtz;Lk;. 

 
2. mrhjhuz el;lk; (Abnormal Loss) 

,J xU vjph;ghuhj el;lkhFk;. ,e;j el;lj;ijj; jtph;f;fyhk;. 

,j;jifa el;lk; mrhjhuz $o;epiyfshfpa jukw;w nghUis 

gad;gLj;Jjy; tpgj;J kw;Wk; njhhopyhshpd; ftdf;Fiwthy; Vw;gLk; 
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,og;G. ,ae;jpuj;jpy; gOJ Vw;gLjy; Nghd;w vjph;ghuhj #o;epiyfspdhy; 

,j;jifa el;lk; Vw;gLfpd;wJ. vjph;ghh;j;j cw;gj;jpf;Fk; cz;ikahd 

cw;gj;jpf;Fk; cs;s tpj;jpahrNk mrhjhuz el;lkhFk;. 

 
vjph;ghh;j;j cw;gj;jpiaf; fhl;bYk; cz;ikahd cw;gj;jpapd; 

msT  Fiwthf ,Ue;jhy; mJ mrhjhuz el;lk; vdg;gLk;. 

 
mrhjhuz el;lkhdJ nghUspd; vz;zpf;ifiaAk; njhifiaAk; 

ghjpf;Fk;. ,jd; gbKiw fzf;fpd; tuT gFjpapy; A+dpl; njhif; Mfpa 

,uz;L gj;jpfspy; vOjNtz;Lk;. 

 
mrhjhuz el;lj;ij A+dpl;by; fz;Lgpbj;jy; 

Abnormal loss = Normal output - Actual output 

vjph;ghh;j;j cw;gj;jpia fhl;bYk; cz;ikahd cw;gj;jp 

FiwthfapUe;jhy; mrhjhuz el;lk; Vw;gLk;. 

 
Entry:  

Abnormal Loss a/c Dr 

To process a/c 

Transfer: 

Costing profit a/c Dr 

To Abnormal Loss a/c 

mrhjhuz el;lj;jpd; kjpg;ig fzf;fpLjy; 

=  
𝑁𝑜𝑟𝑚𝑎𝑙 𝑐𝑜𝑠𝑡 𝑜𝑓 𝑁𝑜𝑟𝑚𝑎𝑙 𝑂𝑢𝑡𝑝𝑢𝑡

𝑁𝑜𝑟𝑚𝑎𝑙 𝑜𝑢𝑡𝑝𝑢𝑡
× 𝑢𝑛𝑖𝑡 𝑜𝑓 𝐴𝑏𝑛𝑜𝑟𝑚𝑎𝑙 𝑙𝑜𝑠𝑠 

Input 100 units of Rs. 1000 Normal loss 10% scarp Rs. 100 Actual output 87 

units calculate Abnormal loss 

Answer: 

    unit  Amount 

Input   100  1000 

Less Normal loss    10   100 
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Normal output   90   900 (normal cost) 

Less  Actual output   87     - 

Abnormal loss    3     - 

 

Calculation of value of abnormal loss: 

=  
𝑁𝑜𝑟𝑚𝑎𝑙 𝑐𝑜𝑠𝑡 

𝑁𝑜𝑟𝑚𝑎𝑙 𝑜𝑢𝑡𝑝𝑢𝑡
× 𝑢𝑛𝑖𝑡 𝑜𝑓 𝐴𝑏𝑛𝑜𝑟𝑚𝑎𝑙 𝑙𝑜𝑠𝑠 =  

900

90
× 3 = 𝑅𝑠. 30 

   Process Account  Cr 

unit Amount     Unit  Amount 

To input 100 1000   By Normal loss 10 100 

     By Normal loss 3  30 

By Actual Output 87 870(b.f)  

    100 1000               100       1000 

  

iii) mrhjhuz ,yhgk; (Abnormal Gain) 

rpy Neuq;fspy; vjph;ghh;j;j cw;gj;jpiatpl cz;ikahd cw;gj;jp 

mjpfkhff; fhzg;gl;lhy; mJNt mrhjhuz ,yhgk; vdg;gLk;. 

Abnormal gain =Actual output - Normal output 

Calculation of value of Abnormal gain 

=  
𝑁𝑜𝑟𝑚𝑎𝑙 𝑐𝑜𝑠𝑡 

𝑁𝑜𝑟𝑚𝑎𝑙 𝑜𝑢𝑡𝑝𝑢𝑡
× 𝑢𝑛𝑖𝑡 𝑜𝑓 𝐴𝑏𝑛𝑜𝑟𝑚𝑎𝑙 𝑙𝑜𝑠𝑠 

mrhjhuz ,yhgj;jpid A+dpl; kw;Wk; njhif; gbKiw fzf;fpd; gw;W 

gFjpapy; fhz;gpf;f Ntz;Lk;. 

Entry:  

1. Process a/c Dr 

To abnormal Gain a/c 

2. Abnormal Gain  a/c Dr 

To costing Profit  Loss a/c 
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Example: 

Input    -  100 units = Cost Rs. 1000 

Normal Loss  10% Scarp Rs. 100 

Actual output  95 units Calculate Abnormal gain? 

Answer     

Unit  Amount(Rs) 

Input     100  1000 

Less Normal loss    10  100 

Normal Output   90   900 Normal cost 

Less Actual output    95   - 

Abnormal gain      5  - 

,jpy; Normal Outut I tpl Actual output $bAs;sJ. tpj;jpahrKs;s 5 units 

Abnormal gain vdg;gLk;. 

Calculation of value of abnormal Gain: 

=  
𝑁𝑜𝑟𝑚𝑎𝑙 𝑐𝑜𝑠𝑡 

𝑁𝑜𝑟𝑚𝑎𝑙 𝑜𝑢𝑡𝑝𝑢𝑡
× 𝑢𝑛𝑖𝑡 𝑜𝑓 𝐴𝑏𝑛𝑜𝑟𝑚𝑎𝑙 𝑔𝑎𝑖𝑛 =  

900

90
× 5 = 𝑅𝑠. 50 

Process Account 

Dr.            Cr 

Particulars   unit Amount  Particulars   Unit Amount

  

To input   100 1000   By Normal loss   10 100 

To abnormal gain     5     50   By Actual Output   95 950(b.f)

  

   105 1050                 105     1050 

 

5. ,ilgbKiw ,yhgk; vd;why; vd;d? (Inter Process Profit) 

xU gbKiwapd; cw;gj;jpapid mLj;j gbKiwf;F 

mlf;ftpiyapy; khw;wk; nra;ag;gLk;. Mdhy; rpy Neuq;fspy; 

,jid  mlf;ftpiyf;F khw;whky; mjDld; ,yhgj;ij Nrh;j;J 
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tpw;gid  tpiyapy; khw;Wk; kiwNa ,ilgbKiw ,yhgk; 

vdg;gLk;. ,jd; Nehf;fkhdJ mlf;ftpiyia re;ij tpiyAld; 

xg;gpl;Lg;ghh;j;J xt;nthU gbKiwAk; rpf;fdkhfTk; RajpwikAld; 

nray;gl itg;gjhfk;. 

 

6. ,iz cw;gj;jp nghUl;fs; vd;why; vd;d? (Joint Product) 

xNu gbKiw ,af;fj;jpd;NghJ ghh;f;fg;gLk; ,uz;L my;yJ 

mjw;F Nkw;gl;l nghUl;fs; tof;fkhf Nkw;nfhz;L gb KiwAld; 

ve;j xU jdpg;nghUSk; Kf;fpa nghUshf fUjhky; xt;nthU 

cw;gj;jp nghUSk; mjw;F ,izahd cw;gj;jpg; nghUshf 

fUjg;gLfpwJ. v.fh. vz;nza; Rj;jpfhpg;G> njhopw;rhiyapd; 

vhpthA > vhpnghUs; > kz;nzz;nza; > Bry; > ehg;jh 

Nghd;witfs; epy vz;nza; %yk; fpilf;fpd;wJ. 

 

7. Jiz cw;gj;jp nghUl;fs; vd;why; vd;d? ( By Producs) 

,J mjd; Kf;fpa nghUspypUe;J fpilf;fpd;wJ. Kf;fpakhd 

nghUis fhl;bYk; ,J Fiwthd Kf;fpaj;Jtk; nfhz;Ls;sJ. 

epyf;fhp vd;gJ Kf;fpa %yg;nnghUshFk;. mjpypUe;J fpilf;Fk; 

Nf]; jhh; Mfpait mjd; Jiz nghUshFk;. epy vz;;nzapy; 

cs;s ry;gh;> ,urhaz cuk; Jizg;nghshFk;. 

Kf;fpag;nghUSld; ,ize;J fhzg;gLk; gad;gLj;jf;$ba 

my;yJ tpw;gid nra;af;$ba rpy nghUl;fNs 

Jizg;nghUshFk;. 

 

8. rkkhd cw;gj;jp vd;why; vd;d? (Equivalent Production) 

gbKiw njhopw;rhiyapy; cw;gj;jpahdJ njhlh;e;J eilngWk; . 

mitfspy; KOikailahj nghUl;fis fzf;fpl mjw;F rkkhd 

cw;gj;jpiaf; nfhz;L fzf;fplyhk;. rkkhd cw;gj;jp vd;gJ 

KOikailahj nghUis KOikahd nghUshf khw;WtJ ,jpy; 
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cw;gj;jp vd;gJ KOik ngw;w nghUisNa Fwp;f;Fk; . ,jpy; 

tpfpjsT gad;gLj;jg;gLfpd;wJ. 

 

9. gbKiw mlf;ftpiy Kiwapd; ed;ikfs;. 

1.  xy;nthU khjKk; gbKiwapy; Vw;gLk; nrYTfis vspjpy; 

fzf;fplyhk;. 2. gzp mlf;ftpiy Kiwia fhl;bYk; ,jpy; 

vOj;J gzp Fiwthf cs;sjhy; xt;nthU gbKiwapYk; 

mlf;ftpiy vspjpy; fzf;fplyhk;           3. xt;nthU 

gbKiwapYk; vjph;ghh;j;j nryit cz;ikahd nryTld; xg;gPl;L 

ghh;j;J mlf;ftpiy  nryit eph;thfk; vspjpy; fl;Lg;gLj;j 

cjTfpwJ. 4. cw;gj;jpahd nghUs; XNu khjphpahd ,Ug;gjhy; 

ruhrhp mlf;ftpiyia vspjpy; fz;f;fplyhk;. 

 

10. gbKiw mlf;ftpiy Kiwapd; FiwghLfs;. 

 ,k;iwapy; xU myfpd; ruhrhp mlf;ftpiy fzf;fpl;lhYk; 

gbKiwapd; nray;ghl;ilk kjpg;gpl KbahJ. 

 cz;ikahd nryit mbg;gilahf itj;J mlf;ftpiy 

fzf;fpLtjhy; mlf;ftpiyia fl;Lg;gLj;j KbahJ. 

 xUgbKiwapypUe;J gy;NtW ,izg;nghUl;fs; 

fpilf;Fk;nghOJ mjw;F Vw;gl;l ,iz nryTfis xt;;nthU 

gb epiyapYk; fhzg;gLk; .,jid kjpg;gpLtJ fbdk;. 

 ruhrhp mlf;ftpiy Jy;ypakhf ,Ug;gjpy;iy. Vnddpy; 

ntsptUk; midj;J nghUSk; XNu khjphpahf ,Ug;gjpy;iy. 

 

rkj;jahhpg;G vd;why; vd;d? 

gbKiw njhopw;rhiyapy; cw;gj;jpahdJ njhlh;e;J eilngWk;. 

mitfspy; KOikailahj nghUl;fis fzf;fpl mjw;F rkkhd 

cw;gj;jpiaf; nfhz;L fzf;fplyhk;. rkkhd jahhpg;G vd;gJ 

KOikailahj nghUis KOikahd nghUshf khw;WtjhFk;. ,jpy; 
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jahhpg;G vd;gJ KOikngw;w nghUisNa Fwpf;Fk;. ,jpy; tpfpjsT 

gad;glj;jg;gLfpd;wJ. 

mrhjhuz kPwa ,yhgk; vd;why; vd;d? 

rpy Neuq;fspy; cw;gj;jp gbKiwapy; vjph;ghh;j;j cw;gj;jpia tpl 

cz;ikahd cw;gj;jp mjpfkhf fhzg;gl;lhy; mJNy ,ay;G kPwpa 

,yhgk; vd;W ngah;. 

 

,e;j ,yhgj;jpd; njhifia fzf;fpd; gw;W gFjpapy; vOj 

Ntz;Lk;. 

ju mlf;ftpiy ( Standards Costing) 

cw;gj;jp Kbe;jJk; kl;LNk ek;khy; cz;ikahd mlf;ftpiyia 

fz;Lgpbf;fKbAk; Vw;fdNt eph;zapf;fg;gl;l mlf;ftpiyi cz;ik 

mlf;ftpiyAld; xg;gpl;L ,it ,uz;Lf;Fk; cs;s NtWghl;il rhp 

nra;Ak; eltbf;ifia Nkw;nfhs;s ju mlf;ftpiy KiwahdJ 

Nkyhz;ikf;F cjTfpwJ. 

 

ju mlf;ftpiy Kiw tiutpyf;fzk; (Definition) 

1) ju mlf;ftpiyfis jahhpj;J mjid cz;ikahd 

mlf;ftpiyfSld; xg;gpl;L mit ,uz;Lf;Fk; cs;s NtWghLfspd; 

fhuzq;fisAk;> epiyg;Gs;spfisAk; gFg;gha;T nra;tNj ju 

mlf;ftpiy KiwahFk;. 

2) ju mlf;ftpiy kw;Wk; cz;ik mlf;ftpiy ,t;tpuz;L 

mlf;ftpiyfspd; NtWghl;Lj;  njhifia fz;Lgpbf;f jahhpf;fg;gl;l 

Gs;sptpguq;fis jPh;khdpf;Fk; Kiwia jumlf;ftpiy KiwahFk;. 

3) ju mlf;f tpiyfis jahhpj;J mJ cz;ikfis 

mlf;ftpiyapypUe;J vt;tsT J}uk; tpyfpAs;sJ vd;gij mwpaTk; 

me;j NtWghl;il gFg;gha;T nra;J rhpfl;lTk; cw;gj;jpapy; 

mjpfgl;rkhf jpwid guhkhpf;f cjTtNj ju mlf;ftpiy KiwahFk;. 

 

2. ju mlf;ftpiyfs; - nghUs; tpsf;fk;. 
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1) ju mlf;ftpiy vd;gJ Kd;Ng jPh;khdpf;fg;gl;l mlf;ftpiyahFk;. 

,JNkyhz;ikapd; jpwikahd nray; eltbf;;iffspd; juq;fspd 

%ykhfTk; mJ rk;ge;jkhd Njitahd nryTfs; %ykhfTk; 

fz;Lgpbf;fg;gLfpwJ. ,J tpiyf;Fwpg;Gf;Fk; fl;Lg;ghl;Lf;Fk; cs;s 

NtWghl;L gFg;gha;tpd; %yk; gad;gLj;jyhk;. 

2. jug;gl;l #o;epiyfspy; vjph;ghh;f;fg;gLk; cw;gj;jp msTf;F 

vjph;ghh;f;fg;gLk; mlf;ftpiyfNs ju mlf;ftpiyahFk;. vdNt ju 

mlf;ftpiy vd;gJ xU njhopy; El;g KiwahFk;. ,jpy;  

1. ju mlf;ftpiyfis fz;Lgpbg;gJ. 

2. cz;ikahd mlf;ftpiyfis mstplTk; 

3. ju mlf;ftpiyfis cz;ikahd mlf;ftpiyfNshL xg;gPl;L 

ghh;j;J ,uz;L mlf;ftpiyfSf;F ,ilNa cs;s NtWghl;il 

fz;Lgpbf;fTk;. 

4. NtWghl;il gFg;gha;T nra;tJ mjhtJ NtWghl;il rhpnra;J 

mjid jtph;f;Fk; eltbf;iffis Nkw;nfhs;sg;gLfpwJ. 

 
3. jumlf;ftpiy Kiwf;Fk;> epjpj;jpl;l fl;Lg;ghl;Lf;;Fk; cs;s 

NtWghLfs;. 

ju mlf;ftpiy Kiw epjpjpl;l fl;Lg;ghL 

juq;fs; ,y;iynad;whly ju 

mlf;ftpiy Kiw ,y;iy 

juq;fs; ,y;yhkNyNa epjpj;jpl;lk; 
jahhpj;J nray;gLj;j KbAk;;. 

,J mlf;ftpiyia Kd;$l;bNa 

fhl;LfpwJ. 

,jp epjprhh; fzf;Ffis 

Kd;$l;bNa fhl;LfpwJ. 

ju mlf;ftpiyfis tifg;gLj;jp 

> gjpTnra;J> gfph;e;jspf;fg;gLk; 

Kiwapy; jahhpf;fg;gLfpwJ 

njhopypd; gy;NtW gzpfspd; 

mbg;gilapy; epjpjpl;lfs; 

jahhpf;fg;gLfpd;wJ. v.fh. 

nfhs;Kjy;> tpw;gid cw;gj;jp 

ju mlf;ftpiy Kiwfis 

fl;Lg;gLj;Jtjpy; jPtukhf 

nray;gLfpwJ 

,J njhopy; KOikahd 

nray;ghl;il Nkw;nfhs;s 

tphpthf;fj; jd;ikiaf; 
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nfhz;Ls;sJ. 

,k;Kiwia gFjpahf nray;gLj;j 

KbahJ. mlf;ftpiy myFfspy; 

Nrh;f;fg;gl;l midj;J 

nrytpdq;fSk; fzf;fpy; nfhz;L 

tuNtz;Lk;. 

,jid gFjpahf nray;gLj;jyhk;. 

v.fh. tpsk;gunryTfs; Muha;r;rp 

Nkk;ghl;Lr; nryTfs; 

Mfpatw;Wf;Fk; epjpj;jpl;lk; 

jahhpf;fyhk;. 

gy;NtW fzf;Ffs; %yk; 

NtWghLfs; fzf;fplg;gLfpd;wJ. 

fzf;Ffspy; NtWghLfs; 

fhl;Ltjpy;iy. 

ju mlf;ftpiy KiwahdJ 

mlf;ftpiy fzf;Ffspd; 

cUtikg;ghFk;. 

,J epjprhh; fzf;Ffspd; 

cUtikg;ghFk;. 

,J xt;nthU myfpd; mlf;ftpiy 

Njitfis 

njhlh;ghfnfhz;Ls;sJ. 

,J gzp epiyfspy; 

nrytpdq;fspd; 

njhlf;fepiyianjhlh;GilaJ. 

,J njhopy;El;gKiwapy; Nkk;gl;L 

fhzg;gLfpwJ. 

,J jd;ikapy; 

tphpthffhzg;gLfpwJ. 

,J Nehf;f vy;iyia tiuaiw 

nra;Js;sJ 

,J nryTfis tiuaWj;Js;sJ. 

,J mlf;ftpiy NtWghLfis 

gy;NtW fzf;Ffs; %yk; 

ntspg;gLj;Jfpd;wJ. 

,J mlf;ftpiy NtWghLfis 

fzf;Ffs; %yk; 

ntspg;gLj;Jtjpy;iy 

njhopy; Nkk;ghl;bw;F cjTfpwJ ,J epWtdj;jpd; topfhl;Lk; 

nfhs;ifahf tpsq;FfpwJ. 

 

5. jumlf;ftpiy Kiwf;Fk;> Kd; kjpg;gPL mlf;ftpiy Kiwf;Fk;  

cs;sNtWghL. (Standard Costing Vs Estimated Costing) 

mlf;ftpiy Kiw Kd;kjpg;gPl;L mlf;ftpiy 

,J cz;ikahd 

mlf;ftpiy vd;dthf 

,Ue;jhfNtz;Lk; vd 

,J cz;ikahd mlf;ftpiy 

vd;dthf ,Uf;fyhk; vd jPh;khdpf;f 

Kaw;rpf;fpd;wJ 
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Kd;$l;bNa jPh;khdpf;fpd;wJ 

,J fzf;fpay; Kiwahf 

gad;gLj;jg;gLfpd;wJ 

,J Gs;spapay; jfty;fshf kl;LNk 

gad;gLfpd;wJ. 

,J jpl;lkpLtJld; mjid 

nray; epiwNtw;wk; nra;jy; 

cz;ikahd tpiyAld; 

xg;gpLjy; NtWghLfis rhp 

nra;jy; Nghd;w gzpfis 

nra;fpd;wJ. 

,J eltbf;iffis jpl;lkpl kl;LNk 

gad;gLj;jg;gLfpd;wJ. 

ju mlf;ftpiy mjd; fPo; 

eilngWk; njhopy;fSf;F 

kl;LNk gad;gLj;jyhk;. 

,jid fle;j fhy mlf;ftpiy 

Kiwapy; nray;gLk; ve;jnjhopYf;Fk; 

gad;gLj;jyhk;. 

,J mlf;ftpiyia 

fl;LgLj;Jfpd;wJ 

,J mlf;ftpiyia 

fl;LgLj;Jtjpy;iy. tpiyia 

eph;zapf;f kl;LNk gad;gLfpwJ. 

ju mlf;ftpiyfs; xt;nthU 

mlf;ftpiy 

mbg;gilf;$Wfs; 

Fwpf;fg;gLk; 

kjpg;gPl;L mlf;ftpiyfs; njhopypd; 

xU gFjpfF kl;Lk; jPh;khdpf;fg;glyhk;. 

,J mlf;ftpiyia 

fl;Lg;ghL nra;tNj ,jd; 

Nehf;fkhFk;. 

,jpy; mlf;ftpiyfs; jPh;khdpg;gjw;F 

Kf;fpaJtk; mspf;fg;gLfpwJ. 

 

6. ju mlf;ftpiyapd; ed;ikfs (Advantages of Standard Costing); 

ju mlf;ftpiyia gad;gLj;Jtjd; %yk; fPo;fz;l ed;ikfis 

ngwyhk;. 

1. Nkyhz;ikapdUf;F cjTfpd;wJ. 

ju mlf;ftpiy KiwahdJ Nkyhz;ik gzpfisj; jpwk;gl 

nra;JKbf;f cjTfpd;wJ. jpl;lkpLjy;> xUq;fpizj;jy;> mikg;GKiw> 
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nray;Cf;fk;> fl;Lg;gLj;Jjy; rpwg;ghf nra;J Kbf;f ,J 

Nkyhz;ikapdUf;F cjTfpd;wJ. 

1.) jpwikia mstpLjy;: 

ju mlf;ftpiyahdJ cz;ikahd mlf;ftpiyAld; xg;gPl;L 

ghh;j;J juq;fspypUe;J mJ v;t;tsT tpyf;fk; cs;sJ vd 

jPh;khdpj;J xj;Jg;Nghfhj ,dq;fspd; kl;Lk; Nkyhz;ikapdh; jdJ 

ftdj;ij jpUg;gyhk;;. ,jid tpjptpyf;F Nfhl;ghL vd 

miof;fg;gLfpd;wJ. 

2.) tpiy kw;Wk; cw;gj;jp nfhs;ifia cUthf;Fjy; 

ju mlf;ftpiy KiwahdJ eph;thfj;jpw;F tpiyf; nfhs’ifAk; 

>cw;gj;jp nfhs;iffisak; cUthf;f cjTfpd;qJ. 

3.) mlf;ftpiy mwpf;if 

ju mlf;ftpiyAk; NtWghLfspd; gFg;gha;Tk; mlf;ftpiy gw;wpa 

nra;jpfis tpsf;fj;Jld; mspg;gjhy; eph;thfk; vspjpy; tpiyia 

fl;Lg;gLj;jTk;> KbT vLf;fTk; trjp mspf;fpwJ. 

 

4.) ruf;Ffis kjpg;gpLk; Kiwf;F cjTjy; 

,J ruf;F tpiy kjpg;gpliy vspikahf;Ffpd;wJ.  

%yg;nghUs;>KbTwhg;nghUs; KOikahd nghUs; Mfpatw;iw 

jumlf;ftpiyapy; kjpg;gplg;gLffpd;wJ ju mlf;ftpiyf;Fk; 

cz;ikahd tpiyf;Fk; cs;s NtWghl;il NtWghL fzf;Ff;F 

khw;wg;gLfpd;wJ. 

 

5.) rpf;fdkhd Kiw 

vOj;jh; gzp Fiwf;fg;gLtjhy; ,J xU rpf;fdkhd KiwahFk;. 

 

6.) fzf;Ffis xUq;fpizj;jy; 

ju mlf;ftpiyKiw %yk; fzf;Ffis xUq;fpizj;J gzpfis 

vspjhf;Ffpd;wJ. 
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7.) mjpfhu xg;gilg;G: 

mjpfhuq;fs; Nky;epiyapypUe;J fPo;epiy gzpahsh;fSf;F 

xg;gilg;gjhy; nghWg;Gfs; eph;zapf;fg;gLfpd;wJ. ,jd;%yk; epWtd 

nray;ghl;il tpiuthf mwpaKbAk;. 

 

8.) mlf;ftpiy czh;Tepiy: 

Nky;epiy Kjy; fPo;epiy gzpahsh; tiu midtUf;Fk; 

,k;KiwahdJ ,yf;fFwpaPLfs; eph;zapf;fg;gLtjhy; midthpd; 

kj;jpapYk; mlf;ftpiy gw;wpa czh;Tepiyia Vw;gLj;Jfpd;wJ. 

 
9.) jpwikapd;ikfs; fisag;gLtjhy; nghUs; mgptpUj;jp milfpd;wJ 

 
10.) epjpfs; ,ae;jpu trjpfis mjpfgl;r msTf;F gad;gLj;j 

cjTfpd;wJ. 

 
11.) gztPf;fj;jhy; Vw;gLk; tpiykhw;wj;ij fl;Lg;gLj;jp  cl;Gwk; 

gpur;ridfis rkhspf;fpd;wJ. 

 
12.) epjpjpl;lk;> njhopyhsh;fSf;F Nghd]; Cf;fjpl;lk;  Nghd;w 

jpl;lq;fSf;F ,J Mjhuhkhf tpsq;Ffpd;wJ. 

 
6. ju mlf;ftpiy Kiwapd; FiwghLfs; (Limitation) 

1. juq;fis Vw;gLj;JtJ kpfTk;fbdk;. juq;fis rhpahf 

epWtg;glhky; ,Ue;jhy; mjpy; fhz;gLk; ed;ikia tpl FiwghNl 

mjpfkhapUf;Fk;. 

2. thzpg#oy;> njhopy; epiy Mfpait mbf;fb khWk; jd;ikiaf; 

nfhz;lJ. vdNt mbf;fb juj;ij khw;wp mikf;fNtz;Lk;. 

juj;ij khw;Wtjhy; nryT mjpfkhFk;. 

3. rpy #o;epiyfspy; juj;jpd; cah;e;j epiyapy; Vw;gLj;Jtjhy; 

gzpahsh;fs; mj;jifa epiyia milaKbahJ. ,jdhy; 

mth;fSf;F xOf;f czh;T> nray;Cf;fk; mspg;gjw;F gjpyhf 

ntWg;G Vw;gLfpwJ. 
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4. Miz ngw;W njhopy; elj;Jk; epWtdq;fSf;F ,J Vw;wjy;y. 

Vnddpy; ,J mjpf nryT kw;Wk;; nghUj;jkw;wjhf mikAk;. 

5. rpwpa epWtdq;fSf;F ,J Vw;wjy;y. Vnddpy; ,jid Vw;gLj;j 

mjpf nrythFk;. 

6. rpy #o;epiyfspy; fz;Lgpbf;fg;gl;l NtWghLfis tpyf;ftJ 

fbzk;. mjid fl;Lg;gLj;jTk; KbahJ. 

7. fr;rhg;nghUs; ciog;G Nkw;rnryT Mfpatw;wpy; ju mlf;ftpiy 

eph;zapg;gJ kpfTk; fbdk;. 

8. ju mlf;ftpiyia khw;wpaikf;fhtpl;lhy; mJ goikahd my;yJ 

fhyhtjpahd jukhf khwptpLk;. 

9. jpl;lkplhky; cw;gj;jp nra;Ak; epWtdq;fSf;F ,J Vw;wjy;y. 

10. NgusT cw;gj;jpapy; <LgLk; epWtdq;fSf;F kl;LNk ,J 

nghUe;Jfpd;wJ. 

11. ,k;Kiw Nkyhz;ikapdf;Fk;> njhopyhsUf;Fk; mr;RWj;jyhf 

,Ug;gjhy; mth;fs; ,k;Kiwia vjph;f;fpd;wdh;. 

 

7. ju mlf;ftpiy Kiw gad;gLj;jf; $ba epWtdq;fs;. 

1. gbKiw njhopy;fs; 

2. njhopy;El;gk; 

3. gphpj;J vLf;Fk; njhopy;fshfpa epyf;fhp> jhJg;nghUs; 

ngl;Nuhypak;. 

4. gzprhh; njhopy;fshfpa Nghf;Ftuj;J> kpd;rhuk; Nghd;witfSf;F 

ju mlf;ftpiy Kiw mtrpakhf cs;sJ. 

gzp jpUk;g jpUk;g eilngwhj njhopy;fshfpa fl;Lkhd gzp> fg;gy; 

fl;Lk; gzp> xg;ge;jg;gzp Mfpatw;wpy; juq;fis Vw;gLj;JtJ fbdk;. 

vdNt mj;jifa njhopy;fSf;F ju mlf;ftpiy Kiw Vw;wjy;y 

 
8. ju mlf;ftpiy Kiwia Vw;gLj;j vLf;fNtz;ba 

Kd;ndr;rhpf;iffs; 
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fPo;fz;l Kd;ndr;rhpf;iffis filgpbj;J ju mlf;ftpiyia Vw;gLj;j 

Ntz;Lk;. 

1. Kjypy; mlf;ftpiy ikaq;fis Vw;gLj;j Ntz;Lk;. 

2. juq;fspd; tiffs; 

3. ju mlf;ftpiyia epWTjy; 

 
1. mlf;ftpiy ikaq;fis Vw;gLj;Jjy;: 

mlf;ftpiyia fl;Lg;gLj;j xt;nthU epWtdKk; cw;gj;jp 

eph;thfk; > tpw;gid> tpepNahfk; vd gy Jiwfshf gphpf;fNtz;Lk;. 

,e;jJiwfs; NkYk; gy gphpTfshf xU Ms; my;yJ Ml;fspd; 

njhFg;ghf gphpf;fyhk;. 

nryTfis Ftpf;ff;$ba fl;Lghl;il nay;gLj;jf; $ba ,dk; 

my;yJ xU Ms; my;yJ Ml;fspd; njhFg;G mlf;ftpiyikakhFk;. 

xU Mis my;yJ Ml;fspd; njhFg;igf; Fwpf;Fk; ikak; Ms;rhh; 

mlf;ftpiy ikak; vd;W ngah;. ,ae;jpuq;fs; nghUl;fs; njhlh;ghd 

mlf;ftpiy ikaj;ij Ms;rhuh mlf;ftpiy ikakhFk;. 

1. juq;fspd; tiffs;: 

juq;fs; %d;W tifg;gLk;.  

i. elg;Gj;juk;   

ii. mbg;gilj;juk; 

iii. rhjhuzjuk; 

i)  elg;Gjuk; 

elg;G #o;epiyf;F jFe;jthW FWfpa fhyj;jpw;F epWtg;gLk; 

juNk elg;Gj;juk; vd;W ngah;. tpiyapy; my;yJ cw;gj;jpapy; khw;wk; 

Vw;gl;lhy; juj;ij khw;wpaikf;fNtz;Lk;. elg;Gjuj;ij NkYk; ,uz;lhf 

tifg;gLj;jyhk;. mit: 

(m) fUj;jpayhd juk; (M) vjph;ghh;g;G juk; 

 
(m) fUj;jpayhd juk;: 
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,e;j juk; cah;e;j msT jpwikiaf;Fwpf;fpd;wJ. mjhtJ 

mila Kbahj msit milAk; nghOJ mjpfgl;r jpwikia 

eph;zapf;fpd;wJ. rhjfkhd #o;epiy Vw;gLk; nghOJk;> Nkyhz;ikapd;h; 

cah;e;j epiyapy; nray;gLtjhf Fwpf;fpd;wJ. eilKiwapy; ,j;jifa 

juj;ij mila KbahJ. fUj;jpayhd juk; cz;ikapNyNa eilngw 

Kbahj #o;epiyia eilngWk; vd Cfpj;J epWtg;gLfpwJ. 

 
M) vjph;ghh;g;G juk;: 

,e;j juk; vjph;ghh;f;fg;gLk; $o;epiyfis mbg;gilahf nfhz;lJ. 

,J cz;ikahfTk; vspjpy; mila $bajhf ,Uf;Fk;. 

 
(ii) mbg;gilj;juk; 

,J el;G fhyj;jpw;fhd #o;epiyfSf;Nfw;g khw;wpf;nfhs;Sk; 

tifapy; mikf;fpd;wJ. ,J ePzl fhyj;jpw;F khw;whj tifapy; juk; 

epWtg;gLk;. 

 
(iii) rhjhuz juk;: 

,J vjph;fhyj;jpy; milaf;$baJ vd Kd;dNu jPh;khdpf;fg;gl;l 

jukhFk;. Ie;jhz;L fhyk; thzpg Row;rpf;F Vw;gl;l juk; epWtg;gLk; 

.xU fhyj;jpy; cw;gj;jpapy; Vw;gl;l NtWghl;ilAk; kw;nwhU fhyj;jpe; 

Vw;gl;l NtWghl;ilAk; fhl;Lfpd;wJ. 

 
3. ju mlf;ftpiyia epWTjy;: 

%yg;nghUl;fs; Neuf;$yp Nkw;nryTfs; Mfpatw;wpw;F  juq;fs; 

epWtg;gLk;. ,J mlf;ftpiyia fl;Lg;gLj;Jk; fUtpahf gad;gLj;jyhk;. 

Neub %yg;nghUs; mlf;ftpiyapy; ,U ,dq;fs;  cs;sd. mit 

%yg;nghUspd; msT %yg;nghUspd; tp;iy Neub ciog;G 

mlf;ftpiyapy; ,uz;L $Wfs; cs;sd. ju ciog;G > juciog;G 

tpfpjk; Nkw;nryTfspy; %d;W ,dq;fs; cs;sd. 

(i) Nkw;nryTfis ephzapj;jy; 
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(ii) ciog;G kzp 

(iii) (i) tJ ,dj;ij (ii)tJ ,dj;jhy; tFj;J Nkw;nryT tpfpjk; 

fzf;fpLjy; 

 
9. NtWghLfspd; gFg;gha;T (Analyisis of Variance) 

1. NtWghL nghUs; tpsf;fk;. 

cz;ikahd mlf;ftpiyahdJ ju mlf;ftpiyfSld; Xg;gpl;L ghh;j;jy; 

nghJthf rpwpJ NtWghL njhpAk;. cz;ikahd mlf;ftpiy ju 

mlf;ftpiyapypUe;J tpyfp epw;gij NtWghL vd $WfpNwhk;. 

 
(i) rhjfkhd NtWghL (Favourable Variance) 

ju mlf;ftpiy czikahd mlf;ftpiyia tpl 

$LjyhfapUe;jhy; mjid rhjfkhd NtWghL vd;W ngah;. 

 
(ii) ghjfkhd NtWghL (Unfavourable Variance- Adverse) 

cz;ikahd mlf;ftpiy ju mlf;ftpiyiaf; fhl;bYk; 

mjpfkhapUe;jhy; mjid ghjfkhd NtWghL vd;W ngah;. 

 

NtWghLfs; 

 

Neub %yg;nghUs;       Neub ciog;G  

 Nkw;r;nryTfs; 

 

tpiy  gad;ghL    $yptPjk;     jpwik/fhyk;    

epiyahd khWgLk; 

 

       fyit tpisT         fyit  tpisT  

nrytpdk;  msT 

 

          jpwik    nfhs;ssT 
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10. NtWghLfspd; tiffs; 

NtWghLfis ehd;F tifdahf gphpf;fyhk;. 

1. Neub %yg;nghUl;fs; NtWghLfs;. 

2. Neub ciog;G $yp NtWghLfs; 

3. Nkw;r;nryTfs; NtWghLfs; 

4. tpw;gid NtWghLfs;. 

1. Neub %yg;nghUl;fs;fspd; nryT NtWghLfs; (Direct Material Cost 

Variance)  

ngw;w cw;gj;jpf;Fk; Fwpg;gpl;l %yg;nghUl;fspd;  ju 

mlf;ftpiyf;fk;< gad;gLj;jg;gl;l Neub %yg;nghUl;fspd; cz;ik 

mlf;ftpiyf;Fk; cs;s NtWghl;L njhifNa %yg;nghUl;fspd;  

mlf;ftpiy NtWghL vd;W ngah;. 

Formula 

 Direct Material Cost Variance = Standard Cost of Actual output – Actual 

Cost 

Std Quantity for Actual output = Std Quantity x Actual output 

           Std Output 

i) Std cost for actual output: 

Standard price x Standard Quantity for actual output 

ii) Actual Cost 

 Actual Price x Actual Quantity 

ju mlf;ftpiy cz;ik mlf;ftpiyia tplf; $Ljyhf 

,Ue;jhy;  NtWghL rhjfkhdJ. 

Neub %yg;nghUs; mlf;;ftpiy NtWghl;il m) %yg;nghUs; 

tpiy NtWghL M) %yg;nghUis gad;ghl;L NtWghL  vd gphpf;fyhk;. 

 
m) %yg;nghUs; tpiy NtWghL (Material Price Variance): 

,J %yg;nghUspd; xU gAfjpahFk;. Fwpf;fg;gl;l ju tpiyf;Fk;> 

nrYj;jg;gl;l cz;ik tpiyf;Fk; ,ilNa cs;s NtWghl;Lj; 
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njhifapy; Vw;gLk; %yg;nghUs; mlf;tpiy NtWghl;il xU gFjpNa 

%yg;nghUs; tpiu NtWghlhFk;. 

 
%yg;nghUs; tpiy NtWghL = cz;ik msT (jutpiy - cz;ik 

tpiy) 

Material Price Variance = Actual Quantity (Standard price - Actual price) 

 
M) %yg;nghUs; gad;ghl;L NtWghL (Material Usage Variance): 

,J %yg;nghUspd; xU gFjpahFk; Vw;gl;bUf;Fk; cw;gj;jpf;F 

Fwp;g;gpl;l ju msTf;Fk; cz;ikapy; gad;gLj;jg;gl;l msTf;Fk; cs; 

NtWghl;bd; fhuzkhf Neub %yg;nghUs; mlf;ftpiyapy; Vw;gl;l 

NtWghl;bd; xU gFjpia %yg;nghUs; gad;ghl;L NtWghlhFk;. 

%yg;nghUl;fspd; NtWghL = jutpiy (cz;ik cw;gj;jpf;fhd  

ju msT - cz;ik msT) 

Material usage variance = Standard price (Standard Quantity for actual output 

– Actual output) 

Verification: 

Material Cost Variance = Material Price Variance + Material Usage Variance 

%yg;nghUs; gad;ghl;L NtWghl;il ,uz;L tifahf gphpf;fyhk;. 

1. %yg;nghUs; fyit NtWghL (Material Mix Variance) 

2. %yg;nghUs; tpisT NtWghL (Material Yield Variance) 

 

   Material Usage Variance 

 

Material    Material 

                    Mix Variance          Yield Variance 

 

1. %yg;nghUs; fyit NtWghL (Material Mix Variance) 
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,J %yg;nghUs; gad;ghl;L NtWghl;bd; xU gFjpahFk;. xU 

nghUs; cw;gj;jp nra;a gy;NtW %yg;nghUs;fs; gad;gLj;JtNj fyit 

vd;W ngah;. %yg;nghUs; fyit NtWghL vd;gJ jufyitapd; 

jutpiyf;Fk;;> cz;ik fyitapd; ju tpiyf;Fk; cs;s Ntw;Wik 

njhifahFk;. ,e;j NtWghl;il fzf;fpl gpd;tUk; jutpiy 

gad;gLj;jg;gLfpwJ. 

 
,e;j NtWghL gpd;tUk; ,uz;L $o;epiyfspy; fzf;fplg;gLfpwJ. 

m) fyitapd; cz;ik vilAk;> fyitapd; ju vilAk; rkkhf 

,Ue;jhy;. 

M) fyitapd; cz;ik vil > fyitapd; ju vilapypUe;J 

khWgl;L ,Ue;jhy;. 

a) fyitapd; cz;ik vilAk;> fyitapd; ju vilAk; rkkhf 

,Uj;jy;. 

%yg;nghUs; fyit NtWghL = ju myF tpiy (ju msT -  

cz;ik msT) 

Standard Unit Cost (Standard Quantity – Actual Quantity) 

Or 

 Material Mix Variance = (Standard Price x Standard Quantity)- (Standard 

price – Actual Quantity) 

%yg;nghUspd; Fiwthy; ju msT khw;wpaikf;fg;gl;lhy;! 

(If the standard is revised due to shortage of Material) 

Material Mix Standard 

Variable = Unit cost (Revised Standard Quantity – Actual Quanttity) 

Problem : I From the following information calculate Material Mix Variance 

Material               Standard          Actual 

A 200 units@ Rs.15 160 units @ Rs.16 

B 100 units @ Rs.12 140 units @ Rs.12 

  300 



 

173 
 

 

Due to shortage of material A, it was decided to reduce usage of A by 15% 

and increase that of Material B by 30% 

 

Solution: Fwpg;G Std Mix and Actual mix rkkhapUf;fpwJ (300 units) Revised 

Standard Mix: 

Material A : 200 units x 85/100 =   170 units 

Material B : 100 units x 130/100 = 130 units 

Total Weight of Std Mix = 300 units 

Mateiral Mix Variance : 

Std unit cost (Revised Std Qty – Actual Qty) 

Material A = 15 (170 units – 160 units) Rs.150 (F) 

Material B = 12 (130 units – 140 units) Rs.120 (A) 

  Material Mix Variance Rs. 30 (F) 

b) fyitapd; cz;ik vilAk;> ju vilAk; khWgl;lhy;: 

 (When actual mix differs from standard mix) 

Formula : Material Mix Variance:- 

 Total Weight of Actual Mix x Standard Cost of Standard Mix -- Standard Cost 

of Actual Mix 

Total Wieght of Standars Mix  

Std Cost of Std Mix = Std Price x Std Qty 

Std  Cost of Actual Mix = Std Std Price x Actual Qty. 

Problem 2: From the data given below, calculate Material variances 

Material Unit Standard Price Actual Unit Price 

A 80 10.00 90 8 

B 70 3.00 80 5 

 150  170  

 

Solution : 1) Material Cost Variance (MCV): 
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MCV = Standard Cost – Actual cost 

Material A = 80 x 10 - 90 x 8 = ( 800 – 720 ) = 80 (F) 

Material B = 70 x 3 - 80 x 5 = (210 – 400) = 190 (A) 

      MCV Rs.110(A) 

2) Material Price Variance (MUV) 

MPV = Actual Quantity (Standard price – Actual price) 

Material A = 90 (10-8) Rs.180 (F) 

Material B = 80 (3-5)  Rs.160 (A) 

    Rs.  20 (F) 

3) Material Usage Variance (MUV) 

 MUV = Std Price (Std Quantity – Actual Quantity) 

Material A = 10 (80-90) = Rs.100 A 

    B = 3 (70-80) =   Rs.  30 A 

           Rs.130A 

Verification: 

 MCV = MPV = MUV 

 110A = 20(F) = 130A 

 

3. A) Material Mix Variance (MMV) 

,q;F fyitapd; ju vilAk;> cz;ik vilAk; khWgl;Ls;sd. (Both 

StdMix and Actual Mix are Differ) 

MMV = Total Weight of Actual Mix  x Standard Cost of Std Mix - Standard Cost 

of Actual Mix 

   Total Weight of standard mix 

 = 170 x 80 x 10 = 70 x 3 – 90 x 10 + 80 x3 

    150 

 = 170 x 800 + 210 – 900 + 240 

    150 
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 = 171700  - 1140 

        150 

 = 1144.66 – 1140 = 4.46 (Favourable) 

 

1.  %yg;nghUs; tpisT NtWghL (Material Yield Variance) 

,J xU %yg;nghs; gad;ghl;bd; xU gFjpahFk;. ,J cz;ik 

tpisTf;Fk;> jutpisTf;Fk; cs;s NtWghl;by; Vw;gLfpwJ. 

Fwpf;fg;gl;l ju tpisTf;Fk;> ngwg;gl;l cz;ik tpisTf;Fk; 

cs;s NtWghl;L njhifahy; Vw;gl;l %yg;nghUs; gad;ghl;L 

NtWghl;bd; gFjpahFk;. 

jumyfpd; ju mlf;ftpiy (cz;ik tpisT - ju tpisT) 

 Std Rate (Actual Yield – Standard Yield) 

Standard Rate = Standard Cost of Standard Mix 

            Net Standard Output 

Net standard Output = Gross Output – Normal Loss 

Verification: 

Material Usage Variance = Material Mix Variance + MaterialYield Variance 

Problem 3 : From the following data, Calculate Material Yield Variance 

 Standard Mix Actual Mix 

Material A 300 units @ Rs.10 200 units @ Rs.12 

Material B 200 units @ Rs.15 300 units @ Rs.15 

Standard loss allowed is 10% - Actual output 475 units 

Solution: 

 ,jpy; Std Mix, Actual Mix (500 units) rkkhf cs;sJ. mjdhy; ju 

khw;wpaikg;G Njitapy;iy. 

   Standard Mix    Actual Mix 

Material A 300 x 10 = 3000 200 x 12 = 2400 

Material B 200 x 15 = 3000 300 x 15 = 4500 

 500 units   6000 500 units    6900 
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Less Normal Loss 10% 

(500 x 10/100) 

50 units      ---- 25 units      ----- 

Output 450 units    6000 475 units     6900 

Standard Cost per Unit = 6000 = 13.33 

                                          450 

 

Yiel Variance  = Standard Rate (Actual Yield – Standard Yield) 

  = 13.33 (475 units - 450 units) 

  = 13.33 x 25 units = Rs.333.33 (Favourable) 

Note : Actual Yield mjpfkhapUe;jhy; Favourable. 

2. Neub ciog;G NtWghLfs; (direct Labour Variance) 

ciog;G NtWghL Iw;J tifg;gLk;. 

1. ciog;G mlf;ftpiy NtWghL 

2. ciog;G $yptpfpj NtWghL 

3. ciog;G jpwik NtWghL 

4. ,aq;fh Neu NtWghL 

5. ciog;G fyit NtWghL 

 

1) ciog;G mlf;ftpiy NtWghL (Labour Cost Variance) 

,J epiwNtw;wg;gl;l nray;ghl;Lf;Fk; Fwpf;fg;gl;l ju Neubf 

$ypf;Fk; nrYj;jg;gl;l cz;ik Neuf;$ypf;Fk; cs; NtWghl;L 

njhifahFk;. 

cz;ik cw;gj;;jpahd juciog;G mlf;ftpiy - cz;ik ciog;G 

mlf;ftpiy 

= cz;ik cw;gj;jp (juNeuk; x juf;$yp tPjk;) - cz;ikNeuk; x 

cz;ik$yptPjk; 

Labour Cost Variance = Standard Labour Cost ofr Actual Output– Actual Cost 

Std Cost = Std Rate x Std Time for Actual Output 

Actual Cost = Actual Rate x Actual Time 
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Std Time for Actual Output =   Std Time  x Actual Output 

     Std Output 

ciog;G mlf;ftpiy NtWghl;il ,uz;lhf gphpf;fyhk;. 

m) ciog;G $yp tPj NtWghL  (Labour Rate Variance)  

,J xU ciog;G mlf;ftpiy NtWghl;bd; xU gFjpahFk;. ,J 

Fwpf;fg;gl;l ju $yp tPjj;jpw;Fk; nrYj;jg;gl;l cz;ik tPjj;jpw;Fk; 

cs;s NtWghl;L njhifahy; Vw;gLfpwJ. 

ciog;G $yptPj NtWghL = cz;ikNeuk; (jutPjk; - cz;iktPjk;) 

Labour Rate variance = Actual Time (Standard Rate – Actual Rate) 

Standard Rate mjpfkhapUe;jhy; Favourable 

 

M) ciog;G jpwik (Neuk;) NtWghL(Labour Efficiency Time) variance) 

,J xU ciog;G mlf;ftpiy NtWghl;bd; gFjpahFk;. ,J 

Fwpf;fg;gl;l ju ciog;G Neuj;jpw;Fk;> nrytplg;gl;l cz;ik  

Neuj;jpw;Fk; cs;s NtWghl;lhy; Vw;gLk; ciog;G mlf;ftpiy 

NtWghl;bd; gFjpahFk;. 

Labour Efficiency Variance = Standard Rate (Standard Time for Actual output 

– Actual time) 

ju$yp tPjk; (cz;ik cw;gj;jpapd; juNeuk; - cz;ikNeuk;) 

m) ,aq;fh Neu NtWghL (Idle time Variance) 

,J ciog;G jpwik NtWghl;bd; xU gFjpahFk;. Ntiy epWj;jk;> 

fjtilg;G> kpd;jil Nghd;w fhuzj;jhy; Vw;gLfpwJ. mrhjhuz ,aq;f 

Neuj;jy; cz;ikahf cioj;j Neuk; Fwpf;fg;gl;l ju Neuj;ijtpl 

FiwthfapUf;Fk;. 

= ,aq;fh Neuk; x juNeu tPjk;. 

Abnormal Idle Time x Standard Rate = (Unfavourable) 

 

M) ciog;G fyit NtWghL ( Gang Composition/ Mix Variance) 
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,J xU ciog;G jpwik NtWghl;bd; xU gFjpahFk;. 

cz;ikahd ciog;ghsh; njhFg;G fug;Gf;Fk; ju ciog;ghsh; njhFg;G 

fyg;Gf;Fk; cs;s khw;wj;jhy; tUtJ ciog;G fyit vd;W ngah;. ,J 

%yg;nghUs; fyit Nghy fhzg;gLk;. 

i) ciog;G fyitapd; juNeuKk;> cz;ik NeuKk; xd;whf 

,Ue;jhy;.(No change in standard composition of labour force and 

total time is equal to total standard time) 

Labour mix variance=standard cost of standard cost of composition –standard 

cost of actual composition  

ii) ciog;G fyitapd; juNeuKk;> cz;ik NeuKk; 

khWgl;bUe;jhy;. 

(If total actual time of labour differ from totalstandard time of labour) 

Total Time of Actual 

Labour Composition 

Total Time of Standard X Standard Cost of Standard Composition 

Labour Composition 

Standard Cost of Actual Composition 

,) ciog;G tpisT NtWghL (Labour Yield Variance) 

,J cw;gj;jpapy; njhlh;ghd juj;ij xg;gpLk; NghJ Vw;gLk; $Ljy; 

Fiwtpdhy; ciog;G mlf;ftpiy Vw;gLk; NtWghl;L njhifahFk;. 

=Standard Labour Cost per unit (Actual Yield – Standard Yield) 

Problem: 4 

 Using the following information Calculate Labour variances. Gross direct 

wages = Rs.5400 

Standard hours produced = Rs.2000 

Standard rate per hour  = Rs.2 

(Actual hours paid 1800hours out of which hours not worked (Abnormal idle 

time) are 100. 

Solution : Actual rate = Gross Direct wages = Rs.5400 
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         Actual time   1800 hours =  Rs.3 per hour 

a) Labour Cost Variance: Standard Cost of Labour - Actual Cost of Labour 

i) Standard cost of Labour = Standard hours x Standard rateRs. 4000 = 2000 x 

Rs.2 

ii) Actual Cost of Labour = Actual hours x Actual rate = 1800 hours x Rs.3 = 

Rs.5400 

Labour cost variance Rs.4000 - Rs.5400 = Rs.1400 (A) 

b) Labour Rate Variance = Actualtime (Standard rate – Actual rate) 

1800 hours (Rs.2 - Rs.3) = 1800 hours x Rs.1 = Rs.1800 (A) 

c) Labour Efficiency Variance = Std Rate (Std time – Actual time) 

Actual time = Actual hours – Idle time 

= 1800 hours – 100 hours = 1700 hours 

Rs.2 (2000 – 1700) = 300 hours x Rs.2 = Rs.600 (F) 

d) Idle Time Variance = Abnormal idle time x Standard rate 100 hours x 2 per hour 

= Rs.200 (A) 

Verification 

Labour Cost Variable = Labour Rate Variance + Labour Efficiency Variance + 

idle time variance 

Rs.1400 (a) = 1800 (A) + Rs.600 (F) + 200 (A) 

3. Nkw;nryTNtWghLfs; ( Over head Variance) 

Nkw;r;nryT vd;gJ kiwKf %yg;nghUs;fs;> kiwKf ciog;G 

kiwKf nryTfs; mlq;fpajhFk;. Nkw;r;;nryTfis epiyahd 

Nkw;r;nryT> khWgLk; Nkw;r;nryT vd ,uz;L tifahd Nkw;r;nryTfs; 

cs;sd. 

Nkw;r;nryT NtWghL vd;gJ cz;ikahd nrytopf;fg;gl;l 

Nkw;r;nryTfSf;Fk; cz;ik cw;gj;jpf;F my;yJ cz;ikapy; 

nrytpl;l Neuq;fSf;F epjpj;jpl;l Nkw;r;nryTf;Fk; cs;s NtWghl;L 

njhifahFk;. 

Overhead Cost Variance 



 

180 
 

Actual Output x Standard overhead rate per unit - Actual Overhead Cost 

(or) 

Std hours for Actual output x Std Overhead rate per unit - Actual Overhead Cost 

i) Variable Overhead Expenditure Variance 

Actual hours (Std. Variable Overhead – Actual Variable Overhead Rate per 

hour) 

ii) Variable Overhead Efficiency Variance: 

Std time for Actual output X Std Variable Overhead per hour – Actual hours 

worked X Std. Variable overhead per hour. 

II. Fixed overhead Variance: 

Actual output x Std fixed overhead rate per unit – Actual fixed overhead 

i) Expenditure Variance : ,J epiyahd Nkw;nrytpd; xU gFjpahFk;. 

 Budgeted fixed overheads – Actual fixed overheads. 

ii) Volume variance: (msT NtWghL) 

Actual output x Std rate – Budgeted fixed overheads. 

m) nfhs;ssT NtWghL (Capacity Variance) 

,J ,ae;jpuq;fs;> nghwpfspd; $Ljy; my;yJ FiwT 

gad;gLj;jyhy; tpisAk; msT NtWghl;bd; gFjpahFk;. 

M) Mz;L Fwpg;Ngl;L NtWghL 

cz;ikahd ehl;fspd; vz;zpf;iff;Fk;> jpl;lkpl;l ehl;fspd; 

vz;zpf;iff;Fk; cs;s khWgl;lhy; ,e;j NtWghL tUfpd;wJ. 

 

,) jpwik NtWghL (Efficiency Variance) 

,J vjph;ghh;j;jij tpl mjpf my;yJ Fiwe;j jpwikapd; fhuzkhf 

cw;gj;jpapy; mjpfhpg;G my;yj FiwT Vw;gLtjhy; ,e;j NtWghL 

tUfpd;wJ. 

 
4. tpw;gid NtWghLfs; (Sales Variance) 
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tpw;gid NtWghl;il fz;Lgpbj;jhy; myhgNtWghl;il  

fzf;fplKbAk;. 

 
tpw;gid NtWghLfis ,uz;L topfspy; fzf;fplyhk;. 

(i) tpwgid kjpg;G  (ii) ,yhgk;. 

 
i.  tpw;gid kjpg;G Kiw (Sales Value Variance) 

,jpy; %d;W Kiw NtWghLfs; cs;sd. 

1. tpw;gid kjpg;G NtWghL 

2. tpw;gid tpiy NtWghL  

3. tpw;gid msT NtWghL: 

tpw;gid msT NtWghl;il ,U tifahf gphpf;fyhk;. mit 

m) fyit NtWghL 

M) msit NtWghL 

m) fyit NtWghL: 

,jid ,uz;L topfspy; fzf;fplyhk;. 

1. msitapd; mbg;gilapy; 

2. kjpg;gPl;bd; mbg;gilapy; 

tpdhf;fs;: 

1. jumlf;ftpiy Kiw -tiutpyf;fzk; jUf. 

2. ju mlf;ftpiy tiutpyf;fzk; 

3. ju mlf;ftpiy Kiwf;Fk; epjp jpl;l fl;Lg;ghl;Lf;Fk; cs;s 

NtWghLfis $Wf 

4. ju mlf;ftpiy Kiwapd;  ed;ikfs; kw;Wk; FiwghLfis 

tpthp? 

5. NtWghl;L gFg;gha;T gw;wp $Wf 

6. juq;fspd; tiffis $Wf? 

7. Neub %yg;nghUspd; NtWghl;il $Wf 

8. %yg;nghUs; fyit NtWghl;il $Wf 

9. Nkw;rnryT NtWghl;il $Wf. 

10. Neub ciog;G NtWghl;il $Wf. 
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,Wjpepiyr;nryT (Marginal Costing) 

,Wjp epiyr;nryT vd;gJ xU khWk; nrythfk;. ,jpy; Kjd;ik 

mlf;ftpiyAk; kw;Wk; khWk; Nkw;rnryTk; mlq;fpAs;sJ. 

 Direct Material xx 

Direct Labour  xx 

 Direct Expenses xx 

Prime Cost   xxx 

xxx 

Add Variable Overheads: 

Variable Manufacturing Overheads  xx 

Variable Administrative Overheads  xx 

Variable Selling & Distribution Overheads xx 

Marginal Cost (Or) Variable cost  xx 

 
1. ,Wjpepiyr;nryT -nghUs; tpsf;fk; (Marginal Cost) 

,Wjp epiy mlf;ftpiy vd;gJ nfhLf;fgl;l ve;j xU cw;gj;jp 

msT kl;lj;jpYk; cw;gj;jpapd; msT xU myF mjpfhpj;jhNyh my;yJ 

xU myF fiwe;jhNyh nkhj;j mlf;ftpiyapy; khWjy; Vw;gLj;Jk; 

eilKiwapy; ,J xU myFf;fhd nkhj;j khWgLk; mlf;ftpiyfshy; 

mspf;fg;gLfpwJ. 
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2. ,Wjpepiyr; nryTKiw - nghUs; tpsf;fk; (Marginal Costing) 

,Wjpepiyr; nray;Kiw vd;gJ ,Wjpepiyr; nryTfis 

fzf;fpLtJ. epiyahd nryTfisAk; khWk; nryTfisak;> 

NtWgLj;jp cw;gj;jp mstpYk;> tifapYk; Vw;gLk; khw;wq;fshy; 

,yhgj;jpy; Vw;gLk; tpisitAk; fzf;fpLtJ MFk;. 

,Wjpepiy nryT xU mlf;ftpiy fzf;F Kiway;y. ,J xU 

cj;jpNaahFk;. vdNt epiyahd mlf;ftpiyapidAk; NtWgLj;jp ,Wjp 

epiy mlf;ftpiyia eph;zapg;gNj ,Wjp epiy mlf;tpiy vd;W ngah;. 

3. ,Wjpepiyr; nryT Kiwapd; rpwg;gpay;Gfs; (Characteristics) 

 ,J midj;J mlfftpiy $Wfshfpa - cw;gj;jp> eph;thfk;> 

tpw;gid   toq;fy; mlf;ftpiy $Wfis khWjw;Fhpait. 

epiyahdit vd ,uz;lhf gphpf;fg;gLfpd;wd. ,ilepiy 

khWQ;nryTfiss epiyahdit khWjw;Fhpait vd gphpf;fpd;wJ. 

 khWk; nryTfffs; kl;LNk cw;gj;jp nghUspd; mlf;ftpiyahf 

fUjg;gLfpwJ. 

 KOikaile;j cw;gj;jp nghUspd; ,Ug;Gk;> KOikailahj 

nghUspd; ,Ug;Gk; ,Wjp epiy mlf;ftpiyfspNyNa 

kjpg;gplg;gLfpd;wJ. 

 epiyahd nryTfhyr; nryTfshf fUjg;gl;L mit njhlh;G 

nfhz;l fhyj;jpd; ,yhg el;l fzf;Ff;F gw;W itf;fg;gLfpd;wJ. 

 ,Wjpepiy nryTld; gq;fspg;G njhifia $l;b tpiy 

eph;zapf;fg;gLfpd;wd. 

gq;fspg;G njhif vd;gJ tpw;gidf;Fk; ,Wjp epiy nrytpw;Fk; 

cs;s tp;j;jpahr njhifahFk;. 

 ,J nryTfis gFg;gha;T nra;aTk;> Kd; Nehf;fp fzpg;G 

nra;aTk; gad;gLk; xU cj;jpahFk;. ,J Nkyhz;ik KbTfs; 

Nkw;nfhs;s Nkyhz;ikapdUf;F cjTfpd;wJ. ,J mlf;ftpiy 

Kiway;y. 
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4. ,Wjpepiy nryT Kiwapd; Cf;fq;fs; 

1. mlf;ftpiyapd; vy;yh mb;g;gil $Wfs; epiyahdit 

khWjw;Fhpait vd ,uz;L tifahfg;gphpf;fpd;wJ. 

2. cw;gj;jp msT kl;Lk; mlf;ftpiyia ghjpf;Fk; xNu fhuzpahFk;. 

3. cw;gj;jp kl;lk; vJthf ,Ue;jhYk; ($bdhNyh my;yJ 

Fiwe;jhNyh) xU cw;gj;jp myfpd; khWjw;Fhpa mlf;ftpiy 

epiyahf ,Uf;Fk;. nkhj;j cw;gj;jpapd; msT tpfpjg;gb 

khWk;nghOJ mjw;F jFe;jthW khWjw;Fhpa nryTk; tpfpjg;gb 

khWk;.vdNt Variable unit ve;j mstpYk; khwhJ. 

4. epiyahd nryT cw;gj;jp msT KOikf;Fk; khwhky; ,Uf;Fk;. 

Mdhy; xU myfpd; cw;gj;jpapy; khWgLk;. cw;gj;jp $bdhy; xU 

myfpd; epiyahf nryT FiwAk; cw;gj;jp Fiwe;jhy; xU 

myfpd; epiyahd nryT mjpfhpf;Fk;. 

5. xU myfpd; tpw;gid tpiy vy;yh kl;lj;jpYk; khwhkypUf;Fk;. 

 
5. <h;g;G mlf;ftpiy Kiw (Absorption Costing) 

,k;Kiwapy; nryTfs; KOtJk; cw;gj;jpf;F gw;W 

vOjg;gLfpd;wd. epiyahd nryTfSk;> khWk; nryTfSk; 

cw;gj;jpdpd;Wk; jpUk;g ngwg;gLfpd;wd. nkhj;j nryTfs; KOtJk; 

cw;gj;jpf;F gw;wplg;gLtjhy; ,jid KO mlf;ftpiy Kiw vd;W 

ngah;. ,jpy; khWk; nryTfs; cw;gj;jpf;F Neubahf toq;fg;gLfpd;wd. 

epiyahd nryTfis nghUj;jkhd mbg;gilapy; midj;J 

nryTfisak; $l;b cw;gj;jp nghUSf;F NeubahfNth my;yJ 

kiwKfkhfNth gphpj;jspf;fg;gLfpd;wJ. ,jpy; xt;nthU cw;gj;jp 

myFk; nkhj;j mlf;ftpiyapy; gq;Nfw;fpwJ. 

 

6. ,Wjpepiy nryT Kiwf;Fk;  ><h;g;G mlf;ftpiy Kiwf;Fk; cs;s 

NtWghLfs;. 

,Ejpepiyr; nryT ruf;F mlf;ftpiy 

,jpy; khWk; nryTfs; kl;LNk ,J nkhj;j mlf;ftpiyapd; 
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cw;gj;jp nghUs;fspd; 

mlf;ftpiyahf fUjg;gLfpwJ. 

cj;jpahFk;.;. ,jpy; khWk; 

nryTfs; epiyahd nryTfs; 

Mfpa ,uz;Lk; cw;gj;jp 

nghUl;fspd; mlf;ftpiyahf 

fUjg;gLfpwJ. 

KOikahd ruf;fpUg;G kw;Wk; 

KOikailahj ruf;fpUg;G 

Mfpaitfis khWk; nryT 

mbg;gilapNyNa 

kjpg;gplg;gLfpd;wd 

KOikahd ruf;fpUg;G kw;Wk; 

KOikailahj ruf;fpUg;G 

Mfpaitfis khWk; nryT kw;Wk; 

epiyahd nryT mbg;gilapNyNa 

kjpg;gplg;gLfp;d;wd. ,jdhy; 

ruf;fpUg;G kjpg;G mjpy; mjpfkhf 

fhzg;gLfpd;wJ. 

,jpy; epiyahd nryT vLj;J 

nfhs;shjjhy; $Ljy; kw;Wk; Fiw 

kPl;G vd;w Nfs;tp vOjtpy;iy 

,jpy; epiyahd nryit rhpahd 
mbg;gilapy; gphpf;fhjjhy; $Ljy; 
kw;Wk; Fiw kPl;G Vw;gl 
tha;g;Gs;sJ. 

khWk; nryit tpl tpw;gid 

njhif mjpfkhapUf;Fk;. vQ;rpa 

njhifNa gq;fspg;G vd;W ngah;. 

gq;fspg;G Nkyhz;ikia 

KbntLf;f cjTfpd;wJ. 

nkhj;j nryit tpl 

tpw;gidnjhif mjpfkhfapUf;Fk; 

vQ;rpa njhifNa ,yhgk; vd;W 

ngah;.,yhgNk Nkyhz;ikapd; 

goikahd KiwahFk; 

,J mlf;ftpiyapd; etPd 

cj;jpahFk;. 

,J mlf;ftpiyapd; goikahd 

KiwahFk;. 

mlf;ftpiy -tpw;gid msT 

,yhgk; Mfpatw;wpd; njhlh;ig 

fhl;Lfpd;wJ 

mlf;tpiy- tpw;gidmsT- ,yhgk; 

Mfpatw;wpd; njhlh;ig 

fhl;Ltjpy;;;iy 

 

7. <h;g;G mlf;ftpiy Kiwapd; ed;ikfs; 

1. ,J nghUspd; tpiyia eph;zapf;f nkhj;j nryit vLj;J 

nfhs;fpwJ. mjhtJ khWk; nryitAk;> epiyahd nryitAk; 

vLj;J nfhs;tjhy; nryT Jy;ypakhf fzf;fplg;gLfpwJ. Mdhy; 
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,Wjpepiy nrytpy; nkhj;j nryT vd;gJ khWk; nryit kl;Lk; 

vLj;J nfhs;tjhy; nryT Jy;ypakhf ,Ug;gjpy;iy. 

2. epiyahd nryT me;e me;j mlf;ftpiy ikaj;jpw;F xJf;fPL 

nra;ag;gLfpwJ. vdNt epiyahd nryit gfph;e;jspf;f Ntz;ba 

mtrpakpy;iy 

3. kpifkPl;G Nkw;nryT kw;Wk; FiwkPl;G Nkw;r;nryT ,jpy; 

fhzg;gLk;. ,jd;%yk; cw;gj;jpf;fhd tsq;fis Kiwahf 

gad;gLj;jhjtw;iw ,J Rl;b fhz;gpf;fpwJ. 

4. ruf;fpUg;G Kiwapy; fzf;fpay; Kiwg;gb epiyahd nryit 

fzf;fpy; vLj;Jf;nfhz;L ruf;if kjpg;gplg;gLfpd;wd. 

5. ,k;Kiwpay; mlf;ftpiyAld; Nrh;j;J ,yhgk; fzf;fpLtjhy; 

nryTfs; midj;Jk; kPl;fg;gLfpd;wd. 

 
8. <h;g;G mlf;ftpiyapd; FiwghLfs; 

 nryit xg;gpLtJ kw;wk; nryit fl;Lg;gLj;JtJk; kpfTk; fbdk; 

Vnddpy; <h;g;GKiwahdJ cw;gj;jpapd; msit rhh;e;Js;sJ. 

gy;ntW cw;gj;jp msTf;F Vw;g gy;NtW nryTfs; cs;sd. 

epiyahd nryit ,jpy; vLj;Jf; nfhs;tjhy; cw;gj;jpapd; msT 

FiwAk; nghOJ xU myfpd; mlf;ftpiy $Lfpd;wJ. ,jdhy; 

mlf;ftpiy xg;gplNyh my;yJ fl;Lg;gLj;j Kbtjpy;iy. 

 ,J Nkyhz;ikapdUf;F Nkyhz;ik rk;ge;jkhd  KbTfis 

vLf;f cjTtjpy;iy, v.fh. nghUj;jkhd cw;gj;jp > tpw;gid 

fyit Njh;e;njLj;jy; nghUs; cw;gj;jp nra;tjh> thq;Ftjh 

KbTfs; Kf;fpa fhuzpfs;. 

 ,k;Kiwpy; epiyahd nrytpy; xU gFjpapid mLj;j tUlj;jpw;F 

nfhz;L nry;yg;gLfpwJ. Vnddpy; ruf;fpUg;ig cw;gj;jpapd; 

mlf;ftpiyapy; kjpg;gplg;gLtjhy; mjpy; epiyahd nryTk; 

Nrh;e;Js;sJ. 

 ,k;Kiwapy; cw;gj;jpf;fhd nryit kl;LNk vLj;J nfhs;fpd;wdh;. 

tpw;gid kw;Wk; tpepNahf Nkw;r;nryit vLj;J nfhs;tjpy;iy. 
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9. gq;fspg;G (Contribution) 

gq;fspg;G vd;gJ tpw;gidf;Fk;> khWk; nryTfSf;fk; cs;s 

NtWghl;L njhifahFk;. gq;fspg;G vd;gJ tpw;gidahdJ mjd; khWk; 

nryTfis tpl vQ;rp epw;Fk; njhif vd;gjhy; ,J epiyahd 

nryTf;Fk; ,yhgj;jpw;Fk; gq;fspf;fg;gLk; njhifahFk;. gq;fspg;ig 

nkhj;j ,ilntsp vd;Wk; gq;fsp;g;G tpopk;G vd miof;fg;gLfpwJ. 

Contribution = Sales - Variable Cost 

(or) 

contribution = Fixed Cost + Profit 

 
10. gq;fspg;gpd; ed;ikfs; 

i. tpw;gid tpiyia ephzak; nra;a cjTfpwJ 

ii. rhprk epiyg;Gs;spia fz;Lgpbf;fyhk;. (Break Even Point) 

iii. Fiw;ej gl;rk; ,yhgk; ngw jFe;j cw;gj;jp nghUs; fyitia 

Njh;e;njLg;gjpy; Nkyhz;ikapdUf;F cjTfpwJ. 

iv. Gjpa Mizfis Vw;fNth my;yJ kWg;g nra;aNth gq;fspg;G 

cjTfpd;wJ. 

v. gq;fspg;G Nkyhz;ikapdUf;F KbTfis vLf;f Kf;fpakhdjhf 

tpsq;Ffpd;wJ. 

vi. re;ijapy; Gjpa nghUis mwpKfg;gLj;jTk;. 

vii. gy;NtW khw;W cw;gj;jp Kiwfspy; xd;iwj; Njh;e;njLf;fTk; ,J 

cjTfpwJ. 

11. rhprkepiyg;Gs;sp (Break even Point) (B.E.P) 

rhprkepiyg;Gs;sp vd;gJ nkhj;j tUthAk; (Total Revenue) nkhj;j 

nryTk; rkkhf cs;s xU Gs;spahFk;. 

 B.E.P = Total Sales - Total Cost 

,J ,yhgKk; el;lKk; ,y;yhj Gs;sp vd Rl;b fhl;Lfpd;wJ. 

nkhj;j tpw;gidAk; nkhj;j nryTk; rkkhf ntl;Lk; Gs;spNa 
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rhprkepiyg;Gs;spahFk;. ,;e;jGs;spapy; gq;fspg;G (tpw;gid - khWk; 

nryT) epiyahd nryTf;F rkkhf ,Uf;Fk;. ,e;j Gs;spapy; el;lKk; 

,y;iy ,yhgKk; ,y;yhj Gs;spahFk;. 

12. rhprkepiy gFg;gha;tpd; Cfq;fs; (Assumption of B.E.P) 

i. mlf;ftpiyapd; mbg;il $Wfs; khWjw;Fhpait kw;Wk; 

epiyahdit vd ,uz;L tifahf gphpf;fg;gLfp;d;wJ. 

ii. cw;gj;jp mstpy; khWjy; Vw;gl;lhy; khWk; nryTk; Neh; 

tpfpjj;jpy; khWk;. Mdhy; xU myfpy; tpw;gis tpiy khwhJ. 

iii. vy;yh cw;gj;jp kl;lj;jpYk; epiyahd nryT khWtjpy;iy 

iv. xNu tpw;gid tpiy 

v. cw;gj;jp msT kl;LNk mlf;ftpiyia ghjpf;Fk; xNu 

fhuzpahFk;. 

vi. nghJ tpiythrpapy; khw;wk; ,Uf;ff;$lhJ. 

vii. xNu xU nghUis kl;LNk tpw;fg;gLfpwJ. 

 

13.,yhg / tpw;gid msT tpfpjk;( Profit Volume Ratio) P.V Ratio 

,J xU epWtdj;jpd; nray;ghl;L jpwdpd; ,yhgj;jd;ikia mwpe;J 

nfhs;s Kf;fpakhjhf tpsq;FfpwJ. 

Formula 

𝑃

𝑉
𝑅𝑎𝑡𝑖𝑜 =

𝑐𝑜𝑛𝑡𝑟𝑖𝑏𝑢𝑡𝑖𝑜𝑛

𝑠𝑎𝑙𝑒𝑠
× 100 

,jid gq;fspg;G tpfpjk; vd;Wk; ,Wjpepiy tpfpjk; vdTk; 

miof;fyhk;. 
𝑃

𝑉
𝑅𝑎𝑡𝑖𝑜  mjpfhpj;jhy; ,yhgj;jdik mjpfhpf;Fk;. 

𝑃

𝑉
𝑅𝑎𝑡𝑖𝑜 

Fiw;ejhy; ,yhgj;jdik FiwAk; . ,J tpw;gid mstpy; Vw;gLk; 

khw;wq;fs; ,yhgj;jpd; kPJ Vw;gLj;Jk; tpisit ntspf;fhl;LfpwJ. 

 
gad;fs;: 

1. rhprkepiy Gs;spia fzf;fpl cjTfpd;wJ. 

2. nfhLf;fg;gl;l tpw;gid mstpy; ,yhgk; fzf;fplyhk;. 
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3. nfhLf;fg;gl;l ,yhgk; ngw Njitahd tpw;gidia fzf;fplTk; 

𝑃

𝑉
𝑅𝑎𝑡𝑖𝑜 I gad;gLj;jyhk;. 

14. ghJfhg;G gFjp my;yJ ghJfhg;G ,ilntsp (Margin of Safety) 

cz;ikahd tpw;gidahdJ rhprkepiy tpw;gidiatpl 

mjpfkhapUe;jhy; mw;j NtWghl;L njhifNa ghJfhg;G gFjp vd;W 

ngah;. 

= nkhj;j tpw;gis - rhprkepiyg;Gs;sp tpw;gid 

= Actual Sales - Break Even Sales (or) 

= Profit // P/v ratio 

Margine of Safety vd;gJ cz;ikahd tpw;gidf;Fk; rhprkepiy 

Gs;spapy; ccs;s tpw;gidf;Fk; cs;s NtWghl;L njhifahFk;. ,J 

xU epWtdj;jpd; ,yhg nray;jpwid Fwpf;fpd;wJ. ,jd; njhif 

mjpfkhapUe;jhy; epWtdk; ey;y nray;ghl;Lld; eilngWfpwJ vd 

nfhs;syhk;. ghJfhg;G ,ilntsp rpwpajhfapUe;jhy; epWtdj;jpd; 

nray;ghL gyk; Fiwe;J fhz;ggLfpwJ vd;gjhFk;. 

 
15. gLNfhzk; (Angle of Incidence) 

tpw;gidf;NfhLk; nkhj;j nryTfs; NfhLk; xd;Wf;nfhd;W 

ntl;bf;;nfhs;Sk; ,e;j Gs;spNa rhprkepiyg;Gs;sp vd;W ngah;. ,e;j 

,uz;L Nfhl;Lf;Fk; ,ilapy;Vw;gl;bUf;fk; Nfhzk; gLNfhzk; vd;W 

ngah;. ,J xU epWtdj;jpd; ,yhgk; <l;Lk; jd;ikia fhl;Lfpd;wJ. 

gLNfhzk; msT mjpfkhfpdhy; ,yhgk; tpfpjk; mjpfhpf;Fk;. 

gLNfhzj;jpd; ms rpwpajhfapUe;jhy; ,yhgtpfpjk; FiwthfapUf;Fk;. 

vdNt ghJfhg;G ,ilntspapy; gLNfhzKk; mstpy; nghpajhf 

,Ue;jhy; ,yhgtpfpjk; mjpfhpf;Fk;. 

 
16. mlf;ftpiy -tpw;gid msT ,yhg gFg;gha;T (Cost  volume profit 

Analysis) 
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mlf;ftpiy tpw;gid msT ,yhgk; Mfpatw;wpy; cs;s 

njhlh;Gfis MuhAk; cj;jpNa mlf;fptiy -tpw;gidtpiy ,yhgk; 

gFg;gha;thFk;. ,w;j %d;W xd;Wf;nfhd;W njhlh;GilajhfTk; rhh;e;Jk; 

,Uf;fps;wd. njhlh;Gfis tiuglk; %yk; ehk; mwpe;J nfhs;syhk;. 

Break even chart or profit graph %yk; C.V.P njhlh;Gfis Muha KbAk;. 

 

C.V.P analysis Kf;fpaj;Jtk; 

C.V.P %yk; xU epWtdj;jpd; ,yhg mikg;ig Vw;gLj;jyhk;. 

,yhg jpl;lkply; > mlf;ftpiyia fl;Lg;gLj;Jjy; KbT vLj;jy; 

Mfpatw;Wf;F C.V.Panalysis I gad;gLj;jyhk; . gpw Nehf;fq;fs; 

gpd;tUkhW. 

1. ,yhg jpl;lkplypy; mlf;ftpiy> tpw;gis msT> ,yhgk; Mfpa 

%d;Wf;Fk; cs;s njhlh;ig Muha Ntz;Lk;. 

2. nefpo;r;rp jd;iknfhz;l epjp jpl;lkpLjy; jahhpf;f ,J 

cjTfpd;wJ. 

3. epiyahd nryTfs;> khWk; nryTfs;> tpw;gid tpiy> cw;gj;jp 

msT Mfpatw;wpd; khw;wq;fis Kd; fzpg;G nra;J ,yhgj;ij 

Kd;fzpg;G nra;ayhk;. 

4. tpw;gid tpiyfis Fwpf;f ,J cjTfpd;wJ. 

5. mlf;ftpiy fl;Lf;fLj;jTk;> nray;epiwNtw;wj;ij kjpg;gPL 

nra;ayhk;. 

 
rhprkepiyg;gFg;gha;T (Break Even Analysis) 

C.V.P gFg;gha;T vdTk; miof;fyhk;. rhprkepiyg; gFg;gha;T 

FWfpa fUj;J kw;Wk; gue;j fUj;jpy; gad;gLj;jyhk;. FWfpa fUj;jpy; 

rhprkepiyg;Gs;sp fz;Lgpbf;fTk;> gue;j fUj;jpy; mlf;ftpiy> tpw;gid 

msT > ,yhgk; Mfpatw;wpd; njhlh;ig Ma;T nra;tij Fwpf;fpd;wJ. 

rhprkGs;spepiy fzf;fpLjy; 

1. ,aw;fzpj tha;ghl;LKiw 

2. tiuglKiw 



 

192 
 

rhprkepiy gFg;gha;T 

nkhj;j tUthAk; nkhj;j nryTk; rkkhf xU ,;lj;jpy; re;jpf;Fk; 

me;j Gs;spNa rhprkepiyg;Gs;sp vd;W ngah;. ,e;j Gs;spapy; ,yhgNkh 

my;yJ el;lNkh ,Ug;gjpy;iy. rhprkepiy gFg;gha;T tiu%yk; 

fhzyhk;. 

 
18. rhprkepiy gFg;gha;tpd; Cfq;fs;. 

1. midj;J mlf;ftpiy nryTfisAk; epiyahd kw;Wk; khWk; 

nrythf gphpf;fg;gLfpd;wJ. 

2. ve;;j msT cw;gj;jpapYk; epiyahd nryT khwhJ 

3. cw;gj;jpapd; msT khWk;nghOJ khWk; nryT mjw;F jFe;jgb 

khWk; 

4. tpw;gid tpiy khwhJ. 

5. cNu nghUss; kl;Lk; tpw;fg;gLk; 

6. nghJthd tpiyapy; khw;wk; fpilahJ. 

 
19. rhprkepiy gFg;gha;tpd; gad;fs;. 

 tpw;gid tpiy eph;zapg;gjd; %yk; Njitahd ,yhgk; ngwyhk;. 

 tpw;gis msit jPh;khdpg;gjd; %yk; KjyPl;bw;fhd tUtha; 

fpilf;fpd;wJ. 

 tpw;gid msT khw;wj;jhy; mlf;fptpiy kw;Wk; ,yhgj;;ij 

Kd;fzpg;G nra;ayhk;.  

 tpw;gid fyitia khw;wTk; 

 Inter -firm xg;gPL nra;aTk; 

 rhprkepiyg;Gs;spia jPh;khdpf;fTk; rhprk epiy tiuglj;jpd; %yk; 

gy;NtW cw;gj;jp kl;lq;fspd; ,yhgq;fis jPh;khdpf;fyhk;. 

 rhprkepiy tiuglk; jUk; nra;jpfs; %yk; Nkyhz;ikapdh; 

cspjpy; KbT vLf;fpd;wdh;. 

 
FiwghLfs;: 
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1. ,jpy; gy Cf;fq;fs; ,Ug;gjhy; ek;gfkhd jfty;fs; 

fpilg;gjpy;iy 

2. ,J Fiwe;jdT nra;jpfis kl;LNk jUfpd;wJ. 

3. ,J C.V.P kl;LNk tiuglj;jpy; mspf;fpd;wJ.KjyPL re;ijapay; 

gpur;rid kw;Wk; muR nfhs;iffis jUtjpy;iy. 

20. ,Wjp epiy nryT Kiwapd;Nkyhz;ikapd; gad;ghLfs;. 

(Managerial Application of Marginal Costing) 

,Wjpepiy nryT KiwahdJ Nkyhz;ikapdUf;F Nkyhz;i 

KbTfis vLg;gjw;F xU rpwe;j fUtpahf gad;gLfpwJ. eilKiwapy; 

Nkyhz;ikapy; fhzg;gLk; rpf;fy;fis ,jd; %yk; jPh;j;Jf;nfhs;syhk;. 

gpd;tUk; Kf;fpakhd Nkyhz;ik gpur;ridfSf;F ,Wjp epiy nryT 

cj;jpfis gad;gLj;jyhk;. 

1. tpiyf;Fwpj;jy; KbTfs; 

2. ,yhg jpl;lkply; 

3. cw;gj;jp nr;atjh my;yJ thq;Ftjh KbTfs;. 

4. cah;epiyf;fhuzp 

5. nghUj;jkhd my;yJ ,yhgfukhd tpw;gis fyit 

6. tpw;gid tpiy khw;wq;fshy; Vw;gLk; tpidTfs; 

7. cw;gj;jpapy; khw;W Kiwfs;. 

8. cFe;j nray;ghl;L kl;lk; jPh;khdpj;jy; 

9. nray; epiwNtw;wj;ij kjpg;gpLjy; 

10. %yjd KjyPl;L jPh;khzq;fs;. 

 
1. tpiy Fwpj;jy; KjyPL( Pricing Decision) 

tpw;gid tpiyia Fwpg;gJ Nkyhz;ikapdhpd; Kf;fpakhd 

gzpahFk;. rhjhuz #o;epiyapy; epiy kw;Wk; khWk; nryTld; 

,yhgj;ij $l;b tpw;gid tpiy eph;zapf;fg;gLk;. Mdhy; ,Wjpepiyr; 

nryT Kiwapy; khWk; nryTfSld; Nghjpa mjpf gFjpiafhl;b 

epiyahd nryTfisAk; ,yhgj;ijAk; kPl;Fk;gbahd tpiyia 

eph;zapf;fyhk;. 
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2. ,yhgj;jpl;lkply; Njitahd ,yhgj;ij guhkhpj;jy;: 

,Wjpepiy nryT Kiwia ,yhg jpl;lkplYf;F gad;gLj;jyhk;. 

,yhg jpl;lkply; vd;gJ mjpf ,yhgk; ngw epWtdj;jpd; vjph;fhy 

nray;ghLfis jpl;lkpLtjhFk;. Fwpg;gpl;l ,yhgj;ij mila 

Njitahd tpw;gidia fzf;fpl ,J gaf;gLfpwJ. 

 
3. cw;gj;jp nra;tjh my;yJ thq;Ftjh KbTfs;(Make or buy Decision)  

rpy Ntisfspy; epWtdk; xU Fwpg;gpl;l nghUis jhNk nra;tjh 

my;yJ ntspegh;fsplk; thq;FtJ ey;yjh vd;w gpur;rid tUk;. mjw;F 

xU ey;ynjhU KbT vLf;f ,Wjpepiy nryTgad;gLfpwJ. nfhs;Kjy; 

tpiyia tpl mg;nghUspd; ,Wjp epiyr;nryT FiwthfapUe;jhy; 

thq;Ftij tpl cw;gj;jp nra;tNj rpwe;jjhFk;. ,Wjpepiy nryTfis 

tpl nfhs;Kjy; tpiy FiwthfapUe;jhy;  thq;FtNj ey;yJ. 

,j;jifa KbT vLf;f ,Wjpepiy nryT Kiw cjTfpd;wJ. 

 
4. cah;epiyfhuzp my;yJ Kf;fpa fhuzp my;yJ tiuaW fhuzp 

Kjd;ik fhuzp (Key Factor) 

Kjd;ik fhuzp vd;gJ cw;gj;jpia my;yJ tpw;gidia 

fl;Lg;gLj;jp mjd;%yk; xU epWtdj;ij tiuaw;w mstpy; ,yhgkPl;Lk; 

epiyia jLf;Fk; fhuzpahFk;. ,jid cah;epiyf;fhuzp my;yJ 

Kf;fpa fhuzp vdTk; miof;fyhk;. 

%yg;nghUs; njhopyhsh; %yjdk; nghwpfyd ;nfhs;ssT 

Mfpaitfis cw;gj;jp fhuzpfshfTk; tpw;gid fhuzpahf ,Uf;fyhk;. 

tiuaW fhuzp epWtdj;jpy; ,Ue;jhy; nghUspd; ,yhgj; 

jd;ikia fzf;fpl tiuaW fhuzpapd; xU myfpd; gq;fspg;ig 

vLj;Jnfhz;L vJ mjpf gq;fspg;G jUfpd;wNjh me;j nghUis cw;gj;jp 

nra;aNtz;Lk;. 

 
5.  nghUj;jkhd cw;gj;jp my;yJ tpw;gid fyitia Njh;e;njLj;jy; 
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 xU fk;ngdp xd;Wf;F Nkw;gl;l nghUis cw;gj;jp nra;Ak; 

nghOJ ve;j cw;gj;jp my;yJ tpw;gid fyit mjpf ,yhgk; jUk; 

vd;w Nfs;tp tUk; ve;j fyit mjpf gq;fspg;ig jUfpd;wNjh mjid 

Njh;e;njLf;fyhk;. 

 
6. tpw;gidtpiy khw;wj;jh;y Vw;gLk; tpisTfs;. 

Nghl;b> ke;jtpiy> tphpthf;fjpl;lk;> muR fl;Lg;ghLfs; Nghd;w 

gpur;ridfshy; Nkyhz;ikapdh; tpiyia Fiwf;fyhk; gq;fspg;G 

cjtpAld; tpw;gid tpiyapy; Vw;gLk; khw;wq;fis mwpayhk;. 

7. cw;gj;jp khw;WKiwfs;. 

rpyNeuq;fspy; khw;Wcw;gj;jp Kiwfspy; xd;iw Njh;e;njLf;f 

Ntz;ba #o;epiy Nkyhz;ikapdUf;F Vw;glyhk;. v.fh. ,ae;jpu Kiw 

ifahy;nra;Ak; Kiw> ,tw;wpy; ,Wjpepiy nryit gad;gLj;jptiuaW 

fhuzpia kdjp;y; nfhz;L ve;j Kiwapy; ,yhgk;mjpfkhf cs;sNjh 

mjid Njh;e;njLf;fyhk;. 

 
8. cfe;j nray;ghL kl;lk; jPh;khdpj;jy; 

,Ejpepiyr; nryT Kiw cfe;j nray;ghl;L kl;lk; eph;zak; 

nra;a Nkyhz;ikapdUf;F cjTfpwJ. ve;j nray;ghL kl;lk; 

mjpfgq;fspg;ig mspf;fpd;wNjh mjid cFe;j kl;lkhf 

Njh;enjLf;fNtz;Lk;. 

 
9. nray; epiwNtw;wj;ij kjpg;gpLjy; 

Jiwfspy; nray;ghL cw;gj;jp nghUs;fs;> re;ijfs; Mfpatw;wpd; 

nray; epiwNtw;wj;ij kjpg;gpl ,Wjp epiynryTKiwia 

gad;gLj;jyhk;. Fiwe;j ,yhgj;ij <l;Lk; Jiwapd; 

nray;epiwNtw;wj;ij mjpfhpf;f Nkyhz;ikapdh; KbntLf;fyhk;. 

 
10. %yjd KjyPl;L KbTfs; 
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epWtdj;jpy; %yjd KjyPLfs; gw;wpa KbTfs; Nkyhz;ikapdh; 

Nkw;f;nfhs;s ,Wjpepiy nryT Kiwia gad;gLj;jyhk;.ve;j %yjd 

KjyPL tpiutpy; ,yhgj;ij jUfpd;wNjh mjid Njh;e;njLf;fyhk;. 

NkNy fz;l Nkyhz;ik gpur;ridfis rkhspf;f ,Wjpepiyr; nryT 

Kiwia Nkyhz;ikapdh; gad;gLj;jyhk;. 

 
21. ,Wjpepiyr;nryT Kiwapd; ed;ikfs; (Advantages) 

 ,Wjpepiyr; nryT Kiwapd; cj;jpfs; vspjpy; 

Ghpe;Jnfhs;syhk;.mjid eilKiw gLj;JtJ vspJ. 

 ,Wjpepiy nryT ve;j cw;gj;jp kl;lj;jpYk; khwhky; ,Uf;Fk;. 

,jdhy; Nkyhz;ikapdh; cw;gj;jp jpll;lkply; jahhpf;f 

cjTfpwJ. 

 epiyahd nryTfis gphpf;fhjjhy; Fiw kPl;G Vw;gLtjpy;iy. 

 tpw;gid tpiyAk; ve;j cw;gj;jp kl;lj;jpYk; khwhJ. 

 ,Wjp ruf;fpUg;ig kjpg;gpLtjd; %yk; elg;ghz;bd; epiyahd 

nryTfis mLj;j Mz;Lf;F vLj;J nry;y Ntz;lhk;. 

 rhprkepiyg;Gs;sp gy;NtW cw;gj;jp kl;lq;fspy; vjph;ghh;f;fg;gLk; 

,yhgk; Nghd;witfis fzf;fpl ,J cjTfpwJ. 

 epWtdj;ij fl;Lg;gLj;jTk; KbTfs; vLg;gjw;Fk; ,J 

Nkyhz;;ikapdUf;F cjTfpwJ. 

 mlf;ftpiy - tpw;gidmsT ,yhgk; Mfpatw;iw gFg;gha;T 

nra;J Nkyhz;ikapdh; ,yhgk; jpl;lkpl ,J cjTfpd;wJ. 

 nghJthf epiyahd nryit fl;Lg;gLj;j KbahJ. Mdhy; 

khWk;nryit fl;Lg;gLj;jKbAk;. ,Wjpepiy nryT KiwahdJ 

khWk; nryit fl;Lg;gLj;Jjy; > fl;Lg;gLj;j Kbahjit vd 

,uz;lhf gphpj;J mlf;ftpiyia fl;Lg;gLj;Jfpd;wJ. 

 ,J ju mlf;ftpiy Kiw kw;Wk; epjpj;jpl;l fl;Lg;ghl;Lf;Fk; 

cWJizahf ,Ug;gjhy; mtw;Wld; ,jid gad;gLj;Jk;nghOJ 

ey;yKbTfis ngwyhk;. 
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22. ,Wjpepiyr; nryT Kiwapd; FiwghLfs; (Limitations) 

 ,Ejpepiyr;nryT KiwhdJ gy;NtW Cf;fq;fis mb;gilahf 

nfhz;lJ vdNt vy;yh #o;epiyfspYk; mjd; Cf;fq;fs; rhpahf 

nghUe;jtpy;iy. 

 vy;yhr;nryTfisak; epiyahdit kw;Wk; khWjw;Fhpa nryT vd 

gphpf;fKbahJ. rpy nryTfs; xU gFjp epiyahditfisAk; xU 

gFjp khWjw;FhpaitahfTk; ,Uf;fpd;wJ. 

 khWnryTfspd; xU myF ve;j msT cw;gj;jp kl;lj;jpYk; 

epiyahf ,Uf;fhJ. Vnddpy; Fiw;ej nry; cw;gj;jp tpjpAk;> 

mjpfhpj;J nry;Yk; cw;gj;jp tpjpAk; nray;gl;LtUfpwJ. 

 mJNghy tpw;gidtpiy vy;yh cw;gj;jp kl;lj;jpYk; epiyahf 

,Uf;fhJ. Vnddpy; Nghl;b nghJ tpiythrp khw;wk;> nkhj;j 

MizfSf;F fpilf;Fk; fopT Nghd;w fhuzq;fshy; tpw;gid 

tpiy khWk;. 

 NkYk; epiyahd nryTfs; vg;nghOJk; epiyahf ,Ug;gjpy;iy. 

,Wjpepiy nryT Kiwapy; epiyahd nryit 

vLj;Jf;nfhs;tjpy;iy. 

 KOikahd ruf;fpUg;G > KbTwh ruf;fpUg;G Mfpaitfis 

kjpg;gpLk; nghOJ epiyahd nryit ePf;FtJ nghUj;jky;y 

ruf;Ffis ,Wjpepiy nrytpy; kjpg;gpLtjhy; ruf;fpUg;G kjpg;G 

FiwthapUf;Fk;. ,jdhy; ,yhg el;l fzf;F Fwpg;G cz;ikahd 

,yhgj;ij fhl;lhJ. 

 ,WjpepiynryT KiwahdJ $Ljy; my;yJ Fiw kPl;G 

epiyahd nryit ePf;fpdhYk; mjd; gpur;rid ,d;dKk; ,Ue;J 

nfhz;Nl tUfpd;wJ. 

 ,Jfhyf;fhuzpia Kw;wpYk; vLj;Jnfhs;tjpy;iy. 

 ,k;Kiwia fg;gy;fl;Lk; gzp xg;ge;j gzpf;F nghUe;Jtjpy;iy. 

Vnddpy; mjpy; cs;s KbTwhg; nghUs;fspd; kjpg;G 

mjpfkhfapUf;Fk;. epiyahd nryit ePf;Ftjhy; xt;nthU 
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Mz;Lk; el;lj;ij fhl;b gzp KbTWk; Mz;by; mjpf ,yhgj;ij 

fhl;Lfpd;wJ. 

 ju mlf;ftpiy Kiw> epjpj;jpl;l fl;Lg;ghL> KiwahdJ 

,Wjpepiy nryT Kiwia fhl;bYk; rpwg;ghf mlf;ftpiyia 

fl;Lg;gLj;Jfpd;wJ. 

 njhiyNehf;F ghh;itapy; epiyahd nryit vLf;fhky; tpw;gis 

tpiyia eph;zapf;fKbahJ. 

tpdhf;fs; 

1. ,Wjpepiyr; nryT -tiutpyf;fzk; jUf 

2. ,Wjpepiyf; fzpg;GKiw -tiutpyf;fzk; jUf 

3. ,Wjpeiyr; nryT Kiwf;Fk; <h;g;G mlf;ftpiy Kiwf;Fk; 

cs;s NtWghLfis $Wf 

4. <h;g;G mlf;ftpiy Kiwapd; ed;ikfs; FiwghLfis $Wf 

5. rpWFwpg;G tiuf 

m) gq;fspg;G 

M) rhprkepiyg;Gs;sp 

,) gLNfhzk; 

<) ,yhgk;/tpw;gidtpfpjk; 

c) ghJfhg;G milntsp 

X) Kjd;ik fhuzp 

6. mlf;ftpiy -tpw;gid msT- ,yhgk; gFg;gha;it tpthp? 

7. ,Wjpepiyr; nryT Kiwapd; ed;ikfs; -FiwghLfis tpthp? 

8. rhprkepiyg;Gs;spapd; Cfq;fis $W? 
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Problems: 

Thus, if for the production of 1,000 units of a product the manufacturer has 

to incur Rs. 75,000 for materials, Rs. 50,000 for direct wages, Rs. 25,000 for 

variable overheads and Rs. 50,000 fixed overheads, the marginal cost can be 

ascertained as follows :  

 Total (1,000 units) 

Rs. 

Per unit 

Rs. 

Direct materials  75,000  75 

Direct Wages                      50,000 50 

Prime Cost  1,25,000  125 

Variable Overheads  25,000 25 

Marginal Cost 1,50,000 150 

 

2) If the selling price of a product is Rs. 20/- per unit and its variable cost is 

Rs.15/- per unit contribution per unit is Rs. 5/- (i.e. Rs. 20-15. 

 Contribution = Sales - Variable (Marginal) Cost  

or Contribution per unit = Selling Price-Variable (or marginal) cost per unit  

or Contribution = Fixed Costs + Profit (—Loss) 

Marginal Cost Equation: 

Sales - Variable cost=Contribution 

or, sales = Variable cost + Contribution 

or, Sales = Variable cost + Fixed Cost ± Profit/Loss 

or, Sales-Variable cost=Fixed cost ± Profit/Loss     

or, S-V = F±P  

where         'S' stands for Sales 

‘V’ stands for Variable cost  

‘F’ stands for Fixed cost  

‘P’ stands for Profit/Loss 

Determine the amount of variable cost from the following particulars:  
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Sales 150000 

Fixed Cost 30000. 

Profit   40000  

Solution: 

Sales -Variable cost = Fixed Cost ± Profit / Loss 

or 150000 - V.C. = 30,000 + 40,000 . 

or Variable cost= 1,50,000-70,000 = Rs.80,000.   

Illustration: From the following information find out the amount of profit 

earned during the year using the marginal costing technique:  

Fixed Cost Rs. 250000 

Variable cost Rs. 10 per unit 

Selling price  Rs. 15 per unit  

Output level  75000 units 

  

Solution: 

S-V =F + P 

Sales = Rs. 75,000 x 15 = Rs. 11,25,000 

Variable Cost = 75,000 x 10 = Rs. 7,50,000 

Fixed Cost =Rs. 2,50,000 

Profit (P) =? 

11,25,000-7,50,000 = 2,50,000+ P 

3,75,000 = 2,50,000+ P 

P =  3,75,000-2,50.000 

Profit =Rs. 1,25,000.  

 

Profit/Volume Ratio (P/V ratio or C/S Ratio 
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The Profit/volume ratio, which is also called the 'contribution ratio' or 'marginal 

ratio', expresses the relation of contribution to sales and can be expressed as 

under :  

P/V Ratio= Contribution  / Sales 

P/V Ratio = Sales-Variable cost / Sales i.e.    S-V \ S 

or, P/V Ratio =  Fixed cost + Profit  / Sales 

or, P/V Ratio =  Change in profit or Contribute / Change in Sales     

P/V Ratio = 20 – 15 / 20 xl00 =  5 / 20 xl00 = 25%  

The PA/ ratio, which establishes the relationship between contribution and sales 

is of vital importance for studying the profitability of operations of a business. It 

reveals the effect on profit of changes in the volume.   

The formula for the sales volumes required to earn a given profit is : 

P/V Ratio  =       Contribution /  Sales   

or, P/V Ratio  =  Fixed Cost + Profit  / Sales 

or, Sales = Fixed cost + Profit / P/V Ratio =      F+P  / P/V Ratio 

Illustration:  

Sales  Rs.100000 

Profit  Rs. 10000 

Variable cost 70% 

Find out (i) PA/ ratio, (ii) Fixed Cost (iii) Sales Volume to earn a Profit of Rs. 

40000 

Sales = Rs.100000 

Variable cost = 70% 

   = 70 / 100 x 100000 = Rs. 70000 

P/V Ratio  = sales – variable cost / sales x 100  

=  100000 – 70000 / 100000 x 100 = 30%  

Contribution = Fixed cost + profit  

30000 = fixed cost + 10000 = Rs. 20000 

Fixed cost = 30000 - 10000  
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      Sales = Fixed cost + profit / P/V Ratio 

 = 20000 + 40000 / 30% 

 = 60000 x 100 / 30 =Rs. 200000 

Illustration:  

The sales turnover and profit during two years were as follows:  

Year Sales Rs. Profit Rs. 

2015 140000 15000 

2016 160000 20000 

You are required to calculate:  

a) P/V ratio 

b) Sales required to earn a profit of Rs. 40,000,  

c) Profit when sales are Rs. 1,20,000.  

Solution: 

a) P/V Ratio = Change  Profit  / Change in Sales x100   

= 5000 / 20000 = 100 = 25% 

b) Sales required to earn a profit of Rs. 40,000 

P/V Ratio  = Fixed cost + profit / Sales 

or     25 / 100 =  F+15,000 / 1,40,000  

or     140000 x 25 / 100 = F + 15000  = 35000 – 15000 = F 

or Fixed cost = Rs. 20000 

or   Fixed Cost =Rs. 20,000  

Desired Sales = F+P / P/V Ratio  

  = 20000+ 40000 / 25/ 100 = 60000 x 100 / 25 = 

Rs.240000 

c) Profit when sales are Rs. 1,20,000 

S = F + P / P/V Ratio 

S x P/V ratio =F + P 

1,20,000 x 25 /100  = 20,000+ P 

30,000 = 20,000+ P  
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Profit = 30,000-20,000 = Rs. 10,000 

(a) Break-Even Point in Units: 

As the break-even point is the point of no profit no loss, it is that level of 

output at which the total contribution equals the total fixed costs, It can be 

calculated with the help of following formula: 

 

Break Even Point = Fixed Cost / Selling Price per unit- Variable Cost per unit 

=  Fixed Cost  / Contribution per unit     

(b) Break-Even Point in terms of budget-total or money value: 

At break-even point: 

Total Sales = Total Fixed Cost + Total Variable Cost 

or     S= F+V  

(where S = Sales, F=Fixed Cost and V=Variable cost)  

 Break-Even Sales =   Fixed Cost / Sales-Variable Cost x Sales  

   = Fixed Cost  / Contribution  x Sales  

With the use of P/V Ratio, B.E.P = Fixed cost / P/V Ratio  

(As, contribution / sales = P/V Ratio) 

MARGIN OF SAFETY 

The excess of actual or budgeted sales over the break-even sales is known 

as the margin of safety. It is the difference between actual sales minus the sales 

at break-even point.  

Margin of Safety=Total Sales - Sales at Break - Even Point 

Margin of Safety (M/S) =  Profit / P/V Ratio 
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Marginal costing 

Illustration :  

 The fixed costs for the year are Rs.40,000. Variable cost per unit is Rs.2  

 Estimated sales for the period are valued at Rs.1,00,000. Each unit sells at 

Rs.10.  

 You are required to calculate the break-even point. 

Solution :  

 Contribution  = Selling price - Variable cost  

   = Rs. 10 - Rs. 2  

   = Rs. 8  

Break-even point (in units) =  

   = = 5,000 units.  

Break-even point (in Rs.) = 5,000 units x Rs.10 

    = Rs. 50,000 

Application of the other formula is also shown as under :  

Break-even point (in Rs.) =  

P/V ratio  = x 100 

  =  

B.E. Point  =  

These calculation may be checked as follows :  

        Rs.  

Fixed Cost        40,000 

Variable Cost at B.E. Point (5,000 units x Rs.2)    10,000 

    Break-even Point  50,000 

Illustration :   

 It is found that Rs. 80,000 will be the likely sales turnover for the next 

year. The cost and selling price remain the same. 

 What will be the estimated contribution and profit ?  
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Solution :  

 Contribution  = Sales x P/V ratio 

   = 80,000 x 80% 

   = Rs.64,000 

 Contribution = Fixed Cost + Profit 

Or   = Sales - Variable Cost  

 Profit  = Contribution - Fixed Cost  

   = 64,000 - 40,000 

   = Rs. 24,000 

Thus, when sales are Rs.80,000 profit will be Rs. 24,000 

 

Illustration :   

 Taking figures of illustration 5, if it is desired to earn a profit of 

Rs.30,000, when will be the amount of sales. 

Solution : 

 A formula for determining the sales necessary to earn a stated profit is 

shown below :  

 Sales for desired profit =  

 Using this formula, the sales required is as follows :  

    =  

Illustration :  The following data is given :  

 Fixed expenses Rs. 1,00,000, variable expenses Rs.10 per unit, selling 

price Rs.15 per unit. 

a) Indicate the number of units to be manufactured and sold (i) to break-even ; 

(ii) to earn a profit of Rs.10,000. 

b) What additional units would be necessary to increase the above profit by 

Rs.5,000. 

  



 

206 
 

Solution :  

a) Breakeven  point =  

 Contribution = Selling price = Variable cost  

   = 15 - 10  

   = Rs. 5. 

i) B.E. Point = = 20,000 units.  

 Or = 20,000 x Rs.15 = Rs.3,00,000.  

ii) Sales to earn a profit of Rs.10,000 

 =  

 = 22,000 units  

 or  = 22,000 x 15 = Rs.3,30,000 

b) Sales to earn an additional profit of Rs.5,000  

 = = 23,000 units.  

 Thus, in order to increase the profit of Rs.10,000 by Rs.5,000, additional 

sales of 1,000 units (i.e.23,000 - 22,000) is required.  

Illustration :   

 Break-even point = 1,000 units  

 Sales  = 1,500 units at Rs.6 each  

 Fixed cost = Rs. 2,000  

Find out the variable cost per unit and profit. 

Solution :  

Break-even point (units) =  

 1,000 =  

Contribution per unit = = Rs. 2.  

And since selling price is Rs.6, the variable cost per unit must be 6-2=Rs.4 

And total contribution must be 1,500 x 2 = Rs. 3,000  

 Profit = Contribution - Fixed Cost  

  = 3,000 - 2,000 

  = Rs.1,000 
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Illustration :  

 Fixed cost  = Rs. 4,000 

 Profit   = Rs. 1,000 

 Break-even point = Rs.20,000 

Find out sales and variable cost.  

Solution :  

 Contribution - Fixed cost + Profit 

  = 4,000 + 1,000 

 Contribution = Rs.5,000  

Break-even point =  

 20,000 =  

  = x Sales  

 Sales  = x 20,000 

  = Rs. 25,000 

 P/V ratio =  

  = x 100  

  = 20%  

 Variable cost is 80% of sales  

 Variable cost = 25,000 x 80% = Rs.20,000. 

 

Illustration :   

 Calculate break-even point from the following figures :  

           Rs.  

 Sales      3,00,000 

 Fixed expenses        75,000 

 Direct material     1,00,000 

 Direct labour        60,000 

 Variable expenses       40,000 
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Solution :  

 Total Variable Cost = Direct material + Direct labour  

     + Variable expenses 

    = 1,00,000 + 60,000 + 40,000 

    = Rs.2,00,000 

 Contribution  = 3,00,000 - 2,00,000 

   = Rs.1,00,000  

 Break-even point =  

   =  

   = Rs. 2,25,000 

Illustration : You are given the following data of a factory for the year 1977 :  

 Output     80,000 units 

 Fixed cost   Rs.4,00,000 

 Variable cost per unit  Rs.  10  

 Selling price per unit  Rs. 20 

  Find out the break-even point. If the selling price is reduced to Rs.18, 

what will be the new break-even point ?  

Solution : 

 Break-even point =  

 Contribution = 20 - 10  

   Rs. 10. 

 

 B.E . Point = x 20  

   = Rs. 8,00,000 

New selling price = Rs.18 per unit  

Now contribution = 18 - 10  

  = Rs. 8  

New break-even point = x 20  

   = Rs.10,00,000 
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Illustration :  From the following data, calculate  

i) P/V ratio  

ii) Profit when sales are Rs.20,000 

iii) New break-even point if selling price is reducted by 20%  

 Fixed Expenses   Rs. 4,000 

 Break-even point Rs. 10,000 

Solution :  

 At break even point - Total Cost = Revenue  

Thus, Rs.10,000 (BE Point) is also the total cost.  

 Variable cost = B.E. Point - Fixed Cost  

   = 10,000 - 4,000 

   = 6,000 

 Contribution  = 10,000 - 6,000 

   =  Rs.4,000 

i) P/V ratio =  = = 40%  

ii) When sales are Rs.20,000, contribution will be 20,000 x 40% 

   = 8,000 

 Profit = Contribution - Fixed cost  

  = 8,000 - 4,000 

  = Rs. 4,000 

iii) New break-even point when selling price is reduced by 20%  

 New break-even = 20,000 - 20%  

   = Rs. 16,000 

 Variable cost  = Rs.12,000 

 Contribution = 16,000 - 12,000 

   = Rs.4,000 

 New P/V ratio  = = 25% 

 New Break-even Point = = Rs.16,000  
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gzp mlf;ftpiy( Job Costing) 

Problem 1) gpd;tUk; Neub nryTfs; SM fzpdp fk;ngdp tpkpnll; -y; 

cs;s gzp ek;gh; : 34 f;F nrytplg;gLfpwJ. 

        & 

%yg;nghUs;      - 4010 

$yp: 

Jiw A -60 kzpNeuk; - kzpf;F   - &. 3 tPjk; 

Jiw B - 40 kzpNeuk; - kzpf;F   - &. 2 tPjk; 

Jiw C - 20 kzpNeuk; -kzpf;F   - &. 5 tPjk; 

gpd;tUgit %d;W Jiwfspd; Nkw;nryTfs; ( khWk; Nkw;nryTfs) 

Jiw A 5000 ciog;G kzpNeuj;jpw;F &. 5000 

Jiw B 1500 ciog;G kzpNeuj;jpw;F &. 3000 

Jiw C 500 ciog;G kzpNeuj;;;jpw;F &. 2000 

epiyahd Nkw;r;nryTfs;” 

tof;fkhd kzpNeuj;jpw;F epWtg;gl;lJ &. 20>000 tpw;gid tpiyapy; 

25% ,yhgk; kw;Wk; gzp ek;gh; 34-f;F gzp mlf;ftpiy jahh; nra;f. 

Solution: 

gzp ek;gh; - 34 

Neub %yg;nghUs;   &.   

$yp    =    4010 

Jiw A : 60 x 3  =  180 

Jiw B : 40 x 2  =   80     

Jiw C : 20 x 5  =  100   360 

            4370 

Nkw;nryT khWjy; 

Jiw A= 60 x 5000 / 5000 kzpNeuk;  = 60 

Jiw B = 40 x 3000 / 1500 kzpNeuk;  = 80 220 

Jiw C = 20 x 2000 / 500 kzpNeuk;  = 80  

        

Nkw;nryT epiyahdJ 
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120 x 20000/ 10000     = 240 

nkhj;j nryT     =     4>830 

$l;Lf: 

tpw;gid tpiyapy; 25% ,yhgk;   =1>610 

tpw;gid tpiy     =       6>440  

,yhgk; fzf;fpLjy;: 

tpw;gid tpiy    = &.100 

fop: ,yhgk;    = &. 25 

mlf;ftpiy   = &. 75 

75% mlf;ftpiy = 4830 

25% ,yhgk; =4830x 25/75 =&. 1610 

gbKiw mlf;ftpiy (or) nray;Kiw mlf;ftpiy( Process Costing) 

f.vz; 1 

cs;sPL 100 myFfs;: rhjhuz el;lk; 10% vQ;rpa kjpg;G &.100 > 

rhjhuz ntspaPL 87 myF mrhjhuz el;lj;ij fzf;fpLf. 

Solution: 

   myF   & 

cs;sPL 100 1000 

fop: rhjhuz el;lk;  10 100 

   

rhjhuz ntspaPL 90 900 

fop cz;ikahd cw;gj;jp 87 - 

mrhjhuz el;lk; 3 - 

 

Fwpg;G: rhjhuz (ehh;ky; ntspaPL -I tpl ActualntspaPL myF 

Fiwthf cs;sJ ,JNt mrhjhuz el;l myFfs; MFk;. 

mrhjhuz el;l kjpg;G fzf;fpLjy;: 

rhjhuz mlf;ftpiy 

 =  x mrhjhuz myF 

 rhjhuz ntspaPL 
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  =  900/90 x 3 = &. 30 

gbKiw fzf;F 

 

 myF &  myF  & 

cs;sPL 100 100 rhjhuz el;lk; 10 100 

  mrhjhuz el;lk; 3 30 

  cz;ikahd 

ntspaPL 

87 870 

100 1000  100 1000 

 

rhjhuz ,yhgk; 

f.vz;.2 

cs;sPL 100 myF = mlf;ftpiy &. 1000 

rhjhuz el;lk; 10% vQ;rpakjpg;G &.100 

rhjhuz ntspaPL 95 myF 

mrhjhuz ,yhgk; fzf;fpLf 

Solution: 

 myF & 

cs;sPL 100 1000 

fop : rhjhuz el;lk 10 100 

rhjhuz ntspaPL 90 900 

fop: cz;ikahd ntspaPL 95 - 

mrhjhuz ,yhgk; 5 - 

Fwpg;G: 

rhjhuz ntspaPl;il tpl cz;ikahd ntspaPL $bAs;sJ. 

tpj;jpahrKs;s 5 myF mrhjhuz ,yhgk; vdg;gLk;. 

mrhjhuz ,yhgj;ij fzf;fpLjy; 

 

rhjhuz mlf;ftpiy 

=     x mrhjhuz ,yhgk; myFfs; 

 rhjhuz ntspaPL 

=  900/90 x 5 =&.50 
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gbKiw fzf;F 

 myF &  myF & 

cs;sPL 100 1000 rhjhuz el;lk; 10 100 

mrhjhuz 

,yhgk; 

5 50 rhjhuz 

ntspaPL 

95 950 

 105 1050  105 1050 

 

f.vz;.3  

gpd;tUk; jfty;fspypUw;J gbKiw fzf;if jahh; nra;f. cw;gj;jp xU 

thuj;jpw;F 480 myFfs; 

 Process 

I 

Process 

II 

Process 

III 

%yg;nghUs; 3>000 1>000 400 

ciog;G 1>600 4>000 1>200 

njhopw;rhiy 

Nkw;r;nryT 

520 1>440 500 

 

mYtyf Nkw;nryT &. 1>700. ,J $yp mbg;gilapy; gphpf;fg;gLfpwJ. 

Solution: 

gbKiw fzf;F I f;F 

tptuk; 

mlf;ftpi

y xU 

myFf;F 

nkhj;j 

mlf;ftpi

y & 

tptuk; 

mlf;ftpi

y xU 

myFf;F 

nkhj;j 

mlf;ftpi

y &. 

%yg;nghU

s; 
6.25 3000 

gbKiw II 
f;F 
(ntspaPL 
khw;wg;gl;l
J) 

11.50 5520 

ciog;G 3.35 1600 

njhopw;rhi
y 
Nkw;nryT 

1.08 520 

mYtyf 
Nkw;nryT 
(1700 x 4 

/17) 

0.84 400 

 11.50 5520  11.50 5520 
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gbKiw fzf;F  -II 

tptuk; 

mlf;ftpi

y xU 

myFf;F 

nkhj;j 

mlf;ftpi

y & 

tptuk; 

mlf;ftpi

y xU 

myFf;F 

nkhj;j 

mlf;ftpi

y &. 

gbKiw I 

f;F 

khw;wg;gl;l

J 

11.50 5520 

gbKiw 

f;F III 

(ntspaPL 

khw;wg;gl;l

J) 

27.00 12960 
%yg;nghU

s; 
2.08 1000 

ciog;G 8.34 4000 

njhopw;rhi

y 

Nkw;nryT 

3.00 1440 

mYtyf 

Nkw;nryT 

( 1700 x 

10/17) 

2.08 1000   

 27.00 12960  27.00 12960 

 

gbKiw fzf;F - III 

tptuk; 

mlf;ftp

iy xU 

myFf;F 

nkhj;j 

mlf;ftp

iy & 

tptuk; 

mlf;ftp

iy xU 

myFf;F 

nkhj;j 

mlf;ftp

iy &. 

gbKiw II f;F 
khw;wg;gl;lJ 

27.00 12960 

Kbtile;
j ,Ug;G 
fzf;F 
(ntspaPL 
khw;wg;gl;
lJ) 

32.00 15360 %yg;nghUs; 0.83 400 

ciog;G 2.50 1200 

njhopw;rhiyNkw;
nryT 

1.04 500 

mYtyf 
Nkw;nryT                 
( 1700 x 3/17) 

0.63 300   
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 32.00 15360  32.00 15360 

 

gbKiw I   I  III  

ciog;G 1600 4000 1200 

   4  10  3 = 17 

mYtyf Nkw;nryT gbKiw I 

( 1700 x 4/17) = 400 

mlf;ftpiy xU myFf;F 

  nkhj;j mlf;ftpiy 

=  

nkhj;j ntspaPL 

v.fh.  

%yg;nghUs; mlf;ftpiy xU myFf;F 

=&. 3000/ 480 myF 

=&. 6.25 

I. ju mlf;ftpiy Kiw (Standard Costing) 

i. %yg;nghUs; NtWghL(Material Variance) 

ii. %yg;nghUs; tpiy NtWghL = cz;ik msT (jutpiy -

cz;;;iktpiy) 

iii. %yg;nghUs; gad;ghl;L NtWghL = jutpiy (cz;ik 

cw;gj;jpf;fhd jumsT cz;ik msT) 

iv. %yg;nghUs; fyit NtWghL = ju myFtpiy (jumsT - 

cz;ik msT) 

v. %yg;nghUs; tpisT NtWghL = jumyfpd; ju mlf;ftpiy 

(cz;ik tpisT - jutpisT) 

%yg;nghUs;  mlf;ftpiy NtWghL (Material Cost Variance) 

= ju mlff;tpiy - cz;ik mlf;ftpiy 

II. ciog;G NtWghL (Labour Variance) 

1. ciog;G mlf;ftpiy NtWghL  

= cz;ik cw;gj;jpahd ju ciog;G 
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mlf;ftpiy - cz;ik ciog;G mlf;ftpiy 

2. ciog;G $yp tPj NtWghL 

= cz;ik Neuk; - (jutPjk; - cz;ik tPjk;) 

3. ciog;G jpwik NtWghL 

= ju$yp tPjk; (cz;ik cw;gj;jpapd; juNeuk; -cz;ik 

Neuk;) 

4. ,aq;fh Neu NtWghL 

= ,aq;fh Neuk; x ju NeutPjk; 

5. ciog;G tpisT NtWghL 

= ju ciog;G mlf;ftpiy xU myFf;F ( cz;ik 

tpisT -     jutpisT) 

Problem I: 

gpd;tUk; jfty;fspypUe;J %yg;nghUs; NtWghl;il fzf;fpLf 

%yg;nghUs; juk; cz;ik 

 myF tpiy myF tpiy 

A 80 10.00 90 8 

B 70 3.00 80 5 

 150  170  

 

Solution 

(i) %yg;nghUs; mlf;ftpiy NtWghL (Material cost Variance) 

= jumlf;ftpiy - cz;ik mlf;ftpiy 

%yg;nghUs A : (80 x 10 -90x8) = (800 - 720)  =  80(F) 

%yg;nghUs; B : (70 x 3 - 80 x 5) = (210 -400)  =         190(A) 

%yg;nghUs; mlf;ftpiy NtWghL  &. 110(A) 
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(ii) %yg;nghUs; tpiy NtWghL (Mamterial Price Variance) 

= cz;ikmsT (jutpiy - cz;iktpiy) 

%yg;nghUs; A = 90 (10-8)  = 180 (F) 

%yg;nghUs; B = 80 (3 -5)  = 160 (A) 

&.   20 (F) 

%yg;nghUspd; mlf;ftpiy NtWghL 

%yg;nghUs;  tpiyNtWghL - %yg;nghUs; gad;ghL NtWghL 

 

rhpghh;j;jy; 

%yg;nghUs; nryT NtWghL = %yg;nghUs; tpiy NtWghL – 

gad;ghL 

&. 110(a) =&.20(F) - &.130(A) 

110 (A) = 20(F) + 130(A) 

(iii) %yg;nghUs; gad;ghl;L NtWghL (Material Usage Variance) 

(iv) = jutpiy (cz;ik cw;gj;jpf;fhd ju msT - cz;ik 

msT) 

%yg;nghUs; (A) = 10(80-90) =  &. 100(A) 

%yg;nghUs; (B) = 3 (70-80) =&.  30(A) 

=&. 130(A) 

 

 2) gpd;tUk; jfty;fis gad;gLj;jp ciog;G NtWghl;il fzf;fpLf 

(Labour Cost Variance) 

i. nkhj;j Neub ciog;G =&. 5>400 

ii. ju Neuj;jpy; cw;gj;jpnra;jJ =&. 2000 

iii. jutpiy xU kzpNeuj;jpw;F =&. 2 

iv. cz;ikahf vLj;Jnfhz;lNeuk; 1800 kzp 

v. mjpy; 100 kzp Neuk; gzpnra;a tpy;iy 

 

  



 

218 
 

Solution 

cz;iktpiy = nkhj;j Neub ciog;G 

   cz;ik Neuk; 

= 5400 

1800 kzpNeuk; 

=&. 3 xU kzpNeuj;jpw;F 

(i) ciog;G mlf;ftpiy NtWghL: (Labour Cost Variance) 

= cz;ik cw;gj;jpahd juciog;G 

mlf;ftpiy - cz;ikciog;G mlf;ftpiy 

juciog;G mlf;ftpiy = ju kzpNeuk; x ju tpiy 

4000 = 2000 x 2 

cz;ik ciog;G mlf;ftpiy: 

= cz;ik kzpNeuk; x cz;ik tpiy 

= 1800 x 3 = 5400 

ciog;G mlf;ftpiy NtWghL 

= 4000 - 5400 = 1400(A) 

(ii) ciog;G tpiy NtWghL (Labour Rate Variance) 

= cz;ik Neuk; (jutpiy - cz;iktpiy) 

= 1800 (2-3) = 1800 x1 

- &. 1800(A) 

(iii) ciog;G jpwik NtWghL ( Labour Efficiency Variance) 

= jutpiy (juNeuk; - cz;ik Neuk;) 

cz;ikNeuk; = (cz;ik gzpNeuk; - ,aq;fhNeuk;) 

1800 -100 = 1700kzpNeuk; 

= 2(2000-1700) =2 x 300 

= 600(F) 
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(iv) ,aq;fh Neu NtWghL ( Idle time Variance) 

= mrhjhuz ,aq;fh Neuk; x jutpiy 

= 100 x 2 = 200 (A) 

rhpghh;j;jy; 

c.m.Nt = c.tp.Nt +  c.jp.Nt + ,.Ne.Nt 

1400(A) = 1800(A) +600(F) + 200(A) 

 

,Wjpepiy nryT (Marginal Costing) 

f.vz;.1 

fPo;tUtdtw;iw fz;f;fpLf 

a) ve;j tpw;gid myfpy; ,yhg el;lkpy;yh rkepiyg;Gs;sp? 

b) vj;jid myFfs; tpw;why; &.1>50>000 ,yhgk; rk;ghjpf;fKbAk;? 

 

epiyahd njhopw;rhiy Nkw;rnryT mlf;ftpiy  =&. 70>000 

epiyahd tpw;gid Nkw;nryT mlf;ftpiy  =&. 20>000 

khWgLk; cw;gj;jp mlf;ftpiy xU myFf;F     =&.   15 

khWgLk; tpw;gid mlf;ftpiy xU myFf;F     =&.    3 

tpwgid tpiy xU myFf;F         =&.   30 

Solution:   

a) rkepiyg;Gs;sp (myF)(Break even point) 

= epiyahd mlf;ftpiy 

  gfph;T xU myFf;F 

tpw;gid tpiy xU myFf;F  =&. 30 

fop khWgLk; mlf;ftpiy 15 + 3 =  &. 18 

 gfph;e;jspg;G        12 

 

gfph;e;jspg;G 

r.ep.G =&. 70,000+20,000= 90>000 = 7>500 myF 

   12     12 

r.ep.G (tpw;gid kjpg;G) = 7500 myF x&. 30 =&. 2,25,000 
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b)  

= epiyahd mlf;ftpiy + Njh;e;njLf;Fk; ,yhgk; 

gfph;T xU myFf;F 

= 90,000+ 1,50,000  = 2,40,000 = 20,000 myF 

   12        12 

 

f.vz;. 2 

m) ,WjpnryT 

M) tpw;gid 

,) khWggLk; mlf;ftpiy 

gpd;tUk; jfty;fspypUe;J fzf;fpLf 

epiyahd mlf;ftpiy &. 15>000 

,yhgk;   &.  2>000 

rkepiyg;Gs;sp &. 75>000 

Solution 

a) ,Wjpepiy nryT (Marginal Cost) 

P/V tpfpjk; = gfph;T  x 100 

tpw;gid 

=   epiyahd mlf;ftpiy + ,yhgk; 

       rkepiy tpw;gid 

= 15000 + ,y;iy x 100 = 20% 

      75>000 

,Wjpepiy nryT =   ,yhgk; 

 P/V tpfpjk; 

= 2000  = 2000x100 =  &.10000 

  20/100        20  

b) tpw;gid 

tpw;gid = epiyahd mlf;ftpiy + ,yhgk; 

P/V tpfpjk; 

= 15000+2000 



 

221 
 

     20/100 

= 17000 x 100 = &. 85>000 

20 

c) khWgLk; nryT fzf;fpLjy; (Variable Cost) 

tpw;gid   =    85>000 

fop: epiyahd mlf;fptiy  15>000 

,yhgk;       2>000   17>000 

 

   

khWgLk; mlf;ftpiy    =    68>000 


